
Rough Plumbing Catalog
 January 2022



 



Update: January 2022

Category Description Section

Kitchen Decoration
Kitchen faucets, sinks, strainers and other kitchen decoration
related products

A

Bath Decoration
Lavatories, lavatory faucets, toilet seats, tub&shower
accessories, bathroom drainages and other bathroom related
products

B

Supply Lines Supply valves, risers, connectors, water hammer arresters C

Drainage Tubulars, drains, plugs and escutcheons D

Plumbing Repairs Faucet repairs, tub and shower repairs and toilet repairs E

Miscellaneous/Plumbing Specialties
Access panels, pipe supports, hangers, clamps, couplings, test
caps, cable ties&straps, tapes and fasteners

F

Water Pumps and Tanks Pumps, tanks, well products and accessories G

Water Heater Accessories
Water heater pans, expansion tanks, connectors and dielectric
unions&nipples

H

Air Conditioning Accessories
Condensate pumps, traps, manifold gauges and start&running
capacitors

I

Hydronic Systems&Components Air Vents J

Valves Brass/bronze/plastic valves K

Fittings
Brass fittings, malleable iron fittings, copper fittings and all
kinds of nipples

L

Hydrants Yard hydrants and wall hydrants M

Fire Protection
Fire department connections, butterfly valves and other fire
protection related products

N

Tools Hand tools and electrical tools O

Electrical Generators P





Part Number Item Description Finish Picture

Kitchen Faucets - Two Acrylic Handles - Brass Waterways - Washerless Cartridge

1110-1001-PC Chrome w/Black Spray Polished Chrome

1110-1002-PC Chrome w/Chrome Spray Polished Chrome

1110-1003-PC Chrome Less Spray Polished Chrome

Kitchen Faucets - Two Metal Handles - Brass Waterways - Washerless Cartridge

1110-1011-PC Chrome w/Black Spray Polished Chrome

1110-1012-PC Chrome w/Chrome Spray Polished Chrome

1110-1013-PC Chrome Less Spray Polished Chrome

Kitchen Faucets - Two Metal Levers - Brass Waterways - Washerless Cartridge

1110-1021-PC Chrome w/Black Spray Polished Chrome

1110-1022-PC Chrome w/Chrome Spray Polished Chrome

1110-1023-PC Chrome Less Spray Polished Chrome

Kitchen Faucets - Two Metal Levers - Brass Waterways - Washerless Cartridge

1110-1031-PC Chrome w/Black Spray Polished Chrome

1110-1032-PC Chrome w/Chrome Spray Polished Chrome

1110-1033-PC Chrome Less Spray Polished Chrome

Kitchen Faucets - High-arc Pattern - Two Ceramic Levers - Brass Waterways - Washerless Cartridge

1110-1041-PC Chrome w/Black Spray Polished Chrome

1110-1042-PC Chrome w/Chrome Spray Polished Chrome

1110-1043-PC Chrome Less Spray Polished Chrome

Kitchen Faucets - High-Arc Spout - Two Ceramic Levers - Brass Waterways - Washerless Cartridge

1110-1051-PC Chrome w/Black Spray Polished Chrome

1110-1052-PC Chrome w/Chrome Spray Polished Chrome

1110-1053-PC Chrome Less Spray Polished Chrome

Kitchen Faucets - Single Metal Lever - Brass Waterways - Washerless Cartridge

1110-1061-PC Chrome w/Black Spray Polished Chrome

1110-1062-PC Chrome w/Chrome Spray Polished Chrome

1110-1063-PC Chrome Less Spray Polished Chrome

Section A 1 Kitchen Decoration



Part Number Item Description Finish Picture

Kitchen Faucets - Single Metal Lever - Brass Waterways - Washerless Cartridge

1110-1071-PC Chrome w/Black Spray Polished Chrome

1110-1072-PC Chrome w/Chrome Spray Polished Chrome

1110-1073-PC Chrome Less Spray Polished Chrome

Kitchen Faucets - Single Metal Lever - Pull-Down Sprayer - Brass Waterways - Washerless Cartridge

1110-1081-PC Chrome Polished Chrome

Kitchen Faucets - High-Arc Spuot - Single Metal Lever - Pull-Down Sprayer - Brass Waterways - Washerless Cartridge

1110-1091-PC Chrome Polished Chrome

Kitchen Faucets - High-Arc Spuot - Single Metal Lever - Pull-Down Sprayer - Brass Waterways - Washerless Cartridge

1110-1092-PC Chrome Polished Chrome

1110-1092-WH White White

Commercial Kitchen Faucets - Wall Mount - Two Handles Wall Mount Kitchen Faucet with Soap Dish

1110-1201 8" Spout Polished Chrome

1110-1202 12" Spout Polished Chrome

1110-1203 14" Spout Polished Chrome

Bar Faucets - Two Acrylic Handles - Brass Waterways - Washerless Cartridge

1110-5001-PC Chrome Polished Chrome

Section A 2 Kitchen Decoration



Part Number Item Description Finish Picture

Bar Faucets - Two Metal Handles - Brass Waterways - Washerless Cartridge

1110-5011-PC Chrome Polished Chrome

Bar Faucets - Two Metal Levers - Brass Waterways - Washerless Cartridge

1110-5021-PC Chrome Polished Chrome

Bar Faucets - Two Metal Levers - Brass Waterways - Washerless Cartridge - 10" Long Spout

1110-5031-PC Chrome Polished Chrome

Section A 3 Kitchen Decoration



Part Number Item Description Finish Picture

Top Mount Sinks - Stainless Steel 304 Material

1122-1015
Stainless Steel Double Bowl Drop-in Sink
33" x 22" x 5-3/8"

Brushed

1122-1016
Stainless Steel Double Bowl Drop-in Sink
33" x 22" x 6"

Brushed

1122-1017
Stainless Steel Double Bowl Drop-in Sink
33" x 22" x 7"

Brushed

1122-1018
Stainless Steel Double Bowl Drop-in Sink
33" x 22" x 8"

Brushed

1122-1025
Stainless Steel Single Bowl Drop-in Sink
25" x 22" x 5"

Brushed

1122-1026
Stainless Steel Single Bowl Drop-in Sink
25" x 22" x 6"

Brushed

1122-1028
Stainless Steel Single Bowl Drop-in Sink
25" x 22" x 8"

Brushed

1122-1035
Stainless Steel Single Bowl Drop-in Sink
15" x 15" x 5"

Brushed

1122-1045
Stainless Steel Single Bowl Drop-in Sink
15" x 15" x 5"

Brushed

Under Mount Sinks - Heavy Duty Stainless Steel 304 Material

1122-5001R
Stainless Steel Double Bowl Undermount Sink
31-3/4" x 20-5/8" x 9"/7"

Brushed

1122-5001L
Stainless Steel Double Bowl Undermount Sink
31-3/4" x 20-5/8" x 7"/9"

Brushed

Section A 4 Kitchen Decoration



Part Number Item Description Finish Picture

1122-5002
Stainless Steel Double Bowl Undermount Sink
32-3/8" x 18-1/8" x 9"

Brushed

1122-5003R
Stainless Steel Double Bowl Undermount Sink
31-1/2" x 20-1/2" x 9"/7"

Brushed

1122-5003L
Stainless Steel Double Bowl Undermount Sink
31-1/2" x 20-1/2" x 7"/9"

Brushed

1122-5004
Stainless Steel Single Bowl Undermount Sink
33" x 22" x 8"

Brushed

1122-5005
Stainless Steel Single Bowl Undermount Sink
23-1/8" x 17-7/8" x 9"

Brushed

1122-5006
Stainless Steel Single Bowl Undermount Sink
15" x 12-5/8" x 7"

Brushed

1122-5007
Stainless Steel Single Bowl Undermount Sink
18-1/2" x 15" x 7"

Brushed

Section A 5 Kitchen Decoration



Part Number Item Description Finish Picture

1122-5008
Stainless Steel Single Bowl Undermount Sink
23-5/8" x 21" x 9"

Brushed

1122-5009
Stainless Steel Single Bowl Undermount Sink
16-15/16" x 16-15/16" x 8"

Brushed

1122-5010
Stainless Steel Single Bowl Undermount Sink
φ17-3/4" x 7-7/8"

Brushed

1122-5011
Stainless Steel Single Bowl Undermount Sink
17-15/16" x 10-1/2" x 5-1/2"

Brushed

1122-5012
Stainless Steel Single Bowl Undermount Sink
31-1/2" x 18-1/4" x 9"

Brushed

`

Section A 6 Kitchen Decoration



Part Number Item Description Finish Picture

Basket and Sink Strainers for 3 1/2" Sink Openings

1131-0011-SS 4 1/2" SS Strainer w/Fixed Plastic Post SS Basket Polished SS

1131-0012-SS 4 1/2" SS Strainer w/Fixed Metal Post SS Basket Polished SS

1131-0021-SS
4 1/2" SS Strainer w/Fixed Plastic Post SS Basket,
Heavy Lock Nut and Extra Thick Rubber Gasket

Polished SS

1131-0022-SS
4 1/2" SS Strainer w/Fixed Metal Post SS Basket,
Heavy Lock Nut and Extra Thick Rubber Gasket

Polished SS

1131-0023-SS
4 1/2" SS Strainer w/Spring Post SS Basket, Heavy
Lock Nut and Extra Thick Rubber Gasket

Polished SS

1131-0030-PC
4 1/2" Brass Strainer w/Fixed Metal Post SS Basket,
Heavy Lock Nut and Extra Thick Rubber Gasket

Polished Chrome

1131-0031-PC
4 1/2" Heavy Duty Brass Strainer w/Fixed Metal Post
SS Basket, Heavy Lock Nut and Extra Thick Rubber
Gasket

Polished Chrome

1131-0032-PC
4 1/2" Brass Strainer w/4-Prong Metal Post SS
Basket, Heavy Lock Nut and Extra Thick Rubber Gasket

Polished Chrome

Section A 7 Kitchen Decoration



Part Number Item Description Finish Picture

1131-0041-SS
4 1/2" Deep Locking Cup SS Strainer w/Fixed Plastic
Post SS Basket

Polished SS

1131-0042-SS
4 1/2" Deep Locking Cup SS Strainer w/Fixed Metal
Post SS Basket

Polished SS

1131-0043-SS
4 1/2" Deep Locking Cup SS Strainer w/Spring Post
SS Basket

Polished SS

1131-0044-SS
4 1/2" Deep Locking Cup SS Strainer w/Ball Locking
SS Basket

Polished SS

1131-0045-SS
4 1/2" Deep Locking Cup SS Strainer w/Ball Locking
SS Basket. Deluxe Basket w/Perfect Seal for Modern
Kitchen Sinks.

Polished SS

1131-0051-SS
4 1/2" Medium Locking Cup SS Strainer w/Fixed
Plastic Post SS Basket

Polished SS

1131-0052-SS
4 1/2" Medium Locking Cup SS Strainer w/Fixed Metal
Post SS Basket

Polished SS

1131-0053-SS
4 1/2" Medium Locking Cup SS Strainer w/Spring Post
SS Basket

Polished SS

Section A 8 Kitchen Decoration



Part Number Item Description Finish Picture

1131-0061-SS 4 1/2" SS Strainer w/Twist Lock SS Basket Polished SS

1131-0062-SS 4 1/2" SS Strainer w/Twist Lock SS Basket Polished SS

1131-0071-PC 4 1/2" Brass Strainer w/Twist Lock SS Basket Polished Chrome

1131-0081-SS
4 1/2" SS EZ-On Strainer w/Fixed Plastic Post SS
Basket and Thumb Screw Locknut

Polished SS

1131-0082-SS
4 1/2" SS EZ-On Strainer w/Fixed Metal Post SS
Basket and Thumb Screw Locknut

Polished SS

1131-0083-SS
4 1/2" SS EZ-On Strainer w/Spring Post SS Basket and
Thumb Screw Locknut

Polished SS

1131-0091-PC
4 1/2" Heavy Duty Cast Brass Strainer w/Adjustable
Post Brass Basket

Polished Chrome

1131-0101-PC 4 1/2" Brass Body w/SS Flat Strainer Polished Chrome

Section A 9 Kitchen Decoration



Part Number Item Description Finish Picture

1131-T101-PC 4 1/2" Brass Body w/SS Flat Strainer, w/Tailpiece Polished Chrome

1131-0111-SS 4 1/2" SS Body w/SS Flat Top Strainer Polished SS

1131-0121-SS
4 1/2" Plastic Strainer w/SS Rim and Fixed Post SS
Basket

Polished SS

1131-0122-WH
4 1/2" Plastic Deep Cup Strainer w/Color Matched
Fixed Plastic Post and Plastic Basket

White

1131-0122-BS
4 1/2" Plastic Deep Cup Strainer w/Color Matched
Fixed Plastic Post and Plastic Basket

Biscuit

1131-0123-SS
4 1/2" Plastic Deep Cup Strainer w/Fixed Brass Post
SS304 Rim and Basket

Polished SS

1131-0123-BN
4 1/2" Plastic Deep Cup Strainer w/Fixed Brass Post
SS304 Rim and Basket

Brushed Nickel PVD

Bar Sink Strainers for 2 1/2" Sink Openings

1131-5001-PC
Deep Junior Duo Bar Sink Strainer, Brass Strainer and
Basket

Polished SS

1131-5002-SS
Junior Duo Bar Sink Strainer, Stainless Steel Strainer
and Basket

Polished SS

1131-5003-SS
Duplex Bar Sink Strainer, Stainless Steel Strainer Body
and Snap-in Strainer

Polished SS

Section A 10 Kitchen Decoration



Part Number Item Description Finish Picture

1131-5004-SS
Tray Plug, Stainless Steel Strainer Body and Rubber
Stopper

Polished SS

Replacement Parts

1131-A001 SS Basket w/Fixed Plastic Post and Rubber Stopper Polished SS

1131-A002 SS Basket w/Fixed Metal Post and Rubber Stopper Polished SS

1131-A003
SS Basket w/Fixed Plastic Post and Rubber Stopper for
Plastic Strainer Assembly

Polished SS

1131-A004 SS Basket w/Spring Snap Post and Rubber Stopper Polished SS

1131-A005
SS Basket w/Long Spring Snap Post and Rubber
Stopper

Polished SS

1131-A006
Brass Basket w/Adjustable Brass Drop Post and Brass
Stopper for Cast Brass Strainer Assembly

Polished Chrome

1131-A007
SS Basket w/Adjustable Plastic Post and Rubber
Stopper, Vertical Stripes

Polished SS

Section A 11 Kitchen Decoration



Part Number Item Description Finish Picture

1131-A008
SS Basket w/Adjustable Plastic Post and Rubber
Stopper, Horizontal Stripes

Polished SS

1131-A009 SS Basket w/4-Prong Plastic Post and Rubber Stopper Polished SS

1131-A010 SS Basket w/4-Prong Metal Post and Rubber Stopper Polished SS

1131-A011
White Plastic Kitchen Sink Strainer Basket
w/Adjustable Plastic Post and Rubber Stopper

White

1131-A012
SS Basket w/Twist Lock Post and Metal Stopper,
Vertical Stripes

White

1131-A013
SS Basket w/Twist Lock Post and Metal Stopper,
Horizontal Stripes

White

1131-A014 SS Basket w/Ball Locking Post and Rubber Stopper White

1131-B001
Brass Crump Cup for Deep Junior Duo Deep Bar Sink
Strainer

Chrome Plated

Section A 12 Kitchen Decoration



Part Number Item Description Finish Picture

1131-B002 SS Basket for Junior Duo Bar Sink Strainer Polished SS

1131-B003 1-1/4" SS Sink Crump Cup Polished SS

1131-B004 1-1/2" SS Sink Crump Cup Polished SS

1131-C001 1-5/8" SS Sink Strainers, Snap-in Style Polished SS

1131-C002 1-7/8" SS Sink Strainers, Snap-in Style Polished SS

Section A 13 Kitchen Decoration



Part Number Item Description Finish Picture

Disposal Flange&Stopper for 3 1/2 Sink Opennings

1133-0001-SS Stainless Steel Flange w/Stainless Steel Stopper Polished SS

1133-0001-PC Stainless Steel Flange w/Stainless Steel Stopper Polished Chrome

1133-0001-WH Stainless Steel Flange w/Stainless Steel Stopper White

1133-0001-BNPVD Stainless Steel Flange w/Stainless Steel Stopper Brushed Nickel PVD

1133-0001-VB Stainless Steel Flange w/Stainless Steel Stopper Venetian Bronze

1133-0001-ORB Stainless Steel Flange w/Stainless Steel Stopper Oil Rubbed Bronze

1133-0011-PC Forged Brass Flange w/Stainless Steel Stopper Polished Chrome

1133-0011-WH Forged Brass Flange w/Stainless Steel Stopper White

1133-0011-BNPVD Forged Brass Flange w/Stainless Steel Stopper Brushed Nickel PVD

1133-0011-VB Forged Brass Flange w/Stainless Steel Stopper Venetian Bronze

1133-0011-ORB Forged Brass Flange w/Stainless Steel Stopper Oil Rubbed Bronze

Section A 14 Kitchen Decoration



Part Number Item Description Finish Picture

Basin Hangers

1140-1001 Universal Basin Hanger Zinc Plated

Faucet Rosette

1140-1051 1-3/4" OD x 7/8" ID Zinc plated

1140-1052 Deep Style, 1-3/4" OD x 7/8" ID x 5/8" Height Zinc plated

Universal Disposal Stopper

1140-1141 4", w/Chrome Plated Post White

1140-1142 4-1/4" White

Disposal Strainer Guard

1140-1193 3" OD, Durable Plastic Construction White

Universal Fit Faucet Spray Heads

1141-1001-WH Standard Faucet Spray less Hose Guide White

1141-1001-BK Standard Faucet Spray less Hose Guide Black

1141-1002-WH Standard Faucet Spray w/Hose Guide White

1141-1002-BK Standard Faucet Spray w/Hose Guide Black

1141-1011-WH Faucet Spray w/48" Hose and 1/4" Universal Adapter White

1141-1011-BK Faucet Spray w/48" Hose and 1/4" Universal Adapter Black

1141-1021-PC
Decorative Faucet Spray w/48" Hose, 1/4" Universal
Adapter and Hose Guide

Chrome Plated

1141-1021-BNPVD
Decorative Faucet Spray w/48" Hose, 1/4" Universal
Adapter and Hose Guide

Brushed Nickel PVD

1141-1021-VB
Decorative Faucet Spray w/48" Hose, 1/4" Universal
Adapter and Hose Guide

Venetian Bronze

1141-1021-ORB
Decorative Faucet Spray w/48" Hose, 1/4" Universal
Adapter and Hose Guide

Oil Rubbed Bronze

Section A 15 Kitchen Decoration



Part Number Item Description Finish Picture

Dishwasher Air Gaps

1142-1025-PC Plastic Body w/Brass Cap, 25° Angle Polished Chrome

1142-1025-BNPVD Plastic Body w/Brass Cap, 25° Angle Brushed Nickel PVD

1142-1025-VB Plastic Body w/Brass Cap, 25° Angle Venetian Bronze

1142-1025-ORB Plastic Body w/Brass Cap, 25° Angle Oil Rubbed Bronze

1142-1125-PC Plastic Body w/Plastic Cap, 25° Angle Polished Chrome

1142-1125-BNPVD Plastic Body w/Plastic Cap, 25° Angle Brushed Nickel PVD

1142-1125-VB Plastic Body w/Plastic Cap, 25° Angle Venetian Bronze

1142-1125-ORB Plastic Body w/Plastic Cap, 25° Angle Oil Rubbed Bronze

1142-1125-WH Plastic Body w/Plastic Cap, 25° Angle White

1142-1125-BS Plastic Body w/Plastic Cap, 25° Angle Biscuit

1142-1145-PC Plastic Body w/Plastic Cap, 45° Angle Polished Chrome

1142-1145-BNPVD Plastic Body w/Plastic Cap, 45° Angle Brushed Nickel PVD

1142-1145-VB Plastic Body w/Plastic Cap, 45° Angle Venetian Bronze

1142-2001-PC Solid Brass Air Gap Polished Chrome

1142-2001-BNPVD Solid Brass Air Gap Brushed Nickel PVD

1142-2001-VB Solid Brass Air Gap Venetian Bronze

1142-2101-PC Plastic Air Gap Cap Polished Chrome

1142-2101-BNPVD Plastic Air Gap Cap Brushed Nickel PVD

1142-2101-VB Plastic Air Gap Cap Venetian Bronze

1142-2101-WH Plastic Air Gap Cap White

1142-2101-BS Plastic Air Gap Cap Biscuit

1142-2102-PC Universal Fit Plastic Air Gap Cap Polished Chrome

1142-2102-BNPVD Universal Fit Plastic Air Gap Cap Brushed Nickel PVD

1142-2102-VB Universal Fit Plastic Air Gap Cap Venetian Bronze

1142-2102-WH Universal Fit Plastic Air Gap Cap White

1142-2102-BS Universal Fit Plastic Air Gap Cap Biscuit

Air Admittance Vent

1142-V001 Plastic Mechanical Plumbing Vent, 1-1/2" Connection Black

1142-V001-CP Plastic Mechanical Plumbing Vent, 1-1/2" Connection Chrome Plated

Section A 16 Kitchen Decoration



Part Number Item Description Finish Picture

Sink Hole Covers

1143-1175-PC 1-3/4" Top Sink Hole Cover Chrome Plated

1143-1175-BNPVD 1-3/4" Top Sink Hole Cover Brushed Nickel PVD

1143-1175-WH 1-3/4" Top Sink Hole Cover White

1143-2175 1-3/4" Top Sink Hole Cover, Screw Type, Universal Fit Chrome

1143-2175-BNPVD 1-3/4" Top Sink Hole Cover, Screw Type, Universal Fit Brushed Nickel PVD

1143-2175-VB 1-3/4" Top Sink Hole Cover, Screw Type, Universal Fit Venetian Bronze

1143-2175-ORB 1-3/4" Top Sink Hole Cover, Screw Type, Universal Fit Oil Rubbed Bronze

1143-2200 2" Top Sink Hole Cover, Screw Type, Universal Fit Chrome

1143-2200-BNPVD 2" Top Sink Hole Cover, Screw Type, Universal Fit Brushed Nickel PVD

1143-2200-VB 2" Top Sink Hole Cover, Screw Type, Universal Fit Venetian Bronze

1143-2200-ORB 2" Top Sink Hole Cover, Screw Type, Universal Fit Oil Rubbed Bronze

1143-3150 1-1/2" Top Sink Hole Cover, Snap-in Type, Universal Fit Chrome

1143-3163 1-5/8" Top Sink Hole Cover, Snap-in Type, Universal Fit Chrome

Soap/Lotion Dispensers

1144-1001-PC
Solid Brass Head, Nut, Flange and Shank
Stainless Steel Tube and Clear Plastic Bottle

Polished Chrome

1144-1001-BNPVD
Solid Brass Head, Nut, Flange and Shank
Stainless Steel Tube and Clear Plastic Bottle

Brushed Nickel PVD

1144-1001-VB
Solid Brass Head, Nut, Flange and Shank
Stainless Steel Tube and Clear Plastic Bottle

Venetian Bronze

1144-1002-PC
Solid Brass Head, Nut, Flange and Shank
Stainless Steel Tube and Clear Plastic Bottle

Polished Chrome

1144-1002-BNPVD
Solid Brass Head, Nut, Flange and Shank
Stainless Steel Tube and Clear Plastic Bottle

Brushed Nickel PVD

1144-1002-VB
Solid Brass Head, Nut, Flange and Shank
Stainless Steel Tube and Clear Plastic Bottle

Venetian Bronze

Section A 17 Kitchen Decoration



Part Number Item Description Finish Picture

Lavatory Faucets - Brass Waterways

1210-1001-PC Two Acrylic Handles w/Pop-Up Polished Chrome

1210-1002-PC Two Metal Handles w/Pop-Up Polished Chrome

1210-1003-PC Two Acrylic Handles w/Pop-Up Polished Chrome

1210-1004-PC Two Metal Levers w/Pop-Up Polished Chrome

1210-1014-PC Two Metal Levers w/Pop-Up Polished Chrome

1210-1005-PC Two Ceramic Levers w/Pop-Up Polished Chrome

1210-1006-PC Single Acrylic Handle w/Pop-Up Polished Chrome

Section B 1 Bath Decoration



Part Number Item Description Finish Picture

1210-1007-PC Single Acrylic Handle w/Pop-Up Polished Chrome

1210-1008-PC Two Metal Levers w/Pop-Up Polished Chrome

1210-1009-PC Single Metal Lever w/Pop-Up Polished Chrome

1210-1010-PC Single Metal Lever w/Pop-Up Polished Chrome

1210-1011-PC Single Metal Lever w/Pop-Up Polished Chrome

1210-1012-PC
Two Metal Levers Wildspread w/Pop-Up, 6"-12" Three
Holes Center Distance

Polished Chrome

1210-1013-PC
Two Metal Levers Wildspread w/Pop-Up, 8" Three
Holes Center Distance

Polished Chrome

Section B 2 Bath Decoration



Part Number Item Description Finish Picture

1210-1015-PC Single Hole 1-Handle Bathroom Faucet in Chrome Polished Chrome

Section B 3 Bath Decoration



Part Number Item Description Finish Packaging Picture

Self-Rimming Lavatory Sinks - Vitreous China

1220-2017OV1-WH 20" x 17" Overall Size, Single Hole White Box

1220-2017OV4-WH 20" x 17" Overall Size, 4" Centers White Box

1220-2017OV8-WH 20" x 17" Overall Size, 8" Centers White Box

1220-19R1-WH 19" Round Overall Size, Single Hole White Box

1220-19R4-WH 19" Round Overall Size, 4" Centers White Box

1220-19R8-WH 19" Round Overall Size, 8" Centers White Box

Undermount Lavatory Sinks - Vitreous China

1220-1512UOV-WH 15" x 12" Oval White Box

1220-1613UOV-WH 16" x 13" Oval White Box

1220-1714UOV-WH 17" x 14" Oval White Box

1220-1813URTC-WH 18" x 13" Rectangular White Box

1220-1913URTC-WH 19" x 13" Rectangular White Box

1220-1813URTV-WH 18" x 13" Rectangular White Box

Section B 4 Bath Decoration



Part Number Item Description Finish Picture

Polypropylene Toilet Seats - Round Closed Front With Cover

1241-1751-WH Standard Toilet Seat White

1241-1701-WH Standard Toilet Seat White

1241-1701-BS Standard Toilet Seat Biscuit

1241-1752-WH Deluxe Toilet Seat White

1241-1702-WH Deluxe Toilet Seat w/Easy Clean Hinges White

1241-1702-BS Deluxe Toilet Seat w/Easy Clean Hinges Biscuit

1241-1704-WH Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges White

1241-1704-BS Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges Biscuit

1241-1705-WH Deluxe Toilet Seat White

1241-1705-BS Deluxe Toilet Seat Biscuit

1241-1706-WH Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges White

1241-1706-BS Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges Biscuit

1241-1707-WH Deluxe Toilet Seat White

1241-1707-BS Deluxe Toilet Seat Biscuit

1241-1708-WH Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges White

1241-1708-BS Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges Biscuit

Section B 5 Bath Decoration



Part Number Item Description Finish Picture

1241-1753-WH Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges White

1241-1754-WH Heavy Duty Toilet Seat w/Slow Close&Easy Clean Hinges White

Cushion Soft Toilet Seats - Round Closed Front With Cover

1241-1791-WH Deluxe Cushion Soft Seat w/Plastic Insert White

1241-1792-WH Deluxe Cushion Soft Seat w/Wooden Insert White

Polypropylene Toilet Seats - Elongated Closed Front With Cover

1241-1951-WH Standard Toilet Seat White

1241-1901-WH Standard Toilet Seat White

1241-1901-BS Standard Toilet Seat Biscuit

1241-1952-WH Standard Toilet Seat White

1241-1902-WH Deluxe Toilet Seat w/Easy Clean Hinges White

1241-1902-BS Deluxe Toilet Seat w/Easy Clean Hinges Biscuit

Section B 6 Bath Decoration



Part Number Item Description Finish Picture

1241-1904-WH Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges White

1241-1904-BS Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges Biscuit

1241-1905-WH Deluxe Toilet Seat White

1241-1905-BS Deluxe Toilet Seat Biscuit

1241-1906-WH Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges White

1241-1906-BS Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges Biscuit

1241-1907-WH Deluxe Toilet Seat White

1241-1907-BS Deluxe Toilet Seat Biscuit

1241-1908-WH Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges White

1241-1908-BS Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges Biscuit

1241-1953-WH Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges White

1241-1955-WH Heavy Duty Toilet Seat w/Slow Close&Easy Clean Hinges White

Cushion Soft Toilet Seats - Elongated Closed Front With Cover

1241-1991-WH Deluxe Cushion Soft Seat w/Plastic Insert White

1241-1992-WH Deluxe Cushion Soft Seat w/Wooden Insert White

Polypropylene Toilet Seats - Elongated Open Front Commercial Toilet Seats

1241-1921-WH
Standard Toilet Seat Less Cover, w/Self-Sustaining
Hinges

White

1241-1921NSS-WH
Standard Toilet Seat Less Cover, w/Non Self-Sustaining
Hinges

White

1241-1922-WH
Heavy Duty Toilet Seat Less Cover, w/Self-Sustaining
Hinges

White

1241-1922NSS-WH
Heavy Duty Toilet Seat Less Cover, w/Non Self-
Sustaining Hinges

White

1241-1927-WH Standard Toilet Seat With Cover White

1241-1928-WH
Standard Toilet Seat With Cover, w/Soft Close&Easy
Clean Hiniges

White

Section B 7 Bath Decoration



Part Number Item Description Finish Picture

Molded Wood Toilet Seats - Round Closed Front With Cover

1242-1701-WH Standard Toilet Seat w/Plastic Hinges White

1242-1701-BS Standard Toilet Seat w/Plastic Hinges Biscuit

1242-1702-WH Deluxe Toilet Seat w/Plastic Hinges White

1242-1702-BS Deluxe Toilet Seat w/Plastic Hinges Biscuit

1242-1703-WH Deluxe Toilet Seat w/Plastic Easy Clean Hinges White

1242-1703-BS Deluxe Toilet Seat w/Plastic Easy Clean Hinges Biscuit

1242-1704-WH Deluxe Toilet Seat w/Soft Close Hinges White

1242-1704-BS Deluxe Toilet Seat w/Soft Close Hinges Biscuit

1242-1708-WH Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges White

1242-1705-WH Deluxe Toilet Seat w/Metal Hinges White

1242-1705-BS Deluxe Toilet Seat w/Metal Hinges Biscuit

1242-1712-WH Deluxe Toilet Seat w/Plastic Hinges White

1242-1713-WH Deluxe Toilet Seat w/Plastic Easy Clean Hinges White

1242-1714-WH Deluxe Toilet Seat w/Soft Close Hinges White

1242-1718-WH Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges White

1242-1715-WH Deluxe Toilet Seat w/Metal Hinges White

1242-1715-BS Deluxe Toilet Seat w/Metal Hinges Biscuit

1242-1706-WH Deluxe Toilet Seat w/Plastic Hinges White

1242-1707-WH Deluxe Toilet Seat w/Plastic Easy Clean Hinges White

Section B 8 Bath Decoration



Part Number Item Description Finish Picture

Molded Wood Toilet Seats - Elongated Closed Front With Cover

1242-1901-WH Standard Toilet Seat w/Plastic Hinges White

1242-1901-BS Standard Toilet Seat w/Plastic Hinges Biscuit

1242-1902-WH Deluxe Toilet Seat w/Plastic Hinges White

1242-1902-BS Deluxe Toilet Seat w/Plastic Hinges Biscuit

1242-1903-WH Deluxe Toilet Seat w/Plastic Easy Clean Hinges White

1242-1903-BS Deluxe Toilet Seat w/Plastic Easy Clean Hinges Biscuit

1242-1904-WH Deluxe Toilet Seat w/Soft Close Hinges White

1242-1904-BS Deluxe Toilet Seat w/Soft Close Hinges Biscuit

1242-1908-WH Deluxe Toilet Seat w/Soft Close&Easy Clean Hinges White

1242-1905-WH Deluxe Toilet Seat w/Metal Hinges White

1242-1905-BS Deluxe Toilet Seat w/Metal Hinges Biscuit

1242-1912-WH Deluxe Toilet Seat w/Plastic Hinges White

1242-1913-WH Deluxe Toilet Seat w/Plastic Easy Clean Hinges White

1242-1914-WH Deluxe Toilet Seat w/Soft Close Hinges White

1242-1918-WH Deluxe Toilet Seat w/Slow Close&Easy Clean Hinges White

1242-1915-WH Deluxe Toilet Seat w/Metal Hinges White

1242-1915-BS Deluxe Toilet Seat w/Metal Hinges Biscuit

1242-1906-WH Deluxe Toilet Seat w/Plastic Hinges White

1242-1907-WH Deluxe Toilet Seat w/Plastic Easy Clean Hinges White

Section B 9 Bath Decoration



Part Number Item Description Finish Picture

Non-Diverter Tub Spouts

1271-1001-CP Front Mount 1/2" IPS, 5-1/8" Length Polished Chrome

1271-1002-CP Front Mount 3/4" IPS, 5-1/8" Length Polished Chrome

1271-1004-CP
Fit-All Spout, Connects to 1/2" Copper Pipe&1/2" or
3/4" IPS, 5-1/8" Length

Polished Chrome

1271-1005-CP
Fit-All Spout, Connects to 1/2" Copper Pipe&1/2" or
3/4" IPS, 5-1/8" Length

Polished Chrome

Diverter Tub Spouts - Front Diverter

1271-1101-CP Front Mount 1/2" IPS, 5-3/8" Length Polished Chrome

1271-1103-CP Front Mount 1/2" IPS, 5-3/8" Length Polished Chrome

Section B 10 Bath Decoration



Part Number Item Description Finish Picture

1271-1104-CP
Fit-All Spout, Connects to 1/2" Copper Pipe&1/2" or
3/4" IPS, 5-3/8" Length

Polished Chrome

1271-1105-CP
Fit-All Spout, Connects to 1/2" Copper Pipe&1/2" or
3/4" IPS, 5-3/8" Length

Polished Chrome

Diverter Bath Spout - Back Diverter

1271-1206-CP Back Mount 1/2" or 3/4" IPS, 5-1/4" Length Polished Chrome

Section B 11 Bath Decoration



Part Number Item Description Finish Picture

Plastic Shower Heads

1281-1001-PC Two Pieces Shower Head w/Plastic Ball Joint Chrome Plated

1281-1001-PB Two Pieces Shower Head w/Plastic Ball Joint Polished Brass

1281-1002-PC Two Pieces Shower Head w/Brass Ball Joint Chrome Plated

1281-1002-PB Two Pieces Shower Head w/Brass Ball Joint Polished Brass

1281-1003-PC One Piece Shower Head w/Plastic Ball Joint Chrome Plated

1281-1004-PC One Piece Shower Head w/Brass Ball Joint Chrome Plated

1281-1005-PC Deluxe Shower Head w/Brass Ball Joint Chrome Plated

1281-1006-PC Deluxe Shower Head w/Brass Ball Joint Chrome Plated

1281-1006-BN Deluxe Shower Head w/Brass Ball Joint Brushed Nickel

1281-1006-ORB Deluxe Shower Head w/Brass Ball Joint Oil Rubbed Bronze

Brass Shower Head

1281-2001-PC Brass Shower Head w/Metal Handle and 1-3/4" Face Polished Chrome

1281-2001-BN Brass Shower Head w/Metal Handle and 1-3/4" Face Brushed Nickel

1281-2001-ORB Brass Shower Head w/Metal Handle and 1-3/4" Face Oil Rubbed Bronze

1281-2002-PC Brass Shower Head w/Metal Handle and 2-1/4" Face Polished Chrome

1281-2002-BN Brass Shower Head w/Metal Handle and 2-1/4" Face Brushed Nickel

1281-2002-ORB Brass Shower Head w/Metal Handle and 2-1/4" Face Oil Rubbed Bronze

1281-2011-PC Brass Shower Head w/Metal Lever and 1-3/4" Face Polished Chrome

1281-2011-BN Brass Shower Head w/Metal Lever and 1-3/4" Face Brushed Nickel

1281-2011-ORB Brass Shower Head w/Metal Lever and 1-3/4" Face Oil Rubbed Bronze

1281-2012-PC Brass Shower Head w/Metal Lever and 2-1/4" Face Polished Chrome

1281-2012-BN Brass Shower Head w/Metal Lever and 2-1/4" Face Brushed Nickel

1281-2012-ORB Brass Shower Head w/Metal Lever and 2-1/4" Face Oil Rubbed Bronze

Section B 12 Bath Decoration



Part Number Item Description Finish Picture

1281-2021-PC Deluxe Brass Shower Head Polished Chrome

Simple Shower Arms w/Escutcheons

1283-B001-PC 6" Brass Shower Arm w/Shallow Escutcheon Polished Chrome

1283-B001-BN 6" Brass Shower Arm w/Shallow Escutcheon Brushed Nickel

1283-B001-OBB 6" Brass Shower Arm w/Shallow Escutcheon Oil Rubbed Bronze

1283-S001-PC 6" Stainless Steel Shower Arm w/Shallow Escutcheon Polished Chrome

1283-S001-BN 6" Stainless Steel Shower Arm w/Shallow Escutcheon Brushed Nickel

1283-S001-OBB 6" Stainless Steel Shower Arm w/Shallow Escutcheon Oil Rubbed Bronze

1283-B002-PC 8" Brass Shower Arm w/Shallow Escutcheon Polished Chrome

1283-B002-BN 8" Brass Shower Arm w/Shallow Escutcheon Brushed Nickel

1283-B002-OBB 8" Brass Shower Arm w/Shallow Escutcheon Oil Rubbed Bronze

1283-S002-PC 8" Stainless Steel Shower Arm w/Shallow Escutcheon Polished Chrome

1283-S002-BN 8" Stainless Steel Shower Arm w/Shallow Escutcheon Brushed Nickel

1283-S002-OBB 8" Stainless Steel Shower Arm w/Shallow Escutcheon Oil Rubbed Bronze

S Shape Shower Arms w/Escutcheons

1283-B005-PC S-Style Brass Shower Arm w/Shallow Escutcheon Polished Chrome

1283-B005-BN S-Style Brass Shower Arm w/Shallow Escutcheon Brushed Nickel

1283-B005-ORB S-Style Brass Shower Arm w/Shallow Escutcheon Oil Rubbed Bronze

1283-B006-PC
S-Style Brass Shower Arm w/Brass Ball Joint and
Shallow Escutcheon

Polished Chrome

1283-B006-BN
S-Style Brass Shower Arm w/Brass Ball Joint and
Shallow Escutcheon

Brushed Nickel

1283-B006-ORB
S-Style Brass Shower Arm w/Brass Ball Joint and
Shallow Escutcheon

Oil Rubbed Bronze

Three Way Shower Diverter Valves

1286-0001-PC All Brass Construction With 1/2" Female Inlet Polished Chrome

1286-0001-BNPVD All Brass Construction With 1/2" Female Inlet Brushed Nickel PVD

1286-0001-ORB All Brass Construction With 1/2" Female Inlet Oil Rubbed Bronze

Section B 13 Bath Decoration



Part Number Item Description Finish Picture

Shower Drop Ells

1287-0001-PC All Brass Construction Drop Ells Polished Chrome

1287-0001-BNPVD All Brass Construction Drop Ells Brushed Nickel PVD

1287-0001-ORB All Brass Construction Drop Ells Oil Rubbed Bronze

Pressure Balance Tub and Shower Valves

1288-3001

Shower Valve w/Stops
Bronze Body
Ceramic Cartridge
MIP x SWT
With Protection Cover
With Bracket

Rough Bronze

1288-3001F

Shower Valve w/Stops
Bronze Body
Ceramic Cartridge
FIP
With Protection Cover
With Bracket

Rough Bronze

1288-3001C

Shower Valve w/Stops
Bronze Body
Ceramic Cartridge
CPVC
With Protection Cover
With Bracket

Rough Bronze

1288-3001P

Shower Valve w/Stops
Bronze Body
Ceramic Cartridge
PEX
With Protection Cover
With Bracket

Rough Bronze

1288-3001LS

Shower Valve without Stops
Brass Body
Ceramic Cartridge
MIP x SWT
With Protection Cover
With Bracket

Rough Bronze

1288-3001CLS

Shower Valve without Stops
Brass Body
Ceramic Cartridge
CPVC
With Protection Cover
With Bracket

Rough Bronze

1288-3001FLS

Shower Valve without Stops
Brass Body
Ceramic Cartridge
FIP
With Protection Cover
With Bracket

Rough Bronze

Section B 14 Bath Decoration



Part Number Item Description Finish Picture

1288-3001PLS

Shower Valve without Stops
Brass Body
Ceramic Cartridge
PEX
With Protection Cover
With Bracket

Rough Bronze

Tub Shower Faucet Trims

1289-1010-PC
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head

Polished Chrome

1289-1010-BN
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head

Brushed Nickel

1289-1010-ORB
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head

Oil Rubbed Bronze

1289-1020-PC
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head

Polished Chrome

1289-1020-BN
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head

Brushed Nickel

1289-1020-ORB
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head

Oil Rubbed Bronze

1289-1030-PC
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head

Polished Chrome

1289-1030-BN
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head

Brushed Nickel

1289-1030-ORB
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head

Oil Rubbed Bronze

1289-1040-PC
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
White Plastic Shower Head

Polished Chrome

1289-1040-BN
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
White Plastic Shower Head

Brushed Nickel

1289-1040-ORB
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
White Plastic Shower Head

Oil Rubbed Bronze

Section B 15 Bath Decoration



Part Number Item Description Finish Picture

1289-1050-PC
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Brass Shower Head

Polished Chrome

1289-1050-BN
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Brass Shower Head

Brushed Nickel

1289-1050-ORB
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Brass Shower Head

Oil Rubbed Bronze

1289-1060-PC
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Deluxe Brass Shower Head

Polished Chrome

1289-1060-BN
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Deluxe Brass Shower Head

Brushed Nickel

1289-1060-ORB
Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Deluxe Brass Shower Head

Oil Rubbed Bronze

1289-2010-PC

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head
Zinc Diverter Tub Spout

Polished Chrome

1289-2010-BN

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head
Zinc Diverter Tub Spout

Brushed Nickel

1289-2010-ORB

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head
Zinc Diverter Tub Spout

Oil Rubbed Bronze

1289-2020-PC

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head
Zinc Diverter Tub Spout

Polished Chrome

1289-2020-BN

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head
Zinc Diverter Tub Spout

Brushed Nickel

1289-2020-ORB

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head
Zinc Diverter Tub Spout

Oil Rubbed Bronze

Section B 16 Bath Decoration



Part Number Item Description Finish Picture

1289-2030-PC

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head
Zinc Diverter Tub Spout

Polished Chrome

1289-2030-BN

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head
Zinc Diverter Tub Spout

Brushed Nickel

1289-2030-ORB

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Plastic Shower Head
Zinc Diverter Tub Spout

Oil Rubbed Bronze

1289-2040-PC

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
White Plastic Shower Head
Zinc Diverter Tub Spout

Polished Chrome

1289-2040-BN

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
White Plastic Shower Head
Zinc Diverter Tub Spout

Brushed Nickel

1289-2040-ORB

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
White Plastic Shower Head
Zinc Diverter Tub Spout

Oil Rubbed Bronze

1289-2050-PC

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Brass Shower Head
Zinc Diverter Tub Spout

Polished Chrome

1289-2050-BN

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Brass Shower Head
Zinc Diverter Tub Spout

Brushed Nickel

1289-2050-ORB

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Brass Shower Head
Zinc Diverter Tub Spout

Oil Rubbed Bronze

1289-2060-PC

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Deluxe Brass Shower Head
Zinc Diverter Tub Spout

Polished Chrome

1289-2060-BN

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Deluxe Brass Shower Head
Zinc Diverter Tub Spout

Brushed Nickel

1289-2060-ORB

Metal Escutcheon w/Metal Lever
Brass Shower Arm w/Metal Flange
Deluxe Brass Shower Head
Zinc Diverter Tub Spout

Oil Rubbed Bronze

Section B 17 Bath Decoration



Part Number Item Description Finish Picture

Bathcock Add-on Shower Unit - 2.5GPM Showerhead - Brass Tubing - 61-1/4" H - 3-3/8" Center

1289-ADDASHL Less Curtain Bar Chrome

1289-ADDASH With 42" x 27" Aluminum Curtain Bar Chrome

Utility Shower Faucet - 2.5GPM Showerhead - Galvanized Steel Tubing - 21" H - 3" Center

1289-UTLSHF Utility Shower Faucet Unit Chrome

Section B 18 Bath Decoration



Part Number Item Description Finish Picture

Rain Shower Kits w/Shower Heads and Arms

128A-0001-PC
Ultra Slim Rain Shower Complete Kit, include/8" SS
Shower Head, 13" Brass Shower Arm and Shallow
Escutcheon

Polished Chrome

128A-0001-BNPVD
Ultra Slim Rain Shower Complete Kit, include/8" SS
Shower Head, 13" Brass Shower Arm and Shallow
Escutcheon

Brushed Nickel PVD

128A-0001-VB
Ultra Slim Rain Shower Complete Kit, include/8" SS
Shower Head, 13" Brass Shower Arm and Shallow
Escutcheon

Venetian Bronze

Brass Shower Kits w/Shower Heads and Arms

128A-5001-PC
Brass Shower Head Complete Kit, include 2-1/4" Brass
Shower Head, 6" Brass Shower Arm and Shallow
Escutcheon

Polished Chrome

128A-5011-PC
Brass Shower Head Complete Kit, include 2-1/4" Brass
Shower Head, 6" Brass Shower Arm and Shallow
Escutcheon

Polished Chrome

128A-5021-PC
Brass Shower Head Complete Kit, include Deluxe Brass
Shower Head, 6" Brass Shower Arm and Shallow
Escutcheon

Polished Chrome

Section B 19 Bath Decoration



Part Number Item Description Finish Picture

Commercial Grid Drains

1290-0001-PC
1 1/4" Cast Brass Construction w/6" 17GA Tailpiece,
PO Plug Style w/Overflow

Polished Chrome

1290-0001SS-PC
1 1/4" Stainless Steel Construction w/6" 17GA
Stainless Steel Tailpiece, PO Plug Style w/Overflow

Polished Chrome

1290-0002-PC
1 1/4" Cast Brass Construction w/8" 17GA Tailpiece,
PO Plug Style w/Overflow

Polished Chrome

1290-0003-PC
1 1/4" Cast Brass Construction w/Brass Offset Elbow
and 17GA Tailpiece, PO Plug Style w/Overflow, ADA
Compliant

Polished Chrome

1290-0003SS-PC
1 1/4" Stainless Steel Construction w/Cast Brass
Offset Elbow and 17GA Stainless Steel Tailpiece, PO Plug
Style w/Overflow, ADA Compliant

Polished Chrome

1290-0004-PC
1 1/4" Cast Brass Construction w/Brass Offset Elbows
and 17GA Tailpiece, PO Plug Style w/Overflow, ADA
Compliant

Polished Chrome

1290-0005-PC
1 1/4" Cast Brass Construction w/6" 17GA Tailpiece,
CO Plug Style less Overflow

Polished Chrome

Universal Fit Pop-Ups

1290-1001-PC 1 1/4" Cast Brass Construction w/4" Brass Tailpiece Polished Chrome

1290-1002-PC
1 1/4" Cast Brass Construction w/4" Stainless Steel
Tailpiece

Polished Chrome

1290-1001SS-PC
1 1/4" Stainless Steel Construction w/4" Stainless
Steel Tailpiece

Polished Chrome

Section B 20 Bath Decoration



Part Number Item Description Finish Picture

1290-1001P-PC 1 1/4" Plastic Construction, Complete Plated Body Chrome Plated

1290-1001P 1 1/4" Plastic Construction
Chromed Rim and
Stopper

1290-1003-PC 1 1/4" Cast Brass Body w/Plastic Tailpiece Polished Chrome

1290-1003SS-PC 1 1/4" Stainless Steel Body w/Plastic Tailpiece Polished Chrome

Universal Fit PO Plugs

1290-2001-PC 1 1/4" x 5" One Piece PO Plug w/Overflow, 22GA Polished Chrome

1290-2002-PC 1 1/4" x 8" One Piece PO Plug w/Overflow, 22GA Polished Chrome

1290-2003-PC 1 1/4" x 12" One Piece PO Plug w/Overflow, 22GA Polished Chrome

1290-2011-PC
1 1/4" x 5" Semi-Cast Brass PO Plug w/Overflow,
22GA

Polished Chrome

1290-2012-PC
1 1/4" x 8" Semi-Cast Brass PO Plug w/Overflow,
22GA

Polished Chrome

1290-2013-PC
1 1/4" x 12" Semi-Cast Brass PO Plug w/Overflow,
22GA

Polished Chrome

1290-2021-PC 1 1/4" x 5" Two Pieces PO Plug w/Overflow, 22GA Polished Chrome

1290-2022-PC 1 1/4" x 8" Two Pieces PO Plug w/Overflow, 22GA Polished Chrome

1290-2023-PC 1 1/4" x 12" Two Piece PO Plug w/Overflow, 22GA Polished Chrome

Section B 21 Bath Decoration



Part Number Item Description Finish Picture

Universal Fit CO Plugs

1290-2101-PC 1 1/4" x 5" One Piece CO Plug less Overflow, 22GA Polished Chrome

Decorative Lavatory Drains

1290-5001-PC
1 1/4" Cast Brass Pop-up Drain w/6" 17GA Tailpiece,
PO Plug Style w/Overflow, Round Pattern

Polished Chrome

1290-5002-PC
1 1/4" Cast Brass Pop-up Drain w/6" 17GA Tailpiece,
CO Plug Style less Overflow, Round Pattern

Polished Chrome

1290-5003-PC
1 1/4" Cast Brass Pop-up Drain w/6" 17GA Tailpiece,
PO Plug Style w/Overflow, Round Pattern

Polished Chrome

1290-5004-PC
1 1/4" Cast Brass Pop-up Drain w/6" 17GA Tailpiece,
CO Plug Style less Overflow, Round Pattern

Polished Chrome

1290-5005-PC
1 1/4" Cast Brass Pop-up Drain w/6" 17GA Tailpiece,
PO Plug Style w/Overflow, Square Pattern

Polished Chrome

1290-5006-PC
1 1/4" Cast Brass Pop-up Drain w/6" 17GA Tailpiece,
CO Plug Style less Overflow, Square Pattern

Polished Chrome

1290-5007-PC
1 1/4" Cast Brass Lift'N Turn Drain w/6" 17GA
Tailpiece, PO Plug Style w/Overflow

Polished Chrome

1290-5008-PC
1 1/4" Cast Brass Lift'N Turn Drain w/6" 17GA
Tailpiece, CO Plug Style less Overflow

Polished Chrome

Section B 22 Bath Decoration



Part Number Item Description Finish Picture

Trap Primer Tailpieces

1290-9001-PC 1 1/4" x 8", Direct Connect, 17GA Polished Chrome

1290-9002-PC 1 1/4" x 8", Thread Top, 17GA Polished Chrome

Brass Waste Connectors (Trap Adapter) - Tubular x Male Thread and Female Copper Sweat Outlet

1290-9101 1-1/4" OD x 1-1/4" FIP, Brass Nut and Ferrule Rough Brass

1290-9102 1-1/4" OD x 1-1/2" FIP, Brass Nut and Ferrule Rough Brass

1290-9103 1-1/2" OD x 1-1/2" FIP, Brass Nut and Ferrule Rough Brass

1290-9103S 1-1/2" OD x 1-1/2" FIP, Brass Nut and Ferrule, w/Stop Rough Brass

1290-9104 1-1/4" OD x 1-1/4" FIP, Die Cast Nut and Brass Ferrule Rough Brass

1290-9105 1-1/4" OD x 1-1/2" FIP, Die Cast Nut and Brass Ferrule Rough Brass

1290-9106 1-1/2" OD x 1-1/2" FIP, Die Cast Nut and Brass Ferrule Rough Brass

1290-9107 1-1/4" OD x 1-1/4" FIP, Die Cast Nut and Poly Washer Rough Brass

1290-9108 1-1/4" OD x 1-1/2" FIP, Die Cast Nut and Poly Washer Rough Brass

1290-9109 1-1/2" OD x 1-1/2" FIP, Die Cast Nut and Poly Washer Rough Brass

Brass Waste Connectors (Trap Adapter) - Tubular x Female Thread Outlet

1290-9111 1-1/4" OD x 1-1/4" MIP, Brass Nut and Ferrule Rough Brass

1290-9112 1-1/4" OD x 1-1/2" MIP, Brass Nut and Ferrule Rough Brass

1290-9113 1-1/2" OD x 1-1/2" MIP, Brass Nut and Ferrule Rough Brass

1290-9113S 1-1/2" OD x 1-1/2" MIP, Brass Nut and Ferrule, w/StopRough Brass

1290-9114 1-1/4" OD x 1-1/4" MIP, Die Cast Nut and Brass FerruleRough Brass

1290-9115 1-1/4" OD x 1-1/2" MIP, Die Cast Nut and Brass FerruleRough Brass

1290-9116 1-1/2" OD x 1-1/2" MIP, Die Cast Nut and Brass FerruleRough Brass

1290-9117 1-1/4" OD x 1-1/4" MIP, Die Cast Nut and Poly Washer Rough Brass

1290-9118 1-1/4" OD x 1-1/2" MIP, Die Cast Nut and Poly Washer Rough Brass

1290-9119 1-1/2" OD x 1-1/2" MIP, Die Cast Nut and Poly Washer Rough Brass

Section B 23 Bath Decoration



Part Number Item Description Finish Picture

Lift & Turn Drain Kits - Light Duty Plastic Construction - PP Material

12A1-0011-PC One Hole Zinc Face Plate w/Brass Lift & Turn Drain Polished Chrome

12A1-0011-BNPVD One Hole Zinc Face Plate w/Brass Lift & Turn Drain Brushed Nickel

12A1-0011-VB One Hole Zinc Face Plate w/Brass Lift & Turn Drain Venetian Bronze

12A1-0011-ORB One Hole Zinc Face Plate w/Brass Lift & Turn Drain Oil Rubbed Bronze

12A1-0012-PC One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Polished Chrome

12A1-0012-BNPVD One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Brushed Nickel

12A1-0012-VB One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Venetian Bronze

12A1-0012-ORB One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Oil Rubbed Bronze

12A1-0021-PC Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Polished Chrome

12A1-0021-BNPVD Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Brushed Nickel

12A1-0021-VB Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Venetian Bronze

12A1-0021-ORB Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Oil Rubbed Bronze

12A1-0022-PC Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Polished Chrome

12A1-0022-BNPVD Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Brushed Nickel

12A1-0022-VB Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Venetian Bronze

12A1-0022-ORB Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Oil Rubbed Bronze

Touch Toe Drain Kits - Light Duty Plastic Construction - PP Material

12A1-0111-PC One Hole Zinc Face Plate w/Brass Touch Toe Drain Polished Chrome

12A1-0111-BNPVD One Hole Zinc Face Plate w/Brass Touch Toe Drain Brushed Nickel

12A1-0111-VB One Hole Zinc Face Plate w/Brass Touch Toe Drain Venetian Bronze

12A1-0111-ORB One Hole Zinc Face Plate w/Brass Touch Toe Drain Oil Rubbed Bronze

12A1-0112-PC One Hole Zinc Face Plate w/Zinc Touch Toe Drain Polished Chrome

12A1-0112-BNPVD One Hole Zinc Face Plate w/Zinc Touch Toe Drain Brushed Nickel

12A1-0112-VB One Hole Zinc Face Plate w/Zinc Touch Toe Drain Venetian Bronze

12A1-0112-ORB One Hole Zinc Face Plate w/Zinc Touch Toe Drain Oil Rubbed Bronze

12A1-0121-PC Two Holes Zinc Face Plate w/Brass Touch Toe Drain Polished Chrome

12A1-0121-BNPVD Two Holes Zinc Face Plate w/Brass Touch Toe Drain Brushed Nickel

12A1-0121-VB Two Holes Zinc Face Plate w/Brass Touch Toe Drain Venetian Bronze

12A1-0121-ORB Two Holes Zinc Face Plate w/Brass Touch Toe Drain Oil Rubbed Bronze

12A1-0122-PC Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Polished Chrome

12A1-0122-BNPVD Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Brushed Nickel

12A1-0122-VB Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Venetian Bronze

12A1-0122-ORB Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Oil Rubbed Bronze

Trip Lever Drain Kits - Light Duty Plastic Construction - PP Material

12A1-0221-PC Zinc Face Plate w/Solid Brass Strainer Polished Chrome

12A1-0221-BNPVD Zinc Face Plate w/Solid Brass Strainer Brushed Nickel

12A1-0221-VB Zinc Face Plate w/Solid Brass Strainer Venetian Bronze

12A1-0221-ORB Zinc Face Plate w/Solid Brass Strainer Oil Rubbed Bronze

12A1-0222-PC Zinc Face Plate w/Stainless Steel Strainer Polished Chrome

12A1-0222-BNPVD Zinc Face Plate w/Stainless Steel Strainer Brushed Nickel

12A1-0222-VB Zinc Face Plate w/Stainless Steel Strainer Venetian Bronze

12A1-0222-ORB Zinc Face Plate w/Stainless Steel Strainer Oil Rubbed Bronze

Section B 24 Bath Decoration



Part Number Item Description Finish Picture

Push & Pull Drain Kits - Light Duty Plastic Construction - PP Material

12A1-0311-PC One Hole Zinc Face Plate w/Brass Push & Pull Drain Polished Chrome

12A1-0311-BNPVD One Hole Zinc Face Plate w/Brass Push & Pull Drain Brushed Nickel

12A1-0311-VB One Hole Zinc Face Plate w/Brass Push & Pull Drain Venetian Bronze

12A1-0311-ORB One Hole Zinc Face Plate w/Brass Push & Pull Drain Oil Rubbed Bronze

12A1-0321-PC Two Holes Zinc Face Plate w/Brass Push & Pull Drain Polished Chrome

12A1-0321-BNPVD Two Holes Zinc Face Plate w/Brass Push & Pull Drain Brushed Nickel

12A1-0321-VB Two Holes Zinc Face Plate w/Brass Push & Pull Drain Venetian Bronze

12A1-0321-ORB Two Holes Zinc Face Plate w/Brass Push & Pull Drain Oil Rubbed Bronze

Cable Drain Kits - Light Duty Plastic Construction - PP Material

12A1-0511-PC Metal Overflow Cover w/Brass Drain, 27" Cable Polished Chrome

12A1-0511-BNPVD Metal Overflow Cover w/Brass Drain, 27" Cable Brushed Nickel

12A1-0511-VB Metal Overflow Cover w/Brass Drain, 27" Cable Venetian Bronze

12A1-0511-ORB Metal Overflow Cover w/Brass Drain, 27" Cable Oil Rubbed Bronze

Lift & Turn Drain Kits - SCH40 Plastic Construction - PVC Material - White

12A1-1011-PC One Hole Zinc Face Plate w/Brass Lift & Turn Drain Polished Chrome

12A1-1011-BNPVD One Hole Zinc Face Plate w/Brass Lift & Turn Drain Brushed Nickel

12A1-1011-VB One Hole Zinc Face Plate w/Brass Lift & Turn Drain Venetian Bronze

12A1-1011-ORB One Hole Zinc Face Plate w/Brass Lift & Turn Drain Oil Rubbed Bronze

12A1-1012-PC One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Polished Chrome

12A1-1012-BNPVD One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Brushed Nickel

12A1-1012-VB One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Venetian Bronze

12A1-1012-ORB One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Oil Rubbed Bronze

12A1-1021-PC Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Polished Chrome

12A1-1021-BNPVD Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Brushed Nickel

12A1-1021-VB Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Venetian Bronze

12A1-1021-ORB Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Oil Rubbed Bronze

12A1-1022-PC Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Polished Chrome

12A1-1022-BNPVD Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Brushed Nickel

12A1-1022-VB Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Venetian Bronze

12A1-1022-ORB Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Oil Rubbed Bronze

Lift & Turn Drain Kits - SCH40 Plastic Construction - ABS Material - Black

12A1-1015-PC One Hole Zinc Face Plate w/Brass Lift & Turn Drain Polished Chrome

12A1-1015-BNPVD One Hole Zinc Face Plate w/Brass Lift & Turn Drain Brushed Nickel

12A1-1015-VB One Hole Zinc Face Plate w/Brass Lift & Turn Drain Venetian Bronze

12A1-1015-ORB One Hole Zinc Face Plate w/Brass Lift & Turn Drain Oil Rubbed Bronze

12A1-1016-PC One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Polished Chrome

12A1-1016-BNPVD One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Brushed Nickel

12A1-1016-VB One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Venetian Bronze

12A1-1016-ORB One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Oil Rubbed Bronze

Section B 25 Bath Decoration



Part Number Item Description Finish Picture

12A1-1025-PC Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Polished Chrome

12A1-1025-BNPVD Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Brushed Nickel

12A1-1025-VB Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Venetian Bronze

12A1-1025-ORB Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Oil Rubbed Bronze

12A1-1026-PC Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Polished Chrome

12A1-1026-BNPVD Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Brushed Nickel

12A1-1026-VB Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Venetian Bronze

12A1-1026-ORB Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Oil Rubbed Bronze

Touch Toe Drain Kits - SCH40 Plastic Construction - PVC Material - White

12A1-1111-PC One Hole Zinc Face Plate w/Brass Touch Toe Drain Polished Chrome

12A1-1111-BNPVD One Hole Zinc Face Plate w/Brass Touch Toe Drain Brushed Nickel

12A1-1111-VB One Hole Zinc Face Plate w/Brass Touch Toe Drain Venetian Bronze

12A1-1111-ORB One Hole Zinc Face Plate w/Brass Touch Toe Drain Oil Rubbed Bronze

12A1-1112-PC One Hole Zinc Face Plate w/Zinc Touch Toe Drain Polished Chrome

12A1-1112-BNPVD One Hole Zinc Face Plate w/Zinc Touch Toe Drain Brushed Nickel

12A1-1112-VB One Hole Zinc Face Plate w/Zinc Touch Toe Drain Venetian Bronze

12A1-1112-ORB One Hole Zinc Face Plate w/Zinc Touch Toe Drain Oil Rubbed Bronze

12A1-1121-PC Two Holes Zinc Face Plate w/Brass Touch Toe Drain Polished Chrome

12A1-1121-BNPVD Two Holes Zinc Face Plate w/Brass Touch Toe Drain Brushed Nickel

12A1-1121-VB Two Holes Zinc Face Plate w/Brass Touch Toe Drain Venetian Bronze

12A1-1121-ORB Two Holes Zinc Face Plate w/Brass Touch Toe Drain Oil Rubbed Bronze

12A1-1122-PC Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Polished Chrome

12A1-1122-BNPVD Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Brushed Nickel

12A1-1122-VB Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Venetian Bronze

12A1-1122-ORB Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Oil Rubbed Bronze

Touch Toe Drain Kits - SCH40 Plastic Construction - ABS Material - Black

12A1-1115-PC One Hole Zinc Face Plate w/Brass Touch Toe Drain Polished Chrome

12A1-1115-BNPVD One Hole Zinc Face Plate w/Brass Touch Toe Drain Brushed Nickel

12A1-1115-VB One Hole Zinc Face Plate w/Brass Touch Toe Drain Venetian Bronze

12A1-1115-ORB One Hole Zinc Face Plate w/Brass Touch Toe Drain Oil Rubbed Bronze

12A1-1116-PC One Hole Zinc Face Plate w/Zinc Touch Toe Drain Polished Chrome

12A1-1116-BNPVD One Hole Zinc Face Plate w/Zinc Touch Toe Drain Brushed Nickel

12A1-1116-VB One Hole Zinc Face Plate w/Zinc Touch Toe Drain Venetian Bronze

12A1-1116-ORB One Hole Zinc Face Plate w/Zinc Touch Toe Drain Oil Rubbed Bronze

12A1-1125-PC Two Holes Zinc Face Plate w/Brass Touch Toe Drain Polished Chrome

12A1-1125-BNPVD Two Holes Zinc Face Plate w/Brass Touch Toe Drain Brushed Nickel

12A1-1125-VB Two Holes Zinc Face Plate w/Brass Touch Toe Drain Venetian Bronze

12A1-1125-ORB Two Holes Zinc Face Plate w/Brass Touch Toe Drain Oil Rubbed Bronze

12A1-1126-PC Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Polished Chrome

12A1-1126-BNPVD Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Brushed Nickel

12A1-1126-VB Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Venetian Bronze

12A1-1126-ORB Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Oil Rubbed Bronze

Section B 26 Bath Decoration



Part Number Item Description Finish Picture

Push & Pull Drain Kits - SCH40 Plastic Construction - PVC Material - White

12A1-1311-PC One Hole Zinc Face Plate w/Brass Push & Pull Drain Polished Chrome

12A1-1311-BNPVD One Hole Zinc Face Plate w/Brass Push & Pull Drain Brushed Nickel

12A1-1311-VB One Hole Zinc Face Plate w/Brass Push & Pull Drain Venetian Bronze

12A1-1311-ORB One Hole Zinc Face Plate w/Brass Push & Pull Drain Oil Rubbed Bronze

12A1-1321-PC Two Holes Zinc Face Plate w/Brass Push & Pull Drain Polished Chrome

12A1-1321-BNPVD Two Holes Zinc Face Plate w/Brass Push & Pull Drain Brushed Nickel

12A1-1321-VB Two Holes Zinc Face Plate w/Brass Push & Pull Drain Venetian Bronze

12A1-1321-ORB Two Holes Zinc Face Plate w/Brass Push & Pull Drain Oil Rubbed Bronze

Push & Pull Drain Kits - SCH40 Plastic Construction - ABS Material - Black

12A1-1311-PC One Hole Zinc Face Plate w/Brass Push & Pull Drain Polished Chrome

12A1-1311-BNPVD One Hole Zinc Face Plate w/Brass Push & Pull Drain Brushed Nickel

12A1-1311-VB One Hole Zinc Face Plate w/Brass Push & Pull Drain Venetian Bronze

12A1-1311-ORB One Hole Zinc Face Plate w/Brass Push & Pull Drain Oil Rubbed Bronze

12A1-1321-PC Two Holes Zinc Face Plate w/Brass Push & Pull Drain Polished Chrome

12A1-1321-BNPVD Two Holes Zinc Face Plate w/Brass Push & Pull Drain Brushed Nickel

12A1-1321-VB Two Holes Zinc Face Plate w/Brass Push & Pull Drain Venetian Bronze

12A1-1321-ORB Two Holes Zinc Face Plate w/Brass Push & Pull Drain Oil Rubbed Bronze

Cable Drain Kits - SCH40 Plastic Construction - PVC Material

12A1-1511-PC Metal Overflow Cover w/Brass Drain, 35" Cable Polished Chrome

12A1-1511-BNPVD Metal Overflow Cover w/Brass Drain, 35" Cable Brushed Nickel

12A1-1511-VB Metal Overflow Cover w/Brass Drain, 35" Cable Venetian Bronze

12A1-1511-ORB Metal Overflow Cover w/Brass Drain, 35" Cable Oil Rubbed Bronze

Lift & Turn Drain Kits - Brass Construction

12A1-5011-PC
One Hole Zinc Face Plate w/Brass Lift & Turn Drain,
17GA Tubing

Polished Chrome

12A1-5011-BNPVD
One Hole Zinc Face Plate w/Brass Lift & Turn Drain,
17GA Tubing

Brushed Nickel

12A1-5011-VB
One Hole Zinc Face Plate w/Brass Lift & Turn Drain,
17GA Tubing

Venetian Bronze

12A1-5011-ORB
One Hole Zinc Face Plate w/Brass Lift & Turn Drain,
17GA Tubing

Oil Rubbed Bronze

12A1-5012-PC
One Hole Zinc Face Plate w/Zinc Lift & Turn Drain,
20GA Tubing

Polished Chrome

12A1-5013-PC
Two Holes Zinc Face Plate w/Brass Lift & Turn Drain,
17GA Tubing

Polished Chrome

12A1-5013-BNPVD
Two Holes Zinc Face Plate w/Brass Lift & Turn Drain,
17GA Tubing

Brushed Nickel

12A1-5013-VB
Two Holes Zinc Face Plate w/Brass Lift & Turn Drain,
17GA Tubing

Venetian Bronze

12A1-5013-ORB
Two Holes Zinc Face Plate w/Brass Lift & Turn Drain,
17GA Tubing

Oil Rubbed Bronze

12A1-5014-PC
Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain,
20GA Tubing

Polished Chrome

Section B 27 Bath Decoration



Part Number Item Description Finish Picture

Touch Toe Drain Kits - Brass Construction

12A1-5111-PC
One Hole Zinc Face Plate w/Brass Touch Toe Drain,
17GA Tubing

Polished Chrome

12A1-5111-BNPVD
One Hole Zinc Face Plate w/Brass Touch Toe Drain,
17GA Tubing

Brushed Nickel

12A1-5111-VB
One Hole Zinc Face Plate w/Brass Touch Toe Drain,
17GA Tubing

Venetian Bronze

12A1-5111-ORB
One Hole Zinc Face Plate w/Brass Touch Toe Drain,
17GA Tubing

Oil Rubbed Bronze

12A1-5112-PC
One Hole Zinc Face Plate w/Zinc Touch Toe Drain,
20GA Tubing

Polished Chrome

12A1-5113-PC
Two Holes Zinc Face Plate w/Brass Touch Toe Drain,
17GA Tubing

Polished Chrome

12A1-5113-BNPVD
Two Holes Zinc Face Plate w/Brass Touch Toe Drain,
17GA Tubing

Brushed Nickel

12A1-5113-VB
Two Holes Zinc Face Plate w/Brass Touch Toe Drain,
17GA Tubing

Venetian Bronze

12A1-5113-ORB
Two Holes Zinc Face Plate w/Brass Touch Toe Drain,
17GA Tubing

Oil Rubbed Bronze

12A1-5114-PC
Two Holes Zinc Face Plate w/Zinc Touch Toe Drain,
20GA Tubing

Polished Chrome

Trip Lever Drain Kits - Brass Construction

12A1-5221-PC
Zinc Face Plate with Solid Brass Drain and Metal Doom
Cover, 17GA Tubing

Polished Chrome

12A1-5221-BNPVD
Zinc Face Plate with Solid Brass Drain and Metal Doom
Cover, 17GA Tubing

Brushed Nickel

12A1-5221-VB
Zinc Face Plate with Solid Brass Drain and Metal Doom
Cover, 17GA Tubing

Venetian Bronze

12A1-5221-ORB
Zinc Face Plate with Solid Brass Drain and Metal Doom
Cover, 17GA Tubing

Oil Rubbed Bronze

12A1-5223-PC
Zinc Face Plate with Solid Brass Drain and Metal Doom
Cover, 20GA Tubing

Polished Chrome

12A1-5225-PC
Zinc Face Plate with Solid Brass Drain and Pop-up
Stopper, 17GA Tubing

Polished Chrome

12A1-5225-BNPVD
Zinc Face Plate with Solid Brass Drain and Pop-up
Stopper, 17GA Tubing

Brushed Nickel

12A1-5225-VB
Zinc Face Plate with Solid Brass Drain and Pop-up
Stopper, 17GA Tubing

Venetian Bronze

12A1-5225-ORB
Zinc Face Plate with Solid Brass Drain and Pop-up
Stopper, 17GA Tubing

Oil Rubbed Bronze

12A1-5227-PC
Zinc Face Plate with Solid Brass Drain and Pop-up
Stopper, 20GA Tubing

Polished Chrome

Chain & Stopper Drain Kits - Brass Construction

12A1-5411-PC
One Hole Zinc Face Plate with Brass Chain & Rubber
Stopper, 17GA

Polished Chrome

12A1-5411-BNPVD
One Hole Zinc Face Plate with Brass Chain & Rubber
Stopper, 17GA

Brushed Nickel

12A1-5411-VB
One Hole Zinc Face Plate with Brass Chain & Rubber
Stopper, 17GA

Venetian Bronze

12A1-5411-ORB
One Hole Zinc Face Plate with Brass Chain & Rubber
Stopper, 17GA

Oil Rubbed Bronze

12A1-5413-PC
One Hole Zinc Face Plate with Brass Chain & Rubber
Stopper, 20GA

Polished Chrome

Section B 28 Bath Decoration



Part Number Item Description Finish Picture

Lift & Turn Half Kits - SCH40 Plastic Construction - PVC Material - White

12A2-1011-PC One Hole Zinc Face Plate w/Brass Lift & Turn Drain Polished Chrome

12A2-1011-BNPVD One Hole Zinc Face Plate w/Brass Lift & Turn Drain Brushed Nickel PVD

12A2-1011-VB One Hole Zinc Face Plate w/Brass Lift & Turn Drain Venetian Bronze

12A2-1011-ORB One Hole Zinc Face Plate w/Brass Lift & Turn Drain Oil Rubbed Bronze

12A2-1012-PC One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Polished Chrome

12A2-1012-BNPVD One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Brushed Nickel PVD

12A2-1012-VB One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Venetian Bronze

12A2-1012-ORB One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Oil Rubbed Bronze

12A2-1021-PC Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Polished Chrome

12A2-1021-BNPVD Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Brushed Nickel PVD

12A2-1021-VB Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Venetian Bronze

12A2-1021-ORB Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Oil Rubbed Bronze

12A2-1022-PC Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Polished Chrome

12A2-1022-BNPVD Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Brushed Nickel PVD

12A2-1022-VB Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Venetian Bronze

12A2-1022-ORB Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Oil Rubbed Bronze

Lift & Turn Half Kits - SCH40 Plastic Construction - ABS Material - Black

12A2-1051-PC One Hole Zinc Face Plate w/Brass Lift & Turn Drain Polished Chrome

12A2-1051-BNPVD One Hole Zinc Face Plate w/Brass Lift & Turn Drain Brushed Nickel PVD

12A2-1051-VB One Hole Zinc Face Plate w/Brass Lift & Turn Drain Venetian Bronze

12A2-1051-ORB One Hole Zinc Face Plate w/Brass Lift & Turn Drain Oil Rubbed Bronze

12A2-1052-PC One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Polished Chrome

12A2-1052-BNPVD One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Brushed Nickel PVD

12A2-1052-VB One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Venetian Bronze

12A2-1052-ORB One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Oil Rubbed Bronze

12A2-1061-PC Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Polished Chrome

12A2-1061-BNPVD Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Brushed Nickel PVD

12A2-1061-VB Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Venetian Bronze

12A2-1061-ORB Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Oil Rubbed Bronze

12A2-1062-PC Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Polished Chrome

12A2-1062-BNPVD Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Brushed Nickel PVD

12A2-1062-VB Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Venetian Bronze

12A2-1062-ORB Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Oil Rubbed Bronze

Touch Toe Half Kits - SCH40 Plastic Construction - PVC Material - White

12A2-1111-PC One Hole Zinc Face Plate w/Brass Touch Toe Drain Polished Chrome

12A2-1111-BNPVD One Hole Zinc Face Plate w/Brass Touch Toe Drain Brushed Nickel PVD

12A2-1111-VB One Hole Zinc Face Plate w/Brass Touch Toe Drain Venetian Bronze

12A2-1111-ORB One Hole Zinc Face Plate w/Brass Touch Toe Drain Oil Rubbed Bronze

12A2-1112-PC One Hole Zinc Face Plate w/Zinc Touch Toe Drain Polished Chrome

12A2-1112-BNPVD One Hole Zinc Face Plate w/Zinc Touch Toe Drain Brushed Nickel PVD

12A2-1112-VB One Hole Zinc Face Plate w/Zinc Touch Toe Drain Venetian Bronze

12A2-1112-ORB One Hole Zinc Face Plate w/Zinc Touch Toe Drain Oil Rubbed Bronze

Section B 29 Bath Decoration



Part Number Item Description Finish Picture

12A2-1121-PC Two Holes Zinc Face Plate w/Brass Touch Toe Drain Polished Chrome

12A2-1121-BNPVD Two Holes Zinc Face Plate w/Brass Touch Toe Drain Brushed Nickel PVD

12A2-1121-VB Two Holes Zinc Face Plate w/Brass Touch Toe Drain Venetian Bronze

12A2-1121-ORB Two Holes Zinc Face Plate w/Brass Touch Toe Drain Oil Rubbed Bronze

12A2-1122-PC Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Polished Chrome

12A2-1122-BNPVD Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Brushed Nickel PVD

12A2-1122-VB Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Venetian Bronze

12A2-1122-ORB Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Oil Rubbed Bronze

Touch Toe Half Kits - SCH40 Plastic Construction - ABS Material - Black

12A2-1151-PC One Hole Zinc Face Plate w/Brass Touch Toe Drain Polished Chrome

12A2-1151-BNPVD One Hole Zinc Face Plate w/Brass Touch Toe Drain Brushed Nickel PVD

12A2-1151-VB One Hole Zinc Face Plate w/Brass Touch Toe Drain Venetian Bronze

12A2-1151-ORB One Hole Zinc Face Plate w/Brass Touch Toe Drain Oil Rubbed Bronze

12A2-1152-PC One Hole Zinc Face Plate w/Zinc Touch Toe Drain Polished Chrome

12A2-1152-BNPVD One Hole Zinc Face Plate w/Zinc Touch Toe Drain Brushed Nickel PVD

12A2-1152-VB One Hole Zinc Face Plate w/Zinc Touch Toe Drain Venetian Bronze

12A2-1152-ORB One Hole Zinc Face Plate w/Zinc Touch Toe Drain Oil Rubbed Bronze

12A2-1161-PC Two Holes Zinc Face Plate w/Brass Touch Toe Drain Polished Chrome

12A2-1161-BNPVD Two Holes Zinc Face Plate w/Brass Touch Toe Drain Brushed Nickel PVD

12A2-1161-VB Two Holes Zinc Face Plate w/Brass Touch Toe Drain Venetian Bronze

12A2-1161-ORB Two Holes Zinc Face Plate w/Brass Touch Toe Drain Oil Rubbed Bronze

12A2-1162-PC Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Polished Chrome

12A2-1162-BNPVD Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Brushed Nickel PVD

12A2-1162-VB Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Venetian Bronze

12A2-1162-ORB Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Oil Rubbed Bronze

Push & Pull Half Kits - SCH40 Plastic Construction - PVC Material - White

12A2-1311-PC One Hole Zinc Face Plate w/Brass Push & Pull Drain Polished Chrome

12A2-1311-BNPVD One Hole Zinc Face Plate w/Brass Push & Pull Drain Brushed Nickel PVD

12A2-1311-VB One Hole Zinc Face Plate w/Brass Push & Pull Drain Venetian Bronze

12A2-1311-ORB One Hole Zinc Face Plate w/Brass Push & Pull Drain Oil Rubbed Bronze

12A2-1312-PC One Hole Zinc Face Plate w/Zinc Push & Pull Drain Polished Chrome

12A2-1312-BNPVD One Hole Zinc Face Plate w/Zinc Push & Pull Drain Brushed Nickel PVD

12A2-1312-VB One Hole Zinc Face Plate w/Zinc Push & Pull Drain Venetian Bronze

12A2-1312-ORB One Hole Zinc Face Plate w/Zinc Push & Pull Drain Oil Rubbed Bronze

12A2-1321-PC Two Holes Zinc Face Plate w/Brass Push & Pull Drain Polished Chrome

12A2-1321-BNPVD Two Holes Zinc Face Plate w/Brass Push & Pull Drain Brushed Nickel PVD

12A2-1321-VB Two Holes Zinc Face Plate w/Brass Push & Pull Drain Venetian Bronze

12A2-1321-ORB Two Holes Zinc Face Plate w/Brass Push & Pull Drain Oil Rubbed Bronze

12A2-1322-PC Two Holes Zinc Face Plate w/Zinc Push & Pull Drain Polished Chrome

12A2-1322-BNPVD Two Holes Zinc Face Plate w/Zinc Push & Pull Drain Brushed Nickel PVD

12A2-1322-VB Two Holes Zinc Face Plate w/Zinc Push & Pull Drain Venetian Bronze

12A2-1322-ORB Two Holes Zinc Face Plate w/Zinc Push & Pull Drain Oil Rubbed Bronze

Section B 30 Bath Decoration



Part Number Item Description Finish Picture

Push & Pull Half Kits - SCH40 Plastic Construction - ABS Material - Black

12A2-1351-PC One Hole Zinc Face Plate w/Brass Push & Pull Drain Polished Chrome

12A2-1351-BNPVD One Hole Zinc Face Plate w/Brass Push & Pull Drain Brushed Nickel PVD

12A2-1351-VB One Hole Zinc Face Plate w/Brass Push & Pull Drain Venetian Bronze

12A2-1351-ORB One Hole Zinc Face Plate w/Brass Push & Pull Drain Oil Rubbed Bronze

12A2-1352-PC One Hole Zinc Face Plate w/Zinc Push & Pull Drain Polished Chrome

12A2-1352-BNPVD One Hole Zinc Face Plate w/Zinc Push & Pull Drain Brushed Nickel PVD

12A2-1352-VB One Hole Zinc Face Plate w/Zinc Push & Pull Drain Venetian Bronze

12A2-1352-ORB One Hole Zinc Face Plate w/Zinc Push & Pull Drain Oil Rubbed Bronze

12A2-1361-PC Two Holes Zinc Face Plate w/Brass Push & Pull Drain Polished Chrome

12A2-1361-BNPVD Two Holes Zinc Face Plate w/Brass Push & Pull Drain Brushed Nickel PVD

12A2-1361-VB Two Holes Zinc Face Plate w/Brass Push & Pull Drain Venetian Bronze

12A2-1361-ORB Two Holes Zinc Face Plate w/Brass Push & Pull Drain Oil Rubbed Bronze

12A2-1362-PC Two Holes Zinc Face Plate w/Zinc Push & Pull Drain Polished Chrome

12A2-1362-BNPVD Two Holes Zinc Face Plate w/Zinc Push & Pull Drain Brushed Nickel PVD

12A2-1362-VB Two Holes Zinc Face Plate w/Zinc Push & Pull Drain Venetian Bronze

12A2-1362-ORB Two Holes Zinc Face Plate w/Zinc Push & Pull Drain Oil Rubbed Bronze

Section B 31 Bath Decoration



Part Number Item Description Finish Picture

Bath Drain Kits - Lift'N Turn Pattern

12A3-0101
1-1/4" Fine Thread (1-3/8"-16 UN) Drain w/Lift'N Turn
Stopper, Cast Brass Construction

Chrome

12A3-0102
1-1/2" Coarse Thread (1-1/2"-11.5 NPSM) Drain
w/Lift'N Turn Stopper, Cast Brass Construction

Chrome

12A3-0111
1-1/4" Fine Thread (1-3/8"-16 UN) Drain w/Lift'N Turn
Stopper, Zinc Alloy Construction

Chrome

12A3-0112
1-1/2" Coarse Thread (1-1/2"-11.5 NPSM) Drain
w/Lift'N Turn Stopper, Zinc Alloy Construction

Chrome

Bath Drain Kits - Push and Pull Pattern

12A3-0202
1-1/2" Coarse Thread (1-1/2"-11.5 NPSM) Drain
w/Push&Pull Stopper, Cast Brass Construction

Chrome

12A3-0212
1-1/2" Coarse Thread (1-1/2"-11.5 NPSM) Drain
w/Push&Pull Stopper, Zinc Alloy Construction

Chrome

Bath Drain Kits - Toe Touch Pattern

12A3-0301
1-1/4" Fine Thread (1-3/8"-16 UN) Drain w/Toe Touch
Stopper, Cast Brass Construction

Chrome

12A3-0302
1-1/2" Coarse Thread (1-1/2"-11.5 NPSM) Drain
w/Toe Touch Stopper, Cast Brass Construction

Chrome

12A3-0311
1-1/4" Fine Thread (1-3/8"-16 UN) Drain w/Toe Touch
Stopper, Zinc Alloy Construction

Chrome

12A3-0312
1-1/2" Coarse Thread (1-1/2"-11.5 NPSM) Drain
w/Toe Touch Stopper, Zinc Alloy Construction

Chrome

Bath Drain Kits - Rapid Fit Pattern

12A3-0401
1-1/4" Fine Thread (1-3/8"-16 UN) Drain w/Rapid Fit
Stopper, Cast Brass Construction

Chrome

12A3-0402
1-1/2" Coarse Thread (1-1/2"-11.5 NPSM) Drain
w/Rapid Fit Stopper, Cast Brass Construction

Chrome

12A3-0411
1-1/4" Fine Thread (1-3/8"-16 UN) Drain w/Rapid Fit
Stopper, Zinc Alloy Construction

Chrome

12A3-0412
1-1/2" Coarse Thread (1-1/2"-11.5 NPSM) Drain
w/Rapid Fit Stopper, Zinc Alloy Construction

Chrome

Bath Drain Kits - Dome Strainer Pattern

12A3-0502
1-1/2" Coarse Thread (1-1/2"-11.5 NPSM) Drain
w/Dome Strainer Cover, Cast Brass Construction

Chrome

12A3-0512
1-1/2" Coarse Thread (1-1/2"-11.5 NPSM) Drain
w/Dome Strainer Cover, Zinc Alloy Construction

Chrome

Section B 32 Bath Decoration



Part Number Item Description Finish Picture

Lift & Turn Conversion Kits

12A4-0011-PC One Hole Zinc Face Plate w/Brass Lift & Turn Drain Polished Chrome

12A4-0011-BNPVD One Hole Zinc Face Plate w/Brass Lift & Turn Drain Brushed Nickel PVD

12A4-0011-VB One Hole Zinc Face Plate w/Brass Lift & Turn Drain Venetian Bronze

12A4-0011-ORB One Hole Zinc Face Plate w/Brass Lift & Turn Drain Oil Rubbed Bronze

12A4-0012-PC One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Polished Chrome

12A4-0012-BNPVD One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Brushed Nickel PVD

12A4-0012-VB One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Venetian Bronze

12A4-0012-ORB One Hole Zinc Face Plate w/Zinc Lift & Turn Drain Oil Rubbed Bronze

12A4-0021-PC Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Polished Chrome

12A4-0021-BNPVD Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Brushed Nickel PVD

12A4-0021-VB Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Venetian Bronze

12A4-0021-ORB Two Holes Zinc Face Plate w/Brass Lift & Turn Drain Oil Rubbed Bronze

12A4-0022-PC Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Polished Chrome

12A4-0022-BNPVD Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Brushed Nickel PVD

12A4-0022-VB Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Venetian Bronze

12A4-0022-ORB Two Holes Zinc Face Plate w/Zinc Lift & Turn Drain Oil Rubbed Bronze

Touch Toe Conversion Kits

12A4-0111-PC One Hole Zinc Face Plate w/Brass Touch Toe Drain Polished Chrome

12A4-0111-BNPVD One Hole Zinc Face Plate w/Brass Touch Toe Drain Brushed Nickel PVD

12A4-0111-VB One Hole Zinc Face Plate w/Brass Touch Toe Drain Venetian Bronze

12A4-0111-ORB One Hole Zinc Face Plate w/Brass Touch Toe Drain Oil Rubbed Bronze

12A4-0112-PC One Hole Zinc Face Plate w/Zinc Touch Toe Drain Polished Chrome

12A4-0112-BNPVD One Hole Zinc Face Plate w/Zinc Touch Toe Drain Brushed Nickel PVD

12A4-0112-VB One Hole Zinc Face Plate w/Zinc Touch Toe Drain Venetian Bronze

12A4-0112-ORB One Hole Zinc Face Plate w/Zinc Touch Toe Drain Oil Rubbed Bronze

12A4-0121-PC Two Holes Zinc Face Plate w/Brass Touch Toe Drain Polished Chrome

12A4-0121-BNPVD Two Holes Zinc Face Plate w/Brass Touch Toe Drain Brushed Nickel PVD

12A4-0121-VB Two Holes Zinc Face Plate w/Brass Touch Toe Drain Venetian Bronze

12A4-0121-ORB Two Holes Zinc Face Plate w/Brass Touch Toe Drain Oil Rubbed Bronze

12A4-0122-PC Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Polished Chrome

12A4-0122-BNPVD Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Brushed Nickel PVD

12A4-0122-VB Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Venetian Bronze

12A4-0122-ORB Two Holes Zinc Face Plate w/Zinc Touch Toe Drain Oil Rubbed Bronze

Section B 33 Bath Decoration



Part Number Item Description Finish Picture

Trip Lever Conversion Kits

12A4-0211-PC Trip Lever Zinc Face Plate w/Brass Strainer Polished Chrome

12A4-0211-BNPVD Trip Lever Zinc Face Plate w/Brass Strainer Brushed Nickel PVD

12A4-0211-VB Trip Lever Zinc Face Plate w/Brass Strainer Venetian Bronze

12A4-0211-ORB Trip Lever Zinc Face Plate w/Brass Strainer Oil Rubbed Bronze

12A4-0212-PC Trip Lever Zinc Face Plate w/Stainless Steel Strainer Polished Chrome

12A4-0212-BNPVD Trip Lever Zinc Face Plate w/Stainless Steel Strainer Brushed Nickel PVD

12A4-0212-VB Trip Lever Zinc Face Plate w/Stainless Steel Strainer Venetian Bronze

12A4-0212-ORB Trip Lever Zinc Face Plate w/Stainless Steel Strainer Oil Rubbed Bronze

Push & Pull Conversion Kits

12A4-0011-PC One Hole Zinc Face Plate w/Brass Push & Pull Drain Polished Chrome

12A4-0011-BNPVD One Hole Zinc Face Plate w/Brass Push & Pull Drain Brushed Nickel PVD

12A4-0011-VB One Hole Zinc Face Plate w/Brass Push & Pull Drain Venetian Bronze

12A4-0011-ORB One Hole Zinc Face Plate w/Brass Push & Pull Drain Oil Rubbed Bronze

12A4-0012-PC One Hole Zinc Face Plate w/Zinc Push & Pull Drain Polished Chrome

12A4-0012-BNPVD One Hole Zinc Face Plate w/Zinc Push & Pull Drain Brushed Nickel PVD

12A4-0012-VB One Hole Zinc Face Plate w/Zinc Push & Pull Drain Venetian Bronze

12A4-0012-ORB One Hole Zinc Face Plate w/Zinc Push & Pull Drain Oil Rubbed Bronze

12A4-0021-PC Two Holes Zinc Face Plate w/Brass Push & Pull Drain Polished Chrome

12A4-0021-BNPVD Two Holes Zinc Face Plate w/Brass Push & Pull Drain Brushed Nickel PVD

12A4-0021-VB Two Holes Zinc Face Plate w/Brass Push & Pull Drain Venetian Bronze

12A4-0021-ORB Two Holes Zinc Face Plate w/Brass Push & Pull Drain Oil Rubbed Bronze

12A4-0022-PC Two Holes Zinc Face Plate w/Zinc Push & Pull Drain Polished Chrome

12A4-0022-BNPVD Two Holes Zinc Face Plate w/Zinc Push & Pull Drain Brushed Nickel PVD

12A4-0022-VB Two Holes Zinc Face Plate w/Zinc Push & Pull Drain Venetian Bronze

12A4-0022-ORB Two Holes Zinc Face Plate w/Zinc Push & Pull Drain Oil Rubbed Bronze

Section B 34 Bath Decoration



Part Number Item Description Finish Picture

Stainless Steel Grab Bars - Exposed Screw

12C1-1012-SN 1-1/4" x 12" Satin

12C1-1012-PN 1-1/4" x 12" Peened

12C1-1012-WH 1-1/4" x 12" White

12C1-1018-SN 1-1/4" x 18" Satin

12C1-1018-PN 1-1/4" x 18" Peened

12C1-1018-WH 1-1/4" x 18" White

12C1-1024-SN 1-1/4" x 24" Satin

12C1-1024-PN 1-1/4" x 24" Peened

12C1-1024-WH 1-1/4" x 24" White

12C1-1036-SN 1-1/4" x 36" Satin

12C1-1036-PN 1-1/4" x 36" Peened

12C1-1036-WH 1-1/4" x 36" White

12C1-1112-SN 1-1/2" x 12" Satin

12C1-1112-PN 1-1/2" x 12" Peened

12C1-1112-WH 1-1/2" x 12" White

12C1-1118-SN 1-1/2" x 18" Satin

12C1-1118-PN 1-1/2" x 18" Peened

12C1-1118-WH 1-1/2" x 18" White

12C1-1124-SN 1-1/2" x 24" Satin

12C1-1124-PN 1-1/2" x 24" Peened

12C1-1124-WH 1-1/2" x 24" White

12C1-1136-SN 1-1/2" x 36" Satin

12C1-1136-PN 1-1/2" x 36" Peened

12C1-1136-WH 1-1/2" x 36" White

Stainless Steel Grab Bars - Concealed Screw

12C1-2012-SN 1-1/4" x 12" Satin

12C1-2012-PN 1-1/4" x 12" Peened

12C1-2012-WH 1-1/4" x 12" White

12C1-2018-SN 1-1/4" x 18" Satin

12C1-2018-PN 1-1/4" x 18" Peened

12C1-2018-WH 1-1/4" x 18" White

12C1-2024-SN 1-1/4" x 24" Satin

12C1-2024-PN 1-1/4" x 24" Peened

12C1-2024-WH 1-1/4" x 24" White

12C1-2036-SN 1-1/4" x 36" Satin

12C1-2036-PN 1-1/4" x 36" Peened

12C1-2036-WH 1-1/4" x 36" White

Section B 35 Bath Decoration



Part Number Item Description Finish Picture

12C1-2112-SN 1-1/2" x 12" Satin

12C1-2112-PN 1-1/2" x 12" Peened

12C1-2112-WH 1-1/2" x 12" White

12C1-2118-SN 1-1/2" x 18" Satin

12C1-2118-PN 1-1/2" x 18" Peened

12C1-2118-WH 1-1/2" x 18" White

12C1-2124-SN 1-1/2" x 24" Satin

12C1-2124-PN 1-1/2" x 24" Peened

12C1-2124-WH 1-1/2" x 24" White

12C1-2130-SN 1-1/2" x 30" Satin

12C1-2136-SN 1-1/2" x 36" Satin

12C1-2136-PN 1-1/2" x 36" Peened

12C1-2136-WH 1-1/2" x 36" White

12C1-2142-SN 1-1/2" x 42" Satin

12C1-2148-SN 1-1/2" x 48" Satin

Decorative Stainless Steel Grab Bars - Modern Style

12C1-5118-PC 1-1/4" x 18" Polished Chrome

12C1-5118-SN 1-1/4" x 18" Satin

12C1-5124-PC 1-1/4" x 24" Polished Chrome

12C1-5124-SN 1-1/4" x 24" Satin

12C1-5148-PC 1-1/4" x 48" Polished Chrome

12C1-5148-SN 1-1/4" x 48" Satin

Section B 36 Bath Decoration



Part Number Item Description Finish Picture

Bath Drain Accessories

12D0-0001
Sponge Gasket For SCH40 Half Kits.
OD: 92.5mm, ID: 58mm, Height: 19.5mm

Blue

12D0-0002
Sponge Gasket For Tubular Overflow Kits
OD: 88mm, ID: 58mm, Height: 14.5mm

Grey

12D0-0003
Beveled Face Plate Gasket, Sponge Rubber,
2-1/8" ID x 3-3/16" OD, 9/16" - 3/16" Thick

Black

12D0-0004 Waste Shoe Washer for 1-1/2" Tub Drain Black

12D0-0005 Waste Shoe Washer for 1-1/4" Tub Drain Black

12D0-0011 Aluminum Bracket for Bath Drain Conversion Kit Rough Aluminum

12D0-0021
Brass Bushing for Tub Drain,
1-5/8"-16UN ID x 1-1/2"-11.5NPSM OD

Rough Brass

12D0-0021P
Plastic Bushing for Tub Drain,
1-5/8"-16UN ID x 1-1/2"-11.5NPSM OD

Rough Brass

12D0-0031
All Brass Linkage Assembly for Trip Lever, 6" Eye Wire,
10#-32 Eye Bolt

Rough Brass

12D0-0032
Linkage Assembly for Trip Lever 6" Eye Wire, 10-32
Brass Eye Bolt, Brass Clevis Plunger and White Plastic
Bucket

Rough Brass

12D0-0101-PC Metal Strainer Dome Cover w/Screw Polished Chrome

12D0-0101-BNPVD Metal Strainer Dome Cover w/Screw Brushed Nickel PVD

12D0-0101-VB Metal Strainer Dome Cover w/Screw Venetian Bronze

12D0-0101-ORB Metal Strainer Dome Cover w/Screw Oil Rubbed Bronze

12D0-0102-PC
Metal Snap-in Bath Drain Strainer Cover, 2" OD x 1/2"
Height

Polished Chrome

Section B 37 Bath Decoration



Part Number Item Description Finish Picture

Basin and Tub Stoppers - White Rubber w/Chrome Plated Ring

12D0-1101 1" White

12D0-1102 1-1/8" White

12D0-1103 1-1/4" White

12D0-1104 1-3/8" White

12D0-1105 1-1/2" White

12D0-1106 1-5/8" White

12D0-1107 1-3/4" White

12D0-1108 1-7/8" White

12D0-1109 2" White

Universal Stopper - White Rubber w/Chrome Plated Ring

12D0-1501 1" to 1-3/8" Basin Stopper White

12D0-1502 1-1/2" to 2" Bathtub or Laundry Tub Stopper White

Unversal Suction Stopper - White Rubber

12D0-1601 4-1/2" White

12D0-1602 5" White

Flip-It Tub Stopper

12D0-2101-CP Flip-It Stopper Only Chrome Plated

12D0-2102-CP Flip-It Conversion Kit Chrome Plated

Hair Catcher

12D2-3001 Fits Sink, Tub and Shower White

Drain Protector

12D2-3101 3-3/8" OD Strainer, Aluminum Aluminum

Shower Accessories

12D2-5001-PC Shower Holder for 1-1/4" Grab Bar Chrome Plated

12D2-5001-WH Shower Holder for 1-1/4" Grab Bar White

Section B 38 Bath Decoration



Part Number Item Description Finish Picture

One Hole Overflow Cover Plates

12D1-0001-PC Brass Plate Less Screw Polished Chrome

12D1-0001-BNPVD Brass Plate Less Screw Brushed Nickel PVD

12D1-0001-VB Brass Plate Less Screw Venetian Bronze

12D1-0001-ORB Brass Plate Less Screw Oil Rubbed Bronze

12D1-0002-PC Brass Plate With Screw Polished Chrome

12D1-0002-BNPVD Brass Plate With Screw Brushed Nickel PVD

12D1-0002-VB Brass Plate With Screw Venetian Bronze

12D1-0002-ORB Brass Plate With Screw Oil Rubbed Bronze

12D1-0011-PC Zinc Plate Less Screw Polished Chrome

12D1-0011-BNPVD Zinc Plate Less Screw Brushed Nickel PVD

12D1-0011-VB Zinc Plate Less Screw Venetian Bronze

12D1-0011-ORB Zinc Plate Less Screw Oil Rubbed Bronze

12D1-0012-PC Zinc Plate With Screw Polished Chrome

12D1-0012-BNPVD Zinc Plate With Screw Brushed Nickel PVD

12D1-0012-VB Zinc Plate With Screw Venetian Bronze

12D1-0012-ORB Zinc Plate With Screw Oil Rubbed Bronze

Two Holes Overflow Cover Plates

12D1-0021-PC Brass Plate Less Screws Polished Chrome

12D1-0021-BNPVD Brass Plate Less Screws Brushed Nickel PVD

12D1-0021-VB Brass Plate Less Screws Venetian Bronze

12D1-0021-ORB Brass Plate Less Screws Oil Rubbed Bronze

12D1-0022-PC Brass Plate With Screws Polished Chrome

12D1-0022-BNPVD Brass Plate With Screws Brushed Nickel PVD

12D1-0022-VB Brass Plate With Screws Venetian Bronze

12D1-0022-ORB Brass Plate With Screws Oil Rubbed Bronze

12D1-0031-PC Zinc Plate Less Screws Polished Chrome

12D1-0031-BNPVD Zinc Plate Less Screws Brushed Nickel PVD

12D1-0031-VB Zinc Plate Less Screws Venetian Bronze

12D1-0031-ORB Zinc Plate Less Screws Oil Rubbed Bronze

12D1-0032-PC Zinc Plate With Screws Polished Chrome

12D1-0032-BNPVD Zinc Plate With Screws Brushed Nickel PVD

12D1-0032-VB Zinc Plate With Screws Venetian Bronze

12D1-0032-ORB Zinc Plate With Screws Oil Rubbed Bronze

Section B 39 Bath Decoration



Part Number Item Description Finish Picture

Trip Lever Overflow Cover Plates

12D1-0041-PC Brass Plate Less Screws Polished Chrome

12D1-0041-BNPVD Brass Plate Less Screws Brushed Nickel PVD

12D1-0041-VB Brass Plate Less Screws Venetian Bronze

12D1-0041-ORB Brass Plate Less Screws Oil Rubbed Bronze

12D1-0042-PC Brass Plate With Screws Polished Chrome

12D1-0042-BNPVD Brass Plate With Screws Brushed Nickel PVD

12D1-0042-VB Brass Plate With Screws Venetian Bronze

12D1-0042-ORB Brass Plate With Screws Oil Rubbed Bronze

12D1-0051-PC Zinc Plate Less Screws Polished Chrome

12D1-0051-BNPVD Zinc Plate Less Screws Brushed Nickel PVD

12D1-0051-VB Zinc Plate Less Screws Venetian Bronze

12D1-0051-ORB Zinc Plate Less Screws Oil Rubbed Bronze

12D1-0052-PC Zinc Plate With Screws Polished Chrome

12D1-0052-BNPVD Zinc Plate With Screws Brushed Nickel PVD

12D1-0052-VB Zinc Plate With Screws Venetian Bronze

12D1-0052-ORB Zinc Plate With Screws Oil Rubbed Bronze

Overflow Cover Plate Screws

12D1-0101-PC 2" Brass Screw, Slot Head Polished Chrome

12D1-0101-BNPVD 2" Brass Screw, Slot Head Brushed Nickel PVD

12D1-0101-VB 2" Brass Screw, Slot Head Venetian Bronze

12D1-0101-ORB 2" Brass Screw, Slot Head Oil Rubbed Bronze

12D1-0102-PC 2" Steel Screw, Slot Head Polished Chrome

12D1-0111-PC 2" Brass Screw, Cross Head Polished Chrome

12D1-0111-BNPVD 2" Brass Screw, Cross Head Brushed Nickel PVD

12D1-0111-VB 2" Brass Screw, Cross Head Venetian Bronze

12D1-0111-ORB 2" Brass Screw, Cross Head Oil Rubbed Bronze

12D1-0112-PC 2" Steel Screw, Cross Head Polished Chrome

Section B 40 Bath Decoration



Part Number Item Description Finish Picture

Aluminum Straight Shower Curtain Rods - 1" OD - Polished Aluminum - 23 Gauge

12D2-1060 5FT Length, Rod Only Polished Aluminum

12D2-1072 6FT Length, Rod Only Polished Aluminum

12D2-1160 5FT Length, Rod w/Chromed Flanges Polished Aluminum

12D2-1172 6FT Length, Rod w/Chromed Flanges Polished Aluminum

12D2-1260 5FT Length, Rod w/Chromed ABS Jiffy Flanges Polished Aluminum

12D2-1272 6FT Length, Rod w/Chromed ABS Jiffy Flanges Polished Aluminum

12D2-1260 5FT Length, Rod w/Chromed Metal Jiffy Flanges Polished Aluminum

12D2-1272 6FT Length, Rod w/Chromed Metal Jiffy Flanges Polished Aluminum

D Type Shower Curtain Rod - 1" OD Tubing - 24" Adjustable Ceiling Support Rod

12D2-2054 54" x 27" Aluminum Tubing w/Jumbo Flanges Polished Aluminum

12D2-2154 54" x 27" Brass Tubing w/Jumbo Flanges Polished Chrome

12D2-2060 60" x 27" Aluminum Tubing w/Jumbo Flanges Polished Aluminum

12D2-2160 60" x 27" Brass Tubing w/Jumbo Flanges Polished Chrome

L Type Shower Curtain Rod - 1" OD Tubing - 24" Adjustable Ceiling Support Rod

12D2-3060 60" x 27" Aluminum Tubing w/Jumbo Flanges Polished Aluminum

12D2-3160 60" x 27" Brass Tubing w/Jumbo Flanges Polished Chrome

12D2-3072 72" x 27" Aluminum Tubing w/Jumbo Flanges Polished Aluminum

12D2-3172 72" x 27" Brass Tubing w/Jumbo Flanges Polished Chrome

U Type Shower Curtain Rod - 1" OD Tubing - 24" Adjustable Ceiling Support Rod

12D2-4054 54" x 27" Aluminum Tubing w/Jumbo Flanges Polished Aluminum

12D2-4154 54" x 27" Brass Tubing w/Jumbo Flanges Polished Chrome

12D2-4060 60" x 27" Aluminum Tubing w/Jumbo Flanges Polished Aluminum

12D2-4160 60" x 27" Brass Tubing w/Jumbo Flanges Polished Chrome

Curved Shower Curtain Rod - 1" OD Tubing

12D2-5260 5FT Stainless Steel Tubing w/Metal Swivel Bracket Polished SS

Section B 41 Bath Decoration



Part Number Item Description Finish Picture

Adjustable Curved Shower Curtain Rod - 1" OD Premier Finished Tubing

12D2-6273
Adjustable from 59" up to 73", Stainless Steel Tubing
w/Metal Flange

Polished SS

Shower Curtain Rod Accessories

12D2-A001 Simple Shower Curtain Rod Flange for 1" OD Chrome Plated

12D2-A002 ABS Jiffy Flanges for Shower Curtain Rod for 1" OD Chrome Plated

12D2-A003 Metal Jiffy Flanges for Shower Curtain Rod for 1" OD Chrome Plated

12D2-A004 Metal Jumbo Shower Curtain Rod Flange for 1" OD Chrome Plated

12D2-A005 ABS Oblong Shower Curtain Rod Flange for 1" OD Chrome Plated

12D2-A006 Metal Swivel Shower Curtain Rod Flange for 1" OD Chrome Plated

12D2-A101 Shower Curtain Ring w/Balls Chrome Plated

12D2-A102 Shower Curtain Ring Chrome Plated

12D2-A205 PVC Shower Curtain Rod Cover, 5FT White

12D2-A206 PVC Shower Curtain Rod Cover, 6FT White

Section B 42 Bath Decoration



Part Number Item Description Finish Picture

1/4 Turn Supply Valves - Compression x Compression - Angle

1310-1001 3/8" OD x 3/8" OD Chrome Plated

1310-1002 5/8" OD x 1/4" OD Chrome Plated

1310-1003 5/8" OD x 3/8" OD Chrome Plated

1310-1004 5/8" OD x 1/2" OD Chrome Plated

1/4 Turn Supply Valves - Compression x Compression - Straight

1310-1011 3/8" OD x 3/8" OD Chrome Plated

1310-1012 5/8" OD x 3/8" OD Chrome Plated

1/4 Turn Supply Valves - FIP x Compression - Angle

1310-1021 3/8" FIP x 3/8" OD Chrome Plated

1310-1022 1/2" FIP x 1/4" OD Chrome Plated

1310-1023 1/2" FIP x 3/8" OD Chrome Plated

1310-1024 1/2" FIP x 1/2" OD Chrome Plated

1/4 Turn Supply Valves - FIP x Compression - Straight

1310-1031 3/8" FIP x 3/8" OD Chrome Plated

1310-1032 1/2" FIP x 3/8" OD Chrome Plated

1310-1033 1/2" FIP x 1/2" OD Chrome Plated

1/4 Turn Supply Valves - Sweat x Compression - Angle

1310-1041 1/2" Sweat x 3/8" OD Chrome Plated

1310-1042 1/2" Sweat x 1/2" OD Chrome Plated

1/4 Turn Supply Valves - Sweat x Compression - Straight

1310-1051 1/2" Sweat x 3/8" OD Chrome Plated

1310-1052 1/2" Sweat x 1/2" OD Chrome Plated

1/4 Turn Supply Valves - PEX x Compression - Angle

1310-1061 3/8" PEX x 3/8" OD Chrome Plated

1310-1062 1/2" PEX x 1/4" OD Chrome Plated

1310-1063 1/2" PEX x 3/8" OD Chrome Plated

1/4 Turn Supply Valves - PEX x Compression - Straight

1310-1071 3/8" PEX x 3/8" OD Chrome Plated

1310-1072 1/2" PEX x 1/4" OD Chrome Plated

1310-1073 1/2" PEX x 3/8" OD Chrome Plated

1/4 Turn Supply Valves - MIP x Compression - Angle

1310-1081 1/4" MIP x 1/4" OD Chrome Plated

1310-1082 1/4" MIP x 3/8" OD Chrome Plated

1310-1083 1/4" MIP x 1/2" OD Chrome Plated

Section C 1 Supply Lines



Part Number Item Description Finish Picture

1/4 Turn Supply Valves - CPVC Solvent Weld x Compression - Angle

1310-1201 1/2" Nom CPVC x 3/8" OD Chrome Plated

1/4 Turn Supply Valves - CPVC Solvent Weld x Compression - Straight

1310-1211 1/2" Nom CPVC x 3/8" OD Chrome Plated

1/4 Turn Supply Valves - Push Fit x Compression - Angle

1310-1221 1/2" Nom Push Fit x 1/4" OD Chrome Plated

1310-1222 1/2" Nom Push Fit x 3/8" OD Chrome Plated

1310-1223 1/2" Nom Push Fit x 1/2" OD Chrome Plated

1/4 Turn Supply Valves - Push Fit x Compression - Straight

1310-1231 1/2" Nom Push Fit x 1/4" OD Chrome Plated

1310-1232 1/2" Nom Push Fit x 3/8" OD Chrome Plated

1310-1233 1/2" Nom Push Fit x 1/2" OD Chrome Plated

Multi Turn Supply Valves - FIP x Compression - Angle

1310-1091 3/8" FIP x 3/8" OD Chrome Plated

1310-1092 3/8" FIP x 1/2" OD Chrome Plated

1310-1093 1/2" FIP x 1/4" OD Chrome Plated

1310-1094 1/2" FIP x 3/8" OD Chrome Plated

1310-1095 1/2" FIP x 1/2" OD Chrome Plated

Multi Turn Supply Valves - FIP x Compression - Straight

1310-1101 3/8" FIP x 3/8" OD Chrome Plated

1310-1102 1/2" FIP x 3/8" OD Chrome Plated

1310-1103 1/2" FIP x 1/2" OD Chrome Plated

Multi Turn Supply Valves - Compression x Compression - Angle

1310-1111 5/8" OD x 1/4" OD Chrome Plated

1310-1112 5/8" OD x 3/8" OD Chrome Plated

1310-1113 5/8" OD x 1/2" OD Chrome Plated

Multi Turn Supply Valves - Compression x Compression - Straight

1310-1121 3/8" OD x 3/8" OD Chrome Plated

1310-1122 5/8" OD x 3/8" OD Chrome Plated

1310-1123 5/8" OD x 1/2" OD Chrome Plated

Section C 2 Supply Lines



Part Number Item Description Finish Picture

Multi Turn Supply Valves - Sweat x Compression - Angle

1310-1131 1/2" Sweat x 3/8" OD Chrome Plated

Multi Turn Supply Valves - Sweat x Compression - Straight

1310-1141 1/2" Sweat x 3/8" OD Chrome Plated

Multi Turn Supply Valves - PEX x Compression - Angle

1310-1151 1/2" PEX x 3/8" OD Chrome Plated

Multi Turn Supply Valves - PEX x Compression - Straight

1310-1161 1/2" PEX x 3/8" OD Chrome Plated

Multi Turn Supply Valves - PEX x PEX - Straight

1310-1171 1/2" PEX x 3/8" PEX Chrome Plated

1310-1172 1/2" PEX x 1/2" PEX Chrome Plated

Multi Turn Supply Valves - PEX x MIP - Straight

1310-1181 3/8" PEX x 1/2" MIP Chrome Plated

1310-1182 1/2" PEX x 1/2" MIP Chrome Plated

1/4 Turn Supply Valves - Angle - Loose Key

1310-2001 3/8" FIP x 3/8" OD Chrome Plated

1310-2002 1/2" FIP x 3/8" OD Chrome Plated

1310-2003 5/8" OD x 3/8" OD Chrome Plated

1310-2004 1/2" Sweat x 3/8" OD Chrome Plated

1/4 Turn Supply Valves - Straight - Loose Key

1310-2011 3/8" FIP x 3/8" OD Chrome Plated

1310-2012 1/2" FIP x 3/8" OD Chrome Plated

1310-2013 5/8" OD x 3/8" OD Chrome Plated

1310-2014 1/2" Sweat x 3/8" OD Chrome Plated

Section C 3 Supply Lines



Part Number Item Description Finish Picture

Copper Faucet Risers - One-Piece w/Insert

1321-1012 3/8" OD x 12" Chrome Plated

1321-1015 3/8" OD x 15" Chrome Plated

1321-1020 3/8" OD x 20" Chrome Plated

1321-1030 3/8" OD x 30" Chrome Plated

1321-1036 3/8" OD x 36" Chrome Plated

1321-2012 1/2" OD x 12" Chrome Plated

1321-2015 1/2" OD x 15" Chrome Plated

1321-2020 1/2" OD x 20" Chrome Plated

1321-2030 1/2" OD x 30" Chrome Plated

1321-2036 1/2" OD x 36" Chrome Plated

Copper Faucet Risers - Compression w/KC Nosepiece

1321-1112 3/8" OD x 12" Chrome Plated

1321-1115 3/8" OD x 15" Chrome Plated

1321-1120 3/8" OD x 20" Chrome Plated

1321-1130 3/8" OD x 30" Chrome Plated

1321-1136 3/8" OD x 36" Chrome Plated

1321-2112 1/2" OD x 12" Chrome Plated

Copper Faucet Risers - 1/2" MIP w/1/4" FIP Tapped

1321-1212 3/8" OD x 12" Chrome Plated

1321-1220 3/8" OD x 20" Chrome Plated

Copper Faucet Risers - Flared w/Rubber Washer & Brass Ring

1321-1311 3/8" OD x 11" Chrome Plated

1321-1317 3/8" OD x 17" Chrome Plated

Copper Faucet Risers - Sweat

1321-1412 3/8" OD x 12" Chrome Plated

1321-1415 3/8" OD x 15" Chrome Plated

1321-1420 3/8" OD x 20" Chrome Plated

Copper Faucet Risers - One-Piece w/Shank Nut

1321-2512 1/2" OD x 12" Rough

Section C 4 Supply Lines



Part Number Item Description Finish Picture

PEX Faucet Risers

1321-1912 3/8" OD x 12" White

1321-1915 3/8" OD x 15" White

1321-1920 3/8" OD x 20" White

1321-1930 3/8" OD x 30" White

1321-1936 3/8" OD x 36" White

Copper Toilet Risers - w/Gasket Nosepiece

1321-5012 3/8" OD x 12" Chrome Plated

1321-5015 3/8" OD x 15" Chrome Plated

1321-5020 3/8" OD x 20" Chrome Plated

1321-5030 3/8" OD x 30" Chrome Plated

1321-6012 1/2" OD x 12" Chrome Plated

1321-6020 1/2" OD x 20" Chrome Plated

Copper Toilet Risers - w/Heavy Duty Rubber Nosepiece

1321-5112 3/8" OD x 12" Chrome Plated

1321-5115 3/8" OD x 15" Chrome Plated

1321-5120 3/8" OD x 20" Chrome Plated

1321-6112 1/2" OD x 12" Chrome Plated

Copper Toilet Risers - Flared w/Rubber Washer & Brass Ring

1321-5211 3/8" x 11" Chrome Plated

PEX Toilet Risers

1321-5912 3/8" OD x 12" White

1321-5915 3/8" OD x 15" White

1321-5920 3/8" OD x 20" White

***All models exceed 750 mm (29.5") in length and shall bear the UPC® certification mark instead of cUPC® certification mark

Section C 5 Supply Lines



Part Number Item Description Finish Picture

Faucet Connectors - 1/2"FIP x 1/2"FIP, Stainless Steel Braided

1322-SF109 9"

1322-SF112 12"

1322-SF116 16"

1322-SF120 20"

1322-SF124 24"

1322-SF130 30"

1322-SF136 36"

1322-SF148 48"

1322-SF160 60"

1322-SF172 72"

Faucet Connectors - 3/8"COMP x 3/8"OD, Stainless Steel Braided

1322-SF209 9"

1322-SF212 12"

1322-SF216 16"

1322-SF220 20"

1322-SF224 24"

1322-SF230 30"

1322-SF236 36"

Faucet Connectors - 3/8"COMP x 3/8"COMP, Stainless Steel Braided

1322-SF309 9"

1322-SF312 12"

1322-SF316 16"

1322-SF320 20"

1322-SF324 24"

1322-SF330 30"

1322-SF336 36"

1322-SF348 48"

1322-SF360 60"

1322-SF372 72"

Faucet Connectors - 1/2"COMP x 1/2"FIP, Stainless Steel Braided

1322-SF409 9"

1322-SF412 12"

1322-SF416 16"

1322-SF420 20"

1322-SF424 24"

1322-SF430 30"

1322-SF436 36"

1322-SF448 48"

1322-SF460 60"

1322-SF472 72"

Section C 6 Supply Lines



Part Number Item Description Finish Picture

Faucet Connectors - 7/16"COMP x 1/2"FIP, Stainless Steel Braided

1322-SF509 9"

1322-SF512 12"

1322-SF516 16"

1322-SF520 20"

1322-SF524 24"

1322-SF530 30"

Faucet Connectors - 3/8"Flare x 1/2"FIP, Stainless Steel Braided

1322-SF609 9"

1322-SF612 12"

1322-SF616 16"

1322-SF620 20"

1322-SF624 24"

1322-SF630 30"

Faucet Connectors - 3/8"COMP x 1/2"FIP, Stainless Steel Braided

1322-SF709 9"

1322-SF712 12"

1322-SF716 16"

1322-SF720 20"

1322-SF724 24"

1322-SF730 30"

1322-SF736 36"

1322-SF748 48"

1322-SF760 60"

1322-SF772 72"

Faucet Connectors - 1/2"FIP x 1/2"FIP, Vinyl Braided

1322-VF109 9"

1322-VF112 12"

1322-VF116 16"

1322-VF120 20"

1322-VF124 24"

1322-VF130 30"

1322-VF136 36"

1322-VF148 48"

1322-VF160 60"

1322-VF172 72"

Section C 7 Supply Lines



Part Number Item Description Finish Picture

Faucet Connectors - 3/8"COMP x 3/8"COMP, Vinyl Braided

1322-VF309 9"

1322-VF312 12"

1322-VF316 16"

1322-VF320 20"

1322-VF324 24"

1322-VF330 30"

1322-VF336 36"

1322-VF348 48"

1322-VF360 60"

1322-VF372 72"

Faucet Connectors - 1/2"COMP x 1/2"FIP, Vinyl Braided

1322-VF409 9"

1322-VF412 12"

1322-VF416 16"

1322-VF420 20"

1322-VF424 24"

1322-VF430 30"

1322-VF436 36"

1322-VF448 48"

1322-VF460 60"

Faucet Connectors - 7/16"COMP x 1/2"FIP, Vinyl Braided

1322-VF509 9"

1322-VF512 12"

1322-VF516 16"

1322-VF520 20"

1322-VF524 24"

Faucet Connectors - 3/8"COMP x 1/2"FIP, Vinyl Braided

1322-VF709 9"

1322-VF712 12"

1322-VF716 16"

1322-VF720 20"

1322-VF724 24"

1322-VF730 30"

1322-VF736 36"

1322-VF748 48"

1322-VF760 60"

1322-VF772 72"

Toilet Connectors - 1/2"COMP x 7/8"Ballcock, Stainless Steel Braided

1322-ST109 9"

1322-ST112 12"

1322-ST116 16"

1322-ST120 20"

Section C 8 Supply Lines



Part Number Item Description Finish Picture

Toilet Connectors - 1/2"FIP x 7/8"Ballcock, Stainless Steel Braided

1322-ST209 9"

1322-ST212 12"

1322-ST216 16"

1322-ST220 20"

1322-ST224 24"

Toilet Connectors - 3/8"Flare x 7/8"Ballcock, Stainless Steel Braided

1322-ST309 9"

1322-ST312 12"

1322-ST316 16"

1322-ST320 20"

Toilet Connectors - 3/8"COMP x 7/8"Ballcock, Stainless Steel Braided

1322-ST409 9"

1322-ST412 12"

1322-ST416 16"

1322-ST420 20"

Toilet Connectors - 7/16"COMP x 7/8"Ballcock, Stainless Steel Braided

1322-ST509 9"

1322-ST512 12"

1322-ST516 16"

1322-ST520 20"

Toilet Connectors - 1/2"COMP x 7/8"Ballcock, Vinyl Braided

1322-VT109 9"

1322-VT112 12"

1322-VT116 16"

1322-VT120 20"

Toilet Connectors - 1/2"FIP x 7/8"Ballcock, Vinyl Braided

1322-VT209 9"

1322-VT212 12"

1322-VT216 16"

1322-VT220 20"

1322-VT224 24"

Toilet Connectors - 3/8"Flare x 7/8"Ballcock, Vinyl Braided

1322-VT309 9"

1322-VT312 12"

1322-VT316 16"

1322-VT320 20"

Section C 9 Supply Lines



Part Number Item Description Finish Picture

Toilet Connectors - 3/8"COMP x 7/8"Ballcock, Vinyl Braided

1322-VT409 9"

1322-VT412 12"

1322-VT416 16"

1322-VT420 20"

Icemaker Connectors - 1/4"COMP x 1/4"COMP, Stainless Steel Braided

1322-SM012 12"

1322-SM024 24"

1322-SM036 36"

1322-SM048 48"

1322-SM060 60"

1322-SM072 72"

1322-SM084 84"

1322-SM096 96"

1322-SM108 108"

1322-SM120 120"

Dishwasher Connectors - 3/8"COMP x 3/8"COMP, w/Elbow, Stainless Steel Braided

1322-SD048 48"

1322-SD060 60"

1322-SD072 72"

Dishwasher Connectors - 3/8"COMP x 1/2"FIP, w/Elbow, Stainless Steel Braided

1322-SD560 60"

Washing Machine Connectors - 3/4"FGH x 3/"FGH, Stainless Steel Braided

1322-SW048 48"

1322-SW060 60"

1322-SW072 72"

1322-SW096 96"

Washing Machine Connectors - 3/4"FGH x 3/"FGH, Rubber

1322-RW048 48"

1322-RW060 60"

1322-RW072 72"

1322-RW096 96"

Water Heater Connectors - 3/4"FIP x 3/4"FIP, Stainless Steel Braided

1322-SH112 12"

1322-SH118 18"

1322-SH124 24"

Section C 10 Supply Lines



Part Number Item Description Finish Picture

Water Heater Connectors - 3/4"FIP x 3/4"FCM, Stainless Steel Braided

1322-SH212 12"

1322-SH218 18"

1322-SH224 24"

Water Heater Connectors - 3/4"FIP x 3/4"MCM, Stainless Steel Braided

1322-SH312 12"

1322-SH318 18"

1322-SH324 24"

Water Heater Connectors - 3/4"FCM x 3/4"MCM, Stainless Steel Braided

1322-SH412 12"

1322-SH418 18"

1322-SH424 24"

***All models exceed 750 mm (29.5") in length and shall bear the UPC® certification mark instead of cUPC® certification mark

Section C 11 Supply Lines



Part Number Item Description Finish Picture

Copper Water Heater Connector

1323-0112-FF 3/4"FIP x 3/4"FIP x 12" Rough Copper

1323-0115-FF 3/4"FIP x 3/4"FIP x 15" Rough Copper

1323-0118-FF 3/4"FIP x 3/4"FIP x 18" Rough Copper

1323-0124-FF 3/4"FIP x 3/4"FIP x 24" Rough Copper

Stainless Steel Water Heater Connector

1323-5112-FF 3/4"FIP x 3/4"FIP x 12" Stainless Steel

1323-5115-FF 3/4"FIP x 3/4"FIP x 15" Stainless Steel

1323-5118-FF 3/4"FIP x 3/4"FIP x 18" Stainless Steel

1323-5124-FF 3/4"FIP x 3/4"FIP x 24" Stainless Steel

Premium Stainless Steel Water Heater Connector

1323-8112-FF 3/4"FIP x 3/4"FIP x 12" Stainless Steel

1323-8115-FF 3/4"FIP x 3/4"FIP x 15" Stainless Steel

1323-8118-FF 3/4"FIP x 3/4"FIP x 18" Stainless Steel

1323-8124-FF 3/4"FIP x 3/4"FIP x 24" Stainless Steel

Section C 12 Supply Lines



Part Number Item Description Finish Picture

Compression Kits - Lavatory

1330-0001 3/8 IPS x 3/8 OD Polished Chrome

1330-0001-LK 3/8 IPS x 3/8 OD, Loose Key Polished Chrome

1330-0002 3/8 IPS x 1/2 OD Polished Chrome

1330-0002-LK 3/8 IPS x 1/2 OD, Loose Key Polished Chrome

1330-0003 1/2 IPS x 3/8 OD Polished Chrome

1330-0003-LK 1/2 IPS x 3/8 OD, Loose Key Polished Chrome

1330-0004 1/2 IPS x 1/2 OD Polished Chrome

1330-0004-LK 1/2 IPS x 1/2 OD, Loose Key Polished Chrome

1330-0005 1/2 NOM x 3/8 OD Polished Chrome

1330-0005-LK 1/2 NOM x 3/8 OD, Loose Key Polished Chrome

1330-0006 1/2 NOM x 1/2 OD Polished Chrome

1330-0006-LK 1/2 NOM x 1/2 OD, Loose Key Polished Chrome

1330-0007 1/2 SWTx 3/8 OD Polished Chrome

1330-0007-LK 1/2 SWT x 3/8 OD, Loose Key Polished Chrome

1330-0008 1/2 SWT x 1/2 OD Polished Chrome

1330-0008-LK 1/2 SWT x 1/2 OD, Loose Key Polished Chrome

Quarter Turn Kits - Lavatory

1330-0101 3/8 IPS x 3/8 OD Polished Chrome

1330-0101-LK 3/8 IPS x 3/8 OD, Loose Key Polished Chrome

1330-0103 1/2 IPS x 3/8 OD Polished Chrome

1330-0103-LK 1/2 IPS x 3/8 OD, Loose Key Polished Chrome

1330-0105 1/2 NOM x 3/8 OD Polished Chrome

1330-0105-LK 1/2 NOM x 3/8 OD, Loose Key Polished Chrome

1330-0107 1/2 SWTx 3/8 OD Polished Chrome

1330-0107-LK 1/2 SWT x 3/8 OD, Loose Key Polished Chrome

1330-0108 1/2 SWT x 1/2 OD Polished Chrome

1330-0108-LK 1/2 SWT x 1/2 OD, Loose Key Polished Chrome

Rigid wheelchair lavatory supply kit

1330-0201 3/8 ADA Rigid Wheelchair Lavatory Supply Kit Polished Chrome

1330-0201-LK
3/8 ADA Rigid Wheelchair Lavatory Supply Kit, Loose
Key

Polished Chrome

Section C 13 Supply Lines



Part Number Item Description Finish Picture

Commercia Water Hammer Arresters - Max Pressure: 600 PSI - Working Pressure: 60 to 400 PSI - Temperature: 33°F to 188°F 

1340-CMT050 1/2" MNPT Rough

1340-CMT075 3/4" MNPT Rough

1340-CMT100 1" MNPT Rough

1340-CMT125 1-1/4" MNPT Rough

1340-CMT150 1-1/2" MNPT Rough

1340-CMT200 2" MNPT Rough

1340-CS050 1/2" Sweat Rough

1340-CS075 3/4" Sweat Rough

1340-CS100 1" Sweat Rough

1340-CS125 1-1/4" Sweat Rough

Tees - Polypropylene Piston - Maximum Working Pressure: 350 PSI - Temperature Range: 33°F to 180°F

1340-TCC25 1/4" OD Compression Tee Rough

1340-TCC38 3/8" OD Compression Tee Rough

1340-TCC63 5/8" OD Compression Tee Rough

1340-TPP950 1/2" F1960 PEX Rough

1340-TPP850 1/2" F1807 PEX Rough

1340-TCF38 3/8" OD Compression x Female Compression Rough

1340-TCF63 5/8" OD Compression x Female Compression Rough

Section C 14 Supply Lines



Part Number Item Description Finish Picture

1340-BFHMH75
3/4" Female Swivel Hose Thread x 3/4" Male Hose
Thread Laundry Water Arrester

Rough

1340-BMSFS50
1/2" Male Sweat Open End Branch x 1/2" Female
Sweat Tee

Rough

Straights - Polypropylene Piston - Maximum Working Pressure: 350 PSI - Temperature Range: 33°F to 180°F

1340-SMS50 1/2" Sweat Rough

1340-SMT50 1/2" Male Thread Rough

1340-SP850 1/2" F1807 PEX Rough

Section C 15 Supply Lines



Part Number Item Description Finish Picture

1340-SP950 1/2" F1960 PEX Rough

1340-SMCPVC50 1/2" Male CPVC Spigot Rough

Section C 16 Supply Lines



Part Number Item Description Finish Picture

P-Traps 1-1/4" x 1-1/4" With Cleanout

1411-0001-PC 17GA, Brass Nuts Polished Chrome

1411-0001-RB 17GA, Brass Nuts Rough Brass

1411-0004-PC 17GA, Brass Nuts, Ground Joint Polished Chrome

1411-0002-PC 20GA, Zinc Nuts Polished Chrome

1411-0002-RB 20GA, Zinc Nuts Rough Brass

1411-0003-PC 22GA, Zinc Nuts Polished Chrome

1411-0003-RB 22GA, Zinc Nuts Rough Brass

P-Traps 1-1/4" x 1-1/4" Less Cleanout

1411-0011-PC 17GA, Brass Nuts Polished Chrome

1411-0011-RB 17GA, Brass Nuts Rough Brass

1411-0014-PC 17GA, Brass Nuts, Ground Joint Polished Chrome

1411-0012-PC 20GA, Zinc Nuts Polished Chrome

1411-0012-RB 20GA, Zinc Nuts Rough Brass

1411-0013-PC 22GA, Zinc Nuts Polished Chrome

1411-0013-RB 22GA, Zinc Nuts Rough Brass

P-Traps 1-1/2" x 1-1/2" With Cleanout

1411-0021-PC 17GA, Brass Nuts Polished Chrome

1411-0021-RB 17GA, Brass Nuts Rough Brass

1411-0024-PC 17GA, Brass Nuts, Ground Joint Polished Chrome

1411-0022-PC 20GA, Zinc Nuts Polished Chrome

1411-0022-RB 20GA, Zinc Nuts Rough Brass

1411-0023-PC 22GA, Zinc Nuts Polished Chrome

1411-0023-RB 22GA, Zinc Nuts Rough Brass

P-Traps 1-1/2" x 1-1/2" Less Cleanout

1411-0031-PC 17GA, Brass Nuts Polished Chrome

1411-0031-RB 17GA, Brass Nuts Rough Brass

1411-0034-PC 17GA, Brass Nuts, Ground Joint Polished Chrome

1411-0032-PC 20GA, Zinc Nuts Polished Chrome

1411-0032-RB 20GA, Zinc Nuts Rough Brass

1411-0033-PC 22GA, Zinc Nuts Polished Chrome

1411-0033-RB 22GA, Zinc Nuts Rough Brass

P-Traps 1-1/4" x 1-1/2" Choke Style Less Cleanout

1411-0051-PC 17GA, Brass Nuts Polished Chrome

1411-0051-RB 17GA, Brass Nuts Rough Brass

1411-0054-PC 17GA, Brass Nuts, Ground Joint Polished Chrome

1411-0052-PC 20GA, Zinc Nuts Polished Chrome

1411-0052-RB 20GA, Zinc Nuts Rough Brass

Section D 1 Drainage



Part Number Item Description Finish Picture

P-Traps 1-1/4" x 1-1/4" Semi Cast With Cleanout

1411-0061-PC Semi Cast J Bend with 17GA Wall Bend, Brass Nuts Polished Chrome

1411-0061-RB Semi Cast J Bend with 17GA Wall Bend, Brass Nuts Rough Brass

1411-0062-PC Semi Cast J Bend with 17GA Wall Bend, Zinc Nuts Polished Chrome

1411-0062-RB Semi Cast J Bend with 17GA Wall Bend, Zinc Nuts Rough Brass

1411-0063-PC
Semi Cast J Bend with 17GA Wall Bend, Brass Nuts,
Ground Joint

Polished Chrome

1411-0063-RB
Semi Cast J Bend with 17GA Wall Bend, Brass Nuts,
Ground Joint

Rough Brass

P-Traps 1-1/2" x 1-1/2" Semi Cast With Cleanout

1411-0081-PC Semi Cast J Bend with 17GA Wall Bend, Brass Nuts Polished Chrome

1411-0081-RB Semi Cast J Bend with 17GA Wall Bend, Brass Nuts Rough Brass

1411-0082-PC Semi Cast J Bend with 17GA Wall Bend, Zinc Nuts Polished Chrome

1411-0082-RB Semi Cast J Bend with 17GA Wall Bend, Zinc Nuts Rough Brass

1411-0083-PC
Semi Cast J Bend with 17GA Wall Bend, Brass Nuts,
Ground Joint

Polished Chrome

1411-0083-RB
Semi Cast J Bend with 17GA Wall Bend, Brass Nuts,
Ground Joint

Rough Brass

P-Traps 1-1/4" x 1-1/2" Semi Cast With Cleanout

1411-0101-PC Semi Cast J Bend with 17GA Wall Bend, Brass Nuts Polished Chrome

1411-0101-RB Semi Cast J Bend with 17GA Wall Bend, Brass Nuts Rough Brass

1411-0102-PC Semi Cast J Bend with 17GA Wall Bend, Zinc Nuts Polished Chrome

1411-0102-RB Semi Cast J Bend with 17GA Wall Bend, Zinc Nuts Rough Brass

1411-0103-PC
Semi Cast J Bend with 17GA Wall Bend, Brass Nuts,
Ground Joint

Polished Chrome

1411-0103-RB
Semi Cast J Bend with 17GA Wall Bend, Brass Nuts,
Ground Joint

Rough Brass

Repair Traps 1-1/4" x 1-1/4"

1411-0131-PC 17GA, Brass Nuts Polished Chrome

1411-0132-PC 20GA, Zinc Nuts Polished Chrome

Repair Traps 1-1/2" x 1-1/2"

1411-0151-PC 17GA, Brass Nuts Polished Chrome

1411-0152-PC 20GA, Zinc Nuts Polished Chrome

S-Traps 1-1/4" x 1-1/4" With Cleanout

1411-0161-PC 17GA, Brass Nuts Polished Chrome

1411-0161-RB 17GA, Brass Nuts Rough Brass

1411-0162-PC 20GA, Zinc Nuts Polished Chrome

1411-0162-RB 20GA, Zinc Nuts Rough Brass

1411-0163-PC 22GA, Zinc Nuts Polished Chrome

1411-0163-RB 22GA, Zinc Nuts Rough Brass

Section D 2 Drainage



Part Number Item Description Finish Picture

S-Traps 1-1/4" x 1-1/4" Less Cleanout

1411-0171-PC 17GA, Brass Nuts Polished Chrome

1411-0171-RB 17GA, Brass Nuts Rough Brass

1411-0172-PC 20GA, Zinc Nuts Polished Chrome

1411-0172-RB 20GA, Zinc Nuts Rough Brass

1411-0173-PC 22GA, Zinc Nuts Polished Chrome

1411-0173-RB 22GA, Zinc Nuts Rough Brass

S-Traps 1-1/2" x 1-1/2" With Cleanout

1411-0181-PC 17GA, Brass Nuts Polished Chrome

1411-0181-RB 17GA, Brass Nuts Rough Brass

1411-0182-PC 20GA, Zinc Nuts Polished Chrome

1411-0182-RB 20GA, Zinc Nuts Rough Brass

1411-0183-PC 22GA, Zinc Nuts Polished Chrome

1411-0183-RB 22GA, Zinc Nuts Rough Brass

S-Traps 1-1/2" x 1-1/2" Less Cleanout

1411-0191-PC 17GA, Brass Nuts Polished Chrome

1411-0191-RB 17GA, Brass Nuts Rough Brass

1411-0192-PC 20GA, Zinc Nuts Polished Chrome

1411-0192-RB 20GA, Zinc Nuts Rough Brass

1411-0193-PC 22GA, Zinc Nuts Polished Chrome

1411-0193-RB 22GA, Zinc Nuts Rough Brass

Sink Trap 1-1/4" x 1-1/4" With Cleanout

1411-0221-PC 17GA, Brass Nuts Polished Chrome

1411-0224-PC 17GA, Brass Nuts, LA Trap, Ground Joint Polished Chrome

1411-0222-PC 20GA, Zinc Nuts Polished Chrome

Sink Trap 1-1/4" x 1-1/4" Less Cleanout

1411-0231-PC 17GA, Brass Nuts Polished Chrome

1411-0234-PC 17GA, Brass Nuts, LA Trap, Ground Joint Polished Chrome

1411-0232-PC 20GA, Zinc Nuts Polished Chrome

Sink Trap 1-1/2" x 1-1/2" With Cleanout

1411-0241-PC 17GA, Brass Nuts Polished Chrome

1411-0244-PC 17GA, Brass Nuts, LA Trap, Ground Joint Polished Chrome

1411-0242-PC 20GA, Zinc Nuts Polished Chrome

Sink Trap 1-1/2" x 1-1/2" Less Cleanout

1411-0251-PC 17GA, Brass Nuts Polished Chrome

1411-0254-PC 17GA, Brass Nuts, LA Trap, Ground Joint Polished Chrome

1411-0252-PC 20GA, Zinc Nuts Polished Chrome

Section D 3 Drainage



Part Number Item Description Finish Picture

J Bends 1-1/4" x 1-1/4" With Cleanout

1411-0301-PC 17GA, Brass Nuts Polished Chrome

1411-0301-RB 17GA, Brass Nuts Rough Brass

1411-0304-PC 17GA, Brass Nuts, Ground Joint Polished Chrome

1411-0302-PC 20GA, Zinc Nuts Polished Chrome

1411-0302-RB 20GA, Zinc Nuts Rough Brass

1411-0303-PC 22GA, Zinc Nuts Polished Chrome

1411-0303-RB 22GA, Zinc Nuts Rough Brass

J Bends 1-1/4" x 1-1/4" Less Cleanout

1411-0311-PC 17GA, Brass Nuts Polished Chrome

1411-0311-RB 17GA, Brass Nuts Rough Brass

1411-0314-PC 17GA, Brass Nuts, Ground Joint Polished Chrome

1411-0312-PC 20GA, Zinc Nuts Polished Chrome

1411-0312-RB 20GA, Zinc Nuts Rough Brass

1411-0313-PC 22GA, Zinc Nuts Polished Chrome

1411-0313-RB 22GA, Zinc Nuts Rough Brass

J Bends 1-1/2" x 1-1/2" With Cleanout

1411-0321-PC 17GA, Brass Nuts Polished Chrome

1411-0321-RB 17GA, Brass Nuts Rough Brass

1411-0324-PC 17GA, Brass Nuts, Ground Joint Polished Chrome

1411-0322-PC 20GA, Zinc Nuts Polished Chrome

1411-0322-RB 20GA, Zinc Nuts Rough Brass

1411-0323-PC 22GA, Zinc Nuts Polished Chrome

1411-0323-RB 22GA, Zinc Nuts Rough Brass

J Bends 1-1/2" x 1-1/2" Less Cleanout

1411-0331-PC 17GA, Brass Nuts Polished Chrome

1411-0331-RB 17GA, Brass Nuts Rough Brass

1411-0334-PC 17GA, Brass Nuts, Ground Joint Polished Chrome

1411-0332-PC 20GA, Zinc Nuts Polished Chrome

1411-0332-RB 20GA, Zinc Nuts Rough Brass

1411-0333-PC 22GA, Zinc Nuts Polished Chrome

1411-0333-RB 22GA, Zinc Nuts Rough Brass

Sink Trap J Bends 1-1/4" x 1-1/4" With Cleanout, Captured Nut

1411-0341-PC 17GA, Brass Nuts Polished Chrome

1411-0341-RB 17GA, Brass Nuts Rough Brass

1411-0344-PC 17GA, Brass Nuts, Ground Joint Polished Chrome

1411-0342-PC 20GA, Zinc Nuts Polished Chrome

1411-0342-RB 20GA, Zinc Nuts Rough Brass

1411-0343-PC 22GA, Zinc Nuts Polished Chrome

1411-0343-RB 22GA, Zinc Nuts Rough Brass

Section D 4 Drainage



Part Number Item Description Finish Picture

Sink Trap J Bends 1-1/4" x 1-1/4" Less Cleanout, Captured Nut

1411-0351-PC 17GA, Brass Nuts Polished Chrome

1411-0351-RB 17GA, Brass Nuts Rough Brass

1411-0354-PC 17GA, Brass Nuts, Ground Joint Polished Chrome

1411-0352-PC 20GA, Zinc Nuts Polished Chrome

1411-0352-RB 20GA, Zinc Nuts Rough Brass

1411-0353-PC 22GA, Zinc Nuts Polished Chrome

1411-0353-RB 22GA, Zinc Nuts Rough Brass

Sink Trap J Bends 1-1/2" x 1-1/2" With Cleanout, Captured Nut

1411-0361-PC 17GA, Brass Nuts Polished Chrome

1411-0361-RB 17GA, Brass Nuts Rough Brass

1411-0364-PC 17GA, Brass Nuts, Ground Joint Polished Chrome

1411-0362-PC 20GA, Zinc Nuts Polished Chrome

1411-0362-RB 20GA, Zinc Nuts Rough Brass

1411-0363-PC 22GA, Zinc Nuts Polished Chrome

1411-0363-RB 22GA, Zinc Nuts Rough Brass

Sink Trap J Bends 1-1/2" x 1-1/2" Less Cleanout, Captured Nut

1411-0371-PC 17GA, Brass Nuts Polished Chrome

1411-0371-RB 17GA, Brass Nuts Rough Brass

1411-0374-PC 17GA, Brass Nuts, Ground Joint Polished Chrome

1411-0372-PC 20GA, Zinc Nuts Polished Chrome

1411-0372-RB 20GA, Zinc Nuts Rough Brass

1411-0373-PC 22GA, Zinc Nuts Polished Chrome

1411-0373-RB 22GA, Zinc Nuts Rough Brass

Wall Bends 1-1/4" x 1-1/4"

1411-0401-PC 17GA, 7" Polished Chrome

1411-0402-PC 17GA, 12" Polished Chrome

1411-0403-PC 17GA, 15" Polished Chrome

1411-0404-PC 20GA, 7" Polished Chrome

1411-0405-PC 20GA, 12" Polished Chrome

1411-0406-PC 20GA, 15" Polished Chrome

1411-0407-PC 22GA, 7" Polished Chrome

1411-0408-PC 22GA, 12" Polished Chrome

1411-0409-PC 22GA, 15" Polished Chrome

Section D 5 Drainage



Part Number Item Description Finish Picture

Wall Bends 1-1/2" x 1-1/2"

1411-0421-PC 17GA, 7" Polished Chrome

1411-0422-PC 17GA, 12" Polished Chrome

1411-0423-PC 17GA, 15" Polished Chrome

1411-0424-PC 20GA, 7" Polished Chrome

1411-0425-PC 20GA, 12" Polished Chrome

1411-0426-PC 20GA, 15" Polished Chrome

1411-0427-PC 22GA, 7" Polished Chrome

1411-0428-PC 22GA, 12" Polished Chrome

1411-0429-PC 22GA, 15" Polished Chrome

Center Outlet Countinuous Wastes 1-1/2" Slip Joint

1411-0441-PC 17GA, 16", Brass Nuts Polished Chrome

1411-0442-PC 17GA, 16" w/Baffle Tee, Brass Nuts Polished Chrome

1411-0443-PC 17GA, 21", Brass Nuts Polished Chrome

1411-0444-PC 17GA, 21" w/Baffle Tee, Brass Nuts Polished Chrome

1411-0445-PC 20GA, 16", Zinc Nuts Polished Chrome

1411-0446-PC 20GA, 16" w/Baffle Tee, Zinc Nuts Polished Chrome

1411-0447-PC 20GA, 21", Zinc Nuts Polished Chrome

1411-0448-PC 20GA, 21" w/Baffle Tee, Zinc Nuts Polished Chrome

1411-0449-PC 22GA, 16", Zinc Nuts Polished Chrome

1411-0450-PC 22GA, 16" w/Baffle Tee, Zinc Nuts Polished Chrome

1411-0451-PC 22GA, 21", Zinc Nuts Polished Chrome

1411-0452-PC 22GA, 21" w/Baffle Tee, Zinc Nuts Polished Chrome

Center Outlet Countinuous Wastes 1-1/2" Direct Connect

1411-0461-PC 17GA, 16", Brass Nuts Polished Chrome

1411-0462-PC 17GA, 16" w/Baffle Tee, Brass Nuts Polished Chrome

1411-0463-PC 17GA, 21", Brass Nuts Polished Chrome

1411-0464-PC 17GA, 21" w/Baffle Tee, Brass Nuts Polished Chrome

1411-0465-PC 20GA, 16", Zinc Nuts Polished Chrome

1411-0466-PC 20GA, 16" w/Baffle Tee, Zinc Nuts Polished Chrome

1411-0467-PC 20GA, 21", Zinc Nuts Polished Chrome

1411-0468-PC 20GA, 21" w/Baffle Tee, Zinc Nuts Polished Chrome

1411-0469-PC 22GA, 16", Zinc Nuts Polished Chrome

1411-0470-PC 22GA, 16" w/Baffle Tee, Zinc Nuts Polished Chrome

1411-0471-PC 22GA, 21", Zinc Nuts Polished Chrome

1411-0472-PC 22GA, 21" w/Baffle Tee, Zinc Nuts Polished Chrome

Section D 6 Drainage



Part Number Item Description Finish Picture

End Outlet Countinuous Wastes 1-1/2" Slip Joint

1411-0481-PC 17GA, 16", Brass Nuts Polished Chrome

1411-0482-PC 17GA, 16" w/Baffle Tee, Brass Nuts Polished Chrome

1411-0483-PC 17GA, 21", Brass Nuts Polished Chrome

1411-0484-PC 17GA, 21" w/Baffle Tee, Brass Nuts Polished Chrome

1411-0485-PC 20GA, 16", Zinc Nuts Polished Chrome

1411-0486-PC 20GA, 16" w/Baffle Tee, Zinc Nuts Polished Chrome

1411-0487-PC 20GA, 21", Zinc Nuts Polished Chrome

1411-0488-PC 20GA, 21" w/Baffle Tee, Zinc Nuts Polished Chrome

1411-0489-PC 22GA, 16", Zinc Nuts Polished Chrome

1411-0490-PC 22GA, 16" w/Baffle Tee, Zinc Nuts Polished Chrome

1411-0491-PC 22GA, 21", Zinc Nuts Polished Chrome

1411-0492-PC 22GA, 21" w/Baffle Tee, Zinc Nuts Polished Chrome

End Outlet Countinuous Wastes 1-1/2" Direct Connect

1411-0501-PC 17GA, 16", Brass Nut Polished Chrome

1411-0502-PC 17GA, 16" w/Baffle Tee, Brass Nut Polished Chrome

1411-0503-PC 17GA, 21", Brass Nut Polished Chrome

1411-0504-PC 17GA, 21" w/Baffle Tee, Brass Nut Polished Chrome

1411-0505-PC 20GA, 16", Zinc Nut Polished Chrome

1411-0506-PC 20GA, 16" w/Baffle Tee, Zinc Nut Polished Chrome

1411-0507-PC 20GA, 21", Zinc Nut Polished Chrome

1411-0508-PC 20GA, 21" w/Baffle Tee, Zinc Nut Polished Chrome

1411-0509-PC 22GA, 16", Zinc Nut Polished Chrome

1411-0510-PC 22GA, 16" w/Baffle Tee, Zinc Nut Polished Chrome

1411-0511-PC 22GA, 21", Zinc Nut Polished Chrome

1411-0512-PC 22GA, 21" w/Baffle Tee, Zinc Nut Polished Chrome

Waste Arms 1-1/2" Slip Joint

1411-0521-PC 17GA, 7", Brass Nut Polished Chrome

1411-0521-RB 17GA, 7", Brass Nut Rough Brass

1411-0522-PC 17GA, 11 1/2", Brass Nut Polished Chrome

1411-0522-RB 17GA, 11 1/2", Brass Nut Rough Brass

1411-0523-PC 17GA, 15", Brass Nut Polished Chrome

1411-0523-RB 17GA, 15", Brass Nut Rough Brass

1411-0524-PC 17GA, 20", Brass Nut Polished Chrome

1411-0524-RB 17GA, 20", Brass Nut Rough Brass

1411-0525-PC 17GA, 24", Brass Nut Polished Chrome

1411-0525-RB 17GA, 24", Brass Nut Rough Brass

1411-0526-PC 20GA, 7", Zinc Nut Polished Chrome

1411-0526-RB 20GA, 7", Zinc Nut Rough Brass

1411-0527-PC 20GA, 11 1/2", Zinc Nut Polished Chrome

1411-0527-RB 20GA, 11 1/2", Zinc Nut Rough Brass

1411-0528-PC 20GA, 15", Zinc Nut Polished Chrome

1411-0528-RB 20GA, 15", Zinc Nut Rough Brass

1411-0529-PC 20GA, 20", Zinc Nut Polished Chrome

1411-0529-RB 20GA, 20", Zinc Nut Rough Brass

1411-0530-PC 20GA, 24", Zinc Nut Polished Chrome

Section D 7 Drainage



Part Number Item Description Finish Picture

1411-0530-RB 20GA, 24", Zinc Nut Rough Brass

1411-0531-PC 22GA, 7", Zinc Nut Polished Chrome

1411-0531-RB 22GA, 7", Zinc Nut Rough Brass

1411-0532-PC 22GA, 11 1/2", Zinc Nut Polished Chrome

1411-0532-RB 22GA, 11 1/2", Zinc Nut Rough Brass

1411-0533-PC 22GA, 15", Zinc Nut Polished Chrome

1411-0533-RB 22GA, 15", Zinc Nut Rough Brass

1411-0534-PC 22GA, 20", Zinc Nut Polished Chrome

1411-0534-RB 22GA, 20", Zinc Nut Rough Brass

1411-0535-PC 22GA, 24", Zinc Nut Polished Chrome

1411-0535-RB 22GA, 24", Zinc Nut Rough Brass

Waste Arms 1-1/2" Direct Connect

1411-0541-PC 17GA, 7" Polished Chrome

1411-0541-RB 17GA, 7" Rough Brass

1411-0542-PC 17GA, 11 1/2" Polished Chrome

1411-0542-RB 17GA, 11 1/2" Rough Brass

1411-0543-PC 17GA, 15" Polished Chrome

1411-0543-RB 17GA, 15" Rough Brass

1411-0544-PC 17GA, 20" Polished Chrome

1411-0544-RB 17GA, 20" Rough Brass

1411-0545-PC 17GA, 24" Polished Chrome

1411-0545-RB 17GA, 24" Rough Brass

1411-0546-PC 20GA, 7" Polished Chrome

1411-0546-RB 20GA, 7" Rough Brass

1411-0547-PC 20GA, 11 1/2" Polished Chrome

1411-0547-RB 20GA, 11 1/2" Rough Brass

1411-0548-PC 20GA, 15" Polished Chrome

1411-0548-RB 20GA, 15" Rough Brass

1411-0549-PC 20GA, 20" Polished Chrome

1411-0549-RB 20GA, 20" Rough Brass

1411-0550-PC 20GA, 24" Polished Chrome

1411-0550-RB 20GA, 24" Rough Brass

1411-0551-PC 22GA, 7" Polished Chrome

1411-0551-RB 22GA, 7" Rough Brass

1411-0552-PC 22GA, 11 1/2" Polished Chrome

1411-0552-RB 22GA, 11 1/2" Rough Brass

1411-0553-PC 22GA, 15" Polished Chrome

1411-0553-RB 22GA, 15" Rough Brass

1411-0554-PC 22GA, 20" Polished Chrome

1411-0554-RB 22GA, 20" Rough Brass

1411-0555-PC 22GA, 24" Polished Chrome

1411-0555-RB 22GA, 24" Rough Brass

Section D 8 Drainage



Part Number Item Description Finish Picture

Sink Tailpieces 1-1/4" Flanged

1411-0561-PC 17GA, 4" Polished Chrome

1411-0562-PC 17GA, 6" Polished Chrome

1411-0563-PC 17GA, 8" Polished Chrome

1411-0564-PC 17GA, 12" Polished Chrome

1411-0565-PC 20GA, 4" Polished Chrome

1411-0566-PC 20GA, 6" Polished Chrome

1411-0567-PC 20GA, 8" Polished Chrome

1411-0568-PC 20GA, 12" Polished Chrome

1411-0569-PC 22GA, 4" Polished Chrome

1411-0570-PC 22GA, 6" Polished Chrome

1411-0571-PC 22GA, 8" Polished Chrome

1411-0572-PC 22GA, 12" Polished Chrome

Sink Tailpieces 1-1/2" Flanged

1411-0581-PC 17GA, 4" Polished Chrome

1411-0582-PC 17GA, 6" Polished Chrome

1411-0583-PC 17GA, 8" Polished Chrome

1411-0584-PC 17GA, 12" Polished Chrome

1411-0585-PC 17GA, 12", Double End Flanged Polished Chrome

1411-0586-PC 17GA, 16", Double End Flanged Polished Chrome

1411-0587-PC 20GA, 4" Polished Chrome

1411-0588-PC 20GA, 6" Polished Chrome

1411-0589-PC 20GA, 8" Polished Chrome

1411-0590-PC 20GA, 12" Polished Chrome

1411-0591-PC 20GA, 12", Double End Flanged Polished Chrome

1411-0592-PC 20GA, 16", Double End Flanged Polished Chrome

1411-0593-PC 22GA, 4" Polished Chrome

1411-0594-PC 22GA, 6" Polished Chrome

1411-0595-PC 22GA, 8" Polished Chrome

1411-0596-PC 22GA, 12" Polished Chrome

1411-0597-PC 22GA, 12", Double End Flanged Polished Chrome

1411-0598-PC 22GA, 16", Double End Flanged Polished Chrome

Sink Tailpieces Reducing 1-1/2" x 1-1/4" Flanged

1411-0603-PC 17GA, 8" Polished Chrome

1411-0609-PC 20GA, 8" Polished Chrome

Section D 9 Drainage



Part Number Item Description Finish Picture

Extension Tubes 1-1/4" Slip Joint

1411-0621-PC 17GA, 6", Brass Nut Polished Chrome

1411-0622-PC 17GA, 8", Brass Nut Polished Chrome

1411-0623-PC 17GA, 12", Brass Nut Polished Chrome

1411-0624-PC 17GA, 16", Double End, Brass Nuts Polished Chrome

1411-0625-PC 20GA, 6", Zinc Nut Polished Chrome

1411-0626-PC 20GA, 8", Zinc Nut Polished Chrome

1411-0627-PC 20GA, 12", Zinc Nut Polished Chrome

1411-0628-PC 20GA, 16", Double End, Zinc Nuts Polished Chrome

1411-0629-PC 22GA, 6", Zinc Nut Polished Chrome

1411-0630-PC 22GA, 8", Zinc Nut Polished Chrome

1411-0631-PC 22GA, 12", Zinc Nut Polished Chrome

1411-0632-PC 22GA, 16", Double End, Zinc Nuts Polished Chrome

Extension Tubes 1-1/2" Slip Joint

1411-0641-PC 17GA, 6", Brass Nut Polished Chrome

1411-0642-PC 17GA, 8", Brass Nut Polished Chrome

1411-0643-PC 17GA, 12", Brass Nut Polished Chrome

1411-0644-PC 17GA, 16", Double End, Brass Nuts Polished Chrome

1411-0645-PC 20GA, 6", Zinc Nut Polished Chrome

1411-0646-PC 20GA, 8", Zinc Nut Polished Chrome

1411-0647-PC 20GA, 12", Zinc Nut Polished Chrome

1411-0648-PC 20GA, 16", Double End, Zinc Nuts Polished Chrome

1411-0649-PC 22GA, 6", Zinc Nut Polished Chrome

1411-0650-PC 22GA, 8", Zinc Nut Polished Chrome

1411-0651-PC 22GA, 12", Zinc Nut Polished Chrome

1411-0652-PC 22GA, 16", Double End, Zinc Nuts Polished Chrome

Extension Tubes 1-1/4" Solder

1411-0661-PC 17GA, 6" Polished Chrome

1411-0662-PC 17GA, 8" Polished Chrome

1411-0663-PC 17GA, 12" Polished Chrome

1411-0664-PC 20GA, 6" Polished Chrome

1411-0665-PC 20GA, 8" Polished Chrome

1411-0666-PC 20GA, 12" Polished Chrome

1411-0667-PC 22GA, 6" Polished Chrome

1411-0668-PC 22GA, 8" Polished Chrome

1411-0669-PC 22GA, 12" Polished Chrome

Section D 10 Drainage



Part Number Item Description Finish Picture

Extension Tubes 1-1/2" Solder

1411-0681-PC 17GA, 6" Polished Chrome

1411-0682-PC 17GA, 8" Polished Chrome

1411-0683-PC 17GA, 12" Polished Chrome

1411-0684-PC 20GA, 6" Polished Chrome

1411-0685-PC 20GA, 8" Polished Chrome

1411-0686-PC 20GA, 12" Polished Chrome

1411-0687-PC 22GA, 6" Polished Chrome

1411-0688-PC 22GA, 8" Polished Chrome

1411-0689-PC 22GA, 12" Polished Chrome

Extension Tubes 1-1/4" Threaded Both End

1411-0701-PC 17GA, 6" Polished Chrome

1411-0702-PC 17GA, 8" Polished Chrome

1411-0703-PC 17GA, 12" Polished Chrome

1411-0704-PC 17GA, 16" Polished Chrome

1411-0705-PC 20GA, 6" Polished Chrome

1411-0706-PC 20GA, 8" Polished Chrome

1411-0707-PC 20GA, 12" Polished Chrome

1411-0708-PC 20GA, 16" Polished Chrome

Extension Tubes 1-1/2" Threaded Both End

1411-0721-PC 17GA, 6" Polished Chrome

1411-0722-PC 17GA, 8" Polished Chrome

1411-0723-PC 17GA, 12" Polished Chrome

1411-0724-PC 17GA, 16" Polished Chrome

1411-0725-PC 20GA, 6" Polished Chrome

1411-0726-PC 20GA, 8" Polished Chrome

1411-0727-PC 20GA, 12" Polished Chrome

1411-0728-PC 20GA, 16" Polished Chrome

Branche Tailpieces 1-1/4" Slip Joint

1411-0741-PC 17GA, 6", 3/4"(7/8" OD) Branch, Brass Nut Polished Chrome

1411-0742-PC 17GA, 8", 3/4"(7/8" OD) Branch, Brass Nut Polished Chrome

1411-0743-PC 20GA, 6", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0744-PC 20GA, 8", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0745-PC 22GA, 6", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0746-PC 22GA, 8", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

Branche Tailpieces 1-1/4" Threaded One End

1411-0751-PC 17GA, 6", 3/4"(7/8" OD) Branch Polished Chrome

1411-0752-PC 17GA, 8", 3/4"(7/8" OD) Branch Polished Chrome

1411-0753-PC 20GA, 6", 3/4"(7/8" OD) Branch Polished Chrome

1411-0754-PC 20GA, 8", 3/4"(7/8" OD) Branch Polished Chrome

Section D 11 Drainage



Part Number Item Description Finish Picture

Branche Tailpieces 1-1/2" Slip Joint

1411-0761-PC 17GA, 6", 3/4"(7/8" OD) Branch, Brass Nut Polished Chrome

1411-0762-PC 17GA, 6", 1/2"(5/8" OD) Branch, Brass Nut Polished Chrome

1411-0763-PC 17GA, 8", 3/4"(7/8" OD) Branch, Brass Nut Polished Chrome

1411-0764-PC 17GA, 8", 1/2"(5/8" OD) Branch, Brass Nut Polished Chrome

1411-0765-PC 20GA, 6", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0766-PC 20GA, 6", 1/2"(5/8" OD) Branch, Zinc Nut Polished Chrome

1411-0767-PC 20GA, 8", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0768-PC 20GA, 8", 1/2"(5/8" OD) Branch, Zinc Nut Polished Chrome

1411-0769-PC 22GA, 6", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0770-PC 22GA, 6", 1/2"(5/8" OD) Branch, Zinc Nut Polished Chrome

1411-0771-PC 22GA, 8", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0772-PC 22GA, 8", 1/2"(5/8" OD) Branch, Zinc Nut Polished Chrome

Branche Tailpieces 1-1/2" Direct Connect

1411-0781-PC 17GA, 6", 3/4"(7/8" OD) Branch, Brass Nut Polished Chrome

1411-0782-PC 17GA, 6", 1/2"(5/8" OD) Branch, Brass Nut Polished Chrome

1411-0783-PC 17GA, 8", 3/4"(7/8" OD) Branch, Brass Nut Polished Chrome

1411-0784-PC 17GA, 8", 1/2"(5/8" OD) Branch, Brass Nut Polished Chrome

1411-0785-PC 20GA, 6", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0786-PC 20GA, 6", 1/2"(5/8" OD) Branch, Zinc Nut Polished Chrome

1411-0787-PC 20GA, 8", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0788-PC 20GA, 8", 1/2"(5/8" OD) Branch, Zinc Nut Polished Chrome

1411-0789-PC 22GA, 6", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0790-PC 22GA, 6", 1/2"(5/8" OD) Branch, Zinc Nut Polished Chrome

1411-0791-PC 22GA, 8", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0792-PC 22GA, 8", 1/2"(5/8" OD) Branch, Zinc Nut Polished Chrome

Branche Tailpieces 1-1/2" Threaded One End

1411-0801-PC 17GA, 6", 3/4"(7/8" OD) Branch, Brass Nut Polished Chrome

1411-0802-PC 17GA, 6", 1/2"(5/8" OD) Branch, Brass Nut Polished Chrome

1411-0803-PC 17GA, 8", 3/4"(7/8" OD) Branch, Brass Nut Polished Chrome

1411-0804-PC 17GA, 8", 1/2"(5/8" OD) Branch, Brass Nut Polished Chrome

1411-0805-PC 20GA, 6", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0806-PC 20GA, 6", 1/2"(5/8" OD) Branch, Zinc Nut Polished Chrome

1411-0807-PC 20GA, 8", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0808-PC 20GA, 8", 1/2"(5/8" OD) Branch, Zinc Nut Polished Chrome

1411-0809-PC 22GA, 6", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0810-PC 22GA, 6", 1/2"(5/8" OD) Branch, Zinc Nut Polished Chrome

1411-0811-PC 22GA, 8", 3/4"(7/8" OD) Branch, Zinc Nut Polished Chrome

1411-0812-PC 22GA, 8", 1/2"(5/8" OD) Branch, Zinc Nut Polished Chrome

Double Offsets 1-1/4" Slip Joint

1411-0821-PC 17GA, Brass Nuts Polished Chrome

1411-0822-PC 20GA, Zinc Nuts Polished Chrome

1411-0823-PC 22GA, Zinc Nuts Polished Chrome

Double Offsets 1-1/2" Slip Joint

Section D 12 Drainage



Part Number Item Description Finish Picture

1411-0831-PC 17GA, Brass Nuts Polished Chrome

1411-0832-PC 20GA, Zinc Nuts Polished Chrome

1411-0833-PC 22GA, Zinc Nuts Polished Chrome

Repair Couplings and Ells 1-1/4"

1411-0841-PC 17GA, Brass Nuts, Straight Polished Chrome

1411-0842-PC 17GA, Brass Nuts, 45° Polished Chrome

1411-0843-PC 17GA, Brass Nuts, 90° Polished Chrome

1411-0844-PC 20GA, Zinc Nuts, Straight Polished Chrome

1411-0845-PC 20GA, Zinc Nuts, 45° Polished Chrome

1411-0846-PC 20GA, Zinc Nuts, 90° Polished Chrome

1411-0847-PC 22GA, Zinc Nuts, Straight Polished Chrome

1411-0848-PC 22GA, Zinc Nuts, 45° Polished Chrome

1411-0849-PC 22GA, Zinc Nuts, 90° Polished Chrome

Repair Couplings and Ells 1-1/2"

1411-0851-PC 17GA, Brass Nuts, Straight Polished Chrome

1411-0852-PC 17GA, Brass Nuts, 45° Polished Chrome

1411-0853-PC 17GA, Brass Nuts, 90° Polished Chrome

1411-0854-PC 20GA, Zinc Nuts, Straight Polished Chrome

1411-0855-PC 20GA, Zinc Nuts, 45° Polished Chrome

1411-0856-PC 20GA, Zinc Nuts, 90° Polished Chrome

1411-0857-PC 22GA, Zinc Nuts, Straight Polished Chrome

1411-0858-PC 22GA, Zinc Nuts, 45° Polished Chrome

1411-0859-PC 22GA, Zinc Nuts, 90° Polished Chrome

Slip Joint Tees

1411-0861-PC Center Outlet Tee w/Baffle and 4" 17GA Tailpiece Chrome Plated

1411-0861-RB Center Outlet Tee w/Baffle and 4" 17GA Tailpiece Rough Brass

1411-0862-PC Center Outlet Tee w/Baffle and 4" 20GA Tailpiece Chrome Plated

1411-0862-RB Center Outlet Tee w/Baffle and 4" 20GA Tailpiece Rough Brass

1411-0863-PC Center Outlet Tee w/Baffle and 4" 22GA Tailpiece Chrome Plated

1411-0863-RB Center Outlet Tee w/Baffle and 4" 22GA Tailpiece Rough Brass

1411-0866-PC End Outlet Tee w/Baffle and 4" 17GA Tailpiece Chrome Plated

1411-0866-RB End Outlet Tee w/Baffle and 4" 17GA Tailpiece Rough Brass

1411-0867-PC End Outlet Tee w/Baffle and 4" 20GA Tailpiece Chrome Plated

1411-0867-RB End Outlet Tee w/Baffle and 4" 20GA Tailpiece Rough Brass

1411-0878-PC End Outlet Tee w/Baffle and 4" 22GA Tailpiece Chrome Plated

1411-0878-RB End Outlet Tee w/Baffle and 4" 22GA Tailpiece Rough Brass

Section D 13 Drainage



Part Number Item Description Finish Picture

Accessories

1411-1001-PC 1 1/4 Brass Nut Polished Chrome

1411-1001-RB 1 1/4 Brass Nut Rough Brass

1411-1002-PC 1 1/4 Zinc Nut Polished Chrome

1411-1003-PC 1 1/2 Brass Nut Polished Chrome

1411-1003-RB 1 1/2 Brass Nut Rough Brass

1411-1004-PC 1 1/2 Zinc Nut Polished Chrome

1411-1005-PC 1 1/2 x 1 1/4 Brass Nut Polished Chrome

1411-1005-RB 1 1/2 x 1 1/4 Brass Nut Rough Brass

1411-1021 1 1/4 Plastic Slip Washer

1411-1022 1 1/4 Plastic Tailpiece Washer

1411-1023 1 1/4 Rubber Square Cut Washer

1411-1024 1 1/4 TPR Slip Washer

1411-1025 1 1/4 TPR Tailpiece Washer

1411-1026 1 1/2 Plastic Slip Washer

1411-1027 1 1/2 Plastic Tailpiece Washer

1411-1028 1 1/2 Rubber Square Cut Washer

1411-1029 1 1/2 TPR Slip Washer

1411-1030 1 1/2 TPR Tailpiece Washer

1411-1031 1 1/2 x 1 1/4 Plastic Slip Washer

1450-1001-PC 1 1/4 Shallow Escutcheon Polish Chrome

1450-1002-PC 1 1/4 Deep Escutcheon Polish Chrome

1450-1003-PC 1 1/4 Box Escutcheon Polish Chrome

1450-1004-PC 1 1/2 Shallow Escutcheon Polish Chrome

1450-1005-PC 1 1/2 Deep Escutcheon Polish Chrome

1450-1006-PC 1 1/2 Box Escutcheon Polish Chrome

Section D 14 Drainage



Part Number Item Description Finish Picture

P-Traps 

1412-0001-WH 1-1/2" w/Marvel Adapter, White White

1412-0001-BK 1-1/2" w/Marvel Adapter, Black Black

1412-0002-WH 1-1/4" Less Adapter, White White

1412-0002-BK 1-1/4" Less Adapter, Black Black

1412-0003-WH 1-1/2" Less Adapter, White White

1412-0003-BK 1-1/2" Less Adapter, Black Black

1412-0004-WH 1-1/4" w/Marvel Adapter and Box Escutcheon, Chrome Chrome

1412-0004-BK 1-1/2" w/Marvel Adapter and Box Escutcheon, Chrome Chrome

Repair Traps

1412-0011-WH 1-1/2" w/Solvent Weld Adapter, White White

1412-0011-BK 1-1/2" w/Solvent Weld Adapter, Black Black

1412-0012-WH 1-1/2" Slip Joint, White White

1412-0012-BK 1-1/2" Slip Joint, Black Black

1412-0013-WH 1-1/2" Direct Connect, White White

1412-0013-BK 1-1/2" Direct Connect, Black Black

Sink Traps

1412-0021-WH LA Pattern 1-1/2" w/Solvent Weld Adapter, White White

1412-0021-BK LA Pattern 1-1/2" w/Solvent Weld Adapter, Black Black

J Bends

1412-0031-WH 1-1/4", White White

1412-0031-BK 1-1/4", Black Black

1412-0032-WH 1-1/2", White White

1412--0032-BK 1-1/2", Black Black

1412-0033-WH 1-1/2" w/Captured Nut, White White

1412-0034-WH 1-1/2" Flexible, White White

S-Traps

1412-0041-WH 1-1/4", White White

1412-0041-BK 1-1/4", Black Black

1412-0042-WH 1-1/2", White White

1412-0042-BK 1-1/2", Black Black

Section D 15 Drainage



Part Number Item Description Finish Picture

Center Outlet Wastes

1412-0051-WH 1-1/2" x 16", Slip Joint, White White

1412-0051-BK 1-1/2" x 16", Slip Joint, Black Black

1412-0052-WH 1-1/2" x 16", Direct Connect, White White

1412-0052-BK 1-1/2" x 16", Direct Connect, Black Black

1412-0053-WH 1-1/2" x 16", SJ/DC Combination, White White

1412-0053-BK 1-1/2" x 16", SJ/DC Combination, Black Black

End Outlet Wastes

1412-0061-WH 1-1/2" x 16", Slip Joint, White White

1412-0061-BK 1-1/2" x 16", Slip Joint, Black Black

1412-0062-WH 1-1/2" x 16", Direct Connect, White White

1412-0062-BK 1-1/2" x 16", Direct Connect, Black Black

1412-0063-WH 1-1/2" x 16", SJ/DC Combination, White White

1412-0063-BK 1-1/2" x 16", SJ/DC Combination, Black Black

1412-0071-WH 1-1/2" x 11"-17", Slip Joint, White White

1412-0071-BK 1-1/2" x 11"-17", Slip Joint, Black Black

1412-0072-WH 1-1/2" x 11"-17", Direct Connect, White White

1412-0072-BK 1-1/2" x 11"-17", Direct Connect, Black Black

1412-0076-WH 1-1/2" x 11"-17", SJ/DC Combination, White White

1412-0076-BK 1-1/2" x 11"-17", SJ/DC Combination, Black Black

1412-0073-WH 1-1/2" x 11"-17" w/Branch, Slip Joint, White White

1412-0073-BK 1-1/2" x 11"-17" w/Branch, Slip Joint, Black Black

1412-0074-WH 1-1/2" x 11"-17" w/Branch, Direct Connect, White White

1412-0074-BK 1-1/2" x 11"-17" w/Branch, Direct Connect, Black Black

1412-0075-WH 1-1/2" x 11"-17", w/Branch, SJ/DC Combination, WhiteWhite

1412-0075-BK 1-1/2" x 11"-17", w/Branch, SJ/DC Combination, Black Black

Waste Arms

1412-0081-WH 1-1/2" x 7", Slip Joint, White White

1412-0081-BK 1-1/2" x 15", Slip Joint, White White

1412-0082-WH 1-1/2" x 7", Direct Connect, White White

1412-0082-BK 1-1/2" x 15", Direct Connect, White White

Tees w/Baffle

1412-0091-WH 1-1/2", Slip Joint, White White

1412-0091-BK 1-1/2", Slip Joint, Black Black

1412-0092-WH 1-1/2" x 6-1/2" Center Outlet Tee, White White

1412-0092-BK 1-1/2" x 6-1/2" Center Outlet Tee, Black Black

1412-0093-WH 1-1/2" x 5" End Outlet Tee, White White

1412-0093-BK 1-1/2" x 5" End Outlet Tee, Black Black

Section D 16 Drainage



Part Number Item Description Finish Picture

Solvent Weld Extension Tubes

1412-0101-WH 1-1/2" x 16" PVC Straight Tube, White White

1412-0101-BK 1-1/2" x 16" ABS Straight Tube, Black Black

1412-0102-WH 1-1/2" x 20" PVC Straight Tube, White White

1412-0102-BK 1-1/2" x 20" ABS Straight Tube, Black Black

1412-0103-WH 1-1/2" x 4" PVC Flared Straight Tube, White White

1412-0103-BK 1-1/2" x 4" ABS Flared Straight Tube, Black Black

1412-0104-WH 1-1/2" x 6" PVC Flared Straight Tube, White White

1412-0104-BK 1-1/2" x 6" ABS Flared Straight Tube, Black Black

1412-0105-WH 1-1/2" x 8" PVC Flared Straight Tube, White White

1412-0105-BK 1-1/2" x 8" ABS Flared Straight Tube, Black Black

1412-0106-WH 1-1/2" x 12" PVC Flared Straight Tube, White White

1412-0106-BK 1-1/2" x 12" ABS Flared Straight Tube, Black Black

1412-0107-WH 1-1/2" x 16" PVC Double Flared Straight Tube, White White

1412-0107-BK 1-1/2" x 16" ABS Double Flared Straight Tube, Black Black

Slip Joint Extension Tubes

1412-0111-WH 1-1/4" x 8", White White

1412-0111-BK 1-1/4" x 8", Black Black

1412-0112-WH 1-1/4" x 12", White White

1412-0112-BK 1-1/4" x 12", Black Black

1412-0113-WH 1-1/2" x 6", White White

1412-0113-BK 1-1/2" x 6", Black Black

1412-0114-WH 1-1/2" x 8", White White

1412-0114-BK 1-1/2" x 8", Black Black

1412-0115-WH 1-1/2" x 2", White White

1412-0115-BK 1-1/2" x 12", Black Black

1412-0116-WH 1-1/4" x 16" Double Ends, White White

1412-0116-BK 1-1/4" x 16" Double Ends, Black Black

1412-0117-WH 1-1/2" x 16" Double Ends, White White

1412-0117-BK 1-1/2" x 16" Double Ends, Black Black

1412-0118-WH 1-1/2" Offset, White White

1412-0118-BK 1-1/2" Offset, Black Black

1412-0119-WH 1-1/2" PVC Offset, White White

1412-0119-BK 1-1/2" ABS Offset, Black Black

1412-0120-WH 1-1/4" x 9" Flexible, White White

1412-0121-WH 1-1/2" x 12" Flexible, White White

1412-0122-WH 1-1/2" x 10" Double Ends Flexible, White White

Section D 17 Drainage



Part Number Item Description Finish Picture

High-way Tailpiece

1412-0131-WH 1-1/2" x 4", White White

1412-0131-BK 1-1/2" x 4", Black Black

1412-0132-WH 1-1/2" x 6", White White

1412-0132-BK 1-1/2" x 6", Black Black

1412-0133-WH 1-1/2" x 8", White White

1412-0133-BK 1-1/2" x 8", Black Black

1412-0133-WH 1-1/2" x 12", White White

1412-0133-BK 1-1/2" x 12", Black Black

1412-0134-WH 1-1/2" x 16" Double Ends, White White

1412-0134-BK 1-1/2" x 16" Double Ends, Black Black

1412-0135-WH 1-1/2" x 12" Flexible, White White

1412-0136-WH 1-1/2" x 10" Double Ends Flexible, White White

Branch Tailpiece

1412-0141-WH 1-1/2" x 8" Slip Joint w/1/2" Branch, White White

1412-0141-BK 1-1/2" x 8" Slip Joint w/1/2" Branch, Black Black

1412-0142-WH 1-1/2" x 8" Slip Joint w/3/4" Branch, White White

1412-0142-BK 1-1/2" x 8" Slip Joint w/3/4" Branch, Black Black

1412-0143-WH 1-1/2" x 8" Direct Connect w/1/2" Branch, White White

1412-0143-BK 1-1/2" x 8" Direct Connect w/1/2" Branch, Black Black

1412-0146-WH 1-1/2" x 8" Direct Connect w/3/4" Branch, White White

1412-0146-BK 1-1/2" x 8" Direct Connect w/3/4" Branch, Black Black

1412-0144-WH 1-1/2" x 8" Slip Joint w/1/2" and 3/4" Branch, White White

1412-0144-BK 1-1/2" x 8" Slip Joint w/1/2" and 3/4" Branch, Black Black

1412-0145-WH
1-1/2" x 8" Direct Connect w/1/2" and 3/4" Branch,
White

White

1412-0145-BK
1-1/2" x 8" Direct Connect w/1/2" and 3/4" Branch,
Black

Black

Disposer Kits

1412-0151-WH 1-1/2" Direct Connect, White White

1412-0151-BK 1-1/2" Direct Connect, Black Black

Section D 18 Drainage



Part Number Item Description Finish Picture

Elbows

1412-0161-WH 1-1/2" 90° Slip Joint Elbow, White White

1412-0161-BK 1-1/2" 90° Slip Joint Elbow, Black Black

1412-0162-WH 1-1/2" 45° Slip Joint Elbow, White White

1412-0162-BK 1-1/2" 45° Slip Joint Elbow, Black Black

Couplings

1412-0171-WH 1-1/2" Straight Coupling, White White

1412-0171-BK 1-1/2" Straight Coupling, Black Black

1412-0172-WH 1-1/2" x 6" Flexible Coupling, White White

Adapters

1412-0181-WH PVC Solvent Weld Adapter White

1412-0181-BK PVC Solvent Weld Adapter w/Nut&Washer White

Slip Joint Nuts

1412-0191-WH 1-1/4" w/Ribs, White White

1412-0191-BK 1-1/4" w/Ribs, Black Black

1412-0192-WH 1-1/2" w/Ribs, White White

1412-0192-BK 1-1/2" w/Ribs, Black Black

1412-0193-WH 1-1/4" w/Wings&Ribs, White White

1412-0193-BK 1-1/4" w/Wings&Ribs, Black Black

1412-0194-WH 1-1/2" w/Wings&Ribs, White White

1412-0194-BK 1-1/2" w/Wings&Ribs, Black Black

1412-0195-WH 1-1/4" w/Wings, White White

1412-0195-BK 1-1/4" w/Wings, Black Black

1412-0196-WH 1-1/2" w/Wings, White White

1412-0196-BK 1-1/2" w/Wings, Black Black

Washers

1412-0201 1-1/4" Plastic Slip Washer Semitransparent

1412-0202 1-1/2" Plastic Slip Washer Semitransparent

1412-0203 1-1/4" TPR Slip Washer Blue

1412-0204 1-1/2" TPR Slip Washer Blue

1412-0205 1-1/4" Plastic Tailpiece Washer Semitransparent

1412-0206 1-1/2" Plastic Tailpiece Washer Semitransparent

1412-0207 1-1/4" TPR Tailpiece Washer Blue

1412-0208 1-1/2" TPR Tailpiece Washer Blue

1412-0209 1-1/2" x 1-1/4" Plastic Reducing Washer Semitransparent

1412-0210 1-1/2" x 1-1/4" TPR Reducing Washer Semitransparent

Section D 19 Drainage



Part Number Item Description Finish Picture

Plastic Floor Drains

1420-101P 6" x 6" PVC Bell Trap Drain for 1-1/2" or 2" SCH40 DWV PipeWhite

1420-101A 6" x 6" ABS Bell Trap Drain for 1-1/2" or 2" SCH40 DWV PipeBlack

1420-102P 6" x 6" PVC Bell Trap Drain for 2" or 3" SCH40 DWV PipeWhite

1420-102A 6" x 6" ABS Bell Trap Drain for 2" or 3" SCH40 DWV PipeBlack

1420-103P 9" x 9" PVC Bell Trap Drain for 3" or 4" SCH40 DWV PipeWhite

1420-103A 9" x 9" ABS Bell Trap Drain for 3" or 4" SCH40 DWV PipeBlack

1420-111P 6" x 6" PVC Utility Drain for 1-1/2" or 2" SCH40 DWV PipeWhite

1420-111A 6" x 6" ABS Utility Drain for 1-1/2" or 2" SCH40 DWV PipeBlack

1420-112P 6" x 6" PVC Utility Drain for 2" or 3" SCH40 DWV Pipe White

1420-112A 6" x 6" ABS Utility Drain for 2" or 3" SCH40 DWV Pipe Black

1420-113P
PVC Integral Trap Drain for 2" SCH40 DWV Pipe,
w/Backwater Valve Device

White

1420-113A
ABS Integral Trap Drain for 2" SCH40 DWV Pipe,
w/Backwater Valve Device

Black

Plastic Floor Drains

1420-201B 2" IPS Brass Drain w/4-1/4" Square Screw Type Brass GrateChrome Grate

1420-201BZ 2" IPS Bronze Drain w/4-1/4" Square Screw Type Brass GrateChrome Grate

1420-211B 2" IPS Brass Drain w/4-1/4" Round Screw Type Brass GrateChrome Grate

1420-211BZ 2" IPS Bronze Drain w/4-1/4" Round Screw Type Brass GrateChrome Grate

1420-212B
2" IPS Brass Drain w/4-1/4" Round Screw Type
Stainless Steel Grate

Chrome Grate

1420-212BZ
2" IPS Bronze Drain w/4-1/4" Round Screw Type
Stainless Steel Grate

Chrome Grate

Section D 20 Drainage



Part Number Item Description Finish Picture

1420-221B 3" Inside Caulk Brass Deck Plug Rough Brass

1420-222B 4" Inside Caulk Brass Deck Plug Rough Brass

1420-231B 2" Brass Drain w/5" Round Screw Type Brass Grate Chrome Grate

1420-231BZ 2" Bronze Drain w/5" Round Screw Type Bronze Grate Bronze

1420-232B 2" Brass Drain w/6" Round Screw Type Brass Grate Chrome Grate

1420-232BZ 2" Bronze Drain w/6" Round Screw Type Bronze Grate Bronze

1420-233B 3" Brass Drain w/5" Round Screw Type Brass Grate Chrome Grate

1420-233BZ 3" Bronze Drain w/5" Round Screw Type Bronze Grate Bronze

1420-234B 3" Brass Drain w/8" Round Screw Type Brass Grate Chrome Grate

1420-234BZ 3" Bronze Drain w/8" Round Screw Type Bronze Grate Bronze

1420-235B 3-1/2" Brass Drain w/4" Round Screw Type Brass GrateChrome Grate

1420-235BZ 3-1/2" Bronze Drain w/4" Round Screw Type Bronze GrateBronze

1420-236B 3-1/2" Brass Drain w/5" Round Screw Type Brass GrateChrome Grate

1420-236BZ 3-1/2" Bronze Drain w/5" Round Screw Type Bronze GrateBronze

1420-237B 3-1/2" Brass Drain w/6" Round Screw Type Brass GrateChrome Grate

1420-237BZ 3-1/2" Bronze Drain w/6" Round Screw Type Bronze GrateBronze

1420-238B 3-1/2" Brass Drain w/8" Round Screw Type Brass GrateChrome Grate

1420-238BZ 3-1/2" Bronze Drain w/8" Round Screw Type Bronze GrateBronze

1420-239B 3-1/2" Brass Drain w/9" Round Screw Type Brass GrateChrome Grate

1420-239BZ 3-1/2" Bronze Drain w/9" Round Screw Type Bronze GrateBronze

Section D 21 Drainage



Part Number Item Description Finish Picture

1420-240B 3-3/4" Brass Drain w/10" Round Screw Type Brass GrateChrome Grate

1420-240BZ 3-3/4" Bronze Drain w/10" Round Screw Type Bronze GrateBronze

1420-251B 3" x 5" Floor Cleanout and Cover Rough Brass

1420-252B 4" x 5" Floor Cleanout and Cover Rough Brass

1420-253B 4" x 6" Floor Cleanout and Cover Rough Brass

1420-261B 3-1/2" Brass Drain w/5" Square Screw Type Brass GrateRough Brass

1420-261BZ 3-1/2" Bronze Drain w/5" Square Screw Type Bronze GrateBronze

Section D 22 Drainage



Part Number Item Description Finish Picture

Brass Shower Drains

1430-101B
2" Rough Brass No-Caulk Shower Drain, 4-1/4" Round
Snap-in Stainless Steel Grate

Chrome Grate

1430-102B
2" Brass Shower Drain, 4-1/4" Round Snap-in Stainless
Steel Grate

Chrome Grate

Plastic Shower Drains

1430-201P
2" PVC No-Caulk Shower Drain, 4-1/4" Round Snap-in
Stainless Steel Grate

Chrome Grate

1430-201A
2" ABS No-Caulk Shower Drain, 4-1/4" Round Snap-in
Stainless Steel Grate

Chrome Grate

1430-202P
2" PVC No-Caulk Shower Drain, 4-1/4" Round Snap-in
Plastic Grate

White Grate

1430-202A
2" ABS No-Caulk Shower Drain, 4-1/4" Round Snap-in
Plastic Grate

White Grate

1430-211P
2" PVC Quick Caulking Shower Drain, 4-1/4" Round
Snap-in Stainless Steel Grate

Chrome Grate

1430-211A
2" ABS Quick Caulking Shower Drain, 4-1/4" Round
Snap-in Stainless Steel Grate

Chrome Grate

1430-212P
2" PVC Quick Caulking Shower Drain, 4-1/4" Round
Snap-in Plastic Grate

White Grate

1430-212A
2" ABS Quick Caulking Shower Drain, 4-1/4" Round
Snap-in Plastic Grate

White Grate

1430-221P
2" PVC Solvent Weld Shower Drain, 4-1/4" Round
Snap-in Stainless Steel Grate

Chrome Grate

1430-221A
2" ABS Solvent Weld Shower Drain, 4-1/4" Round
Snap-in Stainless Steel Grate

Chrome Grate

1430-222P
2" PVC Solvent Weld Shower Drain, 4-1/4" Round
Snap-in Plastic Grate

White Grate

1430-222A
2" ABS Solvent Weld Shower Drain, 4-1/4" Round
Snap-in Plastic Grate

White Grate

1430-231P
2" PVC Solvent Weld Shower Drain w/Receptor Base,
4-1/4" Round Screw Type Stainless Steel Grate

Chrome Grate

1430-231A
2" ABS Solvent Weld Shower Drain w/Receptor Base,
4-1/4" Round Screw Type Stainless Steel Grate

Chrome Grate

Section D 23 Drainage



Part Number Item Description Finish Picture

1430-241P
2" PVC Economy Solvent Weld Shower Drain, 4-1/4"
Round Snap-in Stainless Steel Grate

Chrome Grate

1430-241A
2" ABS Economy Solvent Weld Shower Drain, 4-1/4"
Round Snap-in Stainless Steel Grate

Chrome Grate

1430-242P
2" PVC Economy Solvent Weld Shower Drain, 4-1/4"
Round Snap-in Plastic Grate

White Grate

1430-242A
2" ABS Economy Solvent Weld Shower Drain, 4-1/4"
Round Snap-in Plastic Grate

White Grate

1430-251P
2" PVC Offset Solvent Weld Shower Drain w/Receptor
Base, 4-1/4" Round Snap-in Stainless Steel Grate

Chrome Grate

1430-251A
2" ABS Offset Solvent Weld Shower Drain w/Receptor
Base, 4-1/4" Round Snap-in Stainless Steel Grate

Chrome Grate

1430-252P
2" PVC Offset Solvent Weld Shower Drain w/Receptor
Base, 4-1/4" Round Snap-in Plastic Grate

White Grate

1430-252A
2" ABS Offset Solvent Weld Shower Drain w/Receptor
Base, 4-1/4" Round Snap-in Plastic Grate

White Grate

1430-261P
General Purpose Shower Drain, 2" or 3" PVC Solvent
Weld Body with Screw Type Stainless Steel Grate

Chrome Grate

1430-261A
General Purpose Shower Drain, 2" or 3" ABS Solvent
Weld Body with Screw Type Stainless Steel Grate

Chrome Grate

1430-262P
General Purpose Shower Drain, 2" or 3" PVC Solvent
Weld Body with Screw Type Plastic Grate

White Grate

1430-262A
General Purpose Shower Drain, 2" or 3" ABS Solvent
Weld Body with Screw Type Plastic Grate

White Grate

1430-271P
General Purpose Shower Drain, 3" or 4" PVC Solvent
Weld Body with Screw Type Stainless Steel Grate

Chrome Grate

1430-271A
General Purpose Shower Drain, 3" or 4" ABS Solvent
Weld Body with Screw Type Stainless Steel Grate

Chrome Grate

1430-272P
General Purpose Shower Drain, 3" or 4" PVC Solvent
Weld Body with Screw Type Plastic Grate

White Grate

1430-272A
General Purpose Shower Drain, 3" or 4" ABS Solvent
Weld Body with Screw Type Plastic Grate

White Grate

1430-281P
2" or 3" PVC Solvent Weld Shower Drain for Tile Shower
Base, Low Profile, Round Screw Type Stainless Steel
Grate

Chrome Grate

1430-281A
2" or 3" ABS Solvent Weld Shower Drain for Tile Shower
Base, Low Profile, Round Screw Type Stainless Steel
Grate

Chrome Grate

Section D 24 Drainage



Part Number Item Description Finish Picture

1430-291P
2" or 3" PVC Solvent Weld Shower Drain for Tile Shower
Base, Low Profile, Round Screw Type Stainless Steel
Grate

Chrome Grate

1430-291A
2" or 3" ABS Solvent Weld Shower Drain for Tile Shower
Base, Low Profile, Round Screw Type Stainless Steel
Grate

Chrome Grate

Cast Iron Shower Drains

1430-301C
2" IPS Cast Iron Shower Drain with 3-1/4" Screw Type
Stainless Steel Grate

Chrome Grate

1430-302C
2" No-Caulk Cast Iron Shower Drain with 3-1/4" Screw
Type Stainless Steel Grate

Chrome Grate

1430-303C
2" Caulk Cast Iron Shower Drain with 3-1/4" Screw
Type Stainless Steel Grate

Chrome Grate

1430-304C
2" No-Hub Cast Iron Shower Drain with 3-1/4" Screw
Type Stainless Steel Grate

Chrome Grate

1430-311C
2" IPS Cast Iron Shower Drain for Tile Shower Base, Low
Profile, Square Screw Type Solid Brass Grate

Chrome Grate

1430-312C
2" IPS Cast Iron Shower Drain for Tile Shower Base, Low
Profile, Round Screw Type Solid Brass Grate

Chrome Grate

1430-313C
2" Inside Caulk Cast Iron Shower Drain for Tile Shower
Base, Low Profile, Round Screw Type Solid Brass Grate

Chrome Grate

1430-314C
2" No-Hub Cast Iron Shower Drain for Tile Shower Base,
Low Profile, Round Screw Type Solid Brass Grate

Chrome Grate

Section D 25 Drainage



Part Number Item Description Finish Picture

Los Angeles Style Plugs - Brass

1441-0001 Raised Head 1 1/2" Rough Brass

1441-0002 Raised Head 2" Rough Brass

1441-0003 Raised Head 2 1/2" Rough Brass

1441-0004 Raised Head 3" Rough Brass

1441-0005 Raised Head 3 1/2" Rough Brass

1441-0006 Raised Head 4" Rough Brass

1441-0007 Raised Head 5" Rough Brass

1441-0008 Raised Head 6" Rough Brass

1441-0101 Countersunk, Slotted Head 1 1/2" Rough Brass

1441-0102 Countersunk, Slotted Head 2" Rough Brass

1441-0103 Countersunk, Slotted Head 2 1/2" Rough Brass

1441-0104 Countersunk, Slotted Head 3" Rough Brass

1441-0105 Countersunk, Slotted Head 3 1/2" Rough Brass

1441-0106 Countersunk, Slotted Head 4" Rough Brass

1441-0141 Countersunk, Slotted Head 1 1/2", Tapped 5/16" Rough Brass

1441-0142 Countersunk, Slotted Head 2", Tapped 5/16" Rough Brass

1441-0143 Countersunk, Slotted Head 2 1/2", Tapped 5/16" Rough Brass

1441-0144 Countersunk, Slotted Head 3", Tapped 5/16" Rough Brass

1441-0145 Countersunk, Slotted Head 3 1/2", Tapped 5/16" Rough Brass

1441-0146 Countersunk, Slotted Head 4", Tapped 5/16" Rough Brass

1441-0171 Countersunk, Slotted Head 1 1/2", Tapped 1/4" Rough Brass

1441-0172 Countersunk, Slotted Head 2", Tapped 1/4" Rough Brass

1441-0173 Countersunk, Slotted Head 2 1/2", Tapped 1/4" Rough Brass

1441-0174 Countersunk, Slotted Head 3", Tapped 1/4" Rough Brass

1441-0175 Countersunk, Slotted Head 3 1/2", Tapped 1/4" Rough Brass

1441-0176 Countersunk, Slotted Head 4", Tapped 1/4" Rough Brass

Southern Style Plugs - Brass

1441-1001 Raised Head 1" Rough Brass

1441-1002 Raised Head 1 1/4" Rough Brass

1441-1003 Raised Head 1 1/2" Rough Brass

1441-1004 Raised Head 2" Rough Brass

1441-1005 Raised Head 2 1/2" Rough Brass

1441-1006 Raised Head 3" Rough Brass

1441-1007 Raised Head 3 1/2" Rough Brass

1441-1008 Raised Head 4" Rough Brass

1441-1009 Raised Head 5" Rough Brass

1441-1010 Raised Head 6" Rough Brass

1441-1011 Raised Head 8" Rough Brass

1441-1012 Raised Head 10" Rough Brass

Section D 26 Drainage



Part Number Item Description Finish Picture

1441-1101 Countersunk 1 1/2" Rough Brass

1441-1102 Countersunk 2" Rough Brass

1441-1103 Countersunk 2 1/2" Rough Brass

1441-1104 Countersunk 3" Rough Brass

1441-1105 Countersunk 3 1/2" Rough Brass

1441-1106 Countersunk 4" Rough Brass

1441-1107 Countersunk 5" Rough Brass

1441-1108 Countersunk 6" Rough Brass

1441-1109 Countersunk 8" Rough Brass

1441-1141 Countersunk 1 1/2", Tapped 5/16" Rough Brass

1441-1142 Countersunk 2", Tapped 5/16" Rough Brass

1441-1143 Countersunk 2 1/2", Tapped 5/16" Rough Brass

1441-1144 Countersunk 3", Tapped 5/16" Rough Brass

1441-1145 Countersunk 3 1/2", Tapped 5/16" Rough Brass

1441-1146 Countersunk 4", Tapped 5/16" Rough Brass

1441-1147 Countersunk 5", Tapped 5/16" Rough Brass

1441-1148 Countersunk 6", Tapped 5/16" Rough Brass

1441-1149 Countersunk 8", Tapped 5/16" Rough Brass

1441-1171 Countersunk 1 1/2", Tapped 1/4" Rough Brass

1441-1172 Countersunk 2", Tapped 1/4" Rough Brass

1441-1173 Countersunk 2 1/2", Tapped 1/4" Rough Brass

1441-1174 Countersunk 3", Tapped 1/4" Rough Brass

1441-1175 Countersunk 3 1/2", Tapped 1/4" Rough Brass

1441-1176 Countersunk 4", Tapped 1/4" Rough Brass

1441-1177 Countersunk 5", Tapped 1/4" Rough Brass

1441-1178 Countersunk 6", Tapped 1/4" Rough Brass

1441-1179 Countersunk 8", Tapped 1/4" Rough Brass

New Orleans Style Plugs - Brass Plug NPSM Thread with Rubber Gasket

1441-2001 Raised Head 1 1/2" Rough Brass

1441-2002 Raised Head 2" Rough Brass

1441-2003 Raised Head 2 1/2" Rough Brass

1441-2004 Raised Head 3" Rough Brass

1441-2005 Raised Head 4" Rough Brass

Section D 27 Drainage



Part Number Item Description Finish Picture

Stainless Steel Cleanout Covers - 24GA

1441-S403 3" Plate w/1/4" SS Screw Polished SS

1441-S404 4" Plate w/1/4" SS Screw Polished SS

1441-S405 5" Plate w/1/4" SS Screw Polished SS

1441-S406 6" Plate w/1/4" SS Screw Polished SS

1441-S408 8" Plate w/1/4" SS Screw Polished SS

1441-S410 10" Plate w/1/4" SS Screw Polished SS

1441-S503 3" Plate w/5/16" SS Screw Polished SS

1441-S504 4" Plate w/5/16" SS Screw Polished SS

1441-S505 5" Plate w/5/16" SS Screw Polished SS

1441-S506 6" Plate w/5/16" SS Screw Polished SS

1441-S508 8" Plate w/5/16" SS Screw Polished SS

1441-S510 10" Plate w/5/16" SS Screw Polished SS

Plastic Bell Cleanout Covers

1441-PB45-CP 4-1/2" w/Wood Screw Chrome

1441-PB55-CP 5-1/2" w/Wood Screw Chrome

1441-PB75-CP 7-1/2" w/Wood Screw Chrome

1441-PB45-WH 4-1/2" w/Wood Screw White

1441-PB55-WH 5-1/2" w/Wood Screw White

1441-PB75-WH 7-1/2" w/Wood Screw White

Plastic Flat Cleanout Covers

1441-PF45-CP 4-1/2" w/Wood Screw Chrome

1441-PF55-CP 5-1/2" w/Wood Screw Chrome

1441-PF75-CP 7-1/2" w/Wood Screw Chrome

1441-PF45-WH 4-1/2" w/Wood Screw White

1441-PF55-WH 5-1/2" w/Wood Screw White

1441-PF75-WH 7-1/2" w/Wood Screw White

Section D 28 Drainage



Part Number Item Description Finish Picture

Shallow Flanges - IPS - Metal

1450-2001-PC 3/8" IPS Low Pattern Escutcheon, 2 1/2" OD Chrome Plated

1450-2001-BNPVD 3/8" IPS Low Pattern Escutcheon, 2 1/2" OD Brushed Nickel PVD

1450-2001-PBPVD 3/8" IPS Low Pattern Escutcheon, 2 1/2" OD Polished Brass PVD

1450-2001-PNPVD 3/8" IPS Low Pattern Escutcheon, 2 1/2" OD Polished Nickel PVD

1450-2001-ORB 3/8" IPS Low Pattern Escutcheon, 2 1/2" OD Oil Rubbed Bronze

1450-2002-PC 1/2" IPS Low Pattern Escutcheon, 2 1/2" OD Chrome Plated

1450-2002-BNPVD 1/2" IPS Low Pattern Escutcheon, 2 1/2" OD Brushed Nickel PVD

1450-2002-PBPVD 1/2" IPS Low Pattern Escutcheon, 2 1/2" OD Polished Brass PVD

1450-2002-PNPVD 1/2" IPS Low Pattern Escutcheon, 2 1/2" OD Polished Nickel PVD

1450-2002-ORB 1/2" IPS Low Pattern Escutcheon, 2 1/2" OD Oil Rubbed Bronze

1450-2003-PC 3/4" IPS Low Pattern Escutcheon, 2 1/2" OD Chrome Plated

1450-2004-PC 1" IPS Low Pattern Escutcheon, 2 7/8"OD Chrome Plated

1450-2005-PC 1 1/4" IPS Low Pattern Escutcheon, 2 7/8" OD Chrome Plated

1450-2006-PC 1 1/2" IPS Low Pattern Escutcheon, 3" OD Chrome Plated

1450-2007-PC 1 1/2" IPS Low Pattern Escutcheon, 3 1/2" OD Chrome Plated

1450-2008-PC 2" IPS Low Pattern Escutcheon, 3 1/2" OD Chrome Plated

Shallow Flanges - CTS/OD -Metal

1450-2051-PC
3/8" CTS(1/2"OD) Low Pattern Escutcheon, 2 1/2"
OD

Chrome Plated

1450-2052-PC
1/2" CTS(5/8"OD) Low Pattern Escutcheon, 2 1/2"
OD

Chrome Plated

1450-2052-BNPVD
1/2" CTS(5/8"OD) Low Pattern Escutcheon, 2 1/2"
OD

Brushed Nickel PVD

1450-2052-PBPVD
1/2" CTS(5/8"OD) Low Pattern Escutcheon, 2 1/2"
OD

Polished Brass PVD

1450-2052-PNPVD
1/2" CTS(5/8"OD) Low Pattern Escutcheon, 2 1/2"
OD

Polished Nickel PVD

1450-2052-ORB
1/2" CTS(5/8"OD) Low Pattern Escutcheon, 2 1/2"
OD

Oil Rubbed Bronze

1450-2053-PC
3/4" CTS(7/8"OD) Low Pattern Escutcheon, 2 1/2"
OD

Chrome Plated

1450-2054-PC 1" CTS(1 1/8"OD) Low Pattern Escutcheon, 2 7/8"OD Chrome Plated

1450-2055-PC
1 1/4" CTS(1 3/8"OD) Low Pattern Escutcheon, 2
7/8" OD

Chrome Plated

1450-2056-PC
1 1/2" CTS(1 5/8"OD) Low Pattern Escutcheon, 3
1/2" OD

Chrome Plated

Shallow Flanges - IPS - Plastic

1450-2101-WH 3/8" IPS White

1450-2102-WH 1/2" IPS White

1450-2103-WH 3/4" IPS White

1450-2104-WH 1" IPS White

1450-2105-WH 1 1/4" IPS White

1450-2106-WH 1 1/2" IPS White

1450-2107-WH 2" IPS White

Section D 29 Drainage



Part Number Item Description Finish Picture

Shallow Flanges - CTS/OD - Plastic

1450-2151-WH 3/8" CTS(1/2" OD) White

1450-2152-WH 1/2" CTS(5/8" OD) White

1450-2153-WH 3/4" CTS(7/8" OD) White

 Deep Flanges - IPS - Metal

1450-2201-PC 3/8" IPS Bell Pattern Escutcheon, 2 3/8" OD Chrome Plated

1450-2201-BNPVD 3/8" IPS Bell Pattern Escutcheon, 2 3/8" OD Brushed Nickel PVD

1450-2201-PBPVD 3/8" IPS Bell Pattern Escutcheon, 2 3/8" OD Polished Brass PVD

1450-2201-PNPVD 3/8" IPS Bell Pattern Escutcheon, 2 3/8" OD Polished Nickel PVD

1450-2201-ORB 3/8" IPS Bell Pattern Escutcheon, 2 3/8" OD Oil Rubbed Bronze

1450-2202-PC 1/2" IPS Bell Pattern Escutcheon, 2 3/8" OD Chrome Plated

1450-2202-BNPVD 1/2" IPS Bell Pattern Escutcheon, 2 3/8" OD Brushed Nickel PVD

1450-2202-PBPVD 1/2" IPS Bell Pattern Escutcheon, 2 3/8" OD Polished Brass PVD

1450-2202-PNPVD 1/2" IPS Bell Pattern Escutcheon, 2 3/8" OD Polished Nickel PVD

1450-2202-ORB 1/2" IPS Bell Pattern Escutcheon, 2 3/8" OD Oil Rubbed Bronze

1450-2203-PC 3/4" IPS Bell Pattern Escutcheon, 2 3/8" OD Chrome Plated

1450-2204-PC 1" IPS Bell Pattern Escutcheon, 3"OD Chrome Plated

1450-2205-PC 1 1/4" IPS Bell Pattern Escutcheon, 3" OD Chrome Plated

1450-2206-PC 1 1/2" IPS Bell Pattern Escutcheon, 3" OD Chrome Plated

Deep Flanges - CTS/OD - Metal

1450-2251-PC
1/4" CTS(3/8" OD) Bell Pattern Escutcheon, 2 3/8"
OD

Chrome Plated

1450-2252-PC
3/8" CTS(1/2" OD) Bell Pattern Escutcheon, 2 3/8"
OD

Chrome Plated

1450-2253-PC
1/2" CTS(5/8" OD) Bell Pattern Escutcheon, 2 3/8"
OD

Chrome Plated

1450-2253-BNPVD
1/2" CTS(5/8" OD) Bell Pattern Escutcheon, 2 3/8"
OD

Brushed Nickel PVD

1450-2253-PBPVD
1/2" CTS(5/8" OD) Bell Pattern Escutcheon, 2 3/8"
OD

Polished Brass PVD

1450-2253-PNPVD
1/2" CTS(5/8" OD) Bell Pattern Escutcheon, 2 3/8"
OD

Polished Nickel PVD

1450-2253-ORB
1/2" CTS(5/8" OD) Bell Pattern Escutcheon, 2 3/8"
OD

Oil Rubbed Bronze

Box Flanges - IPS - Metal

1450-2301-PC 1 1/4" IPS Box Pattern Escutcheon, 3" OD Chrome Plated

1450-2302-PC 1 1/2" IPS Box Pattern Escutcheon, 3" OD Chrome Plated

Section D 30 Drainage



Part Number Item Description Finish Picture

Floor & Celling Plates Hinged - IPS - Metal

1450-2401-PC 3/8" IPS Light Gauge Floor&Ceiling Plate, 2 1/2" OD Chrome Plated

1450-2402-PC 1/2" IPS Light Gauge Floor&Ceiling Plate, 2 5/8" OD Chrome Plated

1450-2403-PC 3/4" IPS Light Gauge Floor&Ceiling Plate, 2 27/32" OD Chrome Plated

1450-2404-PC 1" IPS Light Gauge Floor&Ceiling Plate, 3 9/32"OD Chrome Plated

1450-2405-PC 1 1/4" IPS Light Gauge Floor&Ceiling Plate, 3 5/8" OD Chrome Plated

1450-2406-PC
1 1/2" IPS Light Gauge Floor&Ceiling Plate, 3 15/16"
OD

Chrome Plated

1450-2407-PC 2" IPS Light Gauge Floor&Ceiling Plate, 4 3/8" OD Chrome Plated

Floor & Celling Plates Hinged - CTS/OD - Metal

1450-2451-PC
3/8" CTS(1/2" OD) Light Gauge Floor&Ceiling Plate, 2
1/2" OD

Chrome Plated

1450-2452-PC
1/2" CTS(5/8" OD) Light Gauge Floor&Ceiling Plate, 2
5/8" OD

Chrome Plated

1450-2453-PC
3/4" CTS(7/8" OD) Light Gauge Floor&Ceiling Plate, 2
27/32" OD

Chrome Plated

1450-2454-PC
1" CTS(1 1/8" OD) Light Gauge Floor&Ceiling Plate, 3
9/32"OD

Chrome Plated

1450-2455-PC
1 1/4" CTS(1 3/8" OD) Light Gauge Floor&Ceiling
Plate, 3 5/8" OD

Chrome Plated

1450-2456-PC
1 1/2" CTS(1 5/8" OD) Light Gauge Floor&Ceiling
Plate, 3 15/16" OD

Chrome Plated

Floor & Celling Plates With Spring - IPS - Metal

1450-2501-PC 3/8" IPS Heavy Gauge Floor&Ceiling Plate, 2 1/2" OD Chrome Plated

1450-2502-PC 1/2" IPS Heavy Gauge Floor&Ceiling Plate, 2 5/8" OD Chrome Plated

1450-2503-PC
3/4" IPS Heavy Gauge Floor&Ceiling Plate, 2 27/32"
OD

Chrome Plated

1450-2504-PC 1" IPS Heavy Gauge Floor&Ceiling Plate, 3 9/32"OD Chrome Plated

1450-2505-PC 1 1/4" IPS Heavy Gauge Floor&Ceiling Plate, 3 5/8" OD Chrome Plated

1450-2506-PC
1 1/2" IPS Heavy Gauge Floor&Ceiling Plate, 3 15/16"
OD

Chrome Plated

1450-2507-PC 2" IPS Heavy Gauge Floor&Ceiling Plate, 4 3/8" OD Chrome Plated

1450-2508-PC
2 1/2" IPS Heavy Gauge Floor&Ceiling Plate, 5 7/32"
OD

Chrome Plated

1450-2509-PC 3" IPS Heavy Gauge Floor&Ceiling Plate, 5 29/32" OD Chrome Plated

1450-2510-PC
3 1/2" IPS Heavy Gauge Floor&Ceiling Plate, 6 9/16"
OD

Chrome Plated

1450-2511-PC 4" IPS Heavy Gauge Floor&Ceiling Plate, 7 3/16"OD Chrome Plated

1450-2512-PC 5" IPS Heavy Gauge Floor&Ceiling Plate, 8 7/8" OD Chrome Plated

1450-2513-PC 6" IPS Heavy Gauge Floor&Ceiling Plate, 10" OD Chrome Plated

1450-2514-PC 8" IPS Heavy Gauge Floor&Ceiling Plate,13" OD Chrome Plated

1450-2515-PC 10" IPS Heavy Gauge Floor&Ceiling Plate, 15" OD Chrome Plated

Section D 31 Drainage



Part Number Item Description Finish Picture

Floor & Celling Plates With Spring - CTS/OD - Metal

1450-2551-PC
3/8" CTS(1/2" OD) Heavy Gauge Floor&Ceiling Plate, 2
1/8" OD

Chrome Plated

1450-2552-PC
1/2" CTS(5/8" OD) Heavy Gauge Floor&Ceiling Plate, 2
7/16" OD

Chrome Plated

1450-2553-PC
3/4" CTS(7/8" OD) Heavy Gauge Floor&Ceiling Plate, 2
21/32" OD

Chrome Plated

1450-2554-PC
1" CTS(1 1/8" OD) Heavy Gauge Floor&Ceiling Plate, 2
27/32"OD

Chrome Plated

1450-2555-PC
1 1/4" CTS(1 3/8" OD) Heavy Gauge Floor&Ceiling
Plate, 3 9/32" OD

Chrome Plated

1450-2556-PC
1 1/2" CTS(1 5/8" OD) Heavy Gauge Floor&Ceiling
Plate, 3 5/8" OD

Chrome Plated

1450-2557-PC
2" CTS(2 1/8" OD) Heavy Gauge Floor&Ceiling Plate, 4
3/16" OD

Chrome Plated

1450-2558-PC
2 1/2" CTS(2 5/8" OD) Heavy Gauge Floor&Ceiling
Plate, 4 15/16" OD

Chrome Plated

1450-2559-PC
3" CTS(3 1/8" OD) Heavy Gauge Floor&Ceiling Plate, 5
3/16" OD

Chrome Plated

Flexible Floor & Celling Plates, Plastic

1450-2601-PC 3/8" IPS(1/2" CTS) Flexible Floor&Ceiling Plate Chrome Plated

1450-2601-WH 3/8" IPS(1/2" CTS) Flexible Floor&Ceiling Plate White

1450-2602-PC 1/2" IPS(3/4" CTS) Flexible Floor&Ceiling Plate Chrome Plated

1450-2602-WH 1/2" IPS(3/4" CTS) Flexible Floor&Ceiling Plate White

1450-2603-PC 3/4" IPS Flexible Floor&Ceiling Plate Chrome Plated

1450-2603-WH 3/4" IPS Flexible Floor&Ceiling Plate White

1450-2604-PC 1" IPS Flexible Floor&Ceiling Plate Chrome Plated

1450-2604-WH 1" IPS Flexible Floor&Ceiling Plate White

1450-2605-PC 1" CTS Flexible Floor&Ceiling Plate Chrome Plated

1450-2605-WH 1" CTS Flexible Floor&Ceiling Plate White

1450-2606-PC 1 1/4" CTS Flexible Floor&Ceiling Plate Chrome Plated

1450-2606-WH 1 1/4" CTS Flexible Floor&Ceiling Plate White

1450-2607-PC 1 1/4" IPS(1 1/2" CTS) Flexible Floor&Ceiling Plate Chrome Plated

1450-2607-WH 1 1/4" IPS(1 1/2" CTS) Flexible Floor&Ceiling Plate White

1450-2608-PC 1 1/2" IPS Flexible Floor&Ceiling Plate Chrome Plated

1450-2608-WH 1 1/2" IPS Flexible Floor&Ceiling Plate White

1450-2609-PC 2" IPS Flexible Floor&Ceiling Plate Chrome Plated

1450-2609-WH 2" IPS Flexible Floor&Ceiling Plate White

1450-2610-PC 2" CTS Flexible Floor&Ceiling Plate Chrome Plated

1450-2610-WH 2" CTS Flexible Floor&Ceiling Plate White

1450-2611-PC 2 1/2" IPS Flexible Floor&Ceiling Plate Chrome Plated

1450-2611-WH 2 1/2" IPS Flexible Floor&Ceiling Plate White

1450-2612-PC 2 1/2" CTS Flexible Floor&Ceiling Plate Chrome Plated

1450-2612-WH 2 1/2" CTS Flexible Floor&Ceiling Plate White

1450-2613-PC 3" IPS Flexible Floor&Ceiling Plate Chrome Plated

1450-2613-WH 3" IPS Flexible Floor&Ceiling Plate White

1450-2614-PC 3" CTS Flexible Floor&Ceiling Plate Chrome Plated

Section D 32 Drainage



Part Number Item Description Finish Picture

1450-2614-WH 3" CTS Flexible Floor&Ceiling Plate White

1450-2615-PC 3 1/2" CTS Flexible Floor&Ceiling Plate Chrome Plated

1450-2615-WH 3 1/2" CTS Flexible Floor&Ceiling Plate White

1450-2616-PC 4" IPS Flexible Floor&Ceiling Plate Chrome Plated

1450-2616-WH 4" IPS Flexible Floor&Ceiling Plate White

1450-2617-PC 4" CTS Flexible Floor&Ceiling Plate Chrome Plated

1450-2617-WH 4" CTS Flexible Floor&Ceiling Plate White

1450-2618-PC 5" IPS Flexible Floor&Ceiling Plate Chrome Plated

1450-2618-WH 5" IPS Flexible Floor&Ceiling Plate White

1450-2619-PC 6" IPS Flexible Floor&Ceiling Plate Chrome Plated

1450-2619-WH 6" IPS Flexible Floor&Ceiling Plate White

1450-2620-PC 8" IPS Flexible Floor&Ceiling Plate Chrome Plated

1450-2620-WH 8" IPS Flexible Floor&Ceiling Plate White

Heavy Solid Brass Set Screw Flange

1450-0402-PC 3/8" IPS Polish Chrome

1450-0401-PC 1/2" IPS Polish Chrome

1450-0403-PC 5/8" OD(1/2CTS) Polish Chrome

Tubular Flanges - Metal

1450-1001-PC 1 1/4" Shallow Escutcheon Polish Chrome

1450-1002-PC 1 1/4" Deep Escutcheon Polish Chrome

1450-1003-PC 1 1/4" Box Escutcheon Polish Chrome

1450-1003-BNPVD 1 1/4" Box Escutcheon Brushed Nickel PVD

1450-1003-PBPVD 1 1/4" Box Escutcheon Polished Brass PVD

1450-1003-PNPVD 1 1/4" Box Escutcheon Polished Nickel PVD

1450-1003-ORB 1 1/4" Box Escutcheon Oil Rubbed Bronze

1450-1004-PC 1 1/2" Shallow Escutcheon Polish Chrome

1450-1005-PC 1 1/2" Deep Escutcheon Polish Chrome

1450-1006-PC 1 1/2" Box Escutcheon Polish Chrome

1450-1006-BNPVD 1 1/2" Box Escutcheon Brushed Nickel PVD

1450-1006-PBPVD 1 1/2" Box Escutcheon Polished Brass PVD

1450-1006-PNPVD 1 1/2" Box Escutcheon Polished Nickel PVD

1450-1006-ORB 1 1/2" Box Escutcheon Oil Rubbed Bronze

Tubular Flanges - Plastic

1450-1011-WH 1 1/4" Shallow Escutcheon White

1450-1014-WH 1 1/2" Shallow Escutcheon White

Section D 33 Drainage



Part Number Item Description Finish Picture

Enameled Cast Iron Floor Sinks

1460-0602-NH 12" x 12" x 6", 2" No Hub Connection Porcelain Enamel

1460-0603-NH 12" x 12" x 6", 3" No Hub Connection Porcelain Enamel

1460-0604-NH 12" x 12" x 6", 4" No Hub Connection Porcelain Enamel

1460-0802-NH 12" x 12" x 8", 2" No Hub Connection Porcelain Enamel

1460-0803-NH 12" x 12" x 8", 3" No Hub Connection Porcelain Enamel

1460-0804-NH 12" x 12" x 8", 4" No Hub Connection Porcelain Enamel

1460-0602-P 12" x 12" x 6", 2" Push On Connection Porcelain Enamel

1460-0603-P 12" x 12" x 6", 3" Push On Connection Porcelain Enamel

1460-0604-P 12" x 12" x 6", 4" Push On Connection Porcelain Enamel

1460-0802-P 12" x 12" x 8", 2" Push On Connection Porcelain Enamel

1460-0803-P 12" x 12" x 8", 3" Push On Connection Porcelain Enamel

1460-0804-P 12" x 12" x 8", 4" Push On Connection Porcelain Enamel

Enameled Cast Iron Top Grates for Floor Sink

1460-G100 Full Grate Porcelain Enamel

1460-G075 3/4 Grate Porcelain Enamel

1460-G050 1/2 Grate Porcelain Enamel

Aluminum Dome Strainers for Floor Sink

1460-S550 5-1/2" OD Dome Strainer Rough Aluminum

Gaskets for Push On Floor Sink

1460-GA02 2" Gasket Black

1460-GA03 3" Gasket Black

1460-GA04 4" Gasket Black

Section D 34 Drainage



Part Number Item Description Finish Picture

1513-ND15

Non-Slotted Reduced Flow Aerator
Dual Threads 15/16"-27 Male x 55/64"-27
Female
1.5 GPM Flow Rate, Lead Free

Chrome Plated

1513-ND20

Non-Slotted Reduced Flow Aerator
Dual Threads 15/16"-27 Male x 55/64"-27
Female
2.0 GPM Flow Rate, Lead Free

Chrome Plated

1513-ND22

Non-Slotted Reduced Flow Aerator
Dual Threads 15/16"-27 Male x 55/64"-27
Female
2.2 GPM Flow Rate, Lead Free

Chrome Plated

1513-N122
Non-Slotted Reduced Flow Aerator
55/64" - 27 Male Thread
2.2 GPM Flow Rate, Lead Free

Chrome Plated

1513-ND05
Non-Slotted .5 GPM Aerator
Dual Threads 15/16"-27 Male x 55/64"-27
Female 0.5 GPM Flow Rate, Lead Free

Chrome Plated

1513-SD22

Slotted 2.2 GPM Aerator
Dual Threads 15/16"-27 Male x 55/64"-27
Female
2.2 GPM, Lead Free

Chrome Plated

Section E 1 Plumbing Repairs



Part Number Item Description Finish Picture

Front Mount Tank Levers

1534-0001-PC
Universal Tank Lever w/Metal Lever, 8" Brass Arm,
Metal Spud and Nut

Polished Chrome

1534-0002-PC
Universal Tank Lever w/Metal Lever, 8" Brass Plated
Arm, Metal Spud and Nut

Polished Chrome

1534-0003-PC
Universal Tank Lever w/Metal Lever, 8" Aluminum Arm,
Metal Spud and Nut

Polished Chrome

1534-0004-PC
Universal Tank Lever w/Metal Lever, 8" Aluminum Arm,
Plastic Spud and Nut

Polished Chrome

1534-0005-PC
Universal Economy Tank Lever w/Metal Lever, 8" Brass
Plated Arm, Metal Spud and Nut

Polished Chrome

1534-0006-PC
Universal Tank Lever w/Plastic Lever, 8" Plastic Arm,
Plastic Spud and Nut

Polished Chrome

1534-0006-WH
Universal Tank Lever w/Plastic Lever, 8" Plastic Arm,
Plastic Spud and Nut

White

1534-0007-PC
Universal Tank Lever w/Metal Lever, 8" Brass Plated
Arm, Metal Spud and Nut

Polished Chrome

1534-0008-PC
Universal Tank Lever w/Metal Lever, 8" Brass Plated
Arm, Metal Spud and Nut

Polished Chrome

1534-0009-PC
Universal Tank Lever w/Metal Lever, 8-1/4" Brass
Arm, Metal Spud and Nut

Polished Chrome

1534-0010-PC
Universal Tank Lever w/Plastic Lever, Cut-to-Length 4",
6", 8" Arm, Plastic Spud and Nut. Shapeable Arm Bends
to Fit the Needed Arm Angle

Polished Chrome

1534-0010-WH
Universal Tank Lever w/Plastic Lever, Cut-to-Length 4",
6", 8" Arm, Plastic Spud and Nut. Shapeable Arm Bends
to Fit the Needed Arm Angle

White

1534-0021-PC
Deluxe Tank Lever, w/Cast Brass and Porcelain Lever,
8" Brass Arm, Brass Spud and Nut, Universal Fit

Polished Chrome

1534-0022-PC
Deluxe Tank Lever, w/Heavy Duty Cast Brass Lever, 8"
Brass Arm, Brass Spud and Nut, Universal Fit

Polished Chrome

1534-0022-RB
Deluxe Tank Lever, w/Heavy Duty Cast Brass Lever, 8"
Brass Arm, Brass Spud and Nut, Universal Fit

Polished Brass

Section E 2 Plumbing Repairs



Part Number Item Description Finish Picture

1534-A001-PC
Tank Lever for American Standard®, w/Plastic Lever, 4"
Plastic Arm, Plastic Spud and Nut

Polished Chrome

1534-A001-WH
Tank Lever for American Standard®, w/Plastic Lever, 4"
Plastic Arm, Plastic Spud and Nut

White

1534-A002-PC
Tank Lever for American Standard®, w/Plastic Lever, 6"
Plastic Arm, Plastic Spud and Nut. 45° Angle Arm

Polished Chrome

1534-A002-WH
Tank Lever for American Standard®, w/Plastic Lever, 6"
Plastic Arm, Plastic Spud and Nut. 45° Angle Arm

White

1534-A003-PC
Tank Lever for American Standard®, w/Plastic Lever, 6"
Plastic Arm, Plastic Spud and Nut

Polished Chrome

1534-A003-WH
Tank Lever for American Standard®, w/Plastic Lever, 6"
Plastic Arm, Plastic Spud and Nut

White

1534-A004-PC
Tank Lever for American Standard®, w/Plastic Lever,
Ready-to-Cut 4", 6", 8" Plastic Arm, Plastic Spud and
Nut. 28° Angle Arm

Polished Chrome

1534-A004-WH
Tank Lever for American Standard®, w/Plastic Lever,
Ready-to-Cut 4", 6", 8" Plastic Arm, Plastic Spud and
Nut. 28° Angle Arm

White

1534-A005-PC
Tank Lever for American Standard®, w/Metal Lever,
9-1/2" Brass Arm, Metal Spud and Nut

Polished Chrome

1534-A006-PC
Tank Lever for American Standard®, w/Metal Lever,
4-1/4" Brass Arm, Plastic Spud and Nut

Polished Chrome

1534-A007-PC
Tank Lever for American Standard®, w/Metal Lever,
6-1/8" Brass Arm, Plastic Spud and Nut

Polished Chrome

1534-K001-PC
Tank Lever for Kohler® Wellworth® Classic Toilet,
w/Metal Lever, 8" Plastic Arm, Plastic Spud and Nut

Polished Chrome

1534-K001-PB
Tank Lever for Kohler® Wellworth® Classic Toilet,
w/Metal Lever, 8" Plastic Arm, Plastic Spud and Nut

Polished Brass

1534-K002-PC
Tank Lever for Kohler®, w/Metal Lever, 8" Cast Brass
Arm, Metal Spud and Nut

Polished Chrome

1534-M001-PC
Tank Lever for Mansfield®, w/Plastic Lever, 9" Plastic
Arm, Plastic Spud and Nut

Polished Chrome

1534-M001-WH
Tank Lever for Mansfield®, w/Plastic Lever, 9" Plastic
Arm, Plastic Spud and Nut

White

1534-M002-PC
Tank Lever for Mansfield®, w/Metal Lever, 10" Plastic
Arm, Plastic Spud and Nut

Polished Chrome

1534-E001-PC
Tank Lever for Eljer®, w/Metal Lever, 9" Brass Arm,
Plastic Spud and Nut

Polished Chrome

1534-U001-PC
Tank Lever for Universal Rundle™, w/Metal Lever, 8"
Brass Arm, Plastic Spud and Nut

Polished Chrome

Section E 3 Plumbing Repairs



Part Number Item Description Finish Picture

1534-T001-PC

Deluxe Tank Lever for TOTO® Clayton®, Baldwin®
(Original Design), Promenade® (Old Style) and Eco
Clayton® Toilet, w/Heavy Duty Cast Brass Lever, 8"
Brass Arm, Brass Spud and Nut. Also Fits Most of Other
Toilets.

Polished Brass

1534-T002-PC
Deluxe Tank Lever for TOTO® Lloyd® and Eco Lloyd®
Toilet, w/Heavy Duty Cast Brass Lever, 7-1/2" Brass
Arm, Brass Spud and Plastic Nut.

Polished Chrome

1534-0050-PC
Universal Tank Push Botton, w/Plastic Botton, 8" Brass
Arm, Plastic Spud and Nut

Polished Chrome

1534-0050-WH
Universal Tank Push Botton, w/Plastic Botton, 8" Brass
Arm, Plastic Spud and Nut

White

Side Mount Tank Levers

1534-T101-PC

Tank Lever for TOTO® Carlyle®, Caroline®, Supreme®,
Ultimate®, Ultramax®, Eco Ultramax®, Eco Supreme®
Toilet, w/Metal Lever, 10" Brass Arm, Plastic Spud and
Plastic Nut.

Polished Chrome

1534-T101-WH

Tank Lever for TOTO® Carlyle®, Caroline®, Supreme®,
Ultimate®, Ultramax®, Eco Ultramax®, Eco Supreme®
Toilet, w/Metal Lever, 10" Brass Arm, Plastic Spud and
Plastic Nut.

White

1534-T102-PC
Tank Lever for TOTO® Caruso® Toilet, w/Metal Lever,
10" Brass Arm, Plastic Spud and Plastic Nut.

Polished Chrome

Tank Lever for TOTO® Caruso® Toilet, w/Metal Lever,
10" Brass Arm, Plastic Spud and Plastic Nut.

Polished Brass

1534-T103-PC
Tank Lever for TOTO®, w/Metal Lever, 10" Brass Arm,
Plastic Spud and Plastic Nut.

Polished Brass

1534-T104-PC
Deluxe Tank Lever for TOTO® Nexus® and Eco Nexus®
Toilet, w/Heavy Duty Cast Brass Lever, 8" Brass Arm,
Plastic Spud and Nut.

Polished Chrome

1534-1050-PC
Universal Tank Push Botton, w/Plastic Botton, 8" Brass
Arm, Plastic Spud and Nut

Polished Chrome

1534-1050-WH
Universal Tank Push Botton, w/Plastic Botton, 8" Brass
Arm, Plastic Spud and Nut

White

The manufacturers' name are used only to describe whose products the tank levers will fit. The tank levers are not manufactured by those companies.

Section E 4 Plumbing Repairs



Part Number Item Description Finish Picture

Solid Brass Closet Bolts, w/Brass Acorn Nuts and Brass Round Washers

1535-1011 1/4" x 2-1/4" Rough Brass

1535-1012 1/4" x 3-1/2" Rough Brass

1535-1013 5/16" x 1-3/4" Rough Brass

1535-1014 5/16" x 2-1/4" Rough Brass

1535-1015 5/16" x 3-1/2" Rough Brass

Solid Brass Closet Bolts, w/Steel Acorn Nuts and Steel Round Washers

1535-1031 1/4" x 2-1/4" Rough Brass

1535-1032 1/4" x 3-1/2" Rough Brass

1535-1033 5/16" x 1-3/4" Rough Brass

1535-1034 5/16" x 2-1/4" Rough Brass

1535-1035 5/16" x 3-1/2" Rough Brass

Solid Brass Closet Bolts, w/Plastic Retainers, Steel Acorn Nuts and Steel Round Washers

1535-1041 1/4" x 2-1/4" Rough Brass

1535-1041SSW 1/4" x 2-1/4", w/SS Washers Rough Brass

1535-1042 1/4" x 3-1/2" Rough Brass

1535-1042SSW 1/4" x 3-1/2", w/SS Washers Rough Brass

1535-1044 5/16" x 2-1/4" Rough Brass

1535-1044SSW 5/16" x 2-1/4", w/SS Washers Rough Brass

1535-1045 5/16" x 3-1/2" Rough Brass

1535-1045SSW 5/16" x 3-1/2", w/SS Washers Rough Brass

Solid Brass Closet Bolts, w/Four Steel Acorn Nuts and Four Steel Round Washers

1535-1051 1/4" x 2-1/4", w/2 Acorn Nuts and 2 Square Nuts Rough Brass

1535-1051SSHNSSW 1/4" x 2-1/4", w/4 SS Hex Nuts and 4 SS Washers Rough Brass

1535-1061 1/4" x 2-1/4" Rough Brass

1535-1062 1/4" x 3-1/2" Rough Brass

1535-1063 5/16" x 1-3/4" Rough Brass

1535-1064 5/16" x 2-1/4" Rough Brass

1535-1065 5/16" x 3-1/2" Rough Brass

Brass Plated Steel Closet Bolts, w/Four Steel Acorn and Four Steel Round Washers

1535-1052 1/4" x 2-1/4", w/2 Acorn Nuts and 2 Square Nuts Brass Plated

1535-1052HN 1/4" x 2-1/4", w/4 Hex Nuts Brass Plated

1535-1061 1/4" x 2-1/4" Brass Plated

1535-1062 1/4" x 3-1/2" Brass Plated

1535-1063 5/16" x 1-3/4" Brass Plated

1535-1064 5/16" x 2-1/4" Brass Plated

1535-1065 5/16" x 3-1/2" Brass Plated

Solid Brass Closet Bolts, w/Brass Acorn Nuts and Brass Oval Washers

1535-1091 1/4" x 2-1/4" Rough Brass

1535-1092 1/4" x 3-1/2" Rough Brass

1535-1093 5/16" x 1-3/4" Rough Brass

1535-1094 5/16" x 2-1/4" Rough Brass

1535-1095 5/16" x 3-1/2" Rough Brass

Section E 5 Plumbing Repairs



Part Number Item Description Finish Picture

Solid Brass Closet Bolts, w/Steel Acorn Nuts and Steel Oval Washers

1535-1111 1/4" x 2-1/4" Rough Brass

1535-1111SSW 1/4" x 2-1/4", w/SS Washers Rough Brass

1535-1112 1/4" x 3-1/2" Rough Brass

1535-1112SSW 1/4" x 3-1/2", w/SS Washers Rough Brass

1535-1113 5/16" x 1-3/4" Rough Brass

1535-1114 5/16" x 2-1/4" Rough Brass

1535-1114SSW 5/16" x 2-1/4", w/SS Washers Rough Brass

1535-1115 5/16" x 3-1/2" Rough Brass

1535-1115SSW 5/16" x 3-1/2", w/SS Washers Rough Brass

Brass Plated Closet Bolts, w/Steel Acorn Nuts and Steel Round Washers

1535-1131 1/4" x 2-1/4" Brass Plated

1535-1132 1/4" x 3-1/2" Brass Plated

1535-1133 5/16" x 1-3/4" Brass Plated

1535-1134 5/16" x 2-1/4" Brass Plated

1535-1135 5/16" x 3-1/2" Brass Plated

Brass Plated Closet Bolts, w/Steel Acorn Nuts and Steel Oval Washers

1535-1151 1/4" x 2-1/4" Brass Plated

1535-1152 1/4" x 3-1/2" Brass Plated

1535-1153 5/16" x 1-3/4" Brass Plated

1535-1154 5/16" x 2-1/4" Brass Plated

1535-1155 5/16" x 3-1/2" Brass Plated

Yellow Zinc Plated(YZP) Closet Bolts, w/Steel Acorn Nuts and Steel Round Washers

1535-1171 1/4" x 2-1/4" Yellow Zinc Plated

1535-1172 1/4" x 3-1/2" Yellow Zinc Plated

1535-1174 5/16" x 2-1/4" Yellow Zinc Plated

1535-1175 5/16" x 3-1/2" Yellow Zinc Plated

Yellow Zinc Plated(YZP) Closet Bolts, w/Plastic Retainer, Steel Acorn Nuts and Steel Round Washers

1535-1181 1/4" x 2-1/4" Yellow Zinc Plated

1535-1182 1/4" x 3-1/2" Yellow Zinc Plated

1535-1184 5/16" x 2-1/4" Yellow Zinc Plated

1535-1185 5/16" x 3-1/2" Yellow Zinc Plated

Yellow Zinc Plated(YZP) Closet Bolts, w/Steel Acorn Nuts and Steel Oval Washers

1535-1191 1/4" x 2-1/4" Yellow Zinc Plated

1535-1192 1/4" x 3-1/2" Yellow Zinc Plated

1535-1194 5/16" x 2-1/4" Yellow Zinc Plated

1535-1195 5/16" x 3-1/2" Yellow Zinc Plated

Solid Brass Snap-off Closet Bolts, w/Captured Brass Plated Steel Round Washers, Brass Acorn Nuts and SS Round Washers

1535-1211 1/4" x 2-1/4" Rough Brass

1535-1211BW 1/4" x 2-1/4", w/Brass Washers Rough Brass

1535-1211SN 1/4" x 2-1/4", w/Steel Acorn Nuts Rough Brass

Section E 6 Plumbing Repairs



Part Number Item Description Finish Picture

1535-1212 1/4" x 3-1/2" Rough Brass

1535-1214 5/16" x 2-1/4" Rough Brass

1535-1214BW 5/16" x 2-1/4", w/Brass Washers Rough Brass

1535-1214SN 5/16" x 2-1/4", w/Steel Nuts Rough Brass

1535-1215 5/16" x 3-1/2" Rough Brass

Section E 7 Plumbing Repairs



Part Number Item Description Finish Picture

Solid Brass Snap-off Closet Bolts, w/Plastic Retainers, Brass Acorn Nuts and SS Round Washers

1535-1231 1/4" x 2-1/4" Rough Brass

1535-1231BW 1/4" x 2-1/4", w/Brass Washers Rough Brass

1535-1231SNSW 1/4" x 2-1/4", w/Steel Nuts and Steel Washers Rough Brass

1535-1232 1/4" x 3-1/2" Rough Brass

1535-1234 5/16" x 2-1/4" Rough Brass

1535-1234BW 5/16" x 2-1/4", w/Brass Washers Rough Brass

1535-1235 5/16" x 3-1/2" Rough Brass

Solid Brass Closet Screws, w/Brass Acorn Nuts and Brass Round Washers

1535-1256 1/4" x 2-1/2" Rough Brass

1535-1252 1/4" x 3-1/2" Rough Brass

1535-1257 5/16" x 2-1/2" Rough Brass

1535-1255 5/16" x 3-1/2" Rough Brass

Brass Plated Closet Screws, w/Steel Acorn Nuts and Steel Round Washers

1535-1276 1/4" x 2-1/2" Brass Plated

1535-1272 1/4" x 3-1/2" Brass Plated

1535-1277 5/16" x 2-1/2" Brass Plated

1535-1275 5/16" x 3-1/2" Brass Plated

Fiberglass Reinforced Nylon Closet Bolts w/Nuts

1535-P250 2-1/2" Length Yellow

1535-P350 3-1/2" Length Yellow

Solid Brass Tank to Bowl Bolts

1535-5011
5/16" x 3", w/Brass Hex Nuts, Brass Round Washers
and Reinforced Rubber Washers

Rough Brass

1535-5012
5/16" x 3", w/Stainless Steel Hex Nuts, Stainless Steel
Round Washers and Reinforced Rubber Washers

Rough Brass

1535-5013
5/16" x 3", w/Zinc Plated Steel Hex Nuts, Zinc Plated
Steel Round Washers and Rubber Washers

Rough Brass

1535-5014

5/16" x 3", w/Forged Brass Wing Nuts, Brass Hex
Nuts, Brass Round Washers and Reinforced Rubber
Washers, 7/8" OD Extra Large Bolt Head for
Professional Plumber

Rough Brass

1535-5015
5/16" x 3", w/Brass Wing Nuts, Brass Hex Nuts,
Brass Round Washers and Reinforced Rubber Washers

Rough Brass

1535-5016
5/16" x 3", w/Zinc Plated Steel Wing Nuts, Zinc Plated
Steel Hex Nuts, Zinc Plated Steel Round Washers and
Rubber Washers

Rough Brass

Brass Plated Tank to Bowl Bolts

1535-5031
5/16" x 3", w/Zinc Plated Steel Hex Nuts, Zinc Plated
Steel Round Washers and Rubber Washers

Brass Plated

1535-5032
5/16" x 3", w/Zinc Plated Steel Wing Nuts, Zinc Plated
Steel Hex Nuts, Zinc Plated Steel Round Washers and
Rubber Washers

Brass Plated

Yellow Zinc Plated(YZP) Tank to Bowl Bolts

Section E 8 Plumbing Repairs



Part Number Item Description Finish Picture

1535-5051
5/16" x 3", w/Zinc Plated Steel Hex Nuts, Zinc Plated
Steel Round Washers and Rubber Washers

Yellow Zinc Plated

1535-5052
5/16" x 3", w/Zinc Plated Steel Wing Nuts, Zinc Plated
Steel Hex Nuts, Zinc Plated Steel Round Washers and
Rubber Washers

Yellow Zinc Plated

Separate Parts

1535-9011 1/4" x 2-1/4" Solid Brass Closet Bolt Rough Brass

1535-9012 1/4" x 3-1/2" Solid Brass Closet Bolt Rough Brass

1535-9013 5/16" x 1-3/4" Solid Brass Closet Bolt Rough Brass

1535-9014 5/16" x 2-1/4" Solid Brass Closet Bolt Rough Brass

1535-9015 5/16" x 3-1/2" Solid Brass Closet Bolt Rough Brass

1535-9031 1/4" x 2-1/4" Brass Plated Closet Bolt Brass Plated

1535-9032 1/4" x 3-1/2" Brass Plated Closet Bolt Brass Plated

1535-9033 5/16" x 1-3/4" Brass Plated Closet Bolt Brass Plated

1535-9034 5/16" x 2-1/4" Brass Plated Closet Bolt Brass Plated

1535-9035 5/16" x 3-1/2" Brass Plated Closet Bolt Brass Plated

1535-9051 1/4" x 2-1/4" Yellow Zinc Plated(YZP) Closet Bolt Yellow Zinc Plated

1535-9052 1/4" x 3-1/2" Yellow Zinc Plated(YZP) Closet Bolt Yellow Zinc Plated

1535-9053 5/16" x 1-3/4" Yellow Zinc Plated(YZP) Closet Bolt Yellow Zinc Plated

1535-9054 5/16" x 2-1/4" Yellow Zinc Plated(YZP) Closet Bolt Yellow Zinc Plated

1535-9055 5/16" x 3-1/2" Yellow Zinc Plated(YZP) Closet Bolt Yellow Zinc Plated

1535-9071 1/4" x 2-1/4" Solid Brass Snap-off Closet Bolt Rough Brass

1535-9072 1/4" x 3-1/2" Solid Brass Snap-off Closet Bolt Rough Brass

1535-9074 5/16" x 2-1/4" Solid Brass Snap-off Closet Bolt Rough Brass

1535-9075 5/16" x 3-1/2" Solid Brass Snap-off Closet Bolt Rough Brass

Section E 9 Plumbing Repairs



Part Number Item Description Finish Picture

1535-9096 1/4" x 2-1/2" Solid Brass Closet Screw Rough Brass

1535-9092 1/4" x 3-1/2" Solid Brass Closet Screw Rough Brass

1535-9097 5/16" x 2-1/2" Solid Brass Closet Screw Rough Brass

1535-9095 5/16" x 3-1/2" Solid Brass Closet Screw Rough Brass

1535-9116 1/4" x 2-1/2" Brass Plated Closet Screw Brass Plated

1535-9112 1/4" x 3-1/2" Brass Plated Closet Screw Brass Plated

1535-9117 5/16" x 2-1/2" Brass Plated Closet Screw Brass Plated

1535-9115 5/16" x 3-1/2" Brass Plated Closet Screw Brass Plated

1535-9136 1/4" x 2-1/2" Yellow Zinc Plated(YZP) Closet Screw Yellow Zinc Plated

1535-9132 1/4" x 3-1/2" Yellow Zinc Plated(YZP) Closet Screw Yellow Zinc Plated

1535-9137 5/16" x 2-1/2" Yellow Zinc Plated(YZP) Closet Screw Yellow Zinc Plated

1535-9135 5/16" x 3-1/2" Yellow Zinc Plated(YZP) Closet Screw Yellow Zinc Plated

1535-9151 5/16" x 3" Solid Brass Tank to Bowl Bolt Rough Brass

1535-9152
5/16" x 3" Solid Brass Tank to Bowl Bolt, 7/8"OD Extra
Large Head

Rough Brass

1535-9153 5/16" x 3" Brass Plated Tank to Bowl Bolt Brass Plated

1535-9154 5/16" x 3" Yellow Zinc Plated(YZP) Tank to Bowl Bolt Yellow Zinc Plated

1535-9311 1/4" Solid Brass Open Nut Rough Brass

1535-9312 1/4" Nickel Plated Brass Open Nut Nickel Plated

1535-9313 1/4" Heavy Duty Nickel Plated Brass Open Nut Nickel Plated

1535-9314 5/16" Solid Brass Open Nut Rough Brass

1535-9315 5/16" Nickel Plated Brass Open Nut Nickel Plated

1535-9316 5/16" Heavy Duty Nickel Plated Brass Open Nut Nickel Plated

1535-9317 1/4" Nickel Plated Steel Open Nut Nickel Plated

1535-9318 1/4" Zinc Plated Steel Open Nut Zinc Plated

1535-9319 5/16" Nickel Plated Steel Open Nut Nickel Plated

1535-9320 5/16" Zinc Plated Steel Open Nut Zinc Plated

1535-9321 1/4" Solid Brass Closed Nut Rough Brass

1535-9322 1/4" Nickel Plated Brass Closed Nut Nickel Plated

1535-9323 5/16" Solid Brass Closed Nut Rough Brass

1535-9324 5/16" Nickel Plated Brass Closed Nut Nickel Plated

1535-9325 1/4" Nickel Plated Steel Closed Nut Nickel Plated

1535-9326 1/4" Zinc Plated Steel Closed Nut Zinc Plated

1535-9327 5/16" Nickel Plated Steel Closed Nut Nickel Plated

1535-9328 5/16" Zinc Plated Steel Closed Nut Zinc Plated

1535-9329 1/4" Brass Hex Nut Rough Brass

1535-9330 1/4" Stainless Steel Hex Nut Stainless Steel

1535-9331 1/4" Zinc Plated Steel Hex Nut Zinc Plated

Section E 10 Plumbing Repairs



Part Number Item Description Finish Picture

1535-9332 5/16" Brass Hex Nut Rough Brass

1535-9333 5/16" Stainless Steel Hex Nut Stainless Steel

1535-9334 5/16" Zinc Plated Steel Hex Nut Zinc Plated

1535-9335 5/16" Forged Brass Wing Nut Rough Brass

1535-9336 5/16" Brass Wing Nut Rough Brass

1535-9337 5/16" Zinc Plated Steel Wing Nut Zinc Plated

1535-9511 Solid Brass Round Washer Rough Brass

1535-9512 Nickel Plated Brass Round Washer Nickel Plated

1535-9513 Chrome Plated Brass Round Washer Chrome Plated

1535-9514 Nickel Plated Steel Round Washer Nicke Plated

1535-9515 Zinc Plated Steel Round Washer Zinc Plated

1535-9516 Solid Brass Oval Washer Rough Brass

1535-9517 Nickel Plated Brass Oval Washer Nickel Plated

1535-9518 Nickel Plated Steel Oval Washer Nickel Plated

1535-9519 Zinc Plated Steel Oval Washer Zinc Plated

1535-9520 Cloth Insert Reinforced Rubber Round Washer Black

1535-9521 Rubber Round Washer Black

1535-9522 1/4" Plastic Retainer White

1535-9523 5/16" Plastic Retainer White

1535-9524 1/4" Black Steel Speed Nut Black

1535-9525 5/16" Black Steel Speed Nut Black

1535-RNDCAP-WH Univsesal Fit Snap-On Closet Bolt Cap w/Washer White

Section E 11 Plumbing Repairs



Part Number Item Description Finish Picture

Brass Closet Spuds w/Spud Washer and Metal Friction Ring

1536-0001 1" x 3/4" Rough Brass

1536-0002 1-1/4" x 3/4" Rough Brass

1536-0003 1-1/4" x 1-1/4" Rough Brass

1536-0004 1-1/2" x 3/4" Rough Brass

1536-0005 1-1/2" x 1-1/4" Rough Brass

1536-0006 1-1/2" x 1-1/2" Rough Brass

1536-0007 2" x 1-1/4" Rough Brass

1536-0008 2" x 1-1/2" Rough Brass

1536-0009 2" x 2" Rough Brass

 

Cast Brass Urinal Flange Kits w/Gasket, Bolts and Washers

1536-0401 2" IPS x 4" Mounting Centers Rough Brass

1536-0402 2" Sweat x 4" Mounting Centers Rough Brass

1536-0451 2" IPS x 4-1/2" Mounting Centers Rough Brass

1536-0452 2" Sweat x 4-1/2" Mounting Centers Rough Brass

1536-0601 2" IPS x 6" Mounting Centers Rough Brass

1536-0602 2" Sweat x 6" Mounting Centers Rough Brass

Plastic Urinal Flanges Kits w/Gasket, Bolts, Washers and Nuts

1536-4112HP 4" to 11" Adjustable. 2" Hub. PVC White

1536-4112HA 4" to 11" Adjustable. 2" Hub. ABS Black

1536-4112FP 4" to 11" Adjustable. 2" Inside Fit. PVC White

1536-4112FA 4" to 11" Adjustable. 2" Inside Fit. ABS Black

1536-4112SP 4" to 11" Adjustable. 2" Spigot. PVC White

1536-4112SA 4" to 11" Adjustable. 2" Spigot. ABS Black

Section E 12 Plumbing Repairs



Part Number Item Description Finish Picture

Plastic Closet Flanges

1537-1034PK
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, with
Knockout, PVC

White

1537-1034AK
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, with
Knockout, ABS

Black

1537-1034P
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, less
Knockout, PVC

White

1537-1034A
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, less
Knockout, ABS

Black

1537-103PK 3" Fits Inside 3" SCH40 DWV Pipe, with Knockout, PVC White

1537-103AK 3" Fits Inside 3" SCH40 DWV Pipe, with Knockout, ABS Black

1537-103P 3" Fits Inside 3" SCH40 DWV Pipe, less Knockout, PVC White

1537-103A 3" Fits Inside 3" SCH40 DWV Pipe, less Knockout, ABS Black

1537-104PK 4" Fits Over 4" SCH40 DWV Pipe, with Knockout, PVC White

1537-104AK 4" Fits Over 4" SCH40 DWV Pipe, with Knockout, ABS Black

1537-104P 4" Fits Over 4" SCH40 DWV Pipe, less Knockout, PVC White

1537-104A 4" Fits Over 4" SCH40 DWV Pipe, less Knockout, ABS Black

1537-1S3PK 3" Spigot Fit, with Knockout, PVC White

1537-1S3AK 3" Spigot Fit, with Knockout, ABS Black

1537-1S3P 3" Spigot Fit, less Knockout, PVC White

1537-1S3A 3" Spigot Fit, less Knockout, ABS Black

1537-1S4PK 4" Spigot Fit, with Knockout, PVC White

1537-1S4AK 4" Spigot Fit, with Knockout, ABS Black

1537-1S4P 4" Spigot Fit, less Knockout, PVC White

1537-1S4A 4" Spigot Fit, less Knockout, ABS Black

Plastic Closet Flanges, with Plastic Swivel Rings

1537-2034PK
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, with
Knockout, PVC

White

1537-2034AK
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, with
Knockout, ABS

Black

1537-2034P
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, less
Knockout, PVC

White

1537-2034A
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, less
Knockout, ABS

Black

1537-203PK 3" Fits Inside 3" SCH40 DWV Pipe, with Knockout, PVC White

1537-203AK 3" Fits Inside 3" SCH40 DWV Pipe, with Knockout, ABS Black

1537-203P 3" Fits Inside 3" SCH40 DWV Pipe, less Knockout, PVC White

1537-203A 3" Fits Inside 3" SCH40 DWV Pipe, less Knockout, ABS Black

Section E 13 Plumbing Repairs



Part Number Item Description Finish Picture

1537-204PK 4" Fits Over 4" SCH40 DWV Pipe, with Knockout, PVC White

1537-204AK 4" Fits Over 4" SCH40 DWV Pipe, with Knockout, ABS Black

1537-204P 4" Fits Over 4" SCH40 DWV Pipe, less Knockout, PVC White

1537-204A 4" Fits Over 4" SCH40 DWV Pipe, less Knockout, ABS Black

1537-2S3PK 3" Spigot Fit, with Knockout, PVC White

1537-2S3AK 3" Spigot Fit, with Knockout, ABS Black

1537-2S3P 3" Spigot Fit, less Knockout, PVC White

1537-2S3A 3" Spigot Fit, less Knockout, ABS Black

1537-2S4PK 4" Spigot Fit, with Knockout, PVC White

1537-2S4AK 4" Spigot Fit, with Knockout, ABS Black

1537-2S4P 4" Spigot Fit, less Knockout, PVC White

1537-2S4A 4" Spigot Fit, less Knockout, ABS Black

Plastic Closet Flanges, with Metal Rings

1537-3034PK
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, with
Knockout, PVC

White

1537-3034AK
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, with
Knockout, ABS

Black

1537-3034P
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, less
Knockout, PVC

White

1537-3034A
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, less
Knockout, ABS

Black

1537-303PK 3" Fits Inside 3" SCH40 DWV Pipe, with Knockout, PVC White

1537-303AK 3" Fits Inside 3" SCH40 DWV Pipe, with Knockout, ABS Black

1537-303P 3" Fits Inside 3" SCH40 DWV Pipe, less Knockout, PVC White

1537-303A 3" Fits Inside 3" SCH40 DWV Pipe, less Knockout, ABS Black

1537-304PK 4" Fits Over 4" SCH40 DWV Pipe, with Knockout, PVC White

1537-304AK 4" Fits Over 4" SCH40 DWV Pipe, with Knockout, ABS Black

1537-304P 4" Fits Over 4" SCH40 DWV Pipe, less Knockout, PVC White

1537-304A 4" Fits Over 4" SCH40 DWV Pipe, less Knockout, ABS Black

1537-3S3PK 3" Spigot Fit, with Knockout, PVC White

1537-3S3AK 3" Spigot Fit, with Knockout, ABS Black

1537-3S3P 3" Spigot Fit, less Knockout, PVC White

1537-3S3A 3" Spigot Fit, less Knockout, ABS Black

1537-3S4PK 4" Spigot Fit, with Knockout, PVC White

1537-3S4AK 4" Spigot Fit, with Knockout, ABS Black

1537-3S4P 4" Spigot Fit, less Knockout, PVC White

1537-3S4A 4" Spigot Fit, less Knockout, ABS Black

Section E 14 Plumbing Repairs



Part Number Item Description Finish Picture

Plastic Closet Flanges, with Metal Rings

1537-4034PK
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, with
Knockout, PVC

White

1537-4034AK
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, with
Knockout, ABS

Black

1537-4034P
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, less
Knockout, PVC

White

1537-4034A
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, less
Knockout, ABS

Black

1537-403PK 3" Fits Inside 3" SCH40 DWV Pipe, with Knockout, PVC White

1537-403AK 3" Fits Inside 3" SCH40 DWV Pipe, with Knockout, ABS Black

1537-403P 3" Fits Inside 3" SCH40 DWV Pipe, less Knockout, PVC White

1537-403A 3" Fits Inside 3" SCH40 DWV Pipe, less Knockout, ABS Black

1537-404PK 4" Fits Over 4" SCH40 DWV Pipe, with Knockout, PVC White

1537-404AK 4" Fits Over 4" SCH40 DWV Pipe, with Knockout, ABS Black

1537-404P 4" Fits Over 4" SCH40 DWV Pipe, less Knockout, PVC White

1537-404A 4" Fits Over 4" SCH40 DWV Pipe, less Knockout, ABS Black

1537-4S3PK 3" Spigot Fit, with Knockout, PVC White

1537-4S3AK 3" Spigot Fit, with Knockout, ABS Black

1537-4S3P 3" Spigot Fit, less Knockout, PVC White

1537-4S3A 3" Spigot Fit, less Knockout, ABS Black

1537-4S4PK 4" Spigot Fit, with Knockout, PVC White

1537-4S4AK 4" Spigot Fit, with Knockout, ABS Black

1537-4S4P 4" Spigot Fit, less Knockout, PVC White

1537-4S4A 4" Spigot Fit, less Knockout, ABS Black

Plastic Offset Closet Flanges

1537-5034P
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, less
Knockout, PVC

White

1537-5034A
3" x 4" Fits Over 3" or Inside 4" SCH40 DWV Pipe, less
Knockout, ABS

Black

Remark: 3" Closet Flanges Fit Inside 3" SCH40 DWV Pipes, and All Offset Closet Flanges are less IAPMO UPC Approval.

Metal Closet Flanges

1537-601B 4" Solid Cast Brass Closet Flange for Standard Seal Rough Brass

Section E 15 Plumbing Repairs



Part Number Item Description Finish Picture

1537-602B 4" Solid Cast Brass Closet Flange for Standard Seal Rough Brass

1537-602DB 4" Solid Cast Brass Closet Flange for Deep Seal Rough Brass

1537-603B
4" Solid Cast Brass Closet Flange for Deep Seal. 4-Way
Offset with Clip

Rough Brass

1537-6034SS Stainless Steel Split Ring Fits over 3" or 4" Pipe Rough SS

1537-6134SS Stainless Steel Full Ring Fits over 3" or 4" Pipe Rough SS

1537-6134PS Painted Steel Full Ring Fits over 3" or 4" Pipe Painted

1537-62RAF Toilet Repair Anchor Flange Kit. Zinc Plated Steel Zinc Plated

1537-63RSF Spanner Flange for Broken Closet Ring. Zinc Plated Steel Zinc Plated

Section E 16 Plumbing Repairs



Part Number Item Description Finish Picture

Wax Bowl Ring w/Sleeve - Fits 3" and 4" Waste Lines

1538-1001 Standard Wax Ring, 7/8" Thickness Wax

1538-1005 Heavy Duty Wax Ring, 1-1/2" Thickness Wax

1538-1051
Standard Wax Ring, 7/8" Thickness w/ 1/4" x 2-1/4"
Brass Closet Bolts Pack#1535-1231

Wax

1538-1052
Standard Wax Ring, 7/8" Thickness w/ 1/4" x 2-1/4"
Brass Closet Bolts Pack#1535-1231SNSW

Wax

1538-1053
Heavy Duty Wax Ring, 1-1/2" Thickness w/ 1/4" x 3-
1/2" Brass Closet Bolts Pack#1535-1232

Wax

Wax Bowl Ring - Fits 3" and 4" Waste Lines

1538-1104 Standard Wax Ring, 7/8" Thickness Wax

1538-1202 Standard Wax Ring, 1" Thickness Wax

1538-1203 Heavy Duty Wax Ring, 1-1/4" Thickness Wax

Section E 17 Plumbing Repairs



Part Number Item Description Finish Packaging Picture

Plastic Snap-In Access Panels

1710-0001-WH 6" x 9" Plastic Access Panel White Bag

1710-0002-WH 8" x 8" Plastic Access Panel White Bag

1710-0003-WH 14" x 14" Plastic Access Panel White Bag

Steel Access Panels with Screwdriver Lock - Hinge Style - Prime Coated

1710-0101-WH 6" x 6" Steel Access Panel, 16GA White Box

1710-0102-WH 8" x 8" Steel Access Panel, 16GA White Box

1710-0103-WH 10" x 10" Steel Access Panel, 16GA White Box

1710-0104-WH 12" x 12" Steel Access Panel, 16GA White Box

1710-0105-WH 14" x 14" Steel Access Panel, 16GA White Box

1710-0106-WH 16" x 16" Steel Access Panel, 16GA White Box

1710-0107-WH 18" x 18" Steel Access Panel, 16GA White Box

1710-0110-WH 24" x 24" Steel Access Panel, 16GA White Box

Stainless Steel 304 Access Panels with Screwdriver Lock - Hinge Style

1710-0201-SS 6" x 6" Stainless Steel Access Panel Brushed SS Box

1710-0202-SS 8" x 8" Stainless Steel Access Panel Brushed SS Box

1710-0203-SS 10" x 10" Stainless Steel Access Panel Brushed SS Box

1710-0204-SS 12" x 12" Stainless Steel Access Panel Brushed SS Box

1710-0205-SS 14" x 14" Stainless Steel Access Panel Brushed SS Box

1710-0206-SS 16" x 16" Stainless Steel Access Panel Brushed SS Box

1710-0207-SS 18" x 18" Stainless Steel Access Panel Brushed SS Box

1710-0210-SS 24" x 24" Stainless Steel Access Panel Brushed SS Box

Stainless Steel 304 Access Panels with Screwdriver Lock - Hinge Style - Jointed Construction

1710-0301-SS 6" x 6" Stainless Steel Access Panel Polished SS Box

1710-0302-SS 8" x 8" Stainless Steel Access Panel Polished SS Box

1710-0303-SS 10" x 10" Stainless Steel Access Panel Polished SS Box

1710-0304-SS 12" x 12" Stainless Steel Access Panel Polished SS Box

1710-0305-SS 14" x 14" Stainless Steel Access Panel Polished SS Box

1710-0306-SS 16" x 16" Stainless Steel Access Panel Polished SS Box

1710-0307-SS 18" x 18" Stainless Steel Access Panel Polished SS Box

1710-0310-SS 24" x 24" Stainless Steel Access Panel Polished SS Box

Duct Access Doors

1710-5001 6" x 6", 24GA Galvanized Sheet, R-6 Insulation Galvanized Box

1710-5002 8" x 8", 24GA Galvanized Sheet, R-6 Insulation Galvanized Box

1710-5003 10" x 10", 24GA Galvanized Sheet, R-6 Insulation Galvanized Box

1710-5004 12" x 12", 24GA Galvanized Sheet, R-6 Insulation Galvanized Box

1710-5007 18" x 18", 24GA Galvanized Sheet, R-6 Insulation Galvanized Box

1710-5010 24" x 24", 24GA Galvanized Sheet, R-6 Insulation Galvanized Box

1710-5101 6" x 6", 24GA Galvanized Sheet, R-6 Insulation Galvanized Box

1710-5102 8" x 8", 24GA Galvanized Sheet, R-6 Insulation Galvanized Box

1710-5103 10" x 10", 24GA Galvanized Sheet, R-6 Insulation Galvanized Box

1710-5104 12" x 12", 24GA Galvanized Sheet, R-6 Insulation Galvanized Box

1710-5107 18" x 18", 24GA Galvanized Sheet, R-6 Insulation Galvanized Box

1710-5110 24" x 24", 24GA Galvanized Sheet, R-6 Insulation Galvanized Box

Section F 1 Plumbing Specialties



Part Number Item Description Finish Picture

Pipe Brackets - Copper Supports

1721-1201

20" Length
1/2" CTS Pipe Size
5/8" Holes on 2" Centers
Ideal for Lavatory/Sink or Waste Closet

Copper Plated

1721-1201-E

20" Length
1/2" CTS Pipe Size
5/8" Extruded Holes on 2" Centers
Ideal for Lavatory/Sink or Waste Closet

Copper Plated

1721-1202

20" Length
3/4" and 1" CTS Pipe Size
Alternating 7/8" and 1-1/8" Holes on 4" Centers
Ideal for Water Heater and Relief Line Applications

Copper Plated

1721-1262

26" Length
3/4" and 1" CTS Pipe Size
Alternating 7/8" and 1-1/8" Holes on 4" Centers
Ideal for Water Heater and Relief Lines Applications

Copper Plated

1721-1203

20" Length
1/2", 3/4" and 1" CTS Pipe Size
5/8" Holes on 2" Centers, 7/8" and 1-1/8" Holes on
4" Centers
Ideal for Lavatory, Toilet and Water Heater

Copper Plated

1721-1204-RE

20" Length
1/2", 3/4" and 1" CTS Pipe Size
5/8" Holes on 2" Centers, 7/8" and 1-1/8" Holes on
4" Centers
Rolled Edges for Extra Strength and Extruded Holes for
Addt'l Soldering Surface
Ideal for Lavatory, Toilet and Water Heater

Copper Plated

Section F 2 Plumbing Specialties



Part Number Item Description Finish Picture

1721-1264-RE

26" Length
1/2", 3/4" and 1" CTS Pipe Size
5/8" Holes on 2" Centers, 7/8" and 1-1/8" Holes on
4" Centers
Rolled Edges for Extra Strength and Extruded Holes for
Added Soldering Surface
Ideal for Lavatory, Water Closet and Water Heater

Copper Plated

1721-1065

6-1/2" Size
1/2" and 3/4" CTS Pipe Size
Supports 1/2" Stub-outs at Various Heights from 2-1/4
“ to 6" or a 3/4" Stub-out at 3-1/2" Height
Ideal for Water Closet Applications and Also Functions
as a Nail Plate

Copper Plated

1721-1206-EN

20" Length
1/2" and 3/4" CTS Pipe Size
5/8" Extruded Notches on 1" Centers and 7/8"
Extruded Notches on 4" Centers
Ideal for Lavatory, Water Closet and Water Heater
Applications
Ideal for Tubing that is Capped Prior to Soldering onto
Bracket

Copper Plated

1721-1207

20" Length
1/2" and 3/4" CTS Pipe Size
5/8" and 7/8" Holes on 4" Centers
Ideal for Multiple Applications such as Lavatory, Water
Closet and Water Heater

Copper Plated

1721-1267

20" Length
1/2" and 3/4" CTS Pipe Size
5/8" and 7/8" Holes on 4" Centers
Ideal for Multiple Applications such as Lavatory, Water
Closet and Water Heater

Copper Plated

1721-1098

9-1/4" x 2-1/2" Size
1/2" CTS Pipe Size
For 1/2" Copper Tubing on 4", 6" and 8" Centers
Self Locking Stainless Steel Band and Self-Adhesive
Isolating Felt Included
Install Directly to the Waste/Vent Pipe Prior to Studs
Being Erected

Copper Plated

Section F 3 Plumbing Specialties



Part Number Item Description Finish Picture

1721-1099

9-1/4" x 1-1/2" Size
1/2" and 3/4" CTS Pipe Size
Supports 1/2" Tubing on 4", 6" and 8" Centers and
3/4" Tubing on 4" and 8" Centers
Includes Isolating Felt and Stainless Steel Clamp for
Attachment to Support Piping
Horizontal or Vertical Support

Copper Plated

1721-126A

26" Length
1/2" CTS Pipe Size
5/8" Holes on 2" Centers
Ideal for Lavatory and Toilet
Ideal for Copper Bullets Requiring a More Rigid
Installation

Copper Plated

1721-126A-E

26" Length
1/2" and 3/4" CTS Pipe Size
5/8" Extruded Holes on 2" Centers and 7/8" Extruded
Holes on 8" Center
Ideal for Lavatory and Water Closet Rough-Ins

Copper Plated

Pipe Brackets - CPVC Supports

1721-2051

5" x 3" x 1" Size
1/2", 3/4" and 1" CTS Pipe Size
Supports Dual Lines of 1/2", 3/4" or 1" Copper, CPVC
or PEX Tubing at 2" Center Line Height
Attaches Directly to Flat Surface or Suspends from
3/8" Threaded Rod
Inserts by Others

Pre-Galvanized

1721-2202

20" Length
1/2" and 3/4" CTS Pipe Size
Supports 1/2" and 3/4" CPVC Tubing for  Fixture Stub-
out Supports at Sinks, Lavatories and Toilets
Inserts by Others

Pre-Galvanized

1721-2262

26" Length
1/2" and 3/4" CTS Pipe Size
Supports 1/2" and 3/4" CPVC Tubing for  Fixture Stub-
out Supports at Sinks, Lavatories and Toilets
Inserts by Others

Pre-Galvanized

Section F 4 Plumbing Specialties



Part Number Item Description Finish Picture

Pipe Brackets - PEX Supports

1721-3201

20" Length
1/2", 3/4" and 1" CTS Pipe Size
1-3/8" Keyed Holes on 2" Centers
Supports 1/2", 3/4" and 1" Copper, CPVC or PEX
Tubing for Sinks, Lavatories and Toilets
Inserts by Others

Pre-Galvanized

1721-3261

26" Length
1/2", 3/4" and 1" CTS Pipe Size
1-3/8" Keyed Holes on 2" Centers
Supports 1/2", 3/4" and 1" Copper, CPVC or PEX
Tubing for Sinks, Lavatories and Toilets
Inserts by Others

Pre-Galvanized

1721-3050S 1/2" Steel PEX Bend Support Zinc Plated

1721-3075S 3/4" Steel PEX Bend Support Zinc Plated

1721-3050P 1/2" ABS+30% Fiber Glass PEX Bend Support Black

1721-3075P 3/4" ABS+30% Fiber Glass PEX Bend Support Black

1721-3100P 1" ABS+30% Fiber Glass PEX Bend Support Black

Standard Pipe Stays

1721-SPS10 1/2" CTS x 3/8" IPS Black

1721-SPS11 3/4" CTS x 1/2" IPS Black

1721-SPS12 1" CTS x 3/4" IPS Black

1721-SPS13 1-1/4" CTS x 1" IPS Black

1721-SPS14 1-1/2" CTS x 1-1/4" IPS Black

1721-SPS15 1-1/2" IPS Black

1721-SPS16 2" IPS Black

1721-SPS17 2" CTS Black

Section F 5 Plumbing Specialties



Part Number Item Description Finish Picture

Double Pipe Stays

1721-DPS10 1/2" CTS x 3/8" IPS Black

1721-DPS11 3/4" CTS x 1/2" IPS Black

Extended Pipe Stays

1721-EPS10 1/2" CTS x 3/8" IPS Black

1721-EPS11 3/4" CTS x 1/2" IPS Black

1721-EPS12 1" CTS x 3/4" IPS Black

1721-EPS13 1-1/4" CTS x 1" IPS Black

Section F 6 Plumbing Specialties



Part Number Item Description Finish Picture

2-Hole Pipe Straps - IPS Sizes - Galvanized

1722-1001 1/2" Galvanized

1722-1002 3/4" Galvanized

1722-1003 1" Galvanized

1722-1004 1-1/4" Galvanized

1722-1005 1-1/2" Galvanized

1722-1006 2" Galvanized

2-Hole Pipe Straps - CTS Sizes - Copper Plated

1722-1011 1/2" Copper Plated

1722-1012 3/4" Copper Plated

1722-1013 1" Copper Plated

1722-1014 1-1/4" Copper Plated

1722-1015 1-1/2" Copper Plated

1722-1016 2" Copper Plated

Perforated Hanger Iron - 1/4" and 3/16" Alternating Holes - Galvanized

1722-1101 3/4" x 10', 20GA (Heavy) Galvanized

1722-1102 3/4" x 10', 24GA (Medium) Galvanized

1722-1103 3/4" x 10', 28GA (Light) Galvanized

1722-1104 3/4" x 50', 20GA (Heavy) Galvanized

1722-1105 3/4" x 50', 24GA (Medium) Galvanized

1722-1106 3/4" x 50', 28GA (Light) Galvanized

1722-1107 3/4" x 100', 20GA (Heavy) Galvanized

1722-1108 3/4" x 100', 24GA (Medium) Galvanized

1722-1109 3/4" x 100', 28GA (Light) Galvanized

Perforated Hanger Iron - 1/4" and 3/16" Alternating Holes - Copper Clad

1722-1131 3/4" x 10', 22GA (Heavy) Copper Plated

1722-1132 3/4" x 50', 22GA (Heavy) Copper Plated

Plastic Pipe Straps

1722-1151 3/4" x 10' Grey or Black

1722-1152 3/4" x 50' Grey or Black

1722-1153 3/4" x 100' Grey or Black

Plumber's Tapes - Webbing

1722-1171 5/8" x 10' Black

1722-1172 5/8" x 25' Black

1722-1173 5/8" x 100' Black

Section F 7 Plumbing Specialties



Part Number Item Description Finish Picture

Plastic Half Clamps w/Nail

1723-1001 1/2" Plastic Half Clamp Black or Grey

1723-1002 3/4" Plastic Half Clamp Black or Grey

1723-1003 1" Plastic Half Clamp Black or Grey

Plastic Full Clamps w/Nail

1723-1011 1/2" Plastic Full Clamp Black or Grey

1723-1012 3/4" Plastic Full Clamp Black or Grey

1723-1013 1" Plastic Full Clamp Black or Grey

Plastic Insulator Pipe Clamps

1723-1021 1/2" Insulator Pipe Clamp Black or Grey

1723-1022 3/4" Insulator Pipe Clamp Black or Grey

1723-1023 1" Insulator Pipe Clamp Black or Grey

Plastic Tube Clamps - CTS Size

1723-1031 1/2" Plastic Tube Clamp Black or Grey

1723-1032 3/4" Plastic Tube Clamp Black or Grey

1723-1033 1" Plastic Tube Clamp Black or Grey

Plastic Suspension Clamps

1723-1041 1/2" Plastic Suspension Clamp Black or Grey

1723-1042 3/4" Plastic Suspension Clamp Black or Grey

1723-1043 1" Plastic Suspension Clamp Black or Grey

Plastic J-Hooks w/Nail

1723-1051 1/2" CTS J-Hooks White

1723-1052 3/4" CTS J-Hooks White

1723-1053 1" CTS J-Hooks White

1723-1054 1-1/4" CTS J-Hooks White

1723-1055 1-1/2" DWV J-Hooks White

1723-1056 2" DWV J-Hooks White

1723-1057 3" DWV J-Hooks White

1723-1058 4" DWV J-Hooks White

Bell Hangers - CTS Size

1723-1101 1/2" Bell Hanger Copper Plated

1723-1102 3/4" Bell Hanger Copper Plated

1723-1103 1" Bell Hanger Copper Plated

1723-1104 1-1/4" Bell Hanger Copper Plated

1723-1105 1-1/2" Bell Hanger Copper Plated

1723-1106 2" Bell Hanger Copper Plated

Section F 8 Plumbing Specialties



Part Number Item Description Finish Picture

Milford Hangers

1723-1111 1/2" x 6" Milford Hanger Copper Plated

1723-1112 3/4" x 6" Milford Hanger Copper Plated

1723-1113 1" x 6" Milford Hanger Copper Plated

1723-1114 1-1/4" x 6" Milford Hanger Copper Plated

1723-1115 1-1/2" x 6" Milford Hanger Copper Plated

1723-1116 2" x 6" Milford Hanger Copper Plated

Pipe Hooks

1723-1121 1/2" x 6" Pipe Hook Copper Plated

1723-1122 3/4" x 6" Pipe Hook Copper Plated

1723-1123 1" x 6" Pipe Hook Copper Plated

Nail Hooks

1723-1131 1/2" x 3/4" Nail Hooks Copper Plated

DWV Hangers

1723-1141 1-1/2" DWV Hangers Galvanized

1723-1142 2" DWV Hangers Galvanized

1723-1143 3" DWV Hangers Galvanized

1723-1144 4" DWV Hangers Galvanized

Adjustable Support Brackets

1723-1151 12" to 19" Adjustable Support Bracket Galvanized

3" Single Bolt Stainless Steel Repair Clamps - Plated Lugs, Bolts and Nuts with SS301 Clamps and Neoprene Gaskets

1723-1338 Fits 3/8" IPS/SCH40 and 1/2" CTS Rough

1723-1350 Fits 1/2" IPS/SCH40 and 3/4" CTS Rough

1723-1375 Fits 3/4" IPS/SCH40 and 1" CTS Rough

1723-13100 Fits 1" IPS/SCH40 and 1-1/4" CTS Rough

1723-13125 Fits 1-1/4" IPS/SCH40 and 1-1/2" CTS Rough

1723-13150 Fits 1-1/2" IPS/SCH40 Rough

1723-13200 Fits 2" IPS/SCH40 Rough

1723-13250 Fits 2-1/2" IPS/SCH40 Rough

1723-13300 Fits 3" IPS/SCH40 Rough

1723-13400 Fits 4" IPS/SCH40 Rough

1723-13600 Fits 6" IPS/SCH40 Rough

Section F 9 Plumbing Specialties



Part Number Item Description Finish Picture

6" Two Bolt Stainless Steel Repair Clamps - Plated Lugs, Bolts and Nuts with SS301 Clamps and Neoprene Gaskets

1723-1638 Fits 3/8" IPS/SCH40 and 1/2" CTS Rough

1723-1650 Fits 1/2" IPS/SCH40 and 3/4" CTS Rough

1723-1675 Fits 3/4" IPS/SCH40 and 1" CTS Rough

1723-16100 Fits 1" IPS/SCH40 and 1-1/4" CTS Rough

1723-16125 Fits 1-1/4" IPS/SCH40 and 1-1/2" CTS Rough

1723-16150 Fits 1-1/2" IPS/SCH40 Rough

1723-16200 Fits 2" IPS/SCH40 Rough

1723-16250 Fits 2-1/2" IPS/SCH40 Rough

1723-16300 Fits 3" IPS/SCH40 Rough

1723-16400 Fits 4" IPS/SCH40 Rough

1723-16600 Fits 6" IPS/SCH40 Rough

Malleable Split Ring Hangers - Two Screws Type

1723-2001P 1/4", Plain Plain

1723-2002P 3/8", Plain Plain

1723-2003P 1/2", Plain Plain

1723-2004P 3/4", Plain Plain

1723-2005P 1", Plain Plain

1723-2006P 1-1/4", Plain Plain

1723-2007P 1-1/2", Plain Plain

1723-2008P 2", Plain Plain

1723-2009P 2-1/2", Plain Plain

1723-2010P 3", Plain Plain

1723-2011P 4", Plain Plain

1723-2001G 1/4", Galvanized Galvanized

1723-2002G 3/8", Galvanized Galvanized

1723-2003G 1/2", Galvanized Galvanized

1723-2004G 3/4", Galvanized Galvanized

1723-2005G 1", Galvanized Galvanized

1723-2006G 1-1/4", Galvanized Galvanized

1723-2007G 1-1/2", Galvanized Galvanized

1723-2008G 2", Galvanized Galvanized

1723-2009G 2-1/2", Galvanized Galvanized

1723-2010G 3", Galvanized Galvanized

1723-2011G 4", Galvanized Galvanized

1723-2001C 1/4", Copper Plated Copper Plated

1723-2002C 3/8", Copper Plated Copper Plated

1723-2003C 1/2", Copper Plated Copper Plated

1723-2004C 3/4", Copper Plated Copper Plated

1723-2005C 1", Copper Plated Copper Plated

1723-2006C 1-1/4", Copper Plated Copper Plated

1723-2007C 1-1/2", Copper Plated Copper Plated

1723-2008C 2", Copper Plated Copper Plated

1723-2009C 2-1/2", Copper Plated Copper Plated

1723-2010C 3", Copper Plated Copper Plated

Section F 10 Plumbing Specialties



Part Number Item Description Finish Picture

1723-2011C 4", Copper Plated Copper Plated

Malleable Split Ring Hangers - One Screw Type

1723-2051P 1/4", Plain Plain

1723-2052P 3/8", Plain Plain

1723-2053P 1/2", Plain Plain

1723-2054P 3/4", Plain Plain

1723-2055P 1", Plain Plain

1723-2056P 1-1/4", Plain Plain

1723-2057P 1-1/2", Plain Plain

1723-2058P 2", Plain Plain

1723-2059P 2-1/2", Plain Plain

1723-2060P 3", Plain Plain

1723-2061P 4", Plain Plain

1723-2051G 1/4", Galvanized Galvanized

1723-2052G 3/8", Galvanized Galvanized

1723-2053G 1/2", Galvanized Galvanized

1723-2054G 3/4", Galvanized Galvanized

1723-2055G 1", Galvanized Galvanized

1723-2056G 1-1/4", Galvanized Galvanized

1723-2057G 1-1/2", Galvanized Galvanized

1723-2058G 2", Galvanized Galvanized

1723-2059G 2-1/2", Galvanized Galvanized

1723-2060G 3", Galvanized Galvanized

1723-2061G 4", Galvanized Galvanized

1723-2051C 1/4", Copper Plated Copper Plated

1723-2052C 3/8", Copper Plated Copper Plated

1723-2053C 1/2", Copper Plated Copper Plated

1723-2054C 3/4", Copper Plated Copper Plated

1723-2055C 1", Copper Plated Copper Plated

1723-2056C 1-1/4", Copper Plated Copper Plated

1723-2057C 1-1/2", Copper Plated Copper Plated

1723-2058C 2", Copper Plated Copper Plated

1723-2059C 2-1/2", Copper Plated Copper Plated

1723-2060C 3", Copper Plated Copper Plated

1723-2061C 4", Copper Plated Copper Plated

Ceiling Flanges

1723-2101P 3/8" Ceiling Flange, Plain Plain

1723-2101G 3/8" Ceiling Flange, Galvanized Galvanized

1723-2101C 3/8" Ceiling Flange, Copper Plated Copper Plated

Top Beam Clamps

Section F 11 Plumbing Specialties



Part Number Item Description Finish Picture

1723-2111P Top Beam Clamps w/3/8" Screw and Nut, Plain Plain

Purlin Clamps

1723-2151P Purlin Clamps, Plain Plain

Side Beam Connectors

1723-2161P 3/8" Side Beam Connector, Plain Plain

Light Duty Clevis Hangers

1723-3001P 1/2", Plain Plain

1723-3002P 3/4", Plain Plain

1723-3003P 1", Plain Plain

1723-3004P 1-1/4", Plain Plain

1723-3005P 1-1/2", Plain Plain

1723-3006P 2", Plain Plain

1723-3007P 2-1/2", Plain Plain

1723-3008P 3", Plain Plain

1723-3009P 3-1/2", Plain Plain

1723-3010P 4", Plain Plain

1723-3001G 1/2", Galvanized Galvanized

1723-3002G 3/4", Galvanized Galvanized

1723-3003G 1", Galvanized Galvanized

1723-3004G 1-1/4", Galvanized Galvanized

1723-3005G 1-1/2", Galvanized Galvanized

1723-3006G 2", Galvanized Galvanized

1723-3007G 2-1/2", Galvanized Galvanized

1723-3008G 3", Galvanized Galvanized

1723-3009G 3-1/2", Galvanized Galvanized

1723-3010G 4", Galvanized Galvanized

Section F 12 Plumbing Specialties



Part Number Item Description Finish Picture

Light Duty Swivel Loop Hangers

1723-3101P 1/2", Plain Plain

1723-3102P 3/4", Plain Plain

1723-3103P 1", Plain Plain

1723-3104P 1-1/4", Plain Plain

1723-3105P 1-1/2", Plain Plain

1723-3106P 2", Plain Plain

1723-3107P 2-1/2", Plain Plain

1723-3108P 3", Plain Plain

1723-3109P 3-1/2", Plain Plain

1723-3110P 4", Plain Plain

1723-3101G 1/2", Galvanized Galvanized

1723-3102G 3/4", Galvanized Galvanized

1723-3103G 1", Galvanized Galvanized

1723-3104G 1-1/4", Galvanized Galvanized

1723-3105G 1-1/2", Galvanized Galvanized

1723-3106G 2", Galvanized Galvanized

1723-3107G 2-1/2", Galvanized Galvanized

1723-3108G 3", Galvanized Galvanized

1723-3109G 3-1/2", Galvanized Galvanized

1723-3110G 4", Galvanized Galvanized

Light Duty Riser Hangers

1723-3201P 1/2", Plain Plain

1723-3202P 3/4", Plain Plain

1723-3203P 1", Plain Plain

1723-3204P 1-1/4", Plain Plain

1723-3205P 1-1/2", Plain Plain

1723-3206P 2", Plain Plain

1723-3207P 2-1/2", Plain Plain

1723-3208P 3", Plain Plain

1723-3209P 3-1/2", Plain Plain

1723-3210P 4", Plain Plain

1723-3201G 1/2", Galvanized Galvanized

1723-3202G 3/4", Galvanized Galvanized

1723-3203G 1", Galvanized Galvanized

1723-3204G 1-1/4", Galvanized Galvanized

1723-3205G 1-1/2", Galvanized Galvanized

1723-3206G 2", Galvanized Galvanized

1723-3207G 2-1/2", Galvanized Galvanized

1723-3208G 3", Galvanized Galvanized

1723-3209G 3-1/2", Galvanized Galvanized

1723-3210G 4", Galvanized Galvanized

Section F 13 Plumbing Specialties



Part Number Item Description Finish Picture

Self-Nailing Stud Guards

1724-1316 1-1/2" x 3", 16GA Galvanized

1724-1516 1-1/2" x 5", 16GA Galvanized

1724-1616 1-1/2" x 6", 16GA Galvanized

1724-1318 1-1/2" x 3", 18GA Galvanized

1724-1518 1-1/2" x 5", 18GA Galvanized

1724-1618 1-1/2" x 6", 18GA Galvanized

1724-1320 1-1/2" x 3", 20GA Galvanized

1724-1520 1-1/2" x 5", 20GA Galvanized

1724-1620 1-1/2" x 6", 20GA Galvanized

1724-1820 1-1/2" x 8", 20GA Galvanized

FHA Plates

1724-5058 5" x 8" Boca Plate, 16GA Galvanized

1724-5916 1-1/2" x 9-1/2", 16GA Galvanized

1724-5918 1-1/2" x 9-1/2", 18GA Galvanized

Section F 14 Plumbing Specialties



Part Number Item Description Finish Picture

Nylon 66 Cable Ties, UL 94 V-2 Flame Rating, Mini, 18LBS Tensile Strength

1725-2503 0.1" x 4" Multi Colors Available

1725-2505 0.1" x 6" Multi Colors Available

1725-2507 0.1" x 8" Multi Colors Available

Nylon 66 Cable Ties, UL 94 V-2 Flame Rating, Intermediate, 40LBS Tensile Strength

1725-3602 0.14" x 6" Multi Colors Available

1725-3604 0.14" x 8" Multi Colors Available

1725-3606 0.14" x 11" Multi Colors Available

1725-3608 0.14" x 14" Multi Colors Available

Nylon 66 Cable Ties, UL 94 V-2 Flame Rating, Standard, 50LBS Tensile Strength

1725-4803 0.19" x 7" Multi Colors Available

1725-4805 0.19" x 8" Multi Colors Available

1725-4807 0.19" x 11" Multi Colors Available

1725-4809 0.19" x 14" Multi Colors Available

1725-4814 0.19" x 17" Multi Colors Available

Nylon 66 Cable Ties, UL 94 V-2 Flame Rating, Heavy Duty, 120LBS Tensile Strength

1725-7202 0.28" x 8" Multi Colors Available

1725-7204 0.28" x 11" Multi Colors Available

1725-7206 0.28" x 14" Multi Colors Available

1725-7210 0.28" x 18" Multi Colors Available

1725-7213 0.28" x 21" Multi Colors Available

Nylon 66 Cable Ties, UL 94 V-2 Flame Rating, Heavy Duty, 175LBS Tensile Strength

1725-9005 0.35" x 24" Natural or Black

1725-9010 0.35" x 36", UL181B Listed Natural or Black

1725-9013 0.35" x 48" Natural or Black

Nylon 66 Cable Ties, UL 94 V-2 Flame Rating, Extra Heavy Duty, 250LBS Tensile Strength

1725-0C02 0.47" x 36" Natural or Black

Section F 15 Plumbing Specialties



Part Number Item Description Finish Picture

Standard Hose Clamps - Stainless Steel 300 Grade Construction, 1/2" Band and Housing, 60LBS Torque

1726-1006 #6, Bundle Diameter 3/8" - 7/8" Stainless Steel

1726-1008 #8, Bundle Diameter 7/16"  - 1" Stainless Steel

1726-1010 #10, Bundle Diameter 1/2" - 1-1/16" Stainless Steel

1726-1012 #12, Bundle Diameter 1/2" - 1-1/4" Stainless Steel

1726-1016 #16, Bundle Diameter 3/4" - 1-1/2" Stainless Steel

1726-1020 #20, Bundle Diameter 3/4" - 1-3/4" Stainless Steel

1726-1024 #24, Bundle Diameter 1" - 2" Stainless Steel

1726-1028 #28, Bundle Diameter 1-5/16" - 2-1/4" Stainless Steel

1726-1032 #32, Bundle Diameter 1-9/16" - 2-1/2" Stainless Steel

1726-1036 #36, Bundle Diameter 7/8" - 2-3/4" Stainless Steel

1726-1040 #40, Bundle Diameter 1-1/8" - 3" Stainless Steel

1726-1044 #44, Bundle Diameter 1-5/16" - 3-1/4" Stainless Steel

1726-1048 #48, Bundle Diameter 1-5/8" - 3-1/2" Stainless Steel

1726-1052 #52, Bundle Diameter 1-7/8" - 3-3/4" Stainless Steel

1726-1056 #56, Bundle Diameter 2-1/8" - 4" Stainless Steel

1726-1064 #64, Bundle Diameter 2-5/8" - 4-1/2" Stainless Steel

1726-1072 #72, Bundle Diameter 3" - 5" Stainless Steel

1726-1080 #80, Bundle Diameter 3-5/8" - 5-1/2" Stainless Steel

1726-1088 #88, Bundle Diameter 4-1/4" - 6" Stainless Steel

1726-1096 #96, Bundle Diameter 4-3/4" - 6-1/2" Stainless Steel

1726-1104 #104, Bundle Diameter 5" - 7" Stainless Steel

Heavy Duty Hose Clamps - Stainless Steel 300 Grade Construction, 9/16" Band and Housing, 80LBS Torque

1726-2006 #6, Bundle Diameter 3/8"  - 7/8" Stainless Steel

1726-2008 #8, Bundle Diameter 7/16" - 1" Stainless Steel

1726-2010 #10, Bundle Diameter 1/2" - 1-1/16" Stainless Steel

1726-2012 #12, Bundle Diameter 1/2" - 1-1/4" Stainless Steel

1726-2016 #16, Bundle Diameter 11/16" - 1-1/2" Stainless Steel

1726-2020 #20, Bundle Diameter 3/4" - 1-3/4" Stainless Steel

1726-2024 #24, Bundle Diameter 1" - 2" Stainless Steel

1726-2028 #28, Bundle Diameter 1-1/4" - 2-1/4" Stainless Steel

1726-2032 #32, Bundle Diameter 1-1/2" - 2-1/2" Stainless Steel

1726-2036 #36, Bundle Diameter 1-3/4" - 2-3/4" Stainless Steel

1726-2040 #40, Bundle Diameter 2" - 3" Stainless Steel

1726-2044 #44, Bundle Diameter 2-1/4" - 3-1/4" Stainless Steel

1726-2048 #48, Bundle Diameter 2-1/2" - 3-1/2" Stainless Steel

1726-2052 #52, Bundle Diameter 2-3/4" - 3-3/4" Stainless Steel

1726-2056 #56, Bundle Diameter 3" - 4" Stainless Steel

1726-2064 #64, Bundle Diameter 2-1/2" - 4-1/2" Stainless Steel

1726-2072 #72, Bundle Diameter 3" - 5" Stainless Steel

1726-2080 #80, Bundle Diameter 3-1/2" - 5-1/2" Stainless Steel

1726-2088 #88, Bundle Diameter 4" - 6" Stainless Steel

1726-2096 #96, Bundle Diameter 4-1/2" - 6-1/2" Stainless Steel

1726-2104 #104, Bundle Diameter 5" - 7" Stainless Steel

Section F 16 Plumbing Specialties



Part Number Item Description Finish Picture

Polyprene Duct Support Webbing

1727-0175-S 1-3/4" x 100 Yards Silver

1727-0175-B 1-3/4" x 100 Yards Black

1727-0300-S 3" x 100 Yards Silver

1727-0300-B 3" x 100 Yards Black

Section F 17 Plumbing Specialties



Part Number Item Description Finish Picture

Flexible Transition Couplings - Cast Iron, Plastic, Copper, Steel or Lead to Cast Iron, Plastic, Copper, Steel or Lead

1731-6075 3/4" CI, PLto 3/4" CI, PL Black

1731-6100 1" CI, PL to 1" CI, PL Black

1731-6125 1-1/4" CI, PL to 1-1/4" CI, PL Black

1731-6150 1-1/2" CI, PL to 1-1/2" CI, PL Black

1731-622 2" CI, PL to 2" CI, PL Black

1731-633 3" CI, PL to 3" CI, PL Black

1731-644 4" CI, PL to 4" CI, PL Black

1731-655 5" CI, PL to 5" CI, PL Black

1731-666 6" CI, PL to 6" CI, PL Black

1731-688 8" CI, PL to 8" CI, PL Black

1731-6150125 1-1/2" CI, PL to 1-1/4" CI, PL Black

1731-6215 2" CI, PL to 1-1/2" CI, PL Black

1731-6315 3" CI, PL to 1-1/2" CI, PL Black

1731-632 3" CI, PL to 2" CI, PL Black

1731-6415 4" CI, PL to 1-1/2" CI, PL Black

1731-642 4" CI, PL to 2" CI, PL Black

1731-643 4" CI, PL to 3" CI, PL Black

1731-654 5" CI, PL to 4" CI, PL Black

1731-664 6" CI, PL to 4" CI, PL Black

1731-686 8" CI, PL to 6" CI, PL Black

Flexible Transition Couplings - Clay to Clay

1731-A44 4" Clay to 4" Clay Black

1731-A1212 12" Clay to 12" Clay Black

Flexible Transition Couplings - Clay to Cast Iron or Plastic

1731-B44 4" Clay to 4" CI, PL Black

1731-B66 6" Clay to 6" CI, PL Black

1731-B43 4" Clay to 3" CI, PL Black

1731-B64 6" Clay to 4" CI, PL Black

Flexible Transition Couplings - Asbestos Cement or Ductile Iron to Cast Iron or Plastic

1731-C44 4" AC, DI to 4" CI, PL Black

Section F 18 Plumbing Specialties



Part Number Item Description Finish Picture

Flexible Transition Couplings - Plastic Socket to Plastic Pipe

1731-9150 1-1/2" Plastic Socket to 1-1/2" Plastic Pipe Black

1731-922 2" Plastic Socket to 2" Plastic Pipe Black

1731-933 3" Plastic Socket to 3" Plastic Pipe Black

1731-944 4" Plastic Socket to 4" Plastic Pipe Black

Flexible Transition Couplings - Plastic Socket to Plastic Socket

1731-0150 1-1/2" Plastic Socket to 1-1/2" Plastic Socket Black

1731-022 2" Plastic Socket to 2" Plastic Socket Black

1731-033 3" Plastic Socket to 3" Plastic Socket Black

1731-044 4" Plastic Socket to 4" Plastic Socket Black

Quick Ells - 90°

1731-E150 1-1/2" Black

1731-E200 2" Black

1731-E300 3" Black

1731-E400 4" Black

Quick Tees

1731-T150 1-1/2" Black

1731-T200 2" Black

1731-T300 3" Black

1731-T400 4" Black

Drain and Trap Connectors

1731-TC150
1-1/2" or 1-1/4" Connector, Connect to All 1-1/2" or
1-1/4" Brass or Plastic Drain Pipe

Grey

1731-DTC150
1-1/2" to 1-1/2" or 1-1/4" Connector, Connect to All
Common 1-1/4" or 1-1/2" Drain Pipe

Grey

1731-DTC215
2" to 1-1/2" or 1-1/4" Connector, Connect to All
Common 1-1/4" or 1-1/2" Drain Pipe except 2"
Copper.

Grey

1731-FT150
1-1/2" or 1-1/4" Quick Trap, Connect to All 1-1/2" or
1-1/4" Brass or Plastic Drain Pipe

Grey

Garbage Disposal and Dishwasher Connectors

1731-DWC1 PVC Connector w/Two Clamps Grey

1731-DWC2 Rubber Connector w/Two Clamps and Plastic Insert Black

1731-DWC3 PVC Connector w/Four Clamps Black

Section F 19 Plumbing Specialties



Part Number Item Description Finish Picture

Standard No Hub Pipe Couplings

1732-NH150 1-1/2" CI to 1-1/2" CI Stainless Steel

1732-NH22 2" CI to 2" CI Stainless Steel

1732-NH215 2" CI to 1-1/2" CI Stainless Steel

1732-NH33 3" CI to 3" CI Stainless Steel

1732-NH320 3" CI to 2" CI Stainless Steel

1732-NH44 4" CI to 4" CI Stainless Steel

1732-NH420 4" CI to 2" CI Stainless Steel

1732-NH430 4" CI to 3" CI Stainless Steel

1732-NH55 5" CI to 5" CI Stainless Steel

1732-NH66 6" CI to 6" CI Stainless Steel

1732-NH88 8" CI to 8" CI Stainless Steel

1732-NH1010 10" CI to 10" CI Stainless Steel

1732-NH1212 12" CI to 12" CI Stainless Steel

1732-NH1515 15" CI to 15" CI Stainless Steel

Heavy Duty No Hub Pipe Couplings

1732-NHHD150 1-1/2" CI to 1-1/2" CI Painted

1732-NHHD22 2" CI to 2" CI Painted

1732-NHHD33 3" CI to 3" CI Painted

1732-NHHD44 4" CI to 4" CI Painted

1732-NHHD55 5" CI to 5" CI Painted

1732-NHHD66 6" CI to 6" CI Painted

1732-NHHD88 8" CI to 8" CI Painted

1732-NHHD1010 10" CI to 10" CI Painted

Section F 20 Plumbing Specialties



Part Number Item Description Finish Picture

Shielded Transition Couplings - Cast Iron to Plastic, Steel or Extra-Heavy Cast Iron

1733-A150 1-1/2" CI, PL or ST to 1-1/2" CI, PL, ST Stainless Steel

1733-A215 2" CI, PL or ST to 1 1/2" CI, PL, ST Stainless Steel

1733-A22 2" CI, PL or ST to 2" CI, PL, ST Stainless Steel

1733-A33 3" CI, to 3" PL, ST or XH CI Stainless Steel

1733-A43 4" CI, to 3" PL, ST or XH CI Stainless Steel

1733-A44 4" CI, to 4" PL, ST or XH CI Stainless Steel

1733-A55 5" CI, to 5" PL, ST or XH CI Stainless Steel

1733-A66 6" CI, to 6" PL, ST or XH CI Stainless Steel

1733-A88 8" CI, to 8" PL, ST or XH CI Stainless Steel

Shielded Transition Couplings - Cast Iron to Copper

1733-B110 1-1/2" CI, PL or ST to 1" Copper or 3/4" PL Stainless Steel

1733-B1125 1-1/2" CI, PL or ST to 1-1/4" Copper or 1" PL Stainless Steel

1733-B150 1-1/2" CI, PL or ST to 1-1/2" Copper or 1-1/4" PL Stainless Steel

1733-B2125 2" CI, PL or ST to 1-1/4" Copper or 1" PL Stainless Steel

1733-B215 2" CI, PL or ST to 1-1/2" Copper or 1-1/4" PL Stainless Steel

1733-B22 2" CI, PL or ST to 2" Copper Stainless Steel

1733-B315 3" CI to 1-1/2" Copper or 1-1/4" PL Stainless Steel

1733-B32 3" CI, to 2" Copper Stainless Steel

1733-B33 3" CI, to 3" Copper Stainless Steel

1733-B43 4" CI, to 3" Copper Stainless Steel

1733-B44 4" CI, to 4" Copper Stainless Steel

Shielded Transition Couplings - Cast Iron, Plastic or Steel to Tubular

1733-C150 1-1/2" CI, PL or ST to 1-1/2" Tubular Stainless Steel

1733-C155 1-1/2" Tubular to 1-1/2" Tubular Stainless Steel

1733-C215 2" CI, PL or ST to 1-1/2" Tubular Stainless Steel

Shielded Transition Couplings - Copper to Copper

1733-D150 1-1/2" Copper to 1-1/2" Copper or 1-1/4" PL Stainless Steel

1733-D215 2" Copper to 1-1/2" Copper or 1-1/4" PL Stainless Steel

1733-D22 2" Copper to 2" Copper Stainless Steel

1733-D33 3" Copper to 3" Copper Stainless Steel

Shielded Transition Couplings - Cast Iron to Cast Iron, Plastic or Steel

1733-E320 3" CI, to 2" CI, PL or ST Stainless Steel

1733-E420 4" CI, to 2" CI, PL or ST Stainless Steel

1733-E430 4" CI, to 3" CI Stainless Steel

1733-E540 5" CI, to 4" CI Stainless Steel

Shielded Transition Couplings - Plastic, Steel or Extra-Heavy Cast Iron to Plastic, Steel or Extra-Heavy Cast Iron

1733-F33 3" PL, ST or XH CI, to 3" PL, ST, or XH CI Stainless Steel

1733-F43 4" PL, ST or XH CI, to 3" PL, ST, or XH CI Stainless Steel

1733-F44 4" PL, ST or XH CI, to 4" PL, ST, or XH CI Stainless Steel

1733-F66 6" PL, ST or XH CI, to 6" PL, ST, or XH CI Stainless Steel

Section F 21 Plumbing Specialties



Shielded Transition Couplings - Copper to Cast Iron, Plastic or Steel

1733-G215 2" Copper to 1-1/2" CI, PL, or ST Stainless Steel

1733-G32 3" Copper to 2" CI, PL, or ST Stainless Steel

1733-G43 4" Copper to 3" CI Stainless Steel

Shielded Transition Couplings - Plastic, Steel or Extra-Heavy Cast Iron to Copper

1733-H32 3" PL, ST or XH CI to 2" Copper Stainless Steel

1733-H33 3" PL, ST or XH CI to 3" Copper Stainless Steel

1733-H43 4" PL, ST or XH CI to 3" Copper Stainless Steel

1733-H44 4" PL, ST or XH CI to 4" Copper Stainless Steel

Shielded Transition Couplings - Copper to Tubular

1733-K150 1-1/2" Copper to 1-1/2" Tubular Stainless Steel

1733-K215 2" Copper to 1-1/2" Tubular Stainless Steel

Section F 22 Plumbing Specialties



Part Number Item Description Finish Picture

Flexible Plastic End Caps

1734-1150 1-1/2" Black

1734-1200 2" Black

1734-1300 3" Black

1734-1400 4" Black

1734-1500 5" Black

1734-1600 6" Black

1734-1800 8" Black

Rubber End Caps

1734-2150 1-1/2" Black

1734-2200 2" Black

1734-2300 3" Black

1734-2400 4" Black

1734-2500 5" Black

1734-2600 6" Black

1734-2800 8" Black

Section F 23 Plumbing Specialties



Part Number Item Description Finish Picture

Knockout Test Caps - For Use in Plastic Waste and Drain Pipe

1740-0001 1-1/2" White

1740-0002 2" White

1740-0003 3" White

1740-0004 4" White

Test Caps - For Solvent Cemented Over End of DWV Pipe

1740-0011 1-1/2" PVC White

1740-0012 2” PVC White

1740-0013 3" PVC White

1740-0014 4" PVC White

1740-0021 1-1/2" ABS Black

1740-0022 2" ABS Black

1740-0023 3" ABS Black

1740-0024 4" ABS Black

Techno Test Caps

1740-0031 1-1/2" x 2" PVC Yellow

1740-0033 3" x 4" PVC Yellow

Economy Test Plugs - Molded Rubber Gasket - Galvanized Steel Flange - Fits Cast Iron and Plastic Pipe

1740-1001 1-1/2" Galvanized

1740-1002 2" Galvanized

1740-1003 3" Galvanized

1740-1004 4" Galvanized

1740-1005 5" Galvanized

1740-1006 6" Galvanized

Section F 24 Plumbing Specialties



Part Number Item Description Finish Picture

Gas Test Gauges - Complete Assembly - 2" Face Diameter - 3/4" NPT Connection - Brass Block and Valve - ANSI B40.1 Grade B Accuracy

1751-G1015 0-15 PSI Black or Chrome

1751-G1030 0-30 PSI Black or Chrome

1751-G1060 0-60 PSI Black or Chrome

1751-G1100 0-100 PSI Black or Chrome

1751-G1160 0-160 PSI Black or Chrome

1751-G1200 0-200 PSI Black or Chrome

1751-G1300 0-300 PSI Black or Chrome

1751-GBA Brass Gas Test Block and Air Valve Assembly Rough Brass

Gas Test Gauges - Complete Assembly - 2" Face Diameter - 3/4" NPT Connection - Steel Block and Valve - ANSI B40.1 Grade B Accuracy

1751-GS1015 0-15 PSI Black

1751-GS1030 0-30 PSI Black

1751-GS1060 0-60 PSI Black

1751-GS1100 0-100 PSI Black

1751-GS1160 0-160 PSI Black

1751-GS1200 0-200 PSI Black

1751-GS1300 0-300 PSI Black

1751-GSBA Steel Gas Test Block and Air Valve Assembly Chrome Plated

Bell Shape Gas Test Gauges - Complete Assembly - 2" Face Diameter - Steel Bell Body - ANSI B40.1 Grade B Accuracy

1751-GB1015 1/2" FIP, 0-15 PSI Black

1751-GB1030 1/2" FIP, 0-30 PSI Black

1751-GB1060 1/2" FIP, 0-60 PSI Black

1751-GB1100 1/2" FIP, 0-100 PSI Black

1751-GB5015 3/4" FIP, 0-15 PSI Black

1751-GB5030 3/4" FIP, 0-30 PSI Black

1751-GB5060 3/4" FIP, 0-60 PSI Black

1751-GB5100 3/4" FIP, 0-100 PSI Black

1751-GBA015 1" FIP, 0-15 PSI Black

1751-GBA030 1" FIP, 0-30 PSI Black

1751-GBA060 1" FIP, 0-60 PSI Black

1751-GBA100 1" FIP, 0-100 PSI Black

Section F 25 Plumbing Specialties



Part Number Item Description Finish Picture

Water Test Gauges - 2-1/2" Face Diameter - 3/4" NH Hose Connection - ANSI B40.1 Grade B Accuracy

1751-W2300-IND 0-300 PSI, with Indicator Black

1751-W2300 0-300 PSI, less indicator Black

Pressure Gauges - 2" Face Diameter - 1/4" NPT Lower Mount - For Non-Porable Use - ANSI B40.1 Grade B Accuracy

1751-P1015 0-15 PSI Black

1751-P1030 0-30 PSI Black

1751-P1060 0-60 PSI Black

1751-P1100 0-100 PSI Black

1751-P1160 0-160 PSI Black

1751-P1200 0-200 PSI Black

1751-P1300 0-300 PSI Black

Pressure Gauges - 2-1/2" Face Diameter - 1/4" NPT Lower Mount - For Non-Porable Use - ANSI B40.1 Grade B Accuracy

1751-P2015 0-15 PSI Black

1751-P2030 0-30 PSI Black

1751-P2060 0-60 PSI Black

1751-P2100 0-100 PSI Black

1751-P2160 0-160 PSI Black

1751-P2200 0-200 PSI Black

1751-P2300 0-300 PSI Black

Pressure Gauges - 3-1/2" Face Diameter - 1/4" NPT Lower Mount - For Non-Porable Use - ANSI B40.1 Grade B Accuracy

1751-P4030 0-30 PSI Black

1751-P4060 0-60 PSI Black

1751-P4100 0-100 PSI Black

1751-P4200 0-200 PSI Black

1751-P4300 0-300 PSI Black

Liquid Filled Pressure Gauges - 2-1/2" Face Diameter - 1/4" NPT Lower Mount - With Vent Plug - ANSI B40.1 Grade B Accuracy

1751-LP2030 0-30 PSI Polished SS

1751-LP2060 0-60 PSI Polished SS

1751-LP2100 0-100 PSI Polished SS

1751-LP2200 0-200 PSI Polished SS

1751-LP2300 0-300 PSI Polished SS

Section F 26 Plumbing Specialties



Part Number Item Description Finish Picture

Laundry Faucets - Two Metal Handles - Brass Waterways - Washerless Cartridge - 10" Rising Spout

1770-1001-PC Chrome Polished Chrome

Laundry Faucets - Two Metal Levers - Brass Waterways - Washerless Cartridge - 10" Rising Spout

1770-1002-PC Chrome Polished Chrome

Laundry Faucets - Two Metal Handles - Brass Waterways - Washerless Cartridge - 6" Spout

1770-1011-PC Chrome Polished Chrome

Laundry Faucets - Two Metal Levers - Brass Waterways - Washerless Cartridge - 6" Spout

1770-1012-PC Chrome Polished Chrome

1770-1013-PC Chrome Polished Chrome

Laundry Tray Faucets - Two Metal Handles - Brass Waterways - Compression Cartridge

1770-1021-RB Rough Brass Body w/Chrome Plated Handles Rough Brass

Laundry Tray Faucets - Two Metal Handles - Brass Waterways - Pull-Out Sprayer

1770-1031-PC Chrome Polished Chrome

Section F 27 Plumbing Specialties



Part Number Item Description Finish Picture

Mop Service Basin Faucets - Two Metal Levers - All Brass Construction 

1770-1041-PC Chrome Polished Chrome

Section F 28 Plumbing Specialties



Part Number Item Description Finish Picture

Pipe Wrap Tapes - PVC Coated - Adheres to Metal and Plastic - Non-Corrosive, Pressure-Sensitive Adhesive - Maximum Temperature: 140°F

1790-1011B 1" x 100', 10mil Thickness Black

1790-1012B 2" x 100', 10mil Thickness Black

1790-1014B 4" x 100', 10mil Thickness Black

1790-1011Y 1" x 100', 10mil Thickness Yellow

1790-1012Y 2" x 100', 10mil Thickness Yellow

1790-1014Y 4" x 100', 10mil Thickness Yellow

1790-1021B 1" x 100', 20mil Thickness Black

1790-1022B 2" x 100', 20mil Thickness Black

1790-1024B 4" x 100', 20mil Thickness Black

1790-1021Y 1" x 100', 20mil Thickness Yellow

1790-1022Y 2" x 100', 20mil Thickness Yellow

1790-1024Y 4" x 100', 20mil Thickness Yellow

White Water Line PTFE Thread Seal Tape - 0.4g/cm³ Density - 3mil Thickness

1791-W0502 1/2" x 260" White

1791-W0505 1/2" x 520" White

1791-W0752 3/4" x 260" White

1791-W0755 3/4" x 520" White

Pink Heavy Duty Water Line PTFE Thread Seal Tape - 1.0g/cm³ Density - 4mil Thickness

1791-P0502 1/2" x 260" Pink

1791-P0505 1/2" x 520" Pink

Yellow Gas Line PTFE Thread Seal Tape - 1.0g/cm³ Density - 4mil Thickness

1791-Y0502 1/2" x 260" Yellow

1791-Y0505 1/2" x 520" Yellow

Electrical Tape - 7mil Thickness

1792-2060 3/4" x 60' Black

Section F 29 Plumbing Specialties



Part Number Item Description Finish Picture

Steel Hex Nuts - Zinc Plated - Conforms to Grade 2 (SAE J995) - Coarse Thread - ANSI B18.2

17A0-1001 1/4" - 20 Zinc Plated

17A0-1002 5/16" - 18 Zinc Plated

17A0-1003 3/8" - 16 Zinc Plated

17A0-1004 1/2" - 13 Zinc Plated

17A0-1005 5/8" - 11 Zinc Plated

17A0-1006 3/4" - 10 Zinc Plated

17A0-1007 7/8" - 9 Zinc Plated

17A0-1008 1" - 8 Zinc Plated

Steel Rod Couplings - Zinc Plated - Coarse Thread

17A0-1101 1/4" - 20 Zinc Plated

17A0-1102 3/8" - 16 Zinc Plated

17A0-1103 1/2" - 13 Zinc Plated

17A0-1104 5/8" - 11 Zinc Plated

17A0-1105 3/4" - 10 Zinc Plated

Steel Toggle Bolts - Zinc Plated - with Spring Actived Wings - Round Slotted and Philips Head Combination

17A0-2501 1/4" - 20 x 3" Zinc Plated

17A0-2502 1/4" - 20 x 4" Zinc Plated

17A0-2503 1/4" - 20 x 6" Zinc Plated

17A0-2504 3/8" - 16 x 3" Zinc Plated

17A0-2505 3/8" - 16 x 4" Zinc Plated

17A0-2506 3/8" - 16 x 6" Zinc Plated

Steel Stove Bolts - Zinc Plated - with Nut - Round Slotted and Philips Head Combination

17A0-2601 1/4" - 20 x 3/4" Zinc Plated

17A0-2602 1/4" - 20 x 1" Zinc Plated

17A0-2603 1/4" - 20 x 1-1/4" Zinc Plated

Steel Wood Screws - Zinc Plated - Flat Philips Head

17A0-3001 #12 x 1-1/2" Zinc Plated

17A0-3002 #12 x 2" Zinc Plated

17A0-3003 #12 x 2-1/2" Zinc Plated

17A0-3004 #14 x 1-1/2" Zinc Plated

17A0-3005 #14 x 2" Zinc Plated

17A0-3006 #14 x 2-1/2" Zinc Plated

Steel Self-Piercing Screws/Tapping Screws/Sheet Metal Screws - Zinc Plated - Slotted Hex Head

17A0-ZIP638 #6 x 3/8" Zinc Plated

17A0-ZIP750 #7 x 1/2" Zinc Plated

17A0-ZIP850 #8 x 1/2" Zinc Plated

17AO-ZIP875 #8 x 3/4" Zinc Plated

17A0-ZIP8100 #8 x 1" Zinc Plated

17A0-ZIP8150 #8 x 1-1/2" Zinc Plated

17A0-ZIP8200 #8 x 2" Zinc Plated

17A0-ZIP1050 #10 x 1/2" Zinc Plated

17A0-ZIP1075 #10 x 3/4" Zinc Plated

Section F 30 Plumbing Specialties



Part Number Item Description Finish Picture

17A0-ZIP10100 #10 x 1" Zinc Plated

Steel Painted Head Self-Piercing Screws/Tapping Screws/Sheet Metal Screws - Slotted Hex Head

17A0-ZIP8150-WH #8 x 1-1/2" White Head

17A0-ZIP8200-WH #8 x 2" White Head

Steel Drilling Screws - Zinc Plated - Non-Slotted Hex Head

17A0-BIT850 #8 x 1/2" Zinc Plated

17A0-BIT858 #8 x 5/8" Zinc Plated

17A0-BIT875 #8 x 3/4" Zinc Plated

17A0-BIT8100 #8 x 1" Zinc Plated

17A0-BIT1050 #10 x 1/2" Zinc Plated

17A0-BIT1058 #10 x 5/8" Zinc Plated

17A0-BIT1075 #10 x 3/4" Zinc Plated

17A0-BIT10100 #10 x 1" Zinc Plated

17A0-BIT1275 #12 x 3/4" Zinc Plated

17A0-BIT12100 #12 x 1" Zinc Plated

Steel Round Screws - Zinc Plated

17A0-4001 1/4" Zinc Plated

17A0-4002 5/16" Zinc Plated

17A0-4003 3/8" Zinc Plated

17A0-4004 1/2" Zinc Plated

17A0-4005 5/8" Zinc Plated

17A0-4006 3/4" Zinc Plated

17A0-4007 7/8" Zinc Plated

17A0-4008 1" Zinc Plated

Section F 31 Plumbing Specialties



Part Number Item Description Finish Picture

Gasoline Dewatering Pumps

1811-G020

Inlet/Outlet: 2"
Max Dewatering Capacity: 9,500 Gallons per Hour
Max Head: 82 Feet
Max Suction Head: 26.3 Feet
Air Cooled, 4-Strokes Gasoline Engine
Fuel Tank Capacity: 0.95 Gallons

EPA Approved

Red/Black

1811-G030

Inlet/Outlet: 3"
Max Dewatering Capacity: 13,200 Gallons per Hour
Max Head: 82 Feet
Max Suction Head: 26.3 Feet
Air Cooled, 4-Strokes Gasoline Engine
Fuel Tank Capacity: 0.95 Gallons

EPA Approved

Red/Black

1800-G040

Inlet/Outlet: 4"
Max Dewatering Capacity: 17,100 Gallons per Hour
Max Head: 82 Feet
Max Suction Head: 26.3 Feet
Air Cooled, 4-Strokes Gasoline Engine
Fuel Tank Capacity: 1.58 Gallons

EPA Approved

Red/Black

Section G 1 Water Pumps&Tanks



Part Number Item Description Finish Picture

Submersible Sump Pumps

1812-2501-TP

1/4HP Submersible Sump Pump
Thermoplastic Construction
Single-phase Motor w/Automatic Reset Thermal
Overflow Protection
1-1/4" and 1-1/2" FNPT Discharge
1/8 Screened Opening
Piggyback Float Switch:
  On: 13.5"-15.5", Off: 4.5"-6.5"

Black

1812-3301-TP

1/3HP Submersible Sump Pump
Thermoplastic Construction
Single-phase Motor w/Automatic Reset Thermal
Overflow Protection
1-1/4" and 1-1/2" FNPT Discharge
1/8 Screened Opening
Piggyback Float Switch
  On: 6.3"-8.3", Off: 1.8"-3.8"

Black

1812-3301-VP

1/3HP Submersible Sump Pump
Thermoplastic Construction
Single-phase Motor w/Automatic Reset Thermal
Overflow Protection
1-1/4" and 1-1/2" FNPT Discharge
1/8 Screened Opening
Piggyback Vertical Float Switch
  On: 6.3" - 8.3", Off: 1.8" - 3.8"

Black

1812-3301-TC

1/3HP Submersible Sump Pump
Heavy Duty Cast Iron Construction
Clog-Resistant Design
1-1/4" and 1-1/2" FNPT Vertical Discharge
Capable of Passing 3/8" Diameter Solids
Piggyback Float Switch:
  On: 12"-14", Off: 4"-6"

Black

1812-3301-VC

1/3HP Submersible Sump Pump
Heavy Duty Cast Iron Construction
Clog-Resistant Design
1-1/4" and 1-1/2" FNPT Vertical Discharge
Capable of Passing 3/8" Diameter Solids
Piggyback Vertical Float Switch:
  On: 6" - 8", Off: 1.3" - 2.3"

Black

Section G 2 Water Pumps&Tanks



Part Number Item Description Finish Picture

Drill Pumps

1819-1001 200GPH Drill Pump, 3/4" Inlet and Outlet Connections Black

 Utility Hand Pumps - Provides Quick Removal of Water - Perfect for Removing Water from Valve Boxes, Meter Pits or   Pipe Trenches

1819-H3636 36" Hand Pump w/36" Hose Red

1819-H3672 36" Hand Pump w/72" Hose Red

Section G 3 Water Pumps&Tanks



Part Number Item Description Finish Picture

PVC Flat Water Pump Hoses

1821-0205 2" x 50ft, w/Metal Connector and Clamps Blue

1821-0305 3" x 50ft, w/Metal Connector and Clamps Blue

1821-0405 4" x 50ft, w/Metal Connector and Clamps Blue

1821-0605 6" x 50ft, w/Metal Connector and Clamps Blue

PVC Reinforced Flat Water Pump Hoses

1821-1205 2" x 50ft, w/Metal Connector and Clamps Blue

1821-1305 3" x 50ft, w/Metal Connector and Clamps Blue

1821-1405 4" x 50ft, w/Metal Connector and Clamps Blue

Section G 4 Water Pumps&Tanks



Part Number Item Description Finish Picture

Sump Pump Accessories

1822-1001
Check Valve for 1-1/4" or 1-1/2"
Inlet: 1-1/4" MPT and 1-1/2" Slip
Outlet: 1-1/2" Slip and 1-1/4" Barb

Black

1822-1002
Check Valve for 1-1/2"
Inlet: 1-1/2" MPT
Outlet: 1-1/2" Slip and 1-1/4" Barb

Black

1822-1003

Check Valve for 1-1/4" or 1-1/2"
Inlet: 1-1/4" Slip or 1-1/2" Slip w/Rubber Reducing
Coupling and Clamps
Outlet: 1-1/4" Slip or 1-1/2" Slip w/Rubber Reducing
Coupling and Clamps

Black

1822-1004
Check Valve for 2"
Inlet: 2" Slip w/Rubber Coupling and Clamps
Outlet: 2" Slip w/Rubber Coupling and Clamps

Black

1822-1005
10" Long Flexible Connection for PVC Pipe
1-1/4" and 1-1/2" Connections
Inner Sleeve for 1-1/4" Connection is Removable

Black

Section G 5 Water Pumps&Tanks



Part Number Item Description Finish Picture

Stainless Steel and Cast Iron Well Point - 80 Mesh Screen

1831-0324 1-1/4" x 24" Painted

1831-0330 1-1/4" x 30" Painted

1831-0336 1-1/4" x 36" Painted

1831-0348 1-1/4" x 48 Painted

1831-0360 1-1/4" x 60" Painted

1831-0524 1-1/2" x 24" Painted

1831-0530 1-1/2" x 30" Painted

1831-0536 1-1/2" x 36" Painted

1831-0548 1-1/2" x 48 Painted

1831-0560 1-1/2" x 60" Painted

1831-2024 2" x 24" Painted

1831-2030 2" x 30" Painted

1831-2036 2" x 36" Painted

1831-2048 2" x 48 Painted

1831-2060 2" x 60" Painted

Pressure Switches - 115V/60Hz

1832-A2040 1/4" IPS Connection, 20 - 40 PSI Grey

1832-A3050 1/4" IPS Connection, 30 - 50 PSI Grey

1832-A4060 1/4" IPS Connection, 40 - 60 PSI Grey

Section G 6 Water Pumps&Tanks



Part Number Item Description Finish Picture

Aluminum Water Heater Pans, with 1"/1-1/2" Combo PVC Adapter

2220-0022 20", 22GA Aluminum

2220-0023 22", 22GA Aluminum

2220-0024 24", 22GA Aluminum

2220-0025 26", 22GA Aluminum

2220-0026 28", 22GA Aluminum

2220-0027 30", 22GA Aluminum

Aluminum Water Heater Pans, with 1"CPVC Adapter

2220-0072 20", 22GA Aluminum

2220-0073 22", 22GA Aluminum

2220-0074 24", 22GA Aluminum

2220-0075 26", 22GA Aluminum

2220-0076 28", 22GA Aluminum

2220-0077 30", 22GA Aluminum

Plastic Water Heater Pans, with 1"/1-1/2" Combo PVC Adapter

2220-1051 18", 0.05" Thickness Black

2220-1053 22", 0.05" Thickness Black

2220-1054 24", 0.05" Thickness Black

2220-1055 26", 0.05" Thickness Black

2220-1056 28", 0.05" Thickness Black

Plastic Water Heater Pans, with 1"CPVC Adapter

2220-1071 18", 0.05" Thickness Black

2220-1073 22", 0.05" Thickness Black

2220-1074 24", 0.05" Thickness Black

2220-1075 26", 0.05" Thickness Black

2220-1076 28", 0.05" Thickness Black

Adapter Kits for Water Heater Pans

2220-AD15P PVC Adapter fits 1" and 1-1/2" SCH40 PVC Pipe

2220-AD10C CPVC Adapter fits 1" SCH40 CPVC Pipe

Section H 1 Water Heater Accessories



Part Number Item Description Finish Picture

Pre-Pressurized Potable Water Heater Expansion Tanks - 304 Stainless Steel Fittings

2230-1021 3/4" MIP Connection, 2.1 Gallons Painted

2230-1045 3/4" MIP Connection, 4.5 Gallons Painted

Section H 2 Water Heater Accessories



Part Number Item Description Finish Picture

Dielectric Unions, Lead Free

2250-0001 1/2" FIP x 1/2" Sweat Zinc Plated

2250-0002 3/4" FIP x 3/4" Sweat Zinc Plated

2250-0003 3/4" FIP x 1/2" Sweat Zinc Plated

2250-0004 1" FIP x 1" Sweat Zinc Plated

2250-0005 1 1/4" FIP x 1 1/4" Sweat Zinc Plated

2250-0006 1 1/2" FIP x 1 1/2" Sweat Zinc Plated

2250-0007 2" FIP x 2" Sweat Zinc Plated

2250-0008 1/2" MIP x  1/2" Sweat Zinc Plated

2250-0009 3/4" MIP x  3/4" Sweat Zinc Plated

2250-0010 3/4" MIP x 1/2" Sweat Zinc Plated

Dielectric Nipples, Thread x Thread, Lead Free

2250-0101 1/2" x 3" Zinc Plated

2250-0102 3/4" x 3" Zinc Plated

2250-0103 1" x 4" Zinc Plated

2250-0104 1 1/4" x 4" Zinc Plated

2250-0105 1 1/2" x 4" Zinc Plated

2250-0106 2" x 4" Zinc Plated

2250-0107 2 1/2" x 6" Zinc Plated

2250-0108 3" x 6" Zinc Plated

2250-0109 4" x 6" Zinc Plated

Dielectric Nipples, Groove x Thread, Lead Free

2250-0121 1" x 4" Zinc Plated

2250-0122 1 1/4" x 4" Zinc Plated

2250-0123 1 1/2" x 4" Zinc Plated

2250-0124 2" x 4" Zinc Plated

2250-0125 2 1/2" x 6" Zinc Plated

2250-0126 3" x 6" Zinc Plated

2250-0127 4" x 6" Zinc Plated

Dielectric Nipples, Groove x Groove, Lead Free

2250-0141 2" x 4" Zinc Plated

2250-0142 2 1/2" x 6" Zinc Plated

2250-0143 3" x 6" Zinc Plated

2250-0144 4" x 6" Zinc Plated

2250-0145 6' x 6" Zinc Plated

Section H 3 Water Heater Accessories



Part Number Item Description Finish Picture

Water Heater Stands - Manufactured from 18GA Pre-Galvanized Steel Sheet - Heavy Duty Construction

22A0-1021 21", 650 LB Load Rating & Up to 52 Gallons Capacity Pre-Galvanized

22A0-1024 24", 1200 LB Load Rating & Up to 100 Gallons Capacity Pre-Galvanized

Water Heater Straps - Manufactured from Pre-Galvanized Steel Sheet

22A0-2025
1-1/4" x 48", 27GA, Up to 80 Gallons Capacity,
Ref#Watts® Bear Claw™ Brand TSE-25

Pre-Galvanized

22A0-2050
1-1/2" x 38", 24GA, Up to 80 Gallons Capacity,
Ref#Holdrite® QS-50

Pre-Galvanized

Section H 4 Water Heater Accessories



Part Number Item Description Finish Picture

Condensate Pumps

2310-1011

1/15HP High Performance Motor
ABS Tank with 1/2 Gallon Tank Capacity
65GPH Flow Rate
15FT Head
3/8" Barbed Check Valve
Thermal Overload Protection
Safety Switch Included

White/Black

2310-1011L

1/15HP High Performance Motor
ABS Tank with 1/2 Gallon Tank Capacity
65GPH Flow Rate
15FT Head
3/8" Barbed Check Valve
Thermal Overload Protection
Less Safety Switch

White/Black

2310-1012

1/12HP High Performance Motor
ABS Tank with 1/2 Gallon Tank Capacity
80GPH Flow Rate
20FT Head
3/8" Barbed Check Valve
Thermal Overload Protection
Safety Switch Included

White/Black

2310-1012L

1/12HP High Performance Motor
ABS Tank with 1/2 Gallon Tank Capacity
80GPH Flow Rate
20FT Head
3/8" Barbed Check Valve
Thermal Overload Protection
Less Safety Switch

White/Black

Condensate Pump Accessories

2310-A3820 3/8" x 20ft Clear Vinyl Tubing. 3/8" ID x 1/2" OD Transparent

2310-A38100 3/8" x 100ft Clear Vinyl Tubing. 3/8" ID x 1/2" OD Transparent

Section I 1 Heating&Cooling&Accessories



Part Number Item Description Finish Picture

PVC Condensate Traps

2320-075P 3/4" P-Trap White

2320-100P 1" P-Trap White

2320-050R 1/2" Running Trap White

2320-075R 3/4" Running Trap White

2320-100R 1" Running Trap White

2320-075J 3/4" J-Trap White

Section I 2 Heating&Cooling&Accessories



Part Number Item Description Finish Picture

Standard Duty Run Capacitors

2340-R5370VSD 370V, Oval, 5 MFD

2340-R75370VSD 370V, Oval, 7.5 MFD

2340-R10370VSD 370V, Oval, 10 MFD

2340-R125370VSD 370V, Oval, 12.5 MFD

2340-R15370VSD 370V, Oval, 15 MFD

2340-R20370VSD 370V, Oval, 20 MFD

2340-R3440VSD 440V, Oval, 3 MFD

2340-R4440VSD 440V, Oval, 4 MFD

2340-R5440VSD 440V, Oval, 5 MFD

2340-R75440VSD 440V, Oval, 7.5 MFD

2340-R10440VSD 440V, Oval, 10 MFD

2340-R125440VSD 440V, Oval, 12.5 MFD

2340-R15440VSD 440V, Oval, 15 MFD

2340-R20440VSD 440V, Oval, 20 MFD

2340-R25440VSD 440V, Oval, 25 MFD

2340-R30440VSD 440V, Oval, 30 MFD

2340-R35440VSD 440V, Oval, 35 MFD

2340-R40440VSD 440V, Oval, 40 MFD

2340-R45440VSD 440V, Oval, 45 MFD

2340-R50440VSD 440V, Oval, 50 MFD

2340-R55440VSD 440V, Oval, 55 MFD

2340-R60440VSD 440V, Oval, 60 MFD

2340-R65440VSD 440V, Oval, 65 MFD

2340-R70440VSD 440V, Oval, 70 MFD

2340-R80440VSD 440V, Oval, 80 MFD

2340-R5440RSD 440V, Round, 5 MFD

2340-R75440RSD 440V, Round, 7.5 MFD

2340-R10440RSD 440V, Round, 10 MFD

2340-R125440RSD 440V, Round, 12.5 MFD

2340-R15440RSD 440V, Round, 15 MFD

2340-R20440RSD 440V, Round, 20 MFD

2340-R25440RSD 440V, Round, 25 MFD

2340-R35440RSD 440V, Round, 30 MFD

2340-R40440RSD 440V, Round, 40 MFD

2340-R45440RSD 440V, Round, 45 MFD

2340-R50440RSD 440V, Round, 50 MFD

2340-R55440RSD 440V, Round, 55 MFD

2340-R60440RSD 440V, Round, 60 MFD

2340-R65440RSD 440V, Round, 65 MFD

2340-R70440RSD 440V, Round, 70 MFD

2340-R80440RSD 440V, Round, 80 MFD

2340-R20/5440RSD 440V, Round, 20+5 MFD

2340-R25/5440RSD 440V, Round, 25+5 MFD

2340-R30/5440RSD 440V, Round, 30+5 MFD

2340-R30/75440RSD 440V, Round, 30+7.5 MFD

2340-R35/5440RSD 440V, Round, 35+5 MFD

2340-R35/75440RSD 440V, Round, 35+7.5 MFD

Section I 3 Heating&Cooling&Accessories



Part Number Item Description Finish Picture

2340-R35/10440RSD 440V, Round, 35+10 MFD

2340-R40/5440RSD 440V, Round, 40+5 MFD

2340-R40/75440RSD 440V, Round, 40+7.5 MFD

2340-R40/10440RSD 440V, Round, 40+10 MFD

2340-R45/5440RSD 440V, Round, 45+5 MFD

2340-R45/75440RSD 440V, Round, 45+7.5 MFD

2340-R45/10440RSD 440V, Round, 45+10 MFD

2340-R50/5440RSD 440V, Round, 50+5 MFD

2340-R50/75440RSD 440V, Round, 50+7.5 MFD

2340-R50/10440RSD 440V, Round, 50+10 MFD

2340-R55/5440RSD 440V, Round, 55+5 MFD

2340-R55/75440RSD 440V, Round, 55+7.5 MFD

2340-R55/10440RSD 440V, Round, 55+10 MFD

2340-R60/5440RSD 440V, Round, 60+5 MFD

2340-R60/75440RSD 440V, Round, 60+7.5 MFD

2340-R60/10440RSD 440V, Round, 60+10 MFD

2340-R60125440RSD 440V, Round, 60+12.5 MFD

2340-R65/5440RSD 440V, Round, 65+5 MFD

2340-R65/75440RSD 440V, Round, 65+7.5 MFD

2340-R65/10440RSD 440V, Round, 65+10 MFD

2340-R70/5440RSD 440V, Round, 70+5 MFD

2340-R70/75440RSD 440V, Round, 70+7.5 MFD

2340-R70/10440RSD 440V, Round, 70+10 MFD

2340-R80/5440RSD 440V, Round, 80+5 MFD

2340-R80/75440RSD 440V, Round, 80+7.5 MFD

2340-R80/10440RSD 440V, Round, 80+10 MFD

HD Duty Run Capacitors

2340-R5VHD 440V, Oval, 5 MFD, HD Cap

2340-R75VHD 440V, Oval, 7.5 MFD, HD Cap

2340-R10VHD 440V, Oval, 10 MFD, HD Cap

2340-R125VHD 440V, Oval, 12.5 MFD, HD Cap

2340-R15VHD 440V, Oval, 15 MFD, HD Cap

2340-R20VHD 440V, Oval, 20 MFD, HD Cap

2340-R25VHD 440V, Oval, 25 MFD, HD Cap

2340-R30VHD 440V, Oval, 30 MFD, HD Cap

2340-R35VHD 440V, Oval, 35 MFD, HD Cap

2340-R40VHD 440V, Oval, 40 MFD, HD Cap

2340-R45VHD 440V, Oval, 45 MFD, HD Cap

2340-R50VHD 440V, Oval, 50 MFD, HD Cap

2340-R55VHD 440V, Oval, 55 MFD, HD Cap

2340-R60VHD 440V, Oval, 60 MFD, HD Cap

2340-R65VHD 440V, Oval, 65 MFD, HD Cap

2340-R70VHD 440V, Oval, 70 MFD, HD Cap

2340-R80VHD 440V, Oval, 80 MFD, HD Cap

2340-R5RHD 440V, Round, 5 MFD, HD Cap

2340-R75RHD 440V, Round, 7.5 MFD, HD Cap

2340-R10RHD 440V, Round, 10 MFD, HD Cap

Section I 4 Heating&Cooling&Accessories



Part Number Item Description Finish Picture

2340-R125RHD 440V, Round, 12.5 MFD, HD Cap

2340-R15RHD 440V, Round, 15 MFD, HD Cap

2340-R20RHD 440V, Round, 20 MFD, HD Cap

2340-R25RHD 440V, Round, 25 MFD, HD Cap

2340-R30RHD 440V, Round, 30 MFD, HD Cap

2340-R35RHD 440V, Round, 35 MFD, HD Cap

2340-R40RHD 440V, Round, 40 MFD, HD Cap

2340-R45RHD 440V, Round, 45 MFD, HD Cap

2340-R50RHD 440V, Round, 50 MFD, HD Cap

2340-R55RHD 440V, Round, 55 MFD, HD Cap

2340-R60RHD 440V, Round, 60 MFD, HD Cap

2340-R65RHD 440V, Round, 65 MFD, HD Cap

2340-R70RHD 440V, Round, 70 MFD, HD Cap

2340-R80RHD 440V, Round, 80 MFD, HD Cap

2340-R20/5RHD 440V, Round, 20+5 MFD, HD Cap

2340-R25/5RHD 440V, Round, 25+5 MFD, HD Cap

2340-R30/3RHD 440V, Round, 30+3 MFD, HD Cap

2340-R30/5RHD 440V, Round, 30+5 MFD, HD Cap

2340-R30/75RHD 440V, Round, 30+7.5 MFD, HD Cap

2340-R35/3RHD 440V, Round, 35+3 MFD, HD Cap

2340-R35/5RHD 440V, Round, 35+5 MFD, HD Cap

2340-R35/75RHD 440V, Round, 35+7.5 MFD, HD Cap

2340-R35/10RHD 440V, Round, 35+10 MFD, HD Cap

2340-R40/3RHD 440V, Round, 40+3 MFD, HD Cap

2340-R40/5RHD 440V, Round, 40+5 MFD, HD Cap

2340-R40/75RHD 440V, Round, 40+7.5 MFD, HD Cap

2340-R40/10RHD 440V, Round, 40+10 MFD, HD Cap

2340-R45/5RHD 440V, Round, 45+5 MFD, HD Cap

2340-R45/75RHD 440V, Round, 45+7.5 MFD, HD Cap

2340-R45/10RHD 440V, Round, 45+10 MFD, HD Cap

2340-R50/5RHD 440V, Round, 50+5 MFD, HD Cap

2340-R50/75RHD 440V, Round, 50+7.5 MFD, HD Cap

2340-R55/5RHD 440V, Round, 55+5 MFD, HD Cap

2340-R55/75RHD 440V, Round, 55+7.5 MFD, HD Cap

2340-R55/10RHD 440V, Round, 55+10 MFD, HD Cap

2340-R60/5RHD 440V, Round, 60+5 MFD, HD Cap

2340-R60/75RHD 440V, Round, 60+7.5 MFD, HD Cap

2340-R65/5RHD 440V, Round, 65+5 MFD, HD Cap

2340-R65/75RHD 440V, Round, 65+7.5 MFD, HD Cap

2340-R65/10RHD 440V, Round, 65+10 MFD, HD Cap

2340-R70/5RHD 440V, Round, 70+5 MFD, HD Cap

2340-R70/75RHD 440V, Round, 70+7.5 MFD, HD Cap

2340-R70/10RHD 440V, Round, 70+10 MFD, HD Cap

2340-R80/5RHD 440V, Round, 80+5 MFD, HD Cap

2340-R80/75RHD 440V, Round, 80+7.5 MFD, HD Cap

2340-R80/10RHD 440V, Round, 80+10 MFD, HD Cap

Section I 5 Heating&Cooling&Accessories



Part Number Item Description Finish Picture

Steam Air Vents/Air Valves

2510-1001-A 1/8" Angel Steam Air Vent, Adjustable Chrome Plated

2510-1001 1/8" Angel Steam Air Vent, Non-Adjustable Chrome Plated

2510-2001 1/8" Straight Steam Air Vent Chrome Plated

2510-2002 1/4" Straight Steam Air Vent Chrome Plated

2510-2003 1/2" x 3/4" Straight Steam Air Vent Chrome Plated

2510-40 1/8" Angle Radiator Air Valve, Non-Adjustable Chrome Plated

2510-H41 1/8" Straight Radiator Air Valve Chrome Plated

2510-H43 1/4" Straight Radiator Air Valve Chrome Plated

2510-H45 1/2" x 3/4" Straight Radiator Air Valve Chrome Plated

2510-H1A 1/8" Angle Radiator Air Valve, Adjustable Chrome Plated

2510-3001 1/8" Automatic Air Vent Chrome Plated

2510-3002 1/4" Automatic Air Vent Chrome Plated

Section J 1 Hydronic Systems&Components



Part Number Item Description Finish Picture

Brass Ball Valves IPS - 600WOG - Full Port - Lead Free

3211-1050-LF 1/2" Rough Brass

3211-1075-LF 3/4" Rough Brass

3211-1100-LF 1" Rough Brass

3211-1125-LF 1-1/4" Rough Brass

3211-1150-LF 1-1/2" Rough Brass

3211-1200-LF 2" Rough Brass

3211-1250-LF 2-1/2" Rough Brass

3211-1300-LF 3" Rough Brass

Brass Ball Valves CXC - 600WOG - Full Port - Lead Free

3211-2050-LF 1/2" Rough Brass

3211-2075-LF 3/4" Rough Brass

3211-2100-LF 1" Rough Brass

3211-2125-LF 1-1/4" Rough Brass

3211-2150-LF 1-1/2" Rough Brass

3211-2200-LF 2" Rough Brass

3211-2250-LF 2-1/2" Rough Brass

3211-2300-LF 3" Rough Brass

Brass Ball Valves PEX - 400WOG - Standard Port - Lead Free

3211-3050-LF 1/2" Rough Brass

3211-3075-LF 3/4" Rough Brass

3211-3100-LF 1" Rough Brass

Brass Ball Valve Push Fit - 200WOG - Full Port - Lead Free

3211-5050-LF 1/2" Rough Brass

3211-5075-LF 3/4" Rough Brass

3211-5100-LF 1" Rough Brass

Gas Ball Valves

3211-4050 1/2" FIP x FIP Rough Brass

3211-4075 3/4" FIP x FIP Rough Brass

3211-4100 1" FIP x FIP Rough Brass

3211-405038FLR 1/2" FIP x 3/8" Flare (5/8"-18UNF) Rough Brass

3211-405050FLR 1/2" FIP x 1/2" Flare (3/4"-16UNF) Rough Brass

Section K 1 Valves



Part Number Item Description Finish Packaging Picture

Brass Stop Valves - 125 PSI WOG

3214-1050-LF 1/2" FIP, Lead Free Rough Brass Bulk

3214-1075-LF 3/4" FIP, Lead Free Rough Brass Bulk

3214-1150-LF 1/2" Sweat, Lead Free Rough Brass Bulk

3214-1175-LF 3/4" Sweat, Lead Free Rough Brass Bulk

3214-1250-LF 1/2" Compression, Lead Free Rough Brass Bulk

3214-1275-LF 3/4" Compression, Lead Free Rough Brass Bulk

Brass Stop/Waste Valves - 125 PSI WOG

3214-1550-LF 1/2" FIP, Lead Free Rough Brass Bulk

3214-1575-LF 3/4" FIP, Lead Free Rough Brass Bulk

3214-1650-LF 1/2" Sweat, Lead Free Rough Brass Bulk

3214-1675-LF+A59 3/4" Sweat, Lead Free Rough Brass Bulk

Brass Boiler Drains - 125 LBS Cold Water Pressure to 100°F WOG

3214-2050 1/2" MIP or Sweat, Lead Free Rough Brass Bulk

3214-2075 3/4" MIP or Sweat, Lead Free Rough Brass Bulk

3214-2150-LF 1/2" FIP, Lead Free Rough Brass Bulk

3214-2175-LF 3/4" FIP, Lead Free Rough Brass Bulk

Section K 2 Valves



Part Number Item Description Finish Packaging Picture

Brass Sillcocks - 125 PSI WOG - 3/4" NH Garden Hose Thread Outlet

3214-2250-LF 1/2" FIP, Multi-Turn, Lead Free Rough Brass Bulk

3214-2275 3/4" FIP, Multi-Turn, Lead Free Rough Brass Bulk

3214-2350 1/2" Sweat, Multi-Turn, Lead Free Rough Brass Bulk

3214-2375 3/4" Sweat, Multi-Turn, Lead Free Rough Brass Bulk

No-Kink Hose Bibbs - Heavy Duty Construction - 125PSI - 3/4" NH Garden Hose Thread Outlet

3214-5251 1/2" MIP Rough Bronze Bulk

3214-5251-LF 1/2" MIP, Lead Free Rough Brass Bulk

3214-5251BFP 1/2" MIP w/Vacuum Breaker Rough Bronze Bulk

3214-5251LK 1/2" MIP, Loose Key Rough Bronze Bulk

3214-5251LKBFP 1/2" MIP w/Vacuum Breaker, Loose Key Rough Bronze Bulk

3214-5252 1/2" or 3/4" Sweat Rough Bronze Bulk

3214-5252-LF 1/2" or 3/4" Sweat, Lead Free Rough Brass Bulk

3214-5252BFP 1/2"  or 3/4" Sweat w/Vacuum Breaker Rough Bronze Bulk

3214-5253 1/2" FIP Rough Bronze Bulk

3214-5253-LF 1/2" FIP, Lead Free Rough Brass Bulk

3214-5253BFP 1/2" FIP w/Vacuum Breaker Rough Bronze Bulk

3214-5253LK 1/2" FIP, Loose Key Rough Bronze Bulk

3214-5253LKBFP 1/2" FIP w/Vacuum Breaker, Loose Key Rough Bronze Bulk

3214-5254 1/2" Compression Rough Bronze Bulk

3214-5254-LF 1/2" Compression, Lead Free Rough Brass Bulk

3214-5254BFP 1/2" Compression w/Vacuum Breaker Rough Bronze Bulk

3214-5351 3/4" MIP or 1/2" Sweat Rough Bronze Bulk

3214-5351-LF 3/4" MIP or 1/2" Sweat, Lead Free Rough Brass Bulk

3214-5351-SAT 3/4" MIP or 1/2" Sweat Satin Bulk

3214-5351BFP 3/4" MIP or 1/2" Sweat w/Vacuum Breaker Rough Bronze Bulk

3214-5351LK 3/4" MIP, Loose Key Rough Bronze Bulk

3214-5351LK-SAT 3/4" MIP, Loose Key Rough Bronze Bulk

3214-5351LKBFP 3/4" MIP w/Vacuum Breaker, Loose Key Rough Bronze Bulk

Section K 3 Valves



Part Number Item Description Finish Packaging Picture

3214-5353 3/4" FIP Rough Bronze Bulk

3214-5353-LF 3/4" FIP, lead free Rough Brass Bulk

3214-5353BFP 3/4" FIP w/Vacuum Breaker Rough Bronze Bulk

No-Kink Hose Bibbs - Brass Construction - Quarter Turn Operation - 125PSI - 3/4" NH Garden Hose Thread Outlet

3214-2450Q 1/2" MIP Rough Brass Bulk

3214-2450Q-LF 1/2" MIP, Lead Free Rough Brass Bulk

3214-2475Q 3/4" MIP Rough Brass Bulk

3214-2475Q-LF 3/4" MIP, Lead Free Rough Brass Bulk

3214-2250Q-LF 1/2" FIP Rough Brass Bulk

3214-2275Q-LF 3/4" FIP Rough Brass Bulk

3214-2350Q-LF 1/2" Sweat Rough Brass Bulk

3214-2375Q-LF 3/4" Sweat Rough Brass Bulk

Vacuum Breakers

3214-VB01 3/4" Female x 3/4" Male Vacuum Breaker Rough Brass Bulk

3214-VB01LF 3/4" Female x 3/4" Male Vacuum Breaker, Lead Free Rough Brass Bulk

Section K 4 Valves



Part Number Item Description Finish Picture

Cast Brass Steam Radiator Angle Valves - T x TMU

3215-1050 1/2" Rough Brass

3215-1075 3/4" Rough Brass

3215-1100 1" Rough Brass

3215-1125 1-1/4" Rough Brass

3215-1150 1-1/2" Rough Brass

Cast Brass 1/4 Turn Oil Tank Valves

3215-T1238 1/2" x 3/8" Rough Brass

3215-T1238FLR 1/2" x 3/8", with 3/8" Flare Nut Rough Brass

Section K 5 Valves



Part Number Item Description Finish Country of Origin

PVC Compact Ball Valves, SCH40, Socket

3240-1050 1/2" White

3240-1075 3/4" White

3240-1100 1" White

3240-1125 1-1/4" White

3240-1150 1-1/2" White

3240-1200 2" White

3240-1250 2-1/2" White

3240-1300 3" White

3240-1400 4" White

3240-1600 6" White

PVC Compact Ball Valves, SCH40, Threaded

3240-2050 1/2" White

3240-2075 3/4" White

3240-2100 1" White

3240-2125 1-1/4" White

3240-2150 1-1/2" White

3240-2200 2" White

3240-2250 2-1/2" White

3240-2300 3" White

3240-2400 4" White

3240-2600 6" White

PVC Compact Ball Valves, SCH80, Socket

3240-3050 1/2" Grey

3240-3075 3/4" Grey

3240-3100 1" Grey

3240-3125 1-1/4" Grey

3240-3150 1-1/2" Grey

3240-3200 2" Grey

3240-3250 2-1/2" Grey

3240-3300 3" Grey

3240-3400 4" Grey

3240-3600 6" Grey

PVC Compact Ball Valves, SCH80, Threaded

3240-4050 1/2" Grey

3240-4075 3/4" Grey

3240-4100 1" Grey

3240-4125 1-1/4" Grey

3240-4150 1-1/2" Grey

3240-4200 2" Grey

3240-4250 2-1/2" Grey

3240-4300 3" Grey

3240-4400 4" Grey

3240-4600 6" Grey

Section K 6 Valves



Part Number Item Description Finish Country of Origin

True Union PVC Ball Valves

3240-T050 1/2" Grey

3240-T075 3/4" Grey

3240-T100 1" Grey

3240-T125 1-1/4" Grey

3240-T150 1-1/2" Grey

3240-T200 2" Grey

3240-T250 2-1/2" Grey

3240-T300 3" Grey

3240-T400 4" Grey

CPVC Compact Ball Valves, Socket

3240-C050 1/2" Cream

3240-C075 3/4" Cream

3240-C100 1" Cream

3240-C125 1-1/4" Cream

3240-C150 1-1/2" Cream

3240-C200 2" Cream

Section K 7 Valves



Part Number Item Description Finish Picture

Cast Bronze Steam Radiator Angle Valves - T x TMU

3251-1050 1/2" Rough Bronze

3251-1075 3/4" Rough Bronze

3251-1100 1" Rough Bronze

3251-1125 1-1/4" Rough Bronze

3251-1150 1-1/2" Rough Bronze

3251-1200 2" Rough Bronze

Cast Bronze Steam Convector Angle Valves - T x TMU

3251-2100 1" Rough Bronze

3251-2125 1-1/4" Rough Bronze

Cast Bronze Hot Water Angle Valves - T x TMU

3251-3050 1/2" Rough Bronze

3251-3075 3/4" Rough Bronze

Cast Bronze Hot Water Angle Valves - Drilled Type - T x TMU

3251-4100 1" Rough Bronze

3251-4125 1-1/4" Rough Bronze

3251-4150 1-1/2" Rough Bronze

Cast Bronze Hot Water Angle Valves - C x TMU

3251-5050 1/2" Rough Bronze

3251-5075 3/4" Rough Bronze

Cast Bronze Steam Radiator Gate Valves - T x TMU

3251-6050 1/2" Rough Bronze

3251-6075 3/4" Rough Bronze

3251-6100 1" Rough Bronze

3251-6125 1-1/4" Rough Bronze

3251-6150 1-1/2" Rough Bronze

Cast Bronze Radiator Union Elbow Assembly - T x TMU

3251-7050 1/2" Rough Bronze

3251-7075 3/4" Rough Bronze

Cast Bronze Radiator Union Elbow Assembly - C x TMU

3251-8050 1/2" Rough Bronze

3251-8075 3/4" Rough Bronze

Section K 8 Valves



Part Number Item Description Finish Picture

Bronze Balancing Valve - Threaded - PN20 CL150/300WOG

3252-1050 1/2" Rough Bronze

3252-1075 3/4" Rough Bronze

3252-1100 1" Rough Bronze

3252-1125 1-1/4" Rough Bronze

3252-1150 1-1/2" Rough Bronze

3252-1200 2" Rough Bronze

Section K 9 Valves



Part Number Item Description Finish Picture

Brass to CPVC Transition Fittings - Lead Free

3340-BF050 1/2" FIP x CPVC Rough Brass

3340-BF075 3/4" FIP x CPVC Rough Brass

3340-BF100 1" FIP x CPVC Rough Brass

3340-BF125 1-1/4" FIP x CPVC Rough Brass

3340-BF150 1-1/2" FIP x CPVC Rough Brass

3340-BF200 2" FIP x CPVC Rough Brass

3340-BM050 1/2" MIP x CPVC Rough Brass

3340-BM075 3/4" MIP x CPVC Rough Brass

3340-BM100 1" MIP x CPVC Rough Brass

3340-BM125 1-1/4" MIP x CPVC Rough Brass

3340-BM150 1-1/2" MIP x CPVC Rough Brass

3340-BM200 2" MIP x CPVC Rough Brass

3340-BP050 1/2" PEX x CPVC Rough Brass

3340-BP075 3/4" PEX x CPVC Rough Brass

3340-BP100 1" PEX x CPVC Rough Brass

3340-BD050 1/2" FIP x CPVC Drop Ear Elbow Rough Brass

3340-BD075 3/4" FIP x CPVC Drop Ear Elbow Rough Brass

Stainless Steel 304 to CPVC Transition Fittings - Lead Free

3340-SF050 1/2" FIP x CPVC Rough SS

3340-SF075 3/4" FIP x CPVC Rough SS

3340-SF100 1" FIP x CPVC Rough SS

3340-SF125 1-1/4" FIP x CPVC Rough SS

3340-SF150 1-1/2" FIP x CPVC Rough SS

3340-SF200 2" FIP x CPVC Rough SS

3340-SM050 1/2" MIP x CPVC Rough SS

3340-SM075 3/4" MIP x CPVC Rough SS

3340-SM100 1" MIP x CPVC Rough SS

3340-SM125 1-1/4" MIP x CPVC Rough SS

3340-SM150 1-1/2" MIP x CPVC Rough SS

3340-SM200 2" MIP x CPVC Rough SS

Section L 1 Fittings



Part Number Item Description Finish Picture

3340-SD050 1/2" FIP x CPVC Drop Ear Elbow Rough SS

Section L 2 Fittings



Part Number Item Description Finish Picture

150# Black Malleable Iron Pipe Fitting - Hex Bushings

3360-BUB001 1/4" x 1/8" Black

3360-BUB002 3/8" x 1/8" Black

3360-BUB003 3/8" x 1/4" Black

3360-BUB004 1/2" x 1/8" Black

3360-BUB005 1/2" x 1/4" Black

3360-BUB006 1/2" x 3/8" Black

3360-BUB007 3/4" x 1/8" Black

3360-BUB008 3/4" x 1/4" Black

3360-BUB009 3/4" x 3/8" Black

3360-BUB010 3/4" x 1/2" Black

3360-BUB011 1" x 1/8" Black

3360-BUB012 1" x 1/4" Black

3360-BUB013 1" x 3/8" Black

3360-BUB014 1" x 1/2" Black

3360-BUB015 1" x 3/4" Black

3360-BUB016 1-1/4" x 1/8" Black

3360-BUB017 1-1/4" x 1/4" Black

3360-BUB018 1-1/4" x 3/8" Black

3360-BUB019 1-1/4" x 1/2" Black

3360-BUB020 1-1/4" x 3/4" Black

3360-BUB021 1-1/4" x 1" Black

3360-BUB022 1-1/2" x 1/4" Black

3360-BUB023 1-1/2" x 3/8" Black

3360-BUB024 1-1/2" x 1/2" Black

3360-BUB025 1-1/2" x 3/4" Black

3360-BUB026 1-1/2" x 1" Black

3360-BUB027 1-1/2" x 1-1/4" Black

3360-BUB028 2" x 1/4" Black

3360-BUB029 2" x 3/8" Black

3360-BUB030 2" x 1/2" Black

3360-BUB031 2" x 3/4" Black

3360-BUB032 2" x 1" Black

3360-BUB033 2" x 1-1/4" Black

3360-BUB034 2" x 1-1/2" Black

3360-BUB035 2-1/2" x 1/2" Black

3360-BUB036 2-1/2" x 3/4" Black

3360-BUB037 2-1/2" x 1" Black

3360-BUB038 2-1/2" x 1-1/4" Black

3360-BUB039 2-1/2" x 1-1/2" Black

3360-BUB040 2-1/2" x 2" Black

3360-BUB041 3" x 1/2" Black

3360-BUB042 3" x 3/4" Black

3360-BUB043 3" x 1" Black

3360-BUB044 3" x 1-1/4" Black

3360-BUB045 3" x 1-1/2" Black

3360-BUB046 3" x 2" Black

3360-BUB047 3" x 2-1/2" Black

Section L 3 Fittings



Part Number Item Description Finish Picture

3360-BUB048 3-1/2" x 1-1/2" Black

3360-BUB049 3-1/2" x 2" Black

3360-BUB050 3-1/2" x 3" Black

3360-BUB051 4" x 1" Black

3360-BUB052 4" x 1-1/4" Black

3360-BUB053 4" x 1-1/2" Black

3360-BUB054 4" x 2" Black

3360-BUB055 4" x 2-1/2" Black

3360-BUB056 4" x 3" Black

3360-BUB057 5" x 3" Black

3360-BUB058 5" x 4" Black

3360-BUB059 6" x 2" Black

150# Black Malleable Iron Pipe Fitting - Caps

3360-CAB001 1/8" Black

3360-CAB002 1/4" Black

3360-CAB003 3/8" Black

3360-CAB004 1/2" Black

3360-CAB005 3/4" Black

3360-CAB006 1" Black

3360-CAB007 1-1/4" Black

3360-CAB008 1-1/2" Black

3360-CAB009 2" Black

3360-CAB010 2-1/2" Black

3360-CAB011 3" Black

3360-CAB013 4" Black

3360-CAB014 5" Black

3360-CAB015 6" Black

150# Black Malleable Iron Pipe Fitting - Crosses

3360-CRB001 1/8" Black

3360-CRB002 1/4" Black

3360-CRB003 3/8" Black

3360-CRB004 1/2" Black

3360-CRB005 3/4" Black

3360-CRB006 1" Black

3360-CRB007 1-1/4" Black

3360-CRB008 1-1/2" Black

3360-CRB009 2" Black

3360-CRB010 2-1/2" Black

3360-CRB011 3" Black

3360-CRB013 4" Black

3360-CRB015 6" Black

Section L 4 Fittings



Part Number Item Description Finish Picture

150# Black Malleable Iron Pipe Fitting - Floor Flanges With Holes

3360-AFF002 1/4" Black

3360-AFF003 3/8" Black

3360-AFF004 1/2" Black

3360-AFF005 3/4" Black

3360-AFF006 1" Black

3360-AFF007 1-1/4" Black

3360-AFF008 1-1/2" Black

3360-AFF009 2" Black

150# Black Malleable Iron Pipe Fitting - 45° Elbows

3360-L45B001 1/8" Black

3360-L45B002 1/4" Black

3360-L45B003 3/8" Black

3360-L45B004 1/2" Black

3360-L45B005 3/4" Black

3360-L45B006 1" Black

3360-L45B007 1-1/4" Black

3360-L45B008 1-1/2" Black

3360-L45B009 2" Black

3360-L45B010 2-1/2" Black

3360-L45B011 3" Black

3360-L45B013 4" Black

3360-L45B014 5" Black

3360-L45B015 6" Black

150# Black Malleable Iron Pipe Fitting - 90° Elbows

3360-L90B001 1/8" Black

3360-L90B002 1/4" Black

3360-L90B003 3/8" Black

3360-L90B004 1/2" Black

3360-L90B005 3/4" Black

3360-L90B006 1" Black

3360-L90B007 1-1/4" Black

3360-L90B008 1-1/2" Black

3360-L90B009 2" Black

3360-L90B010 2-1/2" Black

3360-L90B011 3" Black

3360-L90B012 3-1/2" Black

3360-L90B013 4" Black

3360-L90B014 5" Black

3360-L90B015 6" Black

Section L 5 Fittings



Part Number Item Description Finish Picture

150# Black Malleable Iron Pipe Fitting - Locknuts

3360-LNB003 3/8" Black

3360-LNB004 1/2" Black

3360-LNB005 3/4" Black

3360-LNB006 1" Black

3360-LNB007 1-1/4" Black

3360-LNB008 1-1/2" Black

3360-LNB009 2" Black

3360-LNB010 2-1/2" Black

3360-LNB011 3" Black

3360-LNB013 4" Black

150# Black Malleable Iron Pipe Fitting - Square Head Plugs

3360-PB001 1/8" Black

3360-PB002 1/4" Black

3360-PB003 3/8" Black

3360-PB004 1/2" Black

3360-PB005 3/4" Black

3360-PB006 1" Black

3360-PB007 1-1/4" Black

3360-PB008 1-1/2" Black

3360-PB009 2" Black

3360-PB010 2-1/2" Black

3360-PB011 3" Black

3360-PB013 4" Black

3360-PB014 5" Black

3360-PB015 6" Black

150# Black Malleable Iron Pipe Fitting - Reducing Elbows

3360-RLB001 3/8" x 1/8" Black

3360-RLB002 3/8" x 1/4" Black

3360-RLB003 1/2" x 1/8" Black

3360-RLB004 1/2" x 1/4" Black

3360-RLB005 1/2" x 3/8" Black

3360-RLB006 3/4" x 1/8" Black

3360-RLB007 3/4" x 1/4" Black

3360-RLB008 3/4" x 3/8" Black

3360-RLB009 3/4" x 1/2" Black

3360-RLB010 1" x 1/4" Black

3360-RLB011 1" x 3/8" Black

3360-RLB012 1" x 1/2" Black

3360-RLB013 1" x 3/4" Black

Section L 6 Fittings



Part Number Item Description Finish Picture

3360-RLB014 1-1/4" x 3/8" Black

3360-RLB015 1-1/4" x 1/2" Black

3360-RLB016 1-1/4" x 3/4" Black

3360-RLB017 1-1/4" x 1" Black

3360-RLB018 1-1/2" x 3/8" Black

3360-RLB019 1-1/2" x 1/2" Black

3360-RLB020 1-1/2" x 3/4" Black

3360-RLB021 1-1/2" x 1" Black

3360-RLB022 1-1/2" x 1-1/4" Black

3360-RLB023 2" x 1/2" Black

3360-RLB024 2" x 3/4" Black

3360-RLB025 2" x 1" Black

3360-RLB026 2" x 1-1/4" Black

3360-RLB027 2" x 1-1/2" Black

3360-RLB028 2-1/2" x 1" Black

3360-RLB029 2-1/2" x 1-1/4" Black

3360-RLB030 2-1/2" x 1-1/2" Black

3360-RLB031 2-1/2" x 2" Black

3360-RLB032 3" x 1-1/2" Black

3360-RLB033 3" x 2" Black

3360-RLB034 3" x 2-1/2" Black

3360-RLB035 4" x 2" Black

3360-RLB036 4" x 2-1/2" Black

3360-RLB037 4" x 3" Black

150# Black Malleable Iron Pipe Fitting - Reducing Couplings

3360-RSB001 1/4" x 1/8" Black

3360-RSB002 3/8" x 1/8" Black

3360-RSB003 3/8" x 1/4" Black

3360-RSB004 1/2" x 1/8" Black

3360-RSB005 1/2" x 1/4" Black

3360-RSB006 1/2" x 3/8" Black

3360-RSB007 3/4" x 1/8" Black

3360-RSB008 3/4" x 1/4" Black

3360-RSB009 3/4" x 3/8" Black

3360-RSB010 3/4" x 1/2" Black

3360-RSB011 1" x 1/4" Black

3360-RSB012 1" x 3/8" Black

3360-RSB013 1" x 1/2" Black

3360-RSB014 1" x 3/4" Black

3360-RSB015 1-1/4" x 1/2" Black

3360-RSB016 1-1/4" x 3/4" Black

3360-RSB017 1-1/4" x 1" Black

3360-RSB018 1-1/2" x 3/8" Black

3360-RSB019 1-1/2" x 1/2" Black

3360-RSB020 1-1/2" x 3/4" Black

3360-RSB021 1-1/2" x 1" Black

3360-RSB022 1-1/2" x 1-1/4" Black

Section L 7 Fittings



Part Number Item Description Finish Picture

3360-RSB023 2" x 1/4" Black

3360-RSB024 2" x 3/8" Black

3360-RSB025 2" x 1/2" Black

3360-RSB026 2" x 3/4" Black

3360-RSB027 2" x 1" Black

3360-RSB028 2" x 1-1/4" Black

3360-RSB029 2" x 1-1/2" Black

3360-RSB030 2-1/2" x 1/2" Black

3360-RSB031 2-1/2" x 3/4" Black

3360-RSB032 2-1/2" x 1" Black

3360-RSB033 2-1/2" x 1-1/4" Black

3360-RSB034 2-1/2" x 1-1/2" Black

3360-RSB035 2-1/2" x 2" Black

3360-RSB036 3" x 1/2" Black

3360-RSB037 3" x 3/4" Black

3360-RSB038 3" x 1" Black

3360-RSB039 3" x 1-1/4" Black

3360-RSB040 3" x 1-1/2" Black

3360-RSB041 3" x 2" Black

3360-RSB042 3" x 2-1/2" Black

3360-RSB043 4" x 1" Black

3360-RSB044 4" x 1-1/4" Black

3360-RSB045 4" x 1-1/2" Black

3360-RSB046 4" x 2" Black

3360-RSB047 4" x 2-1/2" Black

3360-RSB048 4" x 3" Black

3360-RSB049 5" x 3 Black

3360-RSB050 5" x 4" Black

3360-RSB051 6" x 2" Black

3360-RSB052 6" x 2-1/2" Black

3360-RSB053 6" x 3" Black

3360-RSB054 6" x 4" Black

3360-RSB055 6" x 5" Black

150# Black Malleable Iron Pipe Fitting - Reducing Tees

3360-RTB001 1/4" x 1/4" x 1/8" Black

3360-RTB002 3/8" x 3/8" x 1/8" Black

3360-RTB003 3/8" x 3/8" x 1/4" Black

3360-RTB004 3/8" x 3/8" x 1/2" Black

3360-RTB005 1/2" x 1/2" x 1/8" Black

3360-RTB006 1/2" x 1/2" x 1/4" Black

3360-RTB007 1/2" x 1/2" x 3/8" Black

3360-RTB008 1/2" x 1/2" x 3/4" Black

3360-RTB009 1/2" x 1/2" x 1" Black

3360-RTB010 3/4" x 3/8" x 3/4" Black

3360-RTB011 3/4" x 1/2" x 1/2" Black

3360-RTB012 3/4" x 1/2" x 3/4" Black

3360-RTB013 3/4" x 1/2" x 1" Black

Section L 8 Fittings



Part Number Item Description Finish Picture

3360-RTB014 3/4" x 3/4" x 1/8" Black

3360-RTB015 3/4" x 3/4" x 1/4" Black

3360-RTB016 3/4" x 3/4" x 3/8" Black

3360-RTB017 3/4" x 3/4" x 1/2" Black

3360-RTB018 3/4" x 3/4" x 1" Black

3360-RTB019 3/4" x 3/4" x 1-1/4" Black

3360-RTB020 1" x 1/2" x 1/2" Black

3360-RTB021 1" x 1/2" x 3/4" Black

3360-RTB022 1" x 1/2" x 1" Black

3360-RTB023 1" x 3/4" x 1/2" Black

3360-RTB024 1" x 3/4" x 3/4" Black

3360-RTB025 1" x 3/4" x 1" Black

3360-RTB026 1" x 1" x 1/4" Black

3360-RTB027 1" x 1" x 3/8" Black

3360-RTB028 1" x 1" x 1/2" Black

3360-RTB029 1" x 1" x 3/4" Black

3360-RTB030 1" x 1" x 1-1/4" Black

3360-RTB031 1" x 1" x 1-1/2" Black

3360-RTB032 1" x 1" x 2" Black

3360-RTB033 1" x 1-1/4" x 1" Black

3360-RTB034 1-1/4" x 1/2" x 1/2" Black

3360-RTB035 1-1/4" x 1/2" x 3/4" Black

3360-RTB036 1-1/4" x 1/2" x 1" Black

3360-RTB037 1-1/4" x 1/2" x 1-1/4" Black

3360-RTB038 1-1/4" x 3/4" x 1/2" Black

3360-RTB039 1-1/4" x 3/4" x 3/4" Black

3360-RTB040 1-1/4" x 3/4" x 1" Black

3360-RTB041 1-1/4" x 3/4" x 1-1/4" Black

3360-RTB042 1-1/4" x 1" x 1/2" Black

3360-RTB043 1-1/4" x 1" x 3/4" Black

3360-RTB044 1-1/4" x 1" x 1" Black

3360-RTB045 1-1/4" x 1" x 1-1/4" Black

3360-RTB046 1-1/4" x 1-1/4" x 1/2" Black

3360-RTB047 1-1/4" x 1-1/4" x 3/4" Black

3360-RTB048 1-1/4" x 1-1/4" x 1" Black

3360-RTB049 1-1/4" x 1-1/4" x 1-1/2" Black

3360-RTB050 1-1/4" x 1-1/4" x 2" Black

3360-RTB051 1-1/4" x 1-1/2" x 1-1/4" Black

3360-RTB052 1-1/2" x 1/2" x 1/2" Black

3360-RTB053 1-1/2" x 1/2" x 3/4" Black

3360-RTB054 1-1/2" x 1/2" x 1" Black

3360-RTB055 1-1/2" x 1/2" x 1-1/4" Black

3360-RTB056 1-1/2" x 1/2" x 1-1/2" Black

3360-RTB057 1-1/2" x 3/4" x 1/2" Black

3360-RTB058 1-1/2" x 3/4" x 3/4" Black

3360-RTB059 1-1/2" x 3/4" x 1" Black

3360-RTB060 1-1/2" x 3/4" x 1-1/4" Black

3360-RTB061 1-1/2" x 3/4" x 1-1/2" Black

Section L 9 Fittings



Part Number Item Description Finish Picture

3360-RTB062 1-1/2" x 1" x 1/2" Black

3360-RTB063 1-1/2" x 1" x 3/4" Black

3360-RTB064 1-1/2" x 1" x 1" Black

3360-RTB065 1-1/2" x 1" x 1-1/4" Black

3360-RTB066 1-1/2" x 1" x 1-1/2" Black

3360-RTB067 1-1/2" x 1-1/4" x 1/2" Black

3360-RTB068 1-1/2" x 1-1/4" x 3/4" Black

3360-RTB069 1-1/2" x 1-1/4" x 1" Black

3360-RTB070 1-1/2" x 1-1/4" x 1-1/4" Black

3360-RTB071 1-1/2" x 1-1/4" x 1-1/2" Black

3360-RTB072 1-1/2" x 1-1/4" x 2" Black

3360-RTB073 1-1/2" x 1-1/2" x 1/4" Black

3360-RTB074 1-1/2" x 1-1/2" x 1/2" Black

3360-RTB075 1-1/2" x 1-1/2" x 3/4" Black

3360-RTB076 1-1/2" x 1-1/2" x 1" Black

3360-RTB077 1-1/2" x 1-1/2" x 1-1/4" Black

3360-RTB078 1-1/2" x 1-1/2" x 2" Black

3360-RTB079 2" x 1/2" x 1/2" Black

3360-RTB080 2" x 1/2" x 2" Black

3360-RTB081 2" x 3/4" x 2" Black

3360-RTB082 2" x 1" x 1/2" Black

3360-RTB083 2" x 1" x 3/4" Black

3360-RTB084 2" x 1" x 1" Black

3360-RTB085 2" x 1" x 1-1/4" Black

3360-RTB086 2" x 1" x 1-1/2" Black

3360-RTB087 2" x 1" x 2" Black

3360-RTB088 2" x 1-1/4" x 1/2" Black

3360-RTB089 2" x 1-1/4" x 3/4" Black

3360-RTB090 2" x 1-1/4" x 1" Black

3360-RTB091 2" x 1-1/4" x 1-1/4" Black

3360-RTB092 2" x 1-1/4" x 1-1/2" Black

3360-RTB093 2" x 1-1/4" x 2" Black

3360-RTB094 2" x 1-1/2" x 1/2" Black

3360-RTB095 2" x 1-1/2" x 1" Black

3360-RTB096 2" x 1-1/2" x 1-1/4" Black

3360-RTB097 2" x 1-1/2" x 1-1/2" Black

3360-RTB098 2" x 1-1/2" x 2" Black

3360-RTB099 2" x 2" x 1/2" Black

3360-RTB100 2" x 2" x 3/4" Black

3360-RTB101 2" x 2" x 1" Black

3360-RTB102 2" x 2" x 1-1/4" Black

3360-RTB103 2" x 2" x 1-1/2" Black

3360-RTB104 2" x 2" x 2-1/2" Black

3360-RTB105 2-1/2" x 1-1/2" x 2-1/2" Black

3360-RTB106 2-1/2" x 2" x 2-1/2" Black

3360-RTB107 2-1/2" x 2-1/2" x 1/2" Black

3360-RTB108 2-1/2" x 2-1/2" x 3/4" Black

3360-RTB109 2-1/2" x 2-1/2" x 1" Black

Section L 10 Fittings



Part Number Item Description Finish Picture

3360-RTB110 2-1/2" x 2-1/2" x 1-1/4" Black

3360-RTB111 2-1/2" x 2-1/2" x 1-1/2" Black

3360-RTB112 2-1/2" x 2-1/2" x 2" Black

3360-RTB113 2-1/2" x 2-1/2" x 3" Black

3360-RTB114 3" x 2" x 2" Black

3360-RTB115 3" x 3" x 1/2" Black

3360-RTB116 3" x 3" x 3/4" Black

3360-RTB117 3" x 3" x 1" Black

3360-RTB118 3" x 3" x 1-1/4" Black

3360-RTB119 3" x 3" x 1-1/2" Black

3360-RTB120 3" x 3" x 2" Black

3360-RTB121 3" x 3" x 2-1/2" Black

3360-RTB122 4" x 4" x 1/2" Black

3360-RTB123 4" x 4" x 1" Black

3360-RTB124 4" x 4" x 1-1/4" Black

3360-RTB125 4" x 4" x 1-1/2" Black

3360-RTB126 4" x 4" x 2" Black

3360-RTB127 4" x 4" x 2-1/2" Black

3360-RTB128 4" x 4" x 3" Black

3360-RTB129 6" x 6" x 2" Black

3360-RTB130 6" x 6" x 3" Black

3360-RTB131 6" x 6" x 4" Black

150# Black Malleable Iron Pipe Fitting - Couplings

3360-SB001 1/8" Black

3360-SB002 1/4" Black

3360-SB003 3/8" Black

3360-SB004 1/2" Black

3360-SB005 3/4" Black

3360-SB006 1" Black

3360-SB007 1-1/4" Black

3360-SB008 1-1/2" Black

3360-SB009 2" Black

3360-SB010 2-1/2" Black

3360-SB011 3" Black

3360-SB013 4" Black

3360-SB014 5" Black

3360-SB015 6" Black

Section L 11 Fittings



Part Number Item Description Finish Picture

150# Black Malleable Iron Pipe Fitting - 45° Street Elbows

3360-SL45B001 1/8" Black

3360-SL45B002 1/4" Black

3360-SL45B003 3/8" Black

3360-SL45B004 1/2" Black

3360-SL45B005 3/4" Black

3360-SL45B006 1" Black

3360-SL45B007 1-1/4" Black

3360-SL45B008 1-1/2" Black

3360-SL45B009 2" Black

3360-SL45B010 2-1/2" Black

3360-SL45B011 3" Black

3360-SL45B013 4" Black

150# Black Malleable Iron Pipe Fitting - 90° Street Elbows

3360-SL90B001 1/8" Black

3360-SL90B002 1/4" Black

3360-SL90B003 3/8" Black

3360-SL90B004 1/2" Black

3360-SL90B005 3/4" Black

3360-SL90B006 1" Black

3360-SL90B007 1-1/4" Black

3360-SL90B008 1-1/2" Black

3360-SL90B009 2" Black

3360-SL90B010 2-1/2" Black

3360-SL90B011 3" Black

3360-SL90B013 4" Black

150# Black Malleable Iron Pipe Fitting - Tees

3360-TB001 1/8" Black

3360-TB002 1/4" Black

3360-TB003 3/8" Black

3360-TB004 1/2" Black

3360-TB005 3/4" Black

3360-TB006 1" Black

3360-TB007 1-1/4" Black

3360-TB008 1-1/2" Black

3360-TB009 2" Black

3360-TB010 2-1/2" Black

3360-TB011 3" Black

3360-TB012 3-1/2" Black

3360-TB013 4" Black

3360-TB014 5" Black

3360-TB015 6" Black

Section L 12 Fittings



Part Number Item Description Finish Picture

150# Black Malleable Iron Pipe Fitting - Unions Brass Seat

3360-AUB001 1/8" Black

3360-AUB002 1/4" Black

3360-AUB003 3/8" Black

3360-AUB004 1/2" Black

3360-AUB005 3/4" Black

3360-AUB006 1" Black

3360-AUB007 1-1/4" Black

3360-AUB008 1-1/2" Black

3360-AUB009 2" Black

3360-AUB010 2-1/2" Black

3360-AUB011 3" Black

3360-AUB013 4" Black

150# Black Malleable Iron Pipe Fitting - Extension Pieces

3360-XB003 3/8" Black

3360-XB004 1/2" Black

3360-XB005 3/4" Black

3360-XB006 1" Black

3360-XB007 1-1/4" Black

3360-XB008 1-1/2" Black

3360-XB009 2" Black

Section L 13 Fittings



Part Number Item Description Finish Picture

150# Galvanized Malleable Iron Pipe Fitting - Hex Bushings

3360-BUG001 1/4" x 1/8" Galvanized

3360-BUG002 3/8" x 1/8" Galvanized

3360-BUG003 3/8" x 1/4" Galvanized

3360-BUG004 1/2" x 1/8" Galvanized

3360-BUG005 1/2" x 1/4" Galvanized

3360-BUG006 1/2" x 3/8" Galvanized

3360-BUG007 3/4" x 1/8" Galvanized

3360-BUG008 3/4" x 1/4" Galvanized

3360-BUG009 3/4" x 3/8" Galvanized

3360-BUG010 3/4" x 1/2" Galvanized

3360-BUG011 1" x 1/8" Galvanized

3360-BUG012 1" x 1/4" Galvanized

3360-BUG013 1" x 3/8" Galvanized

3360-BUG014 1" x 1/2" Galvanized

3360-BUG015 1" x 3/4" Galvanized

3360-BUG016 1-1/4" x 1/8" Galvanized

3360-BUG017 1-1/4" x 1/4" Galvanized

3360-BUG018 1-1/4" x 3/8" Galvanized

3360-BUG019 1-1/4" x 1/2" Galvanized

3360-BUG020 1-1/4" x 3/4" Galvanized

3360-BUG021 1-1/4" x 1" Galvanized

3360-BUG022 1-1/2" x 1/4" Galvanized

3360-BUG023 1-1/2" x 3/8" Galvanized

3360-BUG024 1-1/2" x 1/2" Galvanized

3360-BUG025 1-1/2" x 3/4" Galvanized

3360-BUG026 1-1/2" x 1" Galvanized

3360-BUG027 1-1/2" x 1-1/4" Galvanized

3360-BUG028 2" x 1/4" Galvanized

3360-BUG029 2" x 3/8" Galvanized

3360-BUG030 2" x 1/2" Galvanized

3360-BUG031 2" x 3/4" Galvanized

3360-BUG032 2" x 1" Galvanized

3360-BUG033 2" x 1-1/4" Galvanized

3360-BUG034 2" x 1-1/2" Galvanized

3360-BUG035 2-1/2" x 1/2" Galvanized

3360-BUG036 2-1/2" x 3/4" Galvanized

3360-BUG037 2-1/2" x 1" Galvanized

3360-BUG038 2-1/2" x 1-1/4" Galvanized

3360-BUG039 2-1/2" x 1-1/2" Galvanized

3360-BUG040 2-1/2" x 2" Galvanized

3360-BUG041 3" x 1/2" Galvanized

3360-BUG042 3" x 3/4" Galvanized

3360-BUG043 3" x 1" Galvanized

3360-BUG044 3" x 1-1/4" Galvanized

3360-BUG045 3" x 1-1/2" Galvanized

3360-BUG046 3" x 2" Galvanized

3360-BUG047 3" x 2-1/2" Galvanized

Section L 14 Fittings



Part Number Item Description Finish Picture

3360-BUG048 3-1/2" x 1-1/2" Galvanized

3360-BUG049 3-1/2" x 2" Galvanized

3360-BUG050 3-1/2" x 3" Galvanized

3360-BUG051 4" x 1" Galvanized

3360-BUG052 4" x 1-1/4" Galvanized

3360-BUG053 4" x 1-1/2" Galvanized

3360-BUG054 4" x 2" Galvanized

3360-BUG055 4" x 2-1/2" Galvanized

3360-BUG056 4" x 3" Galvanized

3360-BUG057 5" x 3" Galvanized

3360-BUG058 5" x 4" Galvanized

3360-BUG059 6" x 2" Galvanized

150# Galvanized Malleable Iron Pipe Fitting - Caps

3360-CAG001 1/8" Galvanized

3360-CAG002 1/4" Galvanized

3360-CAG003 3/8" Galvanized

3360-CAG004 1/2" Galvanized

3360-CAG005 3/4" Galvanized

3360-CAG006 1" Galvanized

3360-CAG007 1-1/4" Galvanized

3360-CAG008 1-1/2" Galvanized

3360-CAG009 2" Galvanized

3360-CAG010 2-1/2" Galvanized

3360-CAG011 3" Galvanized

3360-CAG013 4" Galvanized

3360-CAG014 5" Galvanized

3360-CAG015 6" Galvanized

150# Galvanized Malleable Iron Pipe Fitting - Crosses

3360-CRG001 1/8" Galvanized

3360-CRG002 1/4" Galvanized

3360-CRG003 3/8" Galvanized

3360-CRG004 1/2" Galvanized

3360-CRG005 3/4" Galvanized

3360-CRG006 1" Galvanized

3360-CRG007 1-1/4" Galvanized

3360-CRG008 1-1/2" Galvanized

3360-CRG009 2" Galvanized

3360-CRG010 2-1/2" Galvanized

3360-CRG011 3" Galvanized

3360-CRG013 4" Galvanized

3360-CRG015 6" Galvanized

Section L 15 Fittings



Part Number Item Description Finish Picture

150# Galvanized Malleable Iron Pipe Fitting - Floor Flanges With Holes

3360-AFF002 1/4" Galvanized

3360-AFF003 3/8" Galvanized

3360-AFF004 1/2" Galvanized

3360-AFF005 3/4" Galvanized

3360-AFF006 1" Galvanized

3360-AFF007 1-1/4" Galvanized

3360-AFF008 1-1/2" Galvanized

3360-AFF009 2" Galvanized

150# Galvanized Malleable Iron Pipe Fitting - 45° Elbows

3360-L45G001 1/8" Galvanized

3360-L45G002 1/4" Galvanized

3360-L45G003 3/8" Galvanized

3360-L45G004 1/2" Galvanized

3360-L45G005 3/4" Galvanized

3360-L45G006 1" Galvanized

3360-L45G007 1-1/4" Galvanized

3360-L45G008 1-1/2" Galvanized

3360-L45G009 2" Galvanized

3360-L45G010 2-1/2" Galvanized

3360-L45G011 3" Galvanized

3360-L45G013 4" Galvanized

3360-L45G014 5" Galvanized

3360-L45G015 6" Galvanized

150# Galvanized Malleable Iron Pipe Fitting - 90° Elbows

3360-L90G001 1/8" Galvanized

3360-L90G002 1/4" Galvanized

3360-L90G003 3/8" Galvanized

3360-L90G004 1/2" Galvanized

3360-L90G005 3/4" Galvanized

3360-L90G006 1" Galvanized

3360-L90G007 1-1/4" Galvanized

3360-L90G008 1-1/2" Galvanized

3360-L90G009 2" Galvanized

3360-L90G010 2-1/2" Galvanized

3360-L90G011 3" Galvanized

3360-L90G012 3-1/2" Galvanized

3360-L90G013 4" Galvanized

3360-L90G014 5" Galvanized

3360-L90G015 6" Galvanized

Section L 16 Fittings



Part Number Item Description Finish Picture

150# Galvanized Malleable Iron Pipe Fitting - Locknuts

3360-LNG003 3/8" Galvanized

3360-LNG004 1/2" Galvanized

3360-LNG005 3/4" Galvanized

3360-LNG006 1" Galvanized

3360-LNG007 1-1/4" Galvanized

3360-LNG008 1-1/2" Galvanized

3360-LNG009 2" Galvanized

3360-LNG010 2-1/2" Galvanized

3360-LNG011 3" Galvanized

3360-LNG013 4" Galvanized

150# Galvanized Malleable Iron Pipe Fitting - Square Head Plugs

3360-PG001 1/8" Galvanized

3360-PG002 1/4" Galvanized

3360-PG003 3/8" Galvanized

3360-PG004 1/2" Galvanized

3360-PG005 3/4" Galvanized

3360-PG006 1" Galvanized

3360-PG007 1-1/4" Galvanized

3360-PG008 1-1/2" Galvanized

3360-PG009 2" Galvanized

3360-PG010 2-1/2" Galvanized

3360-PG011 3" Galvanized

3360-PG013 4" Galvanized

3360-PG014 5" Galvanized

3360-PG015 6" Galvanized

150# Galvanized Malleable Iron Pipe Fitting - Reducing Elbows

3360-RLG001 3/8" x 1/8" Galvanized

3360-RLG002 3/8" x 1/4" Galvanized

3360-RLG003 1/2" x 1/8" Galvanized

3360-RLG004 1/2" x 1/4" Galvanized

3360-RLG005 1/2" x 3/8" Galvanized

3360-RLG006 3/4" x 1/8" Galvanized

3360-RLG007 3/4" x 1/4" Galvanized

3360-RLG008 3/4" x 3/8" Galvanized

3360-RLG009 3/4" x 1/2" Galvanized

3360-RLG010 1" x 1/4" Galvanized

3360-RLG011 1" x 3/8" Galvanized

3360-RLG012 1" x 1/2" Galvanized

3360-RLG013 1" x 3/4" Galvanized

3360-RLG014 1-1/4" x 3/8" Galvanized

3360-RLG015 1-1/4" x 1/2" Galvanized

3360-RLG016 1-1/4" x 3/4" Galvanized

3360-RLG017 1-1/4" x 1" Galvanized

3360-RLG018 1-1/2" x 3/8" Galvanized

3360-RLG019 1-1/2" x 1/2" Galvanized

Section L 17 Fittings



Part Number Item Description Finish Picture

3360-RLG020 1-1/2" x 3/4" Galvanized

3360-RLG021 1-1/2" x 1" Galvanized

3360-RLG022 1-1/2" x 1-1/4" Galvanized

3360-RLG023 2" x 1/2" Galvanized

3360-RLG024 2" x 3/4" Galvanized

3360-RLG025 2" x 1" Galvanized

3360-RLG026 2" x 1-1/4" Galvanized

3360-RLG027 2" x 1-1/2" Galvanized

3360-RLG028 2-1/2" x 1" Galvanized

3360-RLG029 2-1/2" x 1-1/4" Galvanized

3360-RLG030 2-1/2" x 1-1/2" Galvanized

3360-RLG031 2-1/2" x 2" Galvanized

3360-RLG032 3" x 1-1/2" Galvanized

3360-RLG033 3" x 2" Galvanized

3360-RLG034 3" x 2-1/2" Galvanized

3360-RLG035 4" x 2" Galvanized

3360-RLG036 4" x 2-1/2" Galvanized

3360-RLG037 4" x 3" Galvanized

150# Galvanized Malleable Iron Pipe Fitting - Reducing Couplings

3360-RSG001 1/4" x 1/8" Galvanized

3360-RSG002 3/8" x 1/8" Galvanized

3360-RSG003 3/8" x 1/4" Galvanized

3360-RSG004 1/2" x 1/8" Galvanized

3360-RSG005 1/2" x 1/4" Galvanized

3360-RSG006 1/2" x 3/8" Galvanized

3360-RSG007 3/4" x 1/8" Galvanized

3360-RSG008 3/4" x 1/4" Galvanized

3360-RSG009 3/4" x 3/8" Galvanized

3360-RSG010 3/4" x 1/2" Galvanized

3360-RSG011 1" x 1/4" Galvanized

3360-RSG012 1" x 3/8" Galvanized

3360-RSG013 1" x 1/2" Galvanized

3360-RSG014 1" x 3/4" Galvanized

3360-RSG015 1-1/4" x 1/2" Galvanized

3360-RSG016 1-1/4" x 3/4" Galvanized

3360-RSG017 1-1/4" x 1" Galvanized

3360-RSG018 1-1/2" x 3/8" Galvanized

3360-RSG019 1-1/2" x 1/2" Galvanized

3360-RSG020 1-1/2" x 3/4" Galvanized

3360-RSG021 1-1/2" x 1" Galvanized

3360-RSG022 1-1/2" x 1-1/4" Galvanized

3360-RSG023 2" x 1/4" Galvanized

3360-RSG024 2" x 3/8" Galvanized

3360-RSG025 2" x 1/2" Galvanized

3360-RSG026 2" x 3/4" Galvanized

3360-RSG027 2" x 1" Galvanized

3360-RSG028 2" x 1-1/4" Galvanized

Section L 18 Fittings



Part Number Item Description Finish Picture

3360-RSG029 2" x 1-1/2" Galvanized

3360-RSG030 2-1/2" x 1/2" Galvanized

3360-RSG031 2-1/2" x 3/4" Galvanized

3360-RSG032 2-1/2" x 1" Galvanized

3360-RSG033 2-1/2" x 1-1/4" Galvanized

3360-RSG034 2-1/2" x 1-1/2" Galvanized

3360-RSG035 2-1/2" x 2" Galvanized

3360-RSG036 3" x 1/2" Galvanized

3360-RSG037 3" x 3/4" Galvanized

3360-RSG038 3" x 1" Galvanized

3360-RSG039 3" x 1-1/4" Galvanized

3360-RSG040 3" x 1-1/2" Galvanized

3360-RSG041 3" x 2" Galvanized

3360-RSG042 3" x 2-1/2" Galvanized

3360-RSG043 4" x 1" Galvanized

3360-RSG044 4" x 1-1/4" Galvanized

3360-RSG045 4" x 1-1/2" Galvanized

3360-RSG046 4" x 2" Galvanized

3360-RSG047 4" x 2-1/2" Galvanized

3360-RSG048 4" x 3" Galvanized

3360-RSG049 5" x 3 Galvanized

3360-RSG050 5" x 4" Galvanized

3360-RSG051 6" x 2" Galvanized

3360-RSG052 6" x 2-1/2" Galvanized

3360-RSG053 6" x 3" Galvanized

3360-RSG054 6" x 4" Galvanized

3360-RSG055 6" x 5" Galvanized

150# Galvanized Malleable Iron Pipe Fitting - Reducing Tees

3360-RTG001 1/4" x 1/4" x 1/8" Galvanized

3360-RTG002 3/8" x 3/8" x 1/8" Galvanized

3360-RTG003 3/8" x 3/8" x 1/4" Galvanized

3360-RTG004 3/8" x 3/8" x 1/2" Galvanized

3360-RTG005 1/2" x 1/2" x 1/8" Galvanized

3360-RTG006 1/2" x 1/2" x 1/4" Galvanized

3360-RTG007 1/2" x 1/2" x 3/8" Galvanized

3360-RTG008 1/2" x 1/2" x 3/4" Galvanized

3360-RTG009 1/2" x 1/2" x 1" Galvanized

3360-RTG010 3/4" x 3/8" x 3/4" Galvanized

3360-RTG011 3/4" x 1/2" x 1/2" Galvanized

3360-RTG012 3/4" x 1/2" x 3/4" Galvanized

3360-RTG013 3/4" x 1/2" x 1" Galvanized

3360-RTG014 3/4" x 3/4" x 1/8" Galvanized

3360-RTG015 3/4" x 3/4" x 1/4" Galvanized

3360-RTG016 3/4" x 3/4" x 3/8" Galvanized

3360-RTG017 3/4" x 3/4" x 1/2" Galvanized

3360-RTG018 3/4" x 3/4" x 1" Galvanized

3360-RTG019 3/4" x 3/4" x 1-1/4" Galvanized

Section L 19 Fittings



Part Number Item Description Finish Picture

3360-RTG020 1" x 1/2" x 1/2" Galvanized

3360-RTG021 1" x 1/2" x 3/4" Galvanized

3360-RTG022 1" x 1/2" x 1" Galvanized

3360-RTG023 1" x 3/4" x 1/2" Galvanized

3360-RTG024 1" x 3/4" x 3/4" Galvanized

3360-RTG025 1" x 3/4" x 1" Galvanized

3360-RTG026 1" x 1" x 1/4" Galvanized

3360-RTG027 1" x 1" x 3/8" Galvanized

3360-RTG028 1" x 1" x 1/2" Galvanized

3360-RTG029 1" x 1" x 3/4" Galvanized

3360-RTG030 1" x 1" x 1-1/4" Galvanized

3360-RTG031 1" x 1" x 1-1/2" Galvanized

3360-RTG032 1" x 1" x 2" Galvanized

3360-RTG033 1" x 1-1/4" x 1" Galvanized

3360-RTG034 1-1/4" x 1/2" x 1/2" Galvanized

3360-RTG035 1-1/4" x 1/2" x 3/4" Galvanized

3360-RTG036 1-1/4" x 1/2" x 1" Galvanized

3360-RTG037 1-1/4" x 1/2" x 1-1/4" Galvanized

3360-RTG038 1-1/4" x 3/4" x 1/2" Galvanized

3360-RTG039 1-1/4" x 3/4" x 3/4" Galvanized

3360-RTG040 1-1/4" x 3/4" x 1" Galvanized

3360-RTG041 1-1/4" x 3/4" x 1-1/4" Galvanized

3360-RTG042 1-1/4" x 1" x 1/2" Galvanized

3360-RTG043 1-1/4" x 1" x 3/4" Galvanized

3360-RTG044 1-1/4" x 1" x 1" Galvanized

3360-RTG045 1-1/4" x 1" x 1-1/4" Galvanized

3360-RTG046 1-1/4" x 1-1/4" x 1/2" Galvanized

3360-RTG047 1-1/4" x 1-1/4" x 3/4" Galvanized

3360-RTG048 1-1/4" x 1-1/4" x 1" Galvanized

3360-RTG049 1-1/4" x 1-1/4" x 1-1/2" Galvanized

3360-RTG050 1-1/4" x 1-1/4" x 2" Galvanized

3360-RTG051 1-1/4" x 1-1/2" x 1-1/4" Galvanized

3360-RTG052 1-1/2" x 1/2" x 1/2" Galvanized

3360-RTG053 1-1/2" x 1/2" x 3/4" Galvanized

3360-RTG054 1-1/2" x 1/2" x 1" Galvanized

3360-RTG055 1-1/2" x 1/2" x 1-1/4" Galvanized

3360-RTG056 1-1/2" x 1/2" x 1-1/2" Galvanized

3360-RTG057 1-1/2" x 3/4" x 1/2" Galvanized

3360-RTG058 1-1/2" x 3/4" x 3/4" Galvanized

3360-RTG059 1-1/2" x 3/4" x 1" Galvanized

3360-RTG060 1-1/2" x 3/4" x 1-1/4" Galvanized

3360-RTG061 1-1/2" x 3/4" x 1-1/2" Galvanized

3360-RTG062 1-1/2" x 1" x 1/2" Galvanized

3360-RTG063 1-1/2" x 1" x 3/4" Galvanized

3360-RTG064 1-1/2" x 1" x 1" Galvanized

3360-RTG065 1-1/2" x 1" x 1-1/4" Galvanized

3360-RTG066 1-1/2" x 1" x 1-1/2" Galvanized

3360-RTG067 1-1/2" x 1-1/4" x 1/2" Galvanized

Section L 20 Fittings



Part Number Item Description Finish Picture

3360-RTG068 1-1/2" x 1-1/4" x 3/4" Galvanized

3360-RTG069 1-1/2" x 1-1/4" x 1" Galvanized

3360-RTG070 1-1/2" x 1-1/4" x 1-1/4" Galvanized

3360-RTG071 1-1/2" x 1-1/4" x 1-1/2" Galvanized

3360-RTG072 1-1/2" x 1-1/4" x 2" Galvanized

3360-RTG073 1-1/2" x 1-1/2" x 1/4" Galvanized

3360-RTG074 1-1/2" x 1-1/2" x 1/2" Galvanized

3360-RTG075 1-1/2" x 1-1/2" x 3/4" Galvanized

3360-RTG076 1-1/2" x 1-1/2" x 1" Galvanized

3360-RTG077 1-1/2" x 1-1/2" x 1-1/4" Galvanized

3360-RTG078 1-1/2" x 1-1/2" x 2" Galvanized

3360-RTG079 2" x 1/2" x 1/2" Galvanized

3360-RTG080 2" x 1/2" x 2" Galvanized

3360-RTG081 2" x 3/4" x 2" Galvanized

3360-RTG082 2" x 1" x 1/2" Galvanized

3360-RTG083 2" x 1" x 3/4" Galvanized

3360-RTG084 2" x 1" x 1" Galvanized

3360-RTG085 2" x 1" x 1-1/4" Galvanized

3360-RTG086 2" x 1" x 1-1/2" Galvanized

3360-RTG087 2" x 1" x 2" Galvanized

3360-RTG088 2" x 1-1/4" x 1/2" Galvanized

3360-RTG089 2" x 1-1/4" x 3/4" Galvanized

3360-RTG090 2" x 1-1/4" x 1" Galvanized

3360-RTG091 2" x 1-1/4" x 1-1/4" Galvanized

3360-RTG092 2" x 1-1/4" x 1-1/2" Galvanized

3360-RTG093 2" x 1-1/4" x 2" Galvanized

3360-RTG094 2" x 1-1/2" x 1/2" Galvanized

3360-RTG095 2" x 1-1/2" x 1" Galvanized

3360-RTG096 2" x 1-1/2" x 1-1/4" Galvanized

3360-RTG097 2" x 1-1/2" x 1-1/2" Galvanized

3360-RTG098 2" x 1-1/2" x 2" Galvanized

3360-RTG099 2" x 2" x 1/2" Galvanized

3360-RTG100 2" x 2" x 3/4" Galvanized

3360-RTG101 2" x 2" x 1" Galvanized

3360-RTG102 2" x 2" x 1-1/4" Galvanized

3360-RTG103 2" x 2" x 1-1/2" Galvanized

3360-RTG104 2" x 2" x 2-1/2" Galvanized

3360-RTG105 2-1/2" x 1-1/2" x 2-1/2" Galvanized

3360-RTG106 2-1/2" x 2" x 2-1/2" Galvanized

3360-RTG107 2-1/2" x 2-1/2" x 1/2" Galvanized

3360-RTG108 2-1/2" x 2-1/2" x 3/4" Galvanized

3360-RTG109 2-1/2" x 2-1/2" x 1" Galvanized

3360-RTG110 2-1/2" x 2-1/2" x 1-1/4" Galvanized

3360-RTG111 2-1/2" x 2-1/2" x 1-1/2" Galvanized

3360-RTG112 2-1/2" x 2-1/2" x 2" Galvanized

3360-RTG113 2-1/2" x 2-1/2" x 3" Galvanized

3360-RTG114 3" x 2" x 2" Galvanized

3360-RTG115 3" x 3" x 1/2" Galvanized

Section L 21 Fittings



Part Number Item Description Finish Picture

3360-RTG116 3" x 3" x 3/4" Galvanized

3360-RTG117 3" x 3" x 1" Galvanized

3360-RTG118 3" x 3" x 1-1/4" Galvanized

3360-RTG119 3" x 3" x 1-1/2" Galvanized

3360-RTG120 3" x 3" x 2" Galvanized

3360-RTG121 3" x 3" x 2-1/2" Galvanized

3360-RTG122 4" x 4" x 1/2" Galvanized

3360-RTG123 4" x 4" x 1" Galvanized

3360-RTG124 4" x 4" x 1-1/4" Galvanized

3360-RTG125 4" x 4" x 1-1/2" Galvanized

3360-RTG126 4" x 4" x 2" Galvanized

3360-RTG127 4" x 4" x 2-1/2" Galvanized

3360-RTG128 4" x 4" x 3" Galvanized

3360-RTG129 6" x 6" x 2" Galvanized

3360-RTG130 6" x 6" x 3" Galvanized

3360-RTG131 6" x 6" x 4" Galvanized

150# Galvanized Malleable Iron Pipe Fitting - Couplings

3360-SG001 1/8" Galvanized

3360-SG002 1/4" Galvanized

3360-SG003 3/8" Galvanized

3360-SG004 1/2" Galvanized

3360-SG005 3/4" Galvanized

3360-SG006 1" Galvanized

3360-SG007 1-1/4" Galvanized

3360-SG008 1-1/2" Galvanized

3360-SG009 2" Galvanized

3360-SG010 2-1/2" Galvanized

3360-SG011 3" Galvanized

3360-SG013 4" Galvanized

3360-SG014 5" Galvanized

3360-SG015 6" Galvanized

150# Galvanized Malleable Iron Pipe Fitting - 45° Street Elbows

3360-SL45G001 1/8" Galvanized

3360-SL45G002 1/4" Galvanized

3360-SL45G003 3/8" Galvanized

3360-SL45G004 1/2" Galvanized

3360-SL45G005 3/4" Galvanized

3360-SL45G006 1" Galvanized

3360-SL45G007 1-1/4" Galvanized

3360-SL45G008 1-1/2" Galvanized

3360-SL45G009 2" Galvanized

3360-SL45G010 2-1/2" Galvanized

3360-SL45G011 3" Galvanized

3360-SL45G013 4" Galvanized

Section L 22 Fittings



Part Number Item Description Finish Picture

150# Galvanized Malleable Iron Pipe Fitting - 90° Street Elbows

3360-SL90G001 1/8" Galvanized

3360-SL90G002 1/4" Galvanized

3360-SL90G003 3/8" Galvanized

3360-SL90G004 1/2" Galvanized

3360-SL90G005 3/4" Galvanized

3360-SL90G006 1" Galvanized

3360-SL90G007 1-1/4" Galvanized

3360-SL90G008 1-1/2" Galvanized

3360-SL90G009 2" Galvanized

3360-SL90G010 2-1/2" Galvanized

3360-SL90G011 3" Galvanized

3360-SL90G013 4" Galvanized

150# Galvanized Malleable Iron Pipe Fitting - Tees

3360-TG001 1/8" Galvanized

3360-TG002 1/4" Galvanized

3360-TG003 3/8" Galvanized

3360-TG004 1/2" Galvanized

3360-TG005 3/4" Galvanized

3360-TG006 1" Galvanized

3360-TG007 1-1/4" Galvanized

3360-TG008 1-1/2" Galvanized

3360-TG009 2" Galvanized

3360-TG010 2-1/2" Galvanized

3360-TG011 3" Galvanized

3360-TG012 3-1/2" Galvanized

3360-TG013 4" Galvanized

3360-TG014 5" Galvanized

3360-TG015 6" Galvanized

150# Galvanized Malleable Iron Pipe Fitting - Unions Brass Seat

3360-AUG001 1/8" Galvanized

3360-AUG002 1/4" Galvanized

3360-AUG003 3/8" Galvanized

3360-AUG004 1/2" Galvanized

3360-AUG005 3/4" Galvanized

3360-AUG006 1" Galvanized

3360-AUG007 1-1/4" Galvanized

3360-AUG008 1-1/2" Galvanized

3360-AUG009 2" Galvanized

3360-AUG010 2-1/2" Galvanized

3360-AUG011 3" Galvanized

3360-AUG013 4" Galvanized

Section L 23 Fittings



Part Number Item Description Finish Picture

150# Galvanized Malleable Iron Pipe Fitting - Extension Pieces

3360-XG003 3/8" Galvanized

3360-XG004 1/2" Galvanized

3360-XG005 3/4" Galvanized

3360-XG006 1" Galvanized

3360-XG007 1-1/4" Galvanized

3360-XG008 1-1/2" Galvanized

3360-XG009 2" Galvanized

Section L 24 Fittings



Part Number Item Description (OD Sizes) Finish Picture

Coupling with Roll Stop C X C

3380-0001 1/4" Wrot Copper

3380-0002 5/16" Wrot Copper

3380-0003 3/8" Wrot Copper

3380-0004 1/2" Wrot Copper

3380-0005 5/8" Wrot Copper

3380-0006 3/4" Wrot Copper

3380-0007 7/8" Wrot Copper

3380-0008 1" Wrot Copper

3380-0009 1 1/8" Wrot Copper

3380-0010 1 1/4" Wrot Copper

3380-0011 1 3/8" Wrot Copper

3380-0012 1 1/2" Wrot Copper

3380-0013 1 5/8" Wrot Copper

3380-0014 2 1/8" Wrot Copper

3380-0015 2 5/8" Wrot Copper

3380-0016 3 1/8" Wrot Copper

3380-0017 3 5/8" Wrot Copper

3380-0018 4 1/8" Wrot Copper

3380-0019 6 1/8" Wrot Copper

3380-0020 8 1/8" Wrot Copper

Reducer Coupling With Stop C X C

3380-0101 3/8" x 1/4" Wrot Copper

3380-0102 1/2" x 1/4" Wrot Copper

3380-0103 1/2" x 3/8" Wrot Copper

3380-0104 5/8" x 1/4" Wrot Copper

3380-0105 5/8" x 3/8" Wrot Copper

3380-0106 5/8" x 1/2" Wrot Copper

3380-0107 3/4" x 3/8" Wrot Copper

3380-0108 3/4" x 1/2" Wrot Copper

3380-0109 3/4" x 5/8" Wrot Copper

3380-0110 7/8" x 3/8" Wrot Copper

3380-0111 7/8" x 1/2" Wrot Copper

3380-0112 7/8" x 5/8" Wrot Copper

3380-0113 7/8" x 3/4" Wrot Copper

3380-0114 1" x 1/2" Wrot Copper

3380-0115 1" x 3/4" Wrot Copper

3380-0116 1 1/8" x 1/2" Wrot Copper

3380-0117 1 1/8" x 5/8" Wrot Copper

3380-0118 1 1/8" x 3/4" Wrot Copper

3380-0119 1 1/8" x 7/8" Wrot Copper

3380-0120 1 1/8" x 1" Wrot Copper

3380-0121 1 1/4" x 1/2" Wrot Copper

3380-0122 1 1/4" x 3/4" Wrot Copper

3380-0123 1 3/8" x 1/2" Wrot Copper

3380-0124 1 3/8" x 5/8" Wrot Copper

3380-0125 1 3/8" x 3/4" Wrot Copper

Section L 25 Fittings



Part Number Item Description (OD Sizes) Finish Picture

3380-0126 1 3/8" x 7/8" Wrot Copper

3380-0127 1 3/8" x 1 1/8" Wrot Copper

3380-0128 1 3/8" x 1 1/4" Wrot Copper

3380-0129 1 5/8" x 5/8" Wrot Copper

3380-0130 1 5/8" x 3/4" Wrot Copper

3380-0131 1 5/8" x 7/8" Wrot Copper

3380-0132 1 5/8" x 1 1/8" Wrot Copper

3380-0133 1 5/8" x 1 3/8" Wrot Copper

3380-0134 2 1/8" x 5/8" Wrot Copper

3380-0135 2 1/8" x 3/4" Wrot Copper

3380-0136 2 1/8" x 7/8" Wrot Copper

3380-0137 2 1/8" x 1 1/8" Wrot Copper

3380-0138 2 1/8" x 1 3/8" Wrot Copper

3380-0139 2 1/8" x 1 5/8" Wrot Copper

3380-0140 2 5/8" x 7/8" Wrot Copper

3380-0141 2 5/8" x 1 1/8" Wrot Copper

3380-0142 2 5/8" x 1 3/8" Wrot Copper

3380-0143 2 5/8" x 1 5/8" Wrot Copper

3380-0144 2 5/8" x 2 1/8" Wrot Copper

3380-0145 3 1/8" x 1 1/8" Wrot Copper

3380-0146 3 1/8" x 1 3/8" Wrot Copper

3380-0147 3 1/8" x 1 5/8" Wrot Copper

3380-0148 3 1/8" x 2 1/8" Wrot Copper

3380-0149 3 1/8" x 2 5/8" Wrot Copper

3380-0150 3 5/8" x 1 1/8" Wrot Copper

3380-0151 3 5/8" x 1 3/8" Wrot Copper

3380-0152 3 5/8" x 1 5/8" Wrot Copper

3380-0153 3 5/8" x 2 1/8" Wrot Copper

3380-0154 3 5/8" x 2 5/8" Wrot Copper

3380-0155 3 5/8" x 3 1/8" Wrot Copper

3380-0156 4 1/8" x 1 3/8" Wrot Copper

3380-0157 4 1/8" x 1 5/8" Wrot Copper

3380-0158 4 1/8" x 2 1/8" Wrot Copper

3380-0159 4 1/8" x 2 5/8" Wrot Copper

3380-0160 4 1/8" x 3 1/8" Wrot Copper

3380-0161 4 1/8" x 3 5/8" Wrot Copper

3380-0162 6 1/8" x 3 1/8" Wrot Copper

3380-0163 6 1/8" x 4 1/8" Wrot Copper

3380-0164 8 1/8" x 6 1/8" Wrot Copper

Section L 26 Fittings



Part Number Item Description (OD Sizes) Finish Picture

45° Street Elbow FTG X C

3380-0301 1/4" Wrot Copper

3380-0302 3/8" Wrot Copper

3380-0303 1/2" Wrot Copper

3380-0304 5/8" Wrot Copper

3380-0305 3/4" Wrot Copper

3380-0306 7/8" Wrot Copper

3380-0307 1 1/8" Wrot Copper

3380-0308 1 3/8" Wrot Copper

3380-0309 1 5/8" Wrot Copper

3380-0310 2 1/8" Wrot Copper

3380-0311 2 5/8" Wrot Copper

3380-0312 3 1/8" Wrot Copper

3380-0313 3 5/8" Wrot Copper

3380-0314 4 1/8" Wrot Copper

45° Elbow C X C

3380-1301 1/4" Wrot Copper

3380-1302 3/8" Wrot Copper

3380-1303 1/2" Wrot Copper

3380-1304 5/8" Wrot Copper

3380-1305 3/4" Wrot Copper

3380-1306 7/8" Wrot Copper

3380-1307 1 1/8" Wrot Copper

3380-1308 1 3/8" Wrot Copper

3380-1309 1 5/8" Wrot Copper

3380-1310 2 1/8" Wrot Copper

3380-1311 2 5/8" Wrot Copper

3380-1312 3 1/8" Wrot Copper

3380-1313 3 5/8" Wrot Copper

3380-1314 4 1/8" Wrot Copper

3380-1315 5 1/8" Wrot Copper

3380-1316 6 1/8" Wrot Copper

90° Street Elbow - Short Turn FTG X C

3380-1402 3/8" Wrot Copper

3380-1403 1/2" Wrot Copper

3380-1404 5/8" Wrot Copper

3380-1405 3/4" Wrot Copper

3380-1406 7/8" Wrot Copper

3380-1407 1 1/8" Wrot Copper

3380-1408 1 3/8" Wrot Copper

3380-1409 1 5/8" Wrot Copper

3380-1410 2 1/8" Wrot Copper

3380-1411 2 5/8" Wrot Copper

3380-1412 3 1/8" Wrot Copper

3380-1414 4 1/8" Wrot Copper

Section L 27 Fittings



Part Number Item Description (OD Sizes) Finish Picture

90° Street Elbow - Long Turn FTG X C

3380-0401 1/4" Wrot Copper

3380-0402 5/16" Wrot Copper

3380-0403 3/8" Wrot Copper

3380-0404 1/2" Wrot Copper

3380-0405 5/8" Wrot Copper

3380-0406 3/4" Wrot Copper

3380-0407 7/8" Wrot Copper

3380-0408 1" Wrot Copper

3380-0409 1 1/8" Wrot Copper

3380-0410 1 1/4" Wrot Copper

3380-0411 1 3/8" Wrot Copper

3380-0412 1 5/8" Wrot Copper

3380-0413 2 1/8" Wrot Copper

3380-0414 2 5/8" Wrot Copper

3380-0415 3 1/8" Wrot Copper

3380-0416 3 5/8" Wrot Copper

3380-0417 4 1/8" Wrot Copper

90° Elbow -  Long Turn C X C

3380-0501 1/4" Wrot Copper

3380-0502 5/16" Wrot Copper

3380-0503 3/8" Wrot Copper

3380-0504 1/2" Wrot Copper

3380-0505 5/8" Wrot Copper

3380-0506 3/4" Wrot Copper

3380-0507 7/8" Wrot Copper

3380-0508 1" Wrot Copper

3380-0509 1 1/8" Wrot Copper

3380-0510 1 1/4" Wrot Copper

3380-0511 1 3/8" Wrot Copper

3380-0512 1 5/8" Wrot Copper

3380-0513 2 1/8" Wrot Copper

3380-0514 2 5/8" Wrot Copper

3380-0515 3 1/8" Wrot Copper

3380-0516 3 5/8" Wrot Copper

3380-0517 4 1/8" Wrot Copper

90° Elbow -  Short Turn C X C

3380-1501 1/4" Wrot Copper

3380-1503 3/8" Wrot Copper

3380-1504 1/2" Wrot Copper

3380-1505 5/8" Wrot Copper

3380-1506 3/4" Wrot Copper

3380-1507 7/8" Wrot Copper

3380-1509 1 1/8" Wrot Copper

3380-1511 1 3/8" Wrot Copper

3380-1512 1 5/8" Wrot Copper

Section L 28 Fittings



Part Number Item Description (OD Sizes) Finish Picture

3380-1513 2 1/8" Wrot Copper

3380-1514 2 5/8" Wrot Copper

3380-1515 3 1/8" Wrot Copper

3380-1517 4 1/8" Wrot Copper

3380-1518 5 1/8" Wrot Copper

90° Reducing Elbow -  Short Turn C X C

3380-1601 1/2" x 3/8" Wrot Copper

3380-1603 5/8" x 1/2" Wrot Copper

3380-1605 7/8" x 5/8" Wrot Copper

3380-1606 1 1/8" x 7/8" Wrot Copper

3380-1607 1 1/8" x 5/8" Wrot Copper

3380-1609 1 3/8" x 1 1/8" Wrot Copper

3380-1611 1 3/8" x 7/8" Wrot Copper

3380-1612 1 5/8" x 1 3/8" Wrot Copper

3380-1613 2 1/8" x 1 5/8" Wrot Copper

Tee C X C X C

3380-0701 1/4" Wrot Copper

3380-0702 5 1/6" Wrot Copper

3380-0703 3/8" Wrot Copper

3380-0704 1/2" Wrot Copper

3380-0705 5/8" Wrot Copper

3380-0706 3/4" Wrot Copper

3380-0707 7/8" Wrot Copper

3380-0708 1" Wrot Copper

3380-0709 1 1/8" Wrot Copper

3380-0710 1 1/4" Wrot Copper

3380-0711 1 3/8" Wrot Copper

3380-0712 1 1/2" Wrot Copper

3380-0713 1 5/8" Wrot Copper

3380-0714 2 1/8" Wrot Copper

3380-0715 2 5/8" Wrot Copper

3380-0716 3 1/8" Wrot Copper

3380-0717 3 5/8" Wrot Copper

3380-0718 4 1/8" Wrot Copper

3380-0719 6 1/8" Wrot Copper

3380-0720 8 1/8" Wrot Copper

Reducing Tee C X C X C

3380-0801 3/8" x 1/4" Wrot Copper

3380-0802 3/8" x 1/2" Wrot Copper

3380-0803 3/8" x 5/8" Wrot Copper

3380-0804 1/2" x 1/4" Wrot Copper

3380-0805 1/2" x 3/8" Wrot Copper

3380-0806 1/2" x 3/8" x 3/8" Wrot Copper

3380-0807 1/2" x 3/8" x 1/2" Wrot Copper

3380-0808 1/2" x 5/8" Wrot Copper

Section L 29 Fittings



Part Number Item Description (OD Sizes) Finish Picture

3380-0809 5/8" x 3/8" x 3/8" Wrot Copper

3380-0810 5/8" x 3/8" x 5/8" Wrot Copper

3380-0811 5/8" x 1/2" x 3/8" Wrot Copper

3380-0812 5/8" x 1/2" x 1/2" Wrot Copper

3380-0813 5/8" x 1/2" x 5/8" Wrot Copper

3380-0814 5/8" x 1/4" Wrot Copper

3380-0815 5/8" x 3/8" Wrot Copper

3380-0816 5/8" x 1/2" Wrot Copper

3380-0817 5/8" x 3/4" Wrot Copper

3380-0818 5/8" x 7/8" Wrot Copper

3380-0819 5/8" x 1 1/8" Wrot Copper

3380-0820 3/4" x 1/2" x 1/2" Wrot Copper

3380-0821 3/4" x 5/8" x 5/8" Wrot Copper

3380-0822 3/4" x 3/8" Wrot Copper

3380-0823 3/4" x 1/2" Wrot Copper

3380-0824 3/4" x 5/8" Wrot Copper

3380-0825 3/4" x 7/8" Wrot Copper

3380-0826 7/8" x 1/2" x 7/8" Wrot Copper

3380-0827 7/8" x 5/8" x 1/2" Wrot Copper

3380-0828 7/8" x 5/8" x 5/8" Wrot Copper

3380-0829 7/8" x 5/8" x 7/8" Wrot Copper

3380-0830 7/8" x 3/4" x 3/4" Wrot Copper

3380-0831 7/8" x 3/8" Wrot Copper

3380-0832 7/8" x 1/2" Wrot Copper

3380-0833 7/8" x 5/8" Wrot Copper

3380-0834 7/8" x 3/4" Wrot Copper

3380-0835 7/8" x 1 1/8" Wrot Copper

3380-0836 1" x 1/2" Wrot Copper

3380-0837 1" x 3/4" Wrot Copper

3380-0838 1 1/8" x 5/8" x 5/8" Wrot Copper

3380-0839 1 1/8" x 5/8" x 7/8" Wrot Copper

3380-0840 1 1/8" x 5/8" x 1 1/8" Wrot Copper

3380-0841 1 1/8" x 7/8" x 5/8" Wrot Copper

3380-0842 1 1/8" x 7/8" x 7/8" Wrot Copper

3380-0843 1 1/8" x 7/8" x 1 1/8" Wrot Copper

3380-0844 1 1/8" x 1/2" Wrot Copper

3380-0845 1 1/8" x 5/8" Wrot Copper

3380-0846 1 1/8" x 3/4" Wrot Copper

3380-0847 1 1/8" x 7/8" Wrot Copper

3380-0848 1 1/8" x 1 3/8" Wrot Copper

3380-0849 1 1/8" x 1 5/8" Wrot Copper

3380-0850 1 1/4" x 3/4" Wrot Copper

3380-0851 1 1/4" x 1" Wrot Copper

3380-0852 1 3/8" x 5/8" x 5/8" Wrot Copper

3380-0853 1 3/8" x 5/8" x 1 3/8" Wrot Copper

3380-0854 1 3/8" x 7/8" x 5/8" Wrot Copper

3380-0855 1 3/8" x 7/8" x 7/8" Wrot Copper

3380-0856 1 3/8" x 7/8" x 1 1/8" Wrot Copper

Section L 30 Fittings



Part Number Item Description (OD Sizes) Finish Picture

3380-0857 1 3/8" x 7/8" x 1 3/8" Wrot Copper

3380-0858 1 3/8" x 1 1/8" x 5/8" Wrot Copper

3380-0859 1 3/8" x 1 1/8" x 7/8" Wrot Copper

3380-0860 1 3/8" x 1 1/8" x 1 1/8" Wrot Copper

3380-0861 1 3/8" x 1 1/8" x 1 3/8" Wrot Copper

3380-0862 1 3/8" x 1/2" Wrot Copper

3380-0863 1 3/8" x 5/8" Wrot Copper

3380-0864 1 3/8" x 3/4" Wrot Copper

3380-0865 1 3/8" x 7/8" Wrot Copper

3380-0866 1 3/8" x 1 1/8" Wrot Copper

3380-0867 1 3/8" x 1 5/8 Wrot Copper

3380-0868 1 3/8" x 2 1/8" Wrot Copper

3380-0869 1 5/8" x 5/8" x 1 1/8" Wrot Copper

3380-0870 1 5/8" x 5/8" x 1 3/8" Wrot Copper

3380-0871 1 5/8" x 5/8" x 1 5/8" Wrot Copper

3380-0872 1 5/8" x 7/8" x 5/8" Wrot Copper

3380-0873 1 5/8" x 7/8" x 7/8" Wrot Copper

3380-0874 1 5/8" x 7/8" x 1 1/8" Wrot Copper

3380-0875 1 5/8" x 7/8" x 1 3/8" Wrot Copper

3380-0876 1 5/8" x 7/8" x 1 5/8" Wrot Copper

3380-0877 1 5/8" x 1 1/8" x 5/8" Wrot Copper

3380-0878 1 5/8" x 1 1/8" x 7/8" Wrot Copper

3380-0879 1 5/8" x 1 1/8" x 1 1/8" Wrot Copper

3380-0880 1 5/8" x 1 1/8" x 1 3/8" Wrot Copper

3380-0881 1 5/8" x 1 1/8" x 1 5/8" Wrot Copper

3380-0882 1 5/8" x 1 3/8" x 5/8" Wrot Copper

3380-0883 1 5/8" x 1 3/8" x 7/8" Wrot Copper

3380-0884 1 5/8" x 1 3/8" x 1 1/8" Wrot Copper

3380-0885 1 5/8" x 1 3/8" x 1 3/8" Wrot Copper

3380-0886 1 5/8" x 1 3/8" x 1 5/8" Wrot Copper

3380-0887 1 5/8" x 1/2" Wrot Copper

3380-0888 1 5/8" x 5/8" Wrot Copper

3380-0889 1 5/8" x 3/4" Wrot Copper

3380-0890 1 5/8" x 7/8" Wrot Copper

3380-0891 1 5/8" x 1 1/8" Wrot Copper

3380-0892 1 5/8" x 1 3/8" Wrot Copper

3380-0893 1 5/8" x 2 1/8" Wrot Copper

3380-0894 2 1/8" x 5/8" x 2 1/8" Wrot Copper

3380-0895 2 1/8" x 7/8" x 7/8" Wrot Copper

3380-0896 2 1/8" x 7/8" x 2 1/8" Wrot Copper

3380-0897 2 1/8" x 1 1/8" x 1 1/8" Wrot Copper

3380-0898 2 1/8" x 1 1/8" x 1 5/8" Wrot Copper

3380-0899 2 1/8" x 1 1/8" x 2 1/8" Wrot Copper

3380-0900 2 1/8" x 1 3/8" x 1 1/8" Wrot Copper

3380-0901 2 1/8" x 1 3/8" x 1 3/8" Wrot Copper

3380-0902 2 1/8" x 1 3/8" x 1 5/8" Wrot Copper

3380-0903 2 1/8" x 1 3/8" x 2 1/8" Wrot Copper

3380-0904 2 1/8" x 1 5/8" x 7/8" Wrot Copper

Section L 31 Fittings



Part Number Item Description (OD Sizes) Finish Picture

3380-0905 2 1/8" x 1 5/8" x 1 1/8" Wrot Copper

3380-0906 2 1/8" x 1 5/8" x 1 3/8" Wrot Copper

3380-0907 2 1/8" x 1 5/8" x 1 5/8" Wrot Copper

3380-0908 2 1/8" x 1 5/8" x 2 1/8" Wrot Copper

3380-0909 2 1/8" x 2 1/8" x 2 5/8" Wrot Copper

3380-0910 2 1/8" x 5/8" Wrot Copper

3380-0911 2 1/8" x 7/8" Wrot Copper

3380-0912 2 1/8" x 1 1/8" Wrot Copper

3380-0913 2 1/8" x 1 3/8" Wrot Copper

3380-0914 2 1/8" x 1 5/8" Wrot Copper

3380-0915 2 5/8" x 7/8" x 2 5/8" Wrot Copper

3380-0916 2 5/8" x 2 1/8" x 1 5/8 Wrot Copper

3380-0917 2 5/8" x 2 1/8" x 2 1/8" Wrot Copper

3380-0918 2 5/8" x 2 1/8" x 2 5/8" Wrot Copper

3380-0919 2 5/8" x 5/8" Wrot Copper

3380-0920 2 5/8" x 7/8" Wrot Copper

3380-0921 2 5/8" x 1 1/8" Wrot Copper

3380-0922 2 5/8" x 1 3/8" Wrot Copper

3380-0923 2 5/8" x 1 5/8" Wrot Copper

3380-0924 2 5/8" x 2 1/8" Wrot Copper

3380-0925 3 1/8"x 2 1/8" x 1 5/8" Wrot Copper

3380-0926 3 1/8" x 2 1/8" x 2 1/8" Wrot Copper

3380-0927 3 1/8" x 2 1/8" x 3 1/8" Wrot Copper

3380-0928 3 1/8" x 2 5/8" x 2 5/8" Wrot Copper

3380-0929 3 1/8" x 5/8" Wrot Copper

3380-0930 3 1/8" x 7/8" Wrot Copper

3380-0931 3 1/8" x 1 1/8" Wrot Copper

3380-0932 3 1/8" x 1 3/8" Wrot Copper

3380-0933 3 1/8" x 1 5/8" Wrot Copper

3380-0934 3 1/8" x 2 1/8" Wrot Copper

3380-0935 3 1/8" x 2 5/8" Wrot Copper

3380-0936 3 5/8" x 1 1/8" Wrot Copper

3380-0937 3 5/8" x 1 3/8" Wrot Copper

3380-0938 3 5/8" x 1 5/8" Wrot Copper

3380-0939 3 5/8" x 2 1/8" Wrot Copper

3380-0940 3 5/8" x 2 5/8" Wrot Copper

3380-0941 3 5/8" x 3 1/8" Wrot Copper

3380-0942 4 1/8" x 2 1/8" x 4 1/8" Wrot Copper

3380-0943 4 1/8" x 2 5/8" x 4 1/8" Wrot Copper

3380-0944 4 1/8" x 3 1/8" x 2 5/8" Wrot Copper

3380-0945 4 1/8" x 3 1/8" x 3 1/8" Wrot Copper

3380-0946 4 1/8" x 7/8" Wrot Copper

3380-0947 4 1/8" x 1 1/8" Wrot Copper

3380-0948 4 1/8" x 1 3/8" Wrot Copper

3380-0949 4 1/8" x 1 5/8" Wrot Copper

3380-0950 4 1/8" x 2 1/8" Wrot Copper

3380-0951 4 1/8" x 2 5/8" Wrot Copper

3380-0952 4 1/8" x 3 1/8" Wrot Copper

Section L 32 Fittings



Part Number Item Description (OD Sizes) Finish Picture

3380-0953 6 1/8" x 4 1/8" Wrot Copper

Tube Cap C

3380-1201 1/4" Wrot Copper

3380-1202 3/8" Wrot Copper

3380-1203 1/2" Wrot Copper

3380-1204 5/8" Wrot Copper

3380-1205 3/4" Wrot Copper

3380-1206 7/8" Wrot Copper

3380-1207 1" Wrot Copper

3380-1208 1 1/8" Wrot Copper

3380-1209 1 1/4" Wrot Copper

3380-1210 1 3/8" Wrot Copper

3380-1211 1 1/2" Wrot Copper

3380-1212 1 5/8" Wrot Copper

3380-1213 2 1/8" Wrot Copper

3380-1214 2 5/8" Wrot Copper

3380-1215 3 1/8" Wrot Copper

3380-1216 3 5/8" Wrot Copper

3380-1217 4 1/8" Wrot Copper

3380-1218 6 1/8" Wrot Copper

Fitting Reducer FTG X C

3380-1701 3/8" x 1/4" Wrot Copper

3380-1702 1/2" x 1/4" Wrot Copper

3380-1703 1/2" x 3/8" Wrot Copper

3380-1704 5/8" x 1/2" Wrot Copper

3380-1705 5/8" x 3/8" Wrot Copper

3380-1706 3/4" x 1/2" Wrot Copper

3380-1707 3/4" x 5/8" Wrot Copper

3380-1708 7/8" x 1/2" Wrot Copper

3380-1709 7/8" x 3/4" Wrot Copper

3380-1710 7/8" x 3/8" Wrot Copper

3380-1711 7/8" x 5/8" Wrot Copper

3380-1712 1 1/8" x 1/2" Wrot Copper

3380-1713 1 1/8" x 3/4" Wrot Copper

3380-1714 1 1/8" x 5/8" Wrot Copper

3380-1715 1 1/8" x 7/8" Wrot Copper

3380-1716 1 3/8" x 1 1/8" Wrot Copper

3380-1717 1 3/8" x 7/8" Wrot Copper

3380-1718 1 3/8" x 5/8" Wrot Copper

3380-1719 1 5/8" x 1 1/8" Wrot Copper

3380-1720 1 5/8" x 1 3/8" Wrot Copper

3380-1721 1 5/8" x 5/8" Wrot Copper

3380-1722 1 5/8" x 7/8" Wrot Copper

3380-1723 2 1/8" x 1 1/8" Wrot Copper

3380-1724 2 1/8" x 1 3/8" Wrot Copper

3380-1725 2 1/8" x 1 5/8" Wrot Copper

Section L 33 Fittings



Part Number Item Description (OD Sizes) Finish Picture

3380-1726 2 1/8" x 5/8" Wrot Copper

3380-1727 2 1/8" x 7/8" Wrot Copper

3380-1728 2 5/8" x 1 1/8" Wrot Copper

3380-1729 2 5/8" x 1 3/8" Wrot Copper

3380-1730 2 5/8" x 1 5/8" Wrot Copper

3380-1731 2 5/8" x 2 1/8" Wrot Copper

3380-1732 3 1/8" x 1 3/8" Wrot Copper

3380-1733 3 1/8" x 1 5/8" Wrot Copper

3380-1734 3 1/8" x 2 1/8" Wrot Copper

3380-1735 3 1/8" x 2 5/8" Wrot Copper

3380-1736 4 1/8" x 2 1/8" Wrot Copper

3380-1737 4 1/8" x 2 5/8" Wrot Copper

3380-1738 4 1/8" x 3 1/8" Wrot Copper

Male Adapter C X M

3380-1801 1/4" x 1/4" Wrot Copper

3380-1802 1/4" x 1/8" Wrot Copper

3380-1803 3/8" x 1/8" Wrot Copper

3380-1804 3/8" x 1/4" Wrot Copper

3380-1805 3/8" x 1/2" Wrot Copper

3380-1806 3/8" x 3/8" Wrot Copper

3380-1807 1/2" x 1/4" Wrot Copper

3380-1808 1/2" x 3/8" Wrot Copper

3380-1809 1/2" x 1/2" Wrot Copper

3380-1810 5/8" x 1/4" Wrot Copper

3380-1811 5/8" x 3/8" Wrot Copper

3380-1812 5/8" x 1/2" Wrot Copper

3380-1813 5/8" x 3/4" Wrot Copper

3380-1814 5/8" x 1" Wrot Copper

3380-1815 3/4" x 1/2" Wrot Copper

3380-1816 3/4" x 3/4" Wrot Copper

3380-1817 7/8" x 1/2" Wrot Copper

3380-1818 7/8" x 3/4" Wrot Copper

3380-1819 7/8" x 1" Wrot Copper

3380-1820 1 1/8" x 1/2" Wrot Copper

3380-1821 1 1/8" x 3/4" Wrot Copper

3380-1822 1 1/8" x 1" Wrot Copper

3380-1823 1 1/8" x 1 1/4" Wrot Copper

3380-1824 1 1/8" x 1 1/2" Wrot Copper

3380-1825 1 3/8" x 3/4" Wrot Copper

3380-1826 1 3/8" x 1" Wrot Copper

3380-1827 1 3/8" x 1 1/4" Wrot Copper

3380-1828 1 3/8" x 1 1/2" Wrot Copper

3380-1829 1 5/8" x 1" Wrot Copper

3380-1830 1 5/8" x 1 1/4" Wrot Copper

3380-1831 1 5/8" x 1 1/2" Wrot Copper

3380-1832 1 5/8" x 2" Wrot Copper

3380-1833 2 1/8" x 1 1/4" Wrot Copper

Section L 34 Fittings



Part Number Item Description (OD Sizes) Finish Picture

3380-1834 2 1/8" x 1 1/2" Wrot Copper

3380-1835 2 1/8" x 2" Wrot Copper

3380-1836 2 5/8" x 2 1/2" Wrot Copper

3380-1837 2 5/8" x 2" Wrot Copper

3380-1838 3 1/8" x 3" Wrot Copper

3380-1839 4 1/8" x 4" Wrot Copper

Female Adapter C X F

3380-1901 1/4" x 1/8" Wrot Copper

3380-1902 1/4" x 1/4" Wrot Copper

3380-1903 3/8" x 1/4" Wrot Copper

3380-1904 3/8" x 3/8" Wrot Copper

3380-1905 1/2" x 3/8" Wrot Copper

3380-1906 1/2" x 1/4" Wrot Copper

3380-1907 1/2" x 1/2" Wrot Copper

3380-1908 5/8" x 1/8" Wrot Copper

3380-1909 5/8" x 1/4" Wrot Copper

3380-1910 5/8" x 3/8" Wrot Copper

3380-1911 5/8" x 1/2" Wrot Copper

3380-1912 5/8" x 3/4" Wrot Copper

3380-1913 5/8" x 1" Wrot Copper

3380-1914 3/4" x 3/4" Wrot Copper

3380-1915 3/4" x 1/2" Wrot Copper

3380-1916 7/8" x 1/2" Wrot Copper

3380-1917 7/8" x 3/4" Wrot Copper

3380-1918 7/8" x 1" Wrot Copper

3380-1919 1 1/8" x 1/2" Wrot Copper

3380-1920 1 1/8" x 3/4" Wrot Copper

3380-1921 1 1/8" x 1" Wrot Copper

3380-1922 1 1/8" x 1 1/4" Wrot Copper

3380-1923 1 3/8" x 1" Wrot Copper

3380-1924 13 /8" x 3/4" Wrot Copper

3380-1925 1 3/8" x 1 1/4" Wrot Copper

3380-1926 1 3/8" x 1 1/2" Wrot Copper

3380-1927 1 5/8" x 1 1/4" Wrot Copper

3380-1928 1 5/8" x 1 1/2" Wrot Copper

3380-1929 1 5/8" x 2" Wrot Copper

3380-1930 2 1/8" x 11 /2" Wrot Copper

3380-1931 2 1/8" x 2" Wrot Copper

3380-1932 2 5/8" x 2 1/2" Wrot Copper

3380-1933 3 1/8" x 3" Wrot Copper

Section L 35 Fittings



Part Number Item Description (OD Sizes) Finish Picture

Suction Line P-Trap - C X C

3380-2001 3/4" Wrot Copper

3380-2002 5/8" Wrot Copper

3380-2003 7/8" Wrot Copper

3380-2004 1 1/8" Wrot Copper

3380-2005 1 3/8" Wrot Copper

3380-2006 1 5/8" Wrot Copper

3380-2007 2 1/8" Wrot Copper

Section L 36 Fittings



B
la

c
k S

te
e

l N
ip

p
le

s - S
C

H
4

0
 - M

IP
 x M

IP

1
/
8
"

1
/
4
"

3
/
8
"

1
/
2
"

3
/
4
"

1
"

1
-1

/
4
"

1
-1

/
2
"

2
"

2
-1

/
2
"

3
"

3
-1

/
2
"

4
"

5
"

6
"

3
3
9
0
-B

C
0
C

3
3
9
0
-B

D
0
C

3
3
9
0
-B

E0
C

3
3
9
0
-B

0
0
C

3
3
9
0
-B

1
0
C

3
3
9
0
-B

2
0
C

3
3
9
0
-B

3
0
C

3
3
9
0
-B

4
0
C

3
3
9
0
-B

5
0
C

3
3
9
0
-B

6
0
C

3
3
9
0
-B

7
0
C

3
3
9
0
-B

8
0
C

3
3
9
0
-B

9
0
C

3
3
9
0
-B

A
0
C

3
3
9
0
-B

B
0
C

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

3
3
9
0
-B

C
0
1

3
3
9
0
-B

D
0
1

3
3
9
0
-B

E0
1

3
3
9
0
-B

0
0
1

3
3
9
0
-B

1
0
1

1
-1

/
2
"

1
-1

/
2
"

1
-1

/
2
"

1
-1

/
2
"

1
-1

/
2
"

3
3
9
0
-B

C
0
2

3
3
9
0
-B

D
0
2

3
3
9
0
-B

E0
2

3
3
9
0
-B

0
0
2

3
3
9
0
-B

1
0
2

3
3
9
0
-B

2
0
2

3
3
9
0
-B

3
0
2

3
3
9
0
-B

4
0
2

2
"

2
"

2
"

2
"

2
"

2
"

2
"

2
"

3
3
9
0
-B

C
0
3

3
3
9
0
-B

D
0
3

3
3
9
0
-B

E0
3

3
3
9
0
-B

0
0
3

3
3
9
0
-B

1
0
3

3
3
9
0
-B

2
0
3

3
3
9
0
-B

3
0
3

3
3
9
0
-B

4
0
3

3
3
9
0
-B

5
0
3

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

3
3
9
0
-B

C
0
4

3
3
9
0
-B

D
0
4

3
3
9
0
-B

E0
4

3
3
9
0
-B

0
0
4

3
3
9
0
-B

1
0
4

3
3
9
0
-B

2
0
4

3
3
9
0
-B

3
0
4

3
3
9
0
-B

4
0
4

3
3
9
0
-B

5
0
4

3
3
9
0
-B

6
0
4

3
3
9
0
-B

7
0
4

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
3
9
0
-B

C
0
5

3
3
9
0
-B

D
0
5

3
3
9
0
-B

E0
5

3
3
9
0
-B

0
0
5

3
3
9
0
-B

1
0
5

3
3
9
0
-B

2
0
5

3
3
9
0
-B

3
0
5

3
3
9
0
-B

4
0
5

3
3
9
0
-B

5
0
5

3
3
9
0
-B

6
0
5

3
3
9
0
-B

7
0
5

3
3
9
0
-B

8
0
5

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
3
9
0
-B

C
0
6

3
3
9
0
-B

D
0
6

3
3
9
0
-B

E0
6

3
3
9
0
-B

0
0
6

3
3
9
0
-B

1
0
6

3
3
9
0
-B

2
0
6

3
3
9
0
-B

3
0
6

3
3
9
0
-B

4
0
6

3
3
9
0
-B

5
0
6

3
3
9
0
-B

6
0
6

3
3
9
0
-B

7
0
6

3
3
9
0
-B

8
0
6

3
3
9
0
-B

9
0
6

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

3
3
9
0
-B

C
0
7

3
3
9
0
-B

D
0
7

3
3
9
0
-B

E0
7

3
3
9
0
-B

0
0
7

3
3
9
0
-B

1
0
7

3
3
9
0
-B

2
0
7

3
3
9
0
-B

3
0
7

3
3
9
0
-B

4
0
7

3
3
9
0
-B

5
0
7

3
3
9
0
-B

6
0
7

3
3
9
0
-B

7
0
7

3
3
9
0
-B

8
0
7

3
3
9
0
-B

9
0
7

3
3
9
0
-B

A
0
7

3
3
9
0
-B

B
0
7

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

3
3
9
0
-B

C
0
8

3
3
9
0
-B

D
0
8

3
3
9
0
-B

E0
8

3
3
9
0
-B

0
0
8

3
3
9
0
-B

1
0
8

3
3
9
0
-B

2
0
8

3
3
9
0
-B

3
0
8

3
3
9
0
-B

4
0
8

3
3
9
0
-B

5
0
8

3
3
9
0
-B

6
0
8

3
3
9
0
-B

7
0
8

3
3
9
0
-B

8
0
8

3
3
9
0
-B

9
0
8

3
3
9
0
-B

A
0
8

3
3
9
0
-B

B
0
8

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

3
3
9
0
-B

C
0
9

3
3
9
0
-B

D
0
9

3
3
9
0
-B

E0
9

3
3
9
0
-B

0
0
9

3
3
9
0
-B

1
0
9

3
3
9
0
-B

2
0
9

3
3
9
0
-B

3
0
9

3
3
9
0
-B

4
0
9

3
3
9
0
-B

5
0
9

3
3
9
0
-B

6
0
9

3
3
9
0
-B

7
0
9

3
3
9
0
-B

8
0
9

3
3
9
0
-B

9
0
9

3
3
9
0
-B

A
0
9

3
3
9
0
-B

B
0
9

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

3
3
9
0
-B

C
1
0

3
3
9
0
-B

D
1
0

3
3
9
0
-B

E1
0

3
3
9
0
-B

0
1
0

3
3
9
0
-B

1
1
0

3
3
9
0
-B

2
1
0

3
3
9
0
-B

3
1
0

3
3
9
0
-B

4
1
0

3
3
9
0
-B

5
1
0

3
3
9
0
-B

6
1
0

3
3
9
0
-B

7
1
0

3
3
9
0
-B

8
1
0

3
3
9
0
-B

9
1
0

3
3
9
0
-B

A
1
0

3
3
9
0
-B

B
1
0

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

3
3
9
0
-B

C
1
5

3
3
9
0
-B

D
1
5

3
3
9
0
-B

E1
5

3
3
9
0
-B

0
1
5

3
3
9
0
-B

1
1
5

3
3
9
0
-B

2
1
5

3
3
9
0
-B

3
1
5

3
3
9
0
-B

4
1
5

3
3
9
0
-B

5
1
5

3
3
9
0
-B

6
1
5

3
3
9
0
-B

7
1
5

3
3
9
0
-B

8
1
5

3
3
9
0
-B

9
1
5

3
3
9
0
-B

A
1
5

3
3
9
0
-B

B
1
5

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

3
3
9
0
-B

C
1
1

3
3
9
0
-B

D
1
1

3
3
9
0
-B

E1
1

3
3
9
0
-B

0
1
1

3
3
9
0
-B

1
1
1

3
3
9
0
-B

2
1
1

3
3
9
0
-B

3
1
1

3
3
9
0
-B

4
1
1

3
3
9
0
-B

5
1
1

3
3
9
0
-B

6
1
1

3
3
9
0
-B

7
1
1

3
3
9
0
-B

8
1
1

3
3
9
0
-B

9
1
1

3
3
9
0
-B

A
1
1

3
3
9
0
-B

B
1
1

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

3
3
9
0
-B

C
1
6

3
3
9
0
-B

D
1
6

3
3
9
0
-B

E1
6

3
3
9
0
-B

0
1
6

3
3
9
0
-B

1
1
6

3
3
9
0
-B

2
1
6

3
3
9
0
-B

3
1
6

3
3
9
0
-B

4
1
6

3
3
9
0
-B

5
1
6

3
3
9
0
-B

6
1
6

3
3
9
0
-B

7
1
6

3
3
9
0
-B

8
1
6

3
3
9
0
-B

9
1
6

3
3
9
0
-B

A
1
6

3
3
9
0
-B

B
1
6

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

3
3
9
0
-B

C
1
2

3
3
9
0
-B

D
1
2

3
3
9
0
-B

E1
2

3
3
9
0
-B

0
1
2

3
3
9
0
-B

1
1
2

3
3
9
0
-B

2
1
2

3
3
9
0
-B

3
1
2

3
3
9
0
-B

4
1
2

3
3
9
0
-B

5
1
2

3
3
9
0
-B

6
1
2

3
3
9
0
-B

7
1
2

3
3
9
0
-B

8
1
2

3
3
9
0
-B

9
1
2

3
3
9
0
-B

A
1
2

3
3
9
0
-B

B
1
2

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

3
3
9
0
-B

C
1
7

3
3
9
0
-B

D
1
7

3
3
9
0
-B

E1
7

3
3
9
0
-B

0
1
7

3
3
9
0
-B

1
1
7

3
3
9
0
-B

2
1
7

3
3
9
0
-B

3
1
7

3
3
9
0
-B

4
1
7

3
3
9
0
-B

5
1
7

3
3
9
0
-B

6
1
7

3
3
9
0
-B

7
1
7

3
3
9
0
-B

8
1
7

3
3
9
0
-B

9
1
7

3
3
9
0
-B

A
1
7

3
3
9
0
-B

B
1
7

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

3
3
9
0
-B

C
1
3

3
3
9
0
-B

D
1
3

3
3
9
0
-B

E1
3

3
3
9
0
-B

0
1
3

3
3
9
0
-B

1
1
3

3
3
9
0
-B

2
1
3

3
3
9
0
-B

3
1
3

3
3
9
0
-B

4
1
3

3
3
9
0
-B

5
1
3

3
3
9
0
-B

6
1
3

3
3
9
0
-B

7
1
3

3
3
9
0
-B

8
1
3

3
3
9
0
-B

9
1
3

3
3
9
0
-B

A
1
3

3
3
9
0
-B

B
1
3

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

3
3
9
0
-B

0
1
4

3
3
9
0
-B

1
1
4

3
3
9
0
-B

2
1
4

3
3
9
0
-B

3
1
4

3
3
9
0
-B

4
1
4

3
3
9
0
-B

5
1
4

1
8
"

1
8
"

1
8
"

1
8
"

1
8
"

1
8
"

3
3
9
0
-B

0
1
8

3
3
9
0
-B

1
1
8

3
3
9
0
-B

2
1
8

3
3
9
0
-B

3
1
8

3
3
9
0
-B

4
1
8

3
3
9
0
-B

5
1
8

2
4
"

2
4
"

2
4
"

2
4
"

2
4
"

2
4
"

3
3
9
0
-B

0
1
9

3
3
9
0
-B

1
1
9

3
3
9
0
-B

2
1
9

3
3
9
0
-B

3
1
9

3
3
9
0
-B

4
1
9

3
3
9
0
-B

5
1
9

3
0
"

3
0
"

3
0
"

3
0
"

3
0
"

3
0
"

3
3
9
0
-B

0
2
0

3
3
9
0
-B

1
2
0

3
3
9
0
-B

2
2
0

3
3
9
0
-B

3
2
0

3
3
9
0
-B

4
2
0

3
3
9
0
-B

5
2
0

3
6
"

3
6
"

3
6
"

3
6
"

3
6
"

3
6
"

3
3
9
0
-B

0
2
1

3
3
9
0
-B

1
2
1

3
3
9
0
-B

2
2
1

3
3
9
0
-B

3
2
1

3
3
9
0
-B

4
2
1

3
3
9
0
-B

5
2
1

4
8
"

4
8
"

4
8
"

4
8
"

4
8
"

4
8
"

3
3
9
0
-B

0
2
2

3
3
9
0
-B

1
2
2

3
3
9
0
-B

2
2
2

3
3
9
0
-B

3
2
2

3
3
9
0
-B

4
2
2

3
3
9
0
-B

5
2
2

6
0
"

6
0
"

6
0
"

6
0
"

6
0
"

6
0
"

3
3
9
0
-B

0
2
3

3
3
9
0
-B

1
2
3

3
3
9
0
-B

2
2
3

3
3
9
0
-B

3
2
3

3
3
9
0
-B

4
2
3

3
3
9
0
-B

5
2
3

7
2
"

7
2
"

7
2
"

7
2
"

7
2
"

7
2
"

Section L
37 

Fittings



G
a

lva
n

ize
d

 S
te

e
l N

ip
p

le
s - S

C
H

4
0

 - M
IP

 x M
IP

1
/
8
"

1
/
4
"

3
/
8
"

1
/
2
"

3
/
4
"

1
"

1
-1

/
4
"

1
-1

/
2
"

2
"

2
-1

/
2
"

3
"

3
-1

/
2
"

4
"

5
"

6
"

3
3
9
0
-G

C
0
C

3
3
9
0
-G

D
0
C

3
3
9
0
-G

E0
C

3
3
9
0
-G

0
0
C

3
3
9
0
-G

1
0
C

3
3
9
0
-G

2
0
C

3
3
9
0
-G

3
0
C

3
3
9
0
-G

4
0
C

3
3
9
0
-G

5
0
C

3
3
9
0
-G

6
0
C

3
3
9
0
-G

7
0
C

3
3
9
0
-G

8
0
C

3
3
9
0
-G

9
0
C

3
3
9
0
-G

A
0
C

3
3
9
0
-G

B
0
C

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

3
3
9
0
-G

C
0
1

3
3
9
0
-G

D
0
1

3
3
9
0
-G

E0
1

3
3
9
0
-G

0
0
1

3
3
9
0
-G

1
0
1

1
-1

/
2
"

1
-1

/
2
"

1
-1

/
2
"

1
-1

/
2
"

1
-1

/
2
"

3
3
9
0
-G

C
0
2

3
3
9
0
-G

D
0
2

3
3
9
0
-G

E0
2

3
3
9
0
-G

0
0
2

3
3
9
0
-G

1
0
2

3
3
9
0
-G

2
0
2

3
3
9
0
-G

3
0
2

3
3
9
0
-G

4
0
2

2
"

2
"

2
"

2
"

2
"

2
"

2
"

2
"

3
3
9
0
-G

C
0
3

3
3
9
0
-G

D
0
3

3
3
9
0
-G

E0
3

3
3
9
0
-G

0
0
3

3
3
9
0
-G

1
0
3

3
3
9
0
-G

2
0
3

3
3
9
0
-G

3
0
3

3
3
9
0
-G

4
0
3

3
3
9
0
-G

5
0
3

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

3
3
9
0
-G

C
0
4

3
3
9
0
-G

D
0
4

3
3
9
0
-G

E0
4

3
3
9
0
-G

0
0
4

3
3
9
0
-G

1
0
4

3
3
9
0
-G

2
0
4

3
3
9
0
-G

3
0
4

3
3
9
0
-G

4
0
4

3
3
9
0
-G

5
0
4

3
3
9
0
-G

6
0
4

3
3
9
0
-G

7
0
4

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
3
9
0
-G

C
0
5

3
3
9
0
-G

D
0
5

3
3
9
0
-G

E0
5

3
3
9
0
-G

0
0
5

3
3
9
0
-G

1
0
5

3
3
9
0
-G

2
0
5

3
3
9
0
-G

3
0
5

3
3
9
0
-G

4
0
5

3
3
9
0
-G

5
0
5

3
3
9
0
-G

6
0
5

3
3
9
0
-G

7
0
5

3
3
9
0
-G

8
0
5

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
3
9
0
-G

C
0
6

3
3
9
0
-G

D
0
6

3
3
9
0
-G

E0
6

3
3
9
0
-G

0
0
6

3
3
9
0
-G

1
0
6

3
3
9
0
-G

2
0
6

3
3
9
0
-G

3
0
6

3
3
9
0
-G

4
0
6

3
3
9
0
-G

5
0
6

3
3
9
0
-G

6
0
6

3
3
9
0
-G

7
0
6

3
3
9
0
-G

8
0
6

3
3
9
0
-G

9
0
6

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

3
3
9
0
-G

C
0
7

3
3
9
0
-G

D
0
7

3
3
9
0
-G

E0
7

3
3
9
0
-G

0
0
7

3
3
9
0
-G

1
0
7

3
3
9
0
-G

2
0
7

3
3
9
0
-G

3
0
7

3
3
9
0
-G

4
0
7

3
3
9
0
-G

5
0
7

3
3
9
0
-G

6
0
7

3
3
9
0
-G

7
0
7

3
3
9
0
-G

8
0
7

3
3
9
0
-G

9
0
7

3
3
9
0
-G

A
0
7

3
3
9
0
-G

B
0
7

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

3
3
9
0
-G

C
0
8

3
3
9
0
-G

D
0
8

3
3
9
0
-G

E0
8

3
3
9
0
-G

0
0
8

3
3
9
0
-G

1
0
8

3
3
9
0
-G

2
0
8

3
3
9
0
-G

3
0
8

3
3
9
0
-G

4
0
8

3
3
9
0
-G

5
0
8

3
3
9
0
-G

6
0
8

3
3
9
0
-G

7
0
8

3
3
9
0
-G

8
0
8

3
3
9
0
-G

9
0
8

3
3
9
0
-G

A
0
8

3
3
9
0
-G

B
0
8

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

3
3
9
0
-G

C
0
9

3
3
9
0
-G

D
0
9

3
3
9
0
-G

E0
9

3
3
9
0
-G

0
0
9

3
3
9
0
-G

1
0
9

3
3
9
0
-G

2
0
9

3
3
9
0
-G

3
0
9

3
3
9
0
-G

4
0
9

3
3
9
0
-G

5
0
9

3
3
9
0
-G

6
0
9

3
3
9
0
-G

7
0
9

3
3
9
0
-G

8
0
9

3
3
9
0
-G

9
0
9

3
3
9
0
-G

A
0
9

3
3
9
0
-G

B
0
9

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

3
3
9
0
-G

C
1
0

3
3
9
0
-G

D
1
0

3
3
9
0
-G

E1
0

3
3
9
0
-G

0
1
0

3
3
9
0
-G

1
1
0

3
3
9
0
-G

2
1
0

3
3
9
0
-G

3
1
0

3
3
9
0
-G

4
1
0

3
3
9
0
-G

5
1
0

3
3
9
0
-G

6
1
0

3
3
9
0
-G

7
1
0

3
3
9
0
-G

8
1
0

3
3
9
0
-G

9
1
0

3
3
9
0
-G

A
1
0

3
3
9
0
-G

B
1
0

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

3
3
9
0
-G

C
1
5

3
3
9
0
-G

D
1
5

3
3
9
0
-G

E1
5

3
3
9
0
-G

0
1
5

3
3
9
0
-G

1
1
5

3
3
9
0
-G

2
1
5

3
3
9
0
-G

3
1
5

3
3
9
0
-G

4
1
5

3
3
9
0
-G

5
1
5

3
3
9
0
-G

6
1
5

3
3
9
0
-G

7
1
5

3
3
9
0
-G

8
1
5

3
3
9
0
-G

9
1
5

3
3
9
0
-G

A
1
5

3
3
9
0
-G

B
1
5

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

3
3
9
0
-G

C
1
1

3
3
9
0
-G

D
1
1

3
3
9
0
-G

E1
1

3
3
9
0
-G

0
1
1

3
3
9
0
-G

1
1
1

3
3
9
0
-G

2
1
1

3
3
9
0
-G

3
1
1

3
3
9
0
-G

4
1
1

3
3
9
0
-G

5
1
1

3
3
9
0
-G

6
1
1

3
3
9
0
-G

7
1
1

3
3
9
0
-G

8
1
1

3
3
9
0
-G

9
1
1

3
3
9
0
-G

A
1
1

3
3
9
0
-G

B
1
1

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

3
3
9
0
-G

C
1
6

3
3
9
0
-G

D
1
6

3
3
9
0
-G

E1
6

3
3
9
0
-G

0
1
6

3
3
9
0
-G

1
1
6

3
3
9
0
-G

2
1
6

3
3
9
0
-G

3
1
6

3
3
9
0
-G

4
1
6

3
3
9
0
-G

5
1
6

3
3
9
0
-G

6
1
6

3
3
9
0
-G

7
1
6

3
3
9
0
-G

8
1
6

3
3
9
0
-G

9
1
6

3
3
9
0
-G

A
1
6

3
3
9
0
-G

B
1
6

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

3
3
9
0
-G

C
1
2

3
3
9
0
-G

D
1
2

3
3
9
0
-G

E1
2

3
3
9
0
-G

0
1
2

3
3
9
0
-G

1
1
2

3
3
9
0
-G

2
1
2

3
3
9
0
-G

3
1
2

3
3
9
0
-G

4
1
2

3
3
9
0
-G

5
1
2

3
3
9
0
-G

6
1
2

3
3
9
0
-G

7
1
2

3
3
9
0
-G

8
1
2

3
3
9
0
-G

9
1
2

3
3
9
0
-G

A
1
2

3
3
9
0
-G

B
1
2

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

3
3
9
0
-G

C
1
7

3
3
9
0
-G

D
1
7

3
3
9
0
-G

E1
7

3
3
9
0
-G

0
1
7

3
3
9
0
-G

1
1
7

3
3
9
0
-G

2
1
7

3
3
9
0
-G

3
1
7

3
3
9
0
-G

4
1
7

3
3
9
0
-G

5
1
7

3
3
9
0
-G

6
1
7

3
3
9
0
-G

7
1
7

3
3
9
0
-G

8
1
7

3
3
9
0
-G

9
1
7

3
3
9
0
-G

A
1
7

3
3
9
0
-G

B
1
7

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

3
3
9
0
-G

C
1
3

3
3
9
0
-G

D
1
3

3
3
9
0
-G

E1
3

3
3
9
0
-G

0
1
3

3
3
9
0
-G

1
1
3

3
3
9
0
-G

2
1
3

3
3
9
0
-G

3
1
3

3
3
9
0
-G

4
1
3

3
3
9
0
-G

5
1
3

3
3
9
0
-G

6
1
3

3
3
9
0
-G

7
1
3

3
3
9
0
-G

8
1
3

3
3
9
0
-G

9
1
3

3
3
9
0
-G

A
1
3

3
3
9
0
-G

B
1
3

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

3
3
9
0
-G

0
1
4

3
3
9
0
-G

1
1
4

3
3
9
0
-G

2
1
4

3
3
9
0
-G

3
1
4

3
3
9
0
-G

4
1
4

3
3
9
0
-G

5
1
4

1
8
"

1
8
"

1
8
"

1
8
"

1
8
"

1
8
"

3
3
9
0
-G

0
1
8

3
3
9
0
-G

1
1
8

3
3
9
0
-G

2
1
8

3
3
9
0
-G

3
1
8

3
3
9
0
-G

4
1
8

3
3
9
0
-G

5
1
8

2
4
"

2
4
"

2
4
"

2
4
"

2
4
"

2
4
"

3
3
9
0
-G

0
1
9

3
3
9
0
-G

1
1
9

3
3
9
0
-G

2
1
9

3
3
9
0
-G

3
1
9

3
3
9
0
-G

4
1
9

3
3
9
0
-G

5
1
9

3
0
"

3
0
"

3
0
"

3
0
"

3
0
"

3
0
"

3
3
9
0
-G

0
2
0

3
3
9
0
-G

1
2
0

3
3
9
0
-G

2
2
0

3
3
9
0
-G

3
2
0

3
3
9
0
-G

4
2
0

3
3
9
0
-G

5
2
0

3
6
"

3
6
"

3
6
"

3
6
"

3
6
"

3
6
"

3
3
9
0
-G

0
2
1

3
3
9
0
-G

1
2
1

3
3
9
0
-G

2
2
1

3
3
9
0
-G

3
2
1

3
3
9
0
-G

4
2
1

3
3
9
0
-G

5
2
1

4
8
"

4
8
"

4
8
"

4
8
"

4
8
"

4
8
"

3
3
9
0
-G

0
2
2

3
3
9
0
-G

1
2
2

3
3
9
0
-G

2
2
2

3
3
9
0
-G

3
2
2

3
3
9
0
-G

4
2
2

3
3
9
0
-G

5
2
2

6
0
"

6
0
"

6
0
"

6
0
"

6
0
"

6
0
"

3
3
9
0
-G

0
2
3

3
3
9
0
-G

1
2
3

3
3
9
0
-G

2
2
3

3
3
9
0
-G

3
2
3

3
3
9
0
-G

4
2
3

3
3
9
0
-G

5
2
3

7
2
"

7
2
"

7
2
"

7
2
"

7
2
"

7
2
"

Section L
38 

Fittings



R
e

d
 B

ra
ss

 N
ip

p
le

s - S
C

H
4

0
 - M

IP
 x M

IP

1
/
8
"

1
/
4
"

3
/
8
"

1
/
2
"

3
/
4
"

1
"

1
-1

/
4
"

1
-1

/
2
"

2
"

2
-1

/
2
"

3
"

3
-1

/
2
"

4
"

3
3
A
0
-0

0
0
C

3
3
A
0
-0

1
0
C

3
3
A
0
-0

2
0
C

3
3
A
0
-0

3
0
C

3
3
A
0
-0

4
0
C

3
3
A
0
-0

5
0
C

3
3
A
0
-0

6
0
C

3
3
A
0
-0

7
0
C

3
3
A
0
-0

8
0
C

3
3
A
0
-0

9
0
C

3
3
A
0
-1

0
0
C

3
3
A
0
-1

1
0
C

3
3
A
0
-1

2
0
C

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

C
LO

S
E

3
3
A
0
-0

0
0
1

3
3
A
0
-0

1
0
1

3
3
A
0
-0

2
0
1

3
3
A
0
-0

3
0
1

3
3
A
0
-0

4
0
1

1
-1

/
2
"

1
-1

/
2
"

1
-1

/
2
"

1
-1

/
2
"

1
-1

/
2
"

3
3
A
0
-0

0
0
2

3
3
A
0
-0

1
0
2

3
3
A
0
-0

2
0
2

3
3
A
0
-0

3
0
2

3
3
A
0
-0

4
0
2

3
3
A
0
-0

5
0
2

3
3
A
0
-0

6
0
2

3
3
A
0
-0

7
0
2

2
"

2
"

2
"

2
"

2
"

2
"

2
"

2
"

3
3
A
0
-0

0
0
3

3
3
A
0
-0

1
0
3

3
3
A
0
-0

2
0
3

3
3
A
0
-0

3
0
3

3
3
A
0
-0

4
0
3

3
3
A
0
-0

5
0
3

3
3
A
0
-0

6
0
3

3
3
A
0
-0

7
0
3

3
3
A
0
-0

8
0
3

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

2
-1

/
2
"

3
3
A
0
-0

0
0
4

3
3
A
0
-0

1
0
4

3
3
A
0
-0

2
0
4

3
3
A
0
-0

3
0
4

3
3
A
0
-0

4
0
4

3
3
A
0
-0

5
0
4

3
3
A
0
-0

6
0
4

3
3
A
0
-0

7
0
4

3
3
A
0
-0

8
0
4

3
3
A
0
-0

9
0
4

3
3
A
0
-1

0
0
4

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
"

3
3
A
0
-0

0
0
5

3
3
A
0
-0

1
0
5

3
3
A
0
-0

2
0
5

3
3
A
0
-0

3
0
5

3
3
A
0
-0

4
0
5

3
3
A
0
-0

5
0
5

3
3
A
0
-0

6
0
5

3
3
A
0
-0

7
0
5

3
3
A
0
-0

8
0
5

3
3
A
0
-0

9
0
5

3
3
A
0
-1

0
0
5

3
3
A
0
-1

1
0
5

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
-1

/
2
"

3
3
A
0
-0

0
0
6

3
3
A
0
-0

1
0
6

3
3
A
0
-0

2
0
6

3
3
A
0
-0

3
0
6

3
3
A
0
-0

4
0
6

3
3
A
0
-0

5
0
6

3
3
A
0
-0

6
0
6

3
3
A
0
-0

7
0
6

3
3
A
0
-0

8
0
6

3
3
A
0
-0

9
0
6

3
3
A
0
-1

0
0
6

3
3
A
0
-1

1
0
6

3
3
A
0
-1

2
0
6

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

4
"

3
3
A
0
-0

0
0
7

3
3
A
0
-0

1
0
7

3
3
A
0
-0

2
0
7

3
3
A
0
-0

3
0
7

3
3
A
0
-0

4
0
7

3
3
A
0
-0

5
0
7

3
3
A
0
-0

6
0
7

3
3
A
0
-0

7
0
7

3
3
A
0
-0

8
0
7

3
3
A
0
-0

9
0
7

3
3
A
0
-1

0
0
7

3
3
A
0
-1

1
0
7

3
3
A
0
-1

2
0
7

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

4
-1

/
2
"

3
3
A
0
-0

0
0
8

3
3
A
0
-0

1
0
8

3
3
A
0
-0

2
0
8

3
3
A
0
-0

3
0
8

3
3
A
0
-0

4
0
8

3
3
A
0
-0

5
0
8

3
3
A
0
-0

6
0
8

3
3
A
0
-0

7
0
8

3
3
A
0
-0

8
0
8

3
3
A
0
-0

9
0
8

3
3
A
0
-1

0
0
8

3
3
A
0
-1

1
0
8

3
3
A
0
-1

2
0
8

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

5
"

3
3
A
0
-0

0
0
9

3
3
A
0
-0

1
0
9

3
3
A
0
-0

2
0
9

3
3
A
0
-0

3
0
9

3
3
A
0
-0

4
0
9

3
3
A
0
-0

5
0
9

3
3
A
0
-0

6
0
9

3
3
A
0
-0

7
0
9

3
3
A
0
-0

8
0
9

3
3
A
0
-0

9
0
9

3
3
A
0
-1

0
0
9

3
3
A
0
-1

1
0
9

3
3
A
0
-1

2
0
9

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

5
-1

/
2
"

3
3
A
0
-0

0
1
0

3
3
A
0
-0

1
1
0

3
3
A
0
-0

2
1
0

3
3
A
0
-0

3
1
0

3
3
A
0
-0

4
1
0

3
3
A
0
-0

5
1
0

3
3
A
0
-0

6
1
0

3
3
A
0
-0

7
1
0

3
3
A
0
-0

8
1
0

3
3
A
0
-0

9
1
0

3
3
A
0
-1

0
1
0

3
3
A
0
-1

1
1
0

3
3
A
0
-1

2
1
0

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

6
"

3
3
A
0
-0

0
1
5

3
3
A
0
-0

1
1
5

3
3
A
0
-0

2
1
5

3
3
A
0
-0

3
1
5

3
3
A
0
-0

4
1
5

3
3
A
0
-0

5
1
5

3
3
A
0
-0

6
1
5

3
3
A
0
-0

7
1
5

3
3
A
0
-0

8
1
5

3
3
A
0
-0

9
1
5

3
3
A
0
-1

0
1
5

3
3
A
0
-1

1
1
5

3
3
A
0
-1

2
1
5

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

7
"

3
3
A
0
-0

0
1
1

3
3
A
0
-0

1
1
1

3
3
A
0
-0

2
1
1

3
3
A
0
-0

3
1
1

3
3
A
0
-0

4
1
1

3
3
A
0
-0

5
1
1

3
3
A
0
-0

6
1
1

3
3
A
0
-0

7
1
1

3
3
A
0
-0

8
1
1

3
3
A
0
-0

9
1
1

3
3
A
0
-1

0
1
1

3
3
A
0
-1

1
1
1

3
3
A
0
-1

2
1
1

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

8
"

3
3
A
0
-0

0
1
6

3
3
A
0
-0

1
1
6

3
3
A
0
-0

2
1
6

3
3
A
0
-0

3
1
6

3
3
A
0
-0

4
1
6

3
3
A
0
-0

5
1
6

3
3
A
0
-0

6
1
6

3
3
A
0
-0

7
1
6

3
3
A
0
-0

8
1
6

3
3
A
0
-0

9
1
6

3
3
A
0
-1

0
1
6

3
3
A
0
-1

1
1
6

3
3
A
0
-1

2
1
6

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

9
"

3
3
A
0
-0

0
1
2

3
3
A
0
-0

1
1
2

3
3
A
0
-0

2
1
2

3
3
A
0
-0

3
1
2

3
3
A
0
-0

4
1
2

3
3
A
0
-0

5
1
2

3
3
A
0
-0

6
1
2

3
3
A
0
-0

7
1
2

3
3
A
0
-0

8
1
2

3
3
A
0
-0

9
1
2

3
3
A
0
-1

0
1
2

3
3
A
0
-1

1
1
2

3
3
A
0
-1

2
1
2

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

1
0
"

3
3
A
0
-0

0
1
7

3
3
A
0
-0

1
1
7

3
3
A
0
-0

2
1
7

3
3
A
0
-0

3
1
7

3
3
A
0
-0

4
1
7

3
3
A
0
-0

5
1
7

3
3
A
0
-0

6
1
7

3
3
A
0
-0

7
1
7

3
3
A
0
-0

8
1
7

3
3
A
0
-0

9
1
7

3
3
A
0
-1

0
1
7

3
3
A
0
-1

1
1
7

3
3
A
0
-1

2
1
7

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

1
1
"

3
3
A
0
-0

0
1
3

3
3
A
0
-0

1
1
3

3
3
A
0
-0

2
1
3

3
3
A
0
-0

3
1
3

3
3
A
0
-0

4
1
3

3
3
A
0
-0

5
1
3

3
3
A
0
-0

6
1
3

3
3
A
0
-0

7
1
3

3
3
A
0
-0

8
1
3

3
3
A
0
-0

9
1
3

3
3
A
0
-1

0
1
3

3
3
A
0
-1

1
1
3

3
3
A
0
-1

2
1
3

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

1
2
"

Section L
39 

Fittings



Part Number Item Description Finish Picture

Deluxe Frost Free Yard Hydrants - Lead Free

3410-2001 1ft Yard Hydrant Blue Paint Head

3410-2002 2ft Yard Hydrant Blue Paint Head

3410-2003 3ft Yard Hydrant Blue Paint Head

3410-2004 4ft Yard Hydrant Blue Paint Head

3410-2005 5ft Yard Hydrant Blue Paint Head

3410-2006 6ft Yard Hydrant Blue Paint Head

3410-2008 8ft Yard Hydrant Blue Paint Head

Section M 1 Hydrants



Part Number Item Description Finish Picture

Frost Free Sillcocks - 3/4" Hose Thread Outlet - Multi Turn

3420-1004 1/2" MIP x 1/2" Solder x 4" Chrome

3420-1006 1/2" MIP x 1/2" Solder x 6" Chrome

3420-1008 1/2" MIP x 1/2" Solder x 8" Chrome

3420-1010 1/2" MIP x 1/2" Solder x 10" Chrome

3420-1012 1/2" MIP x 1/2" Solder x 12" Chrome

3420-1014 1/2" MIP x 1/2" Solder x 14" Chrome

3420-1104 3/4" MIP x 1/2" FIP x 4" Chrome

3420-1106 3/4" MIP x 1/2" FIP x 6" Chrome

3420-1108 3/4" MIP x 1/2" FIP x 8" Chrome

3420-1110 3/4" MIP x 1/2" FIP x 10" Chrome

3420-1112 3/4" MIP x 1/2" FIP x 12" Chrome

3420-1114 3/4" MIP x 1/2" FIP x 14" Chrome

3420-1204 1/2" PEX x 4" Chrome

3420-1206 1/2" PEX x 6" Chrome

3420-1208 1/2" PEX x 8" Chrome

3420-1210 1/2" PEX x 10" Chrome

3420-1212 1/2" PEX x 12" Chrome

3420-1214 1/2" PEX x 14" Chrome

Anti-Siphone Frost Free Sillcocks - 3/4" Hose Thread Outlet - Multi Turn

3420-2004 1/2" MIP x 1/2" Solder x 4" Chrome

3420-2006 1/2" MIP x 1/2" Solder x 6" Chrome

3420-2008 1/2" MIP x 1/2" Solder x 8" Chrome

3420-2010 1/2" MIP x 1/2" Solder x 10" Chrome

3420-2012 1/2" MIP x 1/2" Solder x 12" Chrome

3420-2014 1/2" MIP x 1/2" Solder x 14" Chrome

3420-2104 3/4" MIP x 1/2" FIP x 4" Chrome

3420-2106 3/4" MIP x 1/2" FIP x 6" Chrome

3420-2108 3/4" MIP x 1/2" FIP x 8" Chrome

3420-2110 3/4" MIP x 1/2" FIP x 10" Chrome

3420-2112 3/4" MIP x 1/2" FIP x 12" Chrome

3420-2114 3/4" MIP x 1/2" FIP x 14" Chrome

Section M 2 Hydrants



Part Number Item Description Finish Picture

3420-2204 1/2" PEX x 4" Chrome

3420-2206 1/2" PEX x 6" Chrome

3420-2208 1/2" PEX x 8" Chrome

3420-2210 1/2" PEX x 10" Chrome

3420-2212 1/2" PEX x 12" Chrome

3420-2214 1/2" PEX x 14" Chrome

Anti-Siphone Frost Free Sillcocks - 3/4" Hose Thread Outlet - Quarter Turn

3420-3004 1/2" MIP x 1/2" Solder x 4" Chrome

3420-3006 1/2" MIP x 1/2" Solder x 6" Chrome

3420-3008 1/2" MIP x 1/2" Solder x 8" Chrome

3420-3008LF 1/2" MIP x 1/2" Solder x 8", Lead Free Chrome

3420-3010 1/2" MIP x 1/2" Solder x 10" Chrome

3420-3010LF 1/2" MIP x 1/2" Solder x 10", Lead Free Chrome

3420-3012 1/2" MIP x 1/2" Solder x 12" Chrome

3420-3012LF 1/2" MIP x 1/2" Solder x 12", Lead Free Chrome

3420-3014 1/2" MIP x 1/2" Solder x 14" Chrome

3420-3014LF 1/2" MIP x 1/2" Solder x 14", Lead Free Chrome

3420-3104 3/4" MIP x 1/2" FIP x 4" Chrome

3420-3106 3/4" MIP x 1/2" FIP x 6" Chrome

3420-3108 3/4" MIP x 1/2" FIP x 8" Chrome

3420-3110 3/4" MIP x 1/2" FIP x 10" Chrome

3420-3112 3/4" MIP x 1/2" FIP x 12" Chrome

3420-3114 3/4" MIP x 1/2" FIP x 14" Chrome

3420-3204 1/2" PEX x 4" Chrome

3420-3206 1/2" PEX x 6" Chrome

3420-3208 1/2" PEX x 8" Chrome

3420-3210 1/2" PEX x 10" Chrome

3420-3212 1/2" PEX x 12" Chrome

3420-3214 1/2" PEX x 14" Chrome

Section M 3 Hydrants



Part Number Item Description Finish Picture

Straight Single Clapper Siamese - Exposed Type - Pin Lug Swivel Outlets

4210-0001 4" IPS Outlet x 2-1/2" NST x 2-1/2" NST Swivel Inlets Rough Brass

90° Angle Single Clapper Siamese - Exposed Type - Pin Lug Swivel Outlets

4210-0051 4" IPS Outlet x 2-1/2" NST x 2-1/2" NST Swivel Inlets Rough Brass

Straight Double Clapper Siamese - Exposed Type - Pin Lug Swivel Outlets

4210-0101 4" IPS Outlet x 2-1/2" NST x 2-1/2" NST Swivel Inlets Rough Brass

90° Angle Double Clapper Siamese - Exposed Type - Pin Lug Swivel Outlets

4210-0151 4" IPS Outlet x 2-1/2" NST x 2-1/2" NST Swivel Inlets Rough Brass

Section N 1 Fire Protection



Part Number Item Description Finish Picture

Angle Hose Valves - 300LB Rated - Used with a Fire Hose Rack Assembly or as a Fire Dept. Outlet Connection. Female x Male

4600-1150 1-1/2" FNPT x 1-1/2" MNST Rough Brass

4650-1250 2-1/2" FNPT x 2-1/2" MNST Rough Brass

Angle Hose Valves - 300LB Rated - Used with a Fire Hose Rack Assembly or as a Fire Dept. Outlet Connection. Female x Female

4650-2150 1-1/2" FNPT x 1-1/2" FNPT Rough Brass

4650-2250 2-1/2" FNPT x 2-1/2" FNPT Rough Brass

Brass Caps w/Chains

4610-0001 1-1/2" NST Rough Brass

4610-0002 21/2" NST Rough Brass

4610-0003 3" NST Rough Brass

Female To Male Reducer

4630-0001 2-1/2" NH x 3/4" NPT Rough Brass

4630-0002 2-1/2" NH x 1" NPT Rough Brass

4630-0003 2-1/2" NH x 1-1/2" NPT Rough Brass

4630-0004 2-1/2" NH x 2" NPT Rough Brass

Spanner And Hydrant Wrenches

4690-0001 Combination Spanner Wrench Galvanized

4690-0002 Combo Spanner Wrench, 1 1/2" Galvanized

4690-0003 Combo Spanner Wrench, 2 1/2" Galvanized

4690-0004 Universal Spanner Wrench Galvanized

4690-0005 Adjustable Hydrant Wrench Galvanized

Section N 2 Fire Protection



Part Number Item Description Finish Picture

Inspector's Test Unit w/Brass Sight Glass

4650-1100 1" Rough Brass

4650-1125 1-1/4" Rough Brass

4650-1200 2" Rough Brass

Inspector's Test w/On-Off Unit w/Brass Sight Glass

4650-2100 1" Rough Brass

4650-2125 1-1/4" Rough Brass

4650-2200 2" Rough Brass

Section N 3 Fire Protection



Part Number Item Description Finish Picture

C83600 Bronze Butterfly Valve With 300WSP Working Pressure, Full Port, Threaded End

4A10-0001 1" Rough Bronze

4A10-0002 1 1/4" Rough Bronze

4A10-0003 1 1/2" Rough Bronze

4A10-0004 2" Rough Bronze

4A10-0005 2 1/2" Rough Bronze

C83600 Bronze Butterfly Valve With 300WSP Working Pressure, Full Port, Grooved End

4A10-0012 1 1/4" Rough Bronze

4A10-0013 1 1/2" Rough Bronze

4A10-0014 2" Rough Bronze

4A10-0015 2 1/2" Rough Bronze

C84400 Replacement Control Box For Butterfly Valve

4A10-0021 Replacement Only Control Box Rough Brass

Section N 4 Fire Protection



Part Number Item Description Finish Picture

Wrenches

5110-1001
4-in-1 Adjustable Nut Wrench
Wide Mouth 7/8" to 3" Jaw Opening

Chrome Plated

5110-1002 4-in-1 Drain Wrench Chrome Plated

5110-1003 Basin Wrench, 11" Chrome Plated

5110-1004 Basin Wrench, 16" Chrome Plated

5110-1005 Telescoping Basin Wrench, 11" - 16" Chrome Plated

5110-1006 Basin Wrench, 11", Large Jaw Chrome Plated

5110-1007 Basin Wrench, 16", Large Jaw Chrome Plated

5110-1008 Telescoping Basin Wrench, 11" - 16", Large Jaw Chrome Plated

5110-1009 Tub Drain Wrench Aluminum Oxidized

5110-1010 Shower Socket Wrench Set Zinc Plated

5110-1011 Water Heater Element Wrench Zinc Plated

Section O 1 Tools



Part Number Item Description Finish Picture

5110-1012 4 Way PO Plug Wrench Zinc Plated

5110-1013 4 Way Plug Wrench Zinc Plated

5110-1014 4-in-1 Sillcock Key Wrench Zinc Plated

5110-1015 Basket Strainer Wrench Zinc Plated

5110-1016 Tapered Seat Wrench Zinc Plated

5110-1017 6 Steps Seat Wrench Zinc Plated

5110-1018 60 FT-LB Torque Wrench, 5/16" Socket Chrome Plated

5110-1019 Gabage Disposal Wrench Paint

5110-1020 Nipple Extractor Set Chrome Plated

Section O 2 Tools



Part Number Item Description Finish Picture

5110-1101 Street Key, 1/2" x 28", 5/8" Open Mouth Black Paint

5110-1102 Street Key, 1/2" x 36", 5/8" Open Mouth Black Paint

5110-1103 Street Key, 1/2" x 60", 5/8" Open Mouth Black Paint

5110-1104 Street Key, 5/8" x 28", 5/8" Open Mouth Black Paint

5110-1105 Street Key, 5/8" x 36", 5/8" Open Mouth Black Paint

5110-1106 Street Key, 5/8" x 60", 5/8" Open Mouth Black Paint

5110-1107 Street Key, 3/4" x 28", 5/8" Open Mouth Black Paint

5110-1108 Street Key, 3/4" x 36", 5/8" Open Mouth Black Paint

5110-1109 Street Key, 3/4" x 60", 5/8" Open Mouth Black Paint

5110-1201 Cast Iron Heavy Duty Pipe Wrench, 8" Red Paint

5110-1202 Cast Iron Heavy Duty Pipe Wrench, 10" Red Paint

5110-1203 Cast Iron Heavy Duty Pipe Wrench, 12" Red Paint

5110-1204 Cast Iron Heavy Duty Pipe Wrench, 14" Red Paint

5110-1205 Cast Iron Heavy Duty Pipe Wrench, 18" Red Paint

5110-1206 Cast Iron Heavy Duty Pipe Wrench, 24"

5110-1252 Aluminum Handle Straight Pipe Wrench, 10" Silver Paint

5110-1253 Aluminum Handle Straight Pipe Wrench, 12" Silver Paint

5110-1254 Aluminum Handle Straight Pipe Wrench, 14" Silver Paint

5110-1255 Aluminum Handle Straight Pipe Wrench, 18" Silver Paint

5110-1256 Aluminum Handle Straight Pipe Wrench, 24" Silver Paint

5110-1274 Aluminum Handle Offset Pipe Wrench, 14" Silver Paint

5110-1275 Aluminum Handle Offset Pipe Wrench, 18" Silver Paint

5110-1276 Aluminum Handle Offset Pipe Wrench, 24" Silver Paint

Pipe Cutters

5110-2001 PVC Pipe Cutter for 1/8" - 1 5/8" OD Plastic Pipes Red Paint

Section O 3 Tools



Part Number Item Description Finish Picture

5110-2051 Plastic Tube Cutter up to 1 1/2" Red Paint

5110-2101 Mini Tube Cutter for 1/8" - 1 1/8" OD Copper Tubes Red Paint

5110-2151
Quick Release Tube Cutter for 1/4" - 2 1/2" OD Copper
Tubes

Red Paint

Saws

5110-2201 Mini Hacksaw for Wood, Plastic, Steel and Brass Orange/Black

5110-2202 6" Wallboard Saw for Wood, Plastic and Drywall Orange/Black

Handle Puller

5110-2301 Standard Handle Puller Zinc Plated

5110-2302 Deluxe Handle Puller Chrome Plated

Section O 4 Tools



Part Number Item Description Finish Picture

Caulking Guns

5110-3001 Economy Caulking Gun, 10-1/2 OZ Blue

5110-3002 Large Caulking Gun, 29 OZ Blue

5110-3011 Open Frame Skeleton Design Caulking Gun, 10-1/2 OZ Orange

Section O 5 Tools



Part Number Item Description Finish Picture

Paint and Dope Brushes - Pure Bristle with Wooden Handle

5120-1100 1" Natural

5120-1150 1-1/2" Natural

5120-1200 2" Natural

5120-1250 2-1/2" Natural

5120-1300 3" Natural

5120-1400 4" Natural

Economy Fitting Brushes - High Carbon Steel Brush with Twist Steel Wire

5120-2025 1/4" OD Natural

5120-2038 3/8" OD Natural

5120-2050 1/2" OD Natural

5120-2063 5/8" OD Natural

5120-2075 3/4" OD Natural

5120-2088 7/8" OD Natural

5120-2100 1" OD Natural

5120-2113 1-1/8" OD Natural

5120-2125 1-1/4" OD Natural

5120-2138 1-3/8" OD Natural

5120-2150 1-1/2" OD Natural

5120-2200 2" OD Natural

Fitting Brushes - Stainless Steel Brush with Twist Steel Wire and Plastic Handle

5120-3025 1/4" OD Natural

5120-3038 3/8" OD Natural

5120-3050 1/2" OD Natural

5120-3063 5/8" OD Natural

5120-3075 3/4" OD Natural

5120-3088 7/8" OD Natural

5120-3100 1" OD Natural

5120-3113 1-1/8" OD Natural

5120-3125 1-1/4" OD Natural

5120-3138 1-3/8" OD Natural

5120-3150 1-1/2" OD Natural

5120-3200 2" OD Natural

Heavy Duty Fitting Brushes - Stainless Steel Brush with Double Twist Steel Wire and Plastic Handle

5120-4025 1/4" OD Natural

5120-4038 3/8" OD Natural

5120-4050 1/2" OD Natural

5120-4063 5/8" OD Natural

5120-4075 3/4" OD Natural

5120-4088 7/8" OD Natural

5120-4100 1" OD Natural

5120-4113 1-1/8" OD Natural

5120-4125 1-1/4" OD Natural

5120-4138 1-3/8" OD Natural

5120-4150 1-1/2" OD Natural

Section O 6 Tools



Part Number Item Description Finish Picture

5120-4200 2" OD Natural

4-in-1 Fitting Brushes - Stainless Steel Brush with Durable Plastic Construction

5120-4IN1 1/2" and 3/4" OD/ID Brushes Natural

Acid Brushes w/Tin Handle

5120-5025 1/4" Acid Brush Tin Plated

5120-5038 3/8" Acid Brush Tin Plated

5120-5075 3/4" Acid Brush Tin Plated

Pipe Dope Brushes w/Wooden Handle

5120-5175 3/4" Pipe Dope Brush Natural

Wire Brushes

5120-6001 1/2" SS Wire Brush w/Plastic Handle, 7" Length Black

5120-6011
1" SS Wire Brush w/Scraper and Natural Wood
Handle, 14" Length

Natural

Section O 7 Tools



Part Number Item Description Finish Picture

Gasoline Genertors

6110-G033

AC Output Voltage: 120/240V
AC Output Frequency: 60Hz
Rated AC Output: 3.3 KW
Max AC Outpt: 3.8 KW
DC Output: 12V-8.3A
Fuel Tank Capacity: 6.6 Gallons
Oil Capacity: 0.29 Gallons
EPA Approved

Options: Key Start/Dry Battery/Handle&8"
Wheel/Hour Meter/Three Phase/Motor Oil

Red/Black

6110-G055

AC Output Voltage: 120/240V
AC Output Frequency: 60Hz
Rated AC Output: 5.5 KW
Max AC Outpt: 6.0 KW
DC Output: 12V-8.3A
Fuel Tank Capacity: 6.6 Gallons
Oil Capacity: 0.29 Gallons
EPA Approved

Options: Key Start/Dry Battery/Handle&8"
Wheel/Hour Meter/Three Phase/Motor Oil

Red/Black

6110-G065

AC Output Voltage: 120/240V
AC Output Frequency: 60Hz
Rated AC Output: 6.5 KW
Max AC Outpt: 7.0 KW
DC Output: 12V-8.3A
Fuel Tank Capacity: 6.6 Gallons
Oil Capacity: 0.29 Gallons
EPA Approved

Options: Key Start/Dry Battery/Handle&8"
Wheel/Hour Meter/Three Phase/Motor Oil

Red/Black

Section P 1 Electrical


	Front Page.pdf
	Index.pdf
	A.pdf
	1110-Kitchen and Bar Faucets - rev.A3  - 20150526.pdf
	1122-Stainless Steel Sink - rev.A2 - 20150412.pdf
	1131-Sink Strainers - rev.A6 - 20160601.pdf
	1133-Disposal Assembly - rev.A1 - 20140317.pdf
	1140-Kitchen Accessories - rev.A3 - 20160906.pdf

	B.pdf
	1210-Bathroom Faucets - rev.A2 - 20150326.pdf
	1220-Bathroom Lavatories - rev.A1 - 20170322.pdf
	1241-Plastic Toilet Seats - rev.A8 - 20160831.pdf
	1242-Wood Toilet Seats - rev.A7 - 20170221.pdf
	1271-Tub Spouts - rev.A1 - 20150526.pdf
	1280-Showers - rev.A5 - 20160906.pdf
	128A-Shower Kits - rev.A2 - 20150117.pdf
	1290-Lavatory Drains - rev.A4 - 20170124.pdf
	12A1-Tub Drain Kits Full Kits - rev.A3 - 20150312.pdf
	12A2-Tub Drain Kits Half Kits - rev.A1 - 20150104.pdf
	12A3-Tub Bath Drain Kits - rev.A1 - 20141226.pdf
	12A4-Tub Drain Kits Conversion Kits - rev.A1 - 20150104.pdf
	12C1-Grab Bars - rev.A2 - 20161111.pdf
	12D0-Bath&Shower Accessories - rev.A3 - 20160331.pdf
	12D1-Overflow Cover Plates&Screws - rev.A1 - 20140311.pdf
	12D2-Curtain Rods&Flanges - rev.A2 - 20160907.pdf

	C.pdf
	1310-Supply Valves - rev.A3 - 20150615.pdf
	1321-Riser Tubes - rev.A2 - 20150412.pdf
	1322-Flexible Connectors - rev.A1 - 20141021.pdf
	1323-Corrugated Water Hoses - rev.A1 - 20140714.pdf
	1330-Supply Kits - rev.A1 - 20140311.pdf
	1340-Water Hammer Arrestors - rev.A1 - 20150227.pdf

	D.pdf
	1411-Brass Tubular - rev.A3 - 20170125.pdf
	1412-Plastic Tubulars - rev.A2 - 20160217.pdf
	1420-Floor Drains - rev.A1 - 20140926.pdf
	1430-Shower Drains - rev.A1 - 20140926.pdf
	1441-Brass Cleanout Plugs - rev.A2 - 20160831.pdf
	1450-Escutcheon&Flanges - rev.A2 - 20140411.pdf
	1460-Floor Sinks&Accessories - rev.A1 - 20140802.pdf

	E.pdf
	1513-Aerators - rev.A2 - 20160126.pdf
	1534-Tank Levers - rev.A1 - 20151230.pdf
	1535-Closet Bolts, Screws&Tank to Bowl Kits - rev.A5 - 20170104.pdf
	1536-Closet Spuds&Urinal Flanges - rev.A2 - 20151204.pdf
	1537-Closet Flanges - rev.A1 - 20151203.pdf
	1538-Wax Bow Rings - rev.A3 - 20160318.pdf

	F.pdf
	1710-Access Panels&Doors - rev.A3 - 20170322.pdf
	1721-Pipe Brackets-Supports - rev.A4 - 20160906.pdf
	1722-Pipe Straps - rev.A4 - 20160907.pdf
	1723-Pipe Clamps&Hangers - rev.A4 - 20170123.pdf
	1724-Stud Guards&Plates - rev.A1 - 20160321.pdf
	1725-Cable Ties - rev.A2 - 20160401.pdf
	1726-Hose Clamps - rev.A1 - 20150104.pdf
	1727-HVAC Support Webbing - rev.A1 - 20140801.pdf
	1731-Flexible Transition Coupling - rev.A2 - 20150316.pdf
	1732-No Hub Couplings - rev.A1 - 20160127.pdf
	1733-Shielded Transition Coupling - rev.A3 - 20150316.pdf
	1734-End Caps - 20150225.pdf
	1740-Test Caps&Plugs - rev.A1 - 20150302.pdf
	1750-Test Gauges - rev.A1 - 20150711.pdf
	1770-Utility Faucets - rev.A3 - 20150526.pdf
	1790-Tapes - rev.A4 - 20160829.pdf
	17A0-Fasteners - rev.A2 - 20170228.pdf

	G.pdf
	1811-Dewatering Pumps - rev.A3 - 20141223.pdf
	1812-Sump Pumps - rev.A3 - 20141223.pdf
	1819-Other Pumps - rev.A1 - 20150216.pdf
	1821-Water Pump Hoses - rev.A1 - 20140915.pdf
	1822-Sump Pump Accessories - rev.A1 - 220150216.pdf
	1830-Well Accessories - rev.A - 20150616.pdf

	H.pdf
	2220-Water Heater Drip Pans - rev.A5 - 20160301.pdf
	2230-Water Expansion Tanks - rev.A1 - 20150617.pdf
	2250-Dielectric Unions&Nipples - rev.A3 - 20160322.pdf
	22A0-Water Heater Accessories - rev.A1 - 20150617.pdf

	I.pdf
	2310-Condensate Pumps&Accessories - rev.A3 - 20150502.pdf
	2320-Condensate Traps - rev.A1 - 20141129.pdf
	2340-Capacitors - rev.A1 - 20160418.pdf

	J.pdf
	K.pdf
	3211-Brass Ball Valves - rev.A3 - 20170322.pdf
	3214-Low Pressure Valves - rev.A4 - 20170322.pdf
	3215-Brass Steam Radiator Valves - rev.A1 - 20141129.pdf
	3240-PVC-CPVC Ball Valves - rev.A2 - 20150601.pdf
	3251-Bronze Steam Radiator Valves - rev.A1 - 20141129.pdf
	3252-Bronze Control and Balancing Valves - rev.A1 - 20150311.pdf

	L.pdf
	3340-Transition Fittings - rev.A1 - 20151201.pdf
	3360-Malleable Iron Fittings - rev.A1 - 20151208.pdf
	3380-Copper Fittings - rev.A4 - 20141124.pdf
	3390-Steel Nipples - rev.A4 - 20160331.pdf
	33A0-Red Brass Nipples - rev.A2 - 20160418.pdf

	M.pdf
	3410-Yard Hydrants - rev.A2 - 20150811.pdf
	3420-Wall Hydrants - rev.A2 - 20150730.pdf

	N.pdf
	4210-Siamese - rev.A1 - 20150228.pdf
	4600-Hose Valves and Accessories - 20150528.pdf
	4650-Inspector Test Units - 20150528.pdf
	4A10-Fire Protection Butterfly Valves - rev.A2 - 20140731.pdf

	O.pdf
	5110-Plumbing Tools - rev.A1 - 20150212.pdf
	5120-Brushes - rev.A3 - 20160113.pdf

	P.pdf



